Event Number	# 20-21-029	Organization	PSJA ISD Ebids
Event Title	JANITORIAL SUPPLIES FOR USE DISTRICT-WIDE	Workgroup	Purchasing
Event Description		Event Owner	Emily Garza
Event Type	Bid	Email	emily.garza@psjaisdus
Issue Date	12/8/2020 10:27:03 AM (CT)	Phone	
Close Date	1/13/2021 04:00:00 PM (CT)	Fax	

**RECOMMENDATION:** 

That the Board of Education approve the Janitorial Supplies for use District-Wide Bid # 20-21-042 to the lowest bidders listed below:

### Awarded Suppliers

Name	City	State	Lines Awarded	Award Total Award Reaso
Advanced Blending, Inc. DBA: LAst Group Enterprises	Forest Hill	ТХ	7	\$14,381.76
American Industrial Supplies & Tool Repair, Inc.	McAllen	тх	5	\$1,295.20
Boydsco Holdings LLC	Lansing	MI	3	\$9,741.70
CC Distributors, Inc.	Corpus Christi	ТХ	22	\$16,005.04
Conserv Flag Company	Sidney	NE	4	\$18,033.50
Ferguson Facilities Supply	San Antonio	ТХ	16	\$25,537.68
Gateway Printing	Edinburg	ТХ	3	\$8,891.52
Genesis II, Inc	Rock Hill	SC	7	\$13,752.60
Gulf Coast Paper	Brownsville	ТХ	8	\$19,321.60
Interboro Packaging Corp.	Montgomery	NY	1	\$1,234.00
PYRAMID SCHOOL PRODUCTS	TAMPA	FL	47	\$67,186.74
Safeway Supply Inc	San Antonio	тх	1	\$1,764.00
School Specialty, Inc.	Greenville	WI	6	\$49,601.00
Staples Inc	Houston	ТХ	14	\$20,885.25
US WHOLESALE PRODUCTS	SAN ANTONIO	тх	1	\$2,950.00
Yanitor Paper and Supplies, LLC	Pharr	ТХ	1	\$9,600.00

Total: \$280,181.59

Emily Garza, Director of Purchasing

Jim Brewster, Property Control Coordinator

Charge Budgeted Account Numbers: 199-131301

Two Hundred Twenty Three (223) invitations were emailed to vendors Nineteen (19) Vendors viewed Bid Specifications Eighteen (18) Submitted Bid Three (3) Unsubmitted Bid Seven (7) No Bid

			BID OPENING: JANI	JARY 13, 2021 @ 4:00	P.M.			<u> </u>
Line	Qty UOM	Description	Manufacturer	Manuf. Number	Award Response	Award Qty	Awarded Supplier	Award Reason
1	125 EA	Waste Paper Basket.	Rubbermaid	RCP 2955BLA	\$2.91		Staples Inc	LOW BID
2	300 EA	Waste Paper Basket.	Marino	#WB4120-Bk-12	\$5.86	300	PYRAMID SCHOOL PRODUCTS	LOW BID
3	50 EA	Garbage Can 32 Gallon with Lid	Rubbermaid	2632	\$17.01	50	Ferguson Facilities Supply	LOW BID
4	150 EA	Garbage Can with Lid and Dolly.	Rubbermaid	2643-60	\$22.78	150	Ferguson Facilities Supply	LOW BID
5	200 ST	Bottle and Sprayer Combo.	Unisan	7120	\$0.92		PYRAMID SCHOOL PRODUCTS	LOW BID
6	200 EA	Plastic Bottle Sprayer.	Impact	UNS55910-9	\$0.58	200	PYRAMID SCHOOL PRODUCTS	LOW BID
7	40 EA	Janitorial Cart.	Rubbermaid	FG9T7200BLK	\$78.89		Advanced Blending, Inc. DBA: LAst Grou	
8	140 EA	Mop Bucket with Down Press Wringer	Continental	335-37Yw	\$39.45		Advanced Blending, Inc. DBA: LAst Gro	
9	75 EA	Bucket / Pail	Continental	8110	\$3.29		PYRAMID SCHOOL PRODUCTS	LOW BID
10	300 EA	House Hold Broom.	UNISAN	UNS-932C	\$2.91		Ferguson Facilities Supply	LOW BID
10	30 EA	Push Broom 18" With Handle	Palmyra	PLB20118 and PLB-136	\$5.69		PYRAMID SCHOOL PRODUCTS	LOW BID
12	65 EA	Counter Brush with Hardwood Handle.	Weiler	71019	\$2.08		PYRAMID SCHOOL PRODUCTS	LOW BID
	120 EA	Lobby Dust Pan	Lobby Master	2600				
13		Finish Mop Head.	Unisan	UNS542	\$5.89		PYRAMID SCHOOL PRODUCTS	LOW BID
14	250 EA	Staples SKU 24420788 CW CTN-CE MOP #24 1IN WHITE	THE ODELL CORPORATION	CW57744	\$2.01		Gulf Coast Paper	LOW BID
15 Alt1	2500 EA	Staples SK0 24420766 CW CTN-CE MOP #24 11N WHITE	THE ODELL CORPORATION		\$2.97	2500	Staples Inc	LOW BID
16	250 EA	Mop Handle.	Impact	IMP-94	\$5.08		Advanced Blending, Inc. DBA: LAst Group	
17	350 EA	Wedge Mop Head	Unisan	UNS1491	\$1.82		PYRAMID SCHOOL PRODUCTS	LOW BID
18 Alt1	100 EA	Staples SKU 24418760 CW WEDGE DUST MOP HEAD	WORKLIFE BRANDS	CW56762	\$1.47		Staples Inc	LOW BID
19	50 EA	Toilet Plunger.	Cobra Products	00320	\$2.75		CC Distributors, Inc.	LOW BID
20	50 EA	Lavatory Plunger	GT Water Products	C5TF30	\$1.72		CC Distributors, Inc.	LOW BID
21 Alt1	150 <sup>BX</sup>	Staples SKU 103747 EXAM GLOVE NTRL PFREE LG 100BX	TRADEX INTERNATIONAL	NLG200	\$8.79	150	Staples Inc	LOW BID
22	100 BX	Rubber Gloves.	Safety Zone	41634	\$0.46	100	Genesis II, Inc	LOW BID
23	100 BX	Rubber Gloves.	Safety Zone	41634	\$0.46		Genesis II, Inc	LOW BID
24 Alt1	350 BX	Staples SKU 931429 LATEX DISP GLOVE PF MD 100BX	TRADEX INTERNATIONAL	LMD5201	\$7.27		Staples Inc	LOW BID
25 Alt1	350 BX	Staples SKU 931429 LATEX DISP GLOVE PF MD 100BX	TRADEX INTERNATIONAL	LMD5201	\$7.27	350	Staples Inc	LOW BID
26 Alt1	150 BX	Staples SKU 931436 LATEX DISP GLOVE PF LG 100BX	TRADEX INTERNATIONAL	ANS69318	\$7.27	150	Staples Inc	LOW BID
		Staples SKU 931436 LATEX DISP GLOVE FF LG 100BX	TRADEX INTERNATIONAL	LLG5201			-	
27 Alt1	150 BX		Memphis Glove Company		\$7.27		Staples Inc	LOW BID
28	120 PR	Drivers Pigskin Leather Gloves.		Unlined Large	\$3.11		American Industrial Supplies & Tool Rep	
29	120 PR	Drivers Pigskin Leather Gloves	Memphis Glove Company	Unlined Large	\$3.11		American Industrial Supplies & Tool Rep	
30	120 PR	Drivers Pigskin Leather Gloves.	Memphis Glove Company	Unlined Large	\$3.11		American Industrial Supplies & Tool Rep	
31 32 Alt1	150 EA 200 CS	Time Mist Dispenser. Staples SKU 2612125 TROPICBRZE METER AIR FRSHNR CT 6	Vecair Systems CLAIRE MANUFACTURING	Arioma BPR50864-A	\$13.94 \$11.40		PYRAMID SCHOOL PRODUCTS Staples Inc	LOW BID LOW BID
		PER CASE						
33	200 EA	Carpet Deodorant.	Big D	153	\$1.90		Ferguson Facilities Supply	LOW BID
34 Alt1	50 CS	Nice 4/1gal bottles per case	Midlab	181500-41	\$33.92		Boydsco Holdings LLC	LOW BID
35	100 PL	Bacteria Alive.	Arcot	7709	\$32.90	100	Advanced Blending, Inc. DBA: LAst Grou	LOW BID
36	350 CS	Germicidal Chlorine Bleach	Clorox	CLO02490	\$11.93	350	Gulf Coast Paper	LOW BID
37 Alt1	60 CS	granular absorbent deodorant 25lb bx	midlab	010100-25	\$32.47	60	Boydsco Holdings LLC	LOW BID
38	600 EA	Hand Sanitizer.	Purell	GOJ-9552-12-CMR	\$2.94	600	Safeway Supply Inc	LOW BID
39 Alt1	300 BX	Staples SKU 24405546 VIRGIN 95 2PLY CUBE 6 BOXES PER PACK \$4.15 PER PACK	ROYAL PAPER CONVERTING	РК57779-СС	\$0.55	300	Staples Inc	LOW BID
40	200 BX	Flannel Dusting/Wiping Rags.	Johnson & Johnson		\$14.75	200	US WHOLESALE PRODUCTS	LOW BID
41	200 EA	Texas Classroom Flag	Valley Forge		\$1.99	200	PYRAMID SCHOOL PRODUCTS	LOW BID
42	200 EA	U.S. Classroom Flag.	Valley Forge		\$1.45		Gateway Printing	LOW BID
43 Alt1	100 EA	FLAG US 4X6 NYLON	ANNIN	2140	\$18.71		School Specialty, Inc.	LOW BID
44	50 EA	U.S. Flag.	Valley Forge		\$46.49		PYRAMID SCHOOL PRODUCTS	LOW BID
44 45	100 EA	Texas Flag.	Valley Forge		\$22.89			LOW BID
45 46	50 EA	Texas Flag.	Valley Forge		\$59.49		Conserv Flag Company PYRAMID SCHOOL PRODUCTS	LOW BID
				016794				
47 48 Alt1	150 EA	Classroom Flag Holder. BUFFING PAD RED 13" 5/CASE	School Smart		\$0.68		School Specialty, Inc.	LOW BID
48 Alt1	30 CS	-	ACS	51-13	\$6.98		PYRAMID SCHOOL PRODUCTS	LOW BID
49 Alt1	30 CS	STRIPPING PAD BLACK 13" 5/CASE	ACS	72-13	\$6.98		PYRAMID SCHOOL PRODUCTS	LOW BID
50 Alt1	30 CS	BUFFING PAD BLACK 13" 5/CASE	ACS	72-13	\$6.98		PYRAMID SCHOOL PRODUCTS	LOW BID
51 Alt1	125 CS	BUFFING PAD RED 16" 5/CASE	ACS	51-16	\$8.99		PYRAMID SCHOOL PRODUCTS	LOW BID
52 Alt1	150 CS	STRIPPING PAD BLACK 16" 5/CASE	ACS	72-16	\$8.99		PYRAMID SCHOOL PRODUCTS	LOW BID
53 Alt1	250 CS	BUFFING PAD RED 17" 5/CASE	ACS	51-17	\$9.29		PYRAMID SCHOOL PRODUCTS	LOW BID
54 Alt1	175 CS	SCRUBBING PAD BLUE 17" 5/CASE	ACS	53-17	\$9.29		PYRAMID SCHOOL PRODUCTS	LOW BID
55 Alt1	450 CS	STRIPPING PAD BLACK 17" 5/CASE	ACS	72-17	\$9.29	450	PYRAMID SCHOOL PRODUCTS	LOW BID
56 Alt1	75 <sup>BX</sup>	HOG HAIR 27" BUFFING PAD 2/CASE	ACS	35-27-2	\$10.99	75	PYRAMID SCHOOL PRODUCTS	LOW BID
57 Alt1	800 CS	HOG HAIR PAD 20" 2/CASE	ACS	35-20-2	\$11.89	800	PYRAMID SCHOOL PRODUCTS	LOW BID
58 Alt1	150 CS	BUFFING PAD RED 20" 5/CASE	ACS	51-20	\$11.89		PYRAMID SCHOOL PRODUCTS	LOW BID
59 Alt1	300 CS	HIGH SPEED BUFFING PAD WHITE 20" 5/CASE	ACS	41-20	\$11.89		PYRAMID SCHOOL PRODUCTS	LOW BID
60 Alt1	150 CS	SCRUBBING PAD BLUE 20" 5/CASE	ACS	53-20	\$11.89		PYRAMID SCHOOL PRODUCTS	LOW BID
61 Alt1	500 CS	STRIPPING PAD BLACK 20" 5/CASE	ACS	72-20	\$11.89		PYRAMID SCHOOL PRODUCTS	LOW BID
62 Alt1	250 CS	HIGH PRODUCTIVITY PAD BLACK 16" 5/CASE	ACS	73-16	\$13.99		PYRAMID SCHOOL PRODUCTS	LOW BID
53 Alt1	200 CS	HIGH PRODUCTIVITY PAD BLACK 17" 5/CASE	ACS	73-17	\$14.89		PYRAMID SCHOOL PRODUCTS	LOW BID
53 Alt1 54 Alt1	350 CS	HIGH PRODUCTIVITY PAD BLACK 20" 5/CASE	ACS	73-20	\$14.89		PYRAMID SCHOOL PRODUCTS	LOW BID
	25 EA	Shampoo Bonnet with Scrub Strips.	Rubbermaid	RCP P267	\$10.99		PYRAMID SCHOOL PRODUCTS	LOW BID
				RCP P207 RCP P271				
65		Shampoo Bonnet with Scrubs Strips	Rubbermaid Tolco		\$16.99		PYRAMID SCHOOL PRODUCTS	LOW BID
65 66	25 EA	Toilot Powl Swag		280100	\$0.53	450	PYRAMID SCHOOL PRODUCTS	LOW BID
65 66 67	25 EA 450 EA	Toilet Bowl Swag.		LINC 02012	A			1 014/ 515
55 56 57 58	25 EA 450 EA 134 BX	Urinal Screen.	Unisan	UNS-03013	\$8.64		CC Distributors, Inc.	LOW BID
65 66 67 68 69	25 EA 450 EA 134 BX 150 EA	Urinal Screen. Garden Hose.	Unisan Flexon	FR5875 Medium Duty	\$16.25	150	CC Distributors, Inc.	LOW BID
65 66 67 68 69 70	25 EA 450 EA 134 BX 150 EA 100 EA	Urinal Screen. Garden Hose. Garden Hose Nozzle	Unisan Flexon Nelson	FR5875 Medium Duty 50501	\$16.25 \$5.23	150		
65 66 67 68 69 70	25 EA 450 EA 134 BX 150 EA	Urinal Screen. Garden Hose.	Unisan Flexon	FR5875 Medium Duty 50501 13000	\$16.25	150 100	CC Distributors, Inc.	LOW BID
65 66 67 68 69 70 71	25 EA 450 EA 134 BX 150 EA 100 EA	Urinal Screen. Garden Hose. Garden Hose Nozzle	Unisan Flexon Nelson	FR5875 Medium Duty 50501	\$16.25 \$5.23	150 100 500	CC Distributors, Inc. CC Distributors, Inc.	LOW BID LOW BID
65 66 67 68 69 70 71 72 73	25 EA 450 EA 134 BX 150 EA 100 EA 500 EA	Urinal Screen. Garden Hose. Garden Hose Nozzle Heavy Duty Window Scraper.	Unisan Flexon Nelson Hyde	FR5875 Medium Duty 50501 13000	\$16.25 \$5.23 \$1.37	150 100 500 100	CC Distributors, Inc. CC Distributors, Inc. CC Distributors, Inc.	LOW BID LOW BID LOW BID

75         7           76         7           78         79           80         81           82 Alt1         8           83         8           84         8           85         8           80         9           90         10           91         22           93         94           95         96           97         98           98         111           101         102           103         104           105         106           107         108           109         110           111         111	288         EA           288         EA           288         EA           288         EA           48         BX           60         BX           30         BX           96         BX           12         BX           300         EA           100         EA           100         EA           100         EA           100         EA           100         EA           100         EA           300         EA           100         EA           300         EA           100         EA           300         EA           120         CS           60         EA           200         EA           120         CS           60         EA           120         CS           144         EA           144         EA           100         BX           50         EA           30         EA           30         EA           20         EA	Description Safety Spectacles. Safety Spectacles. Industrial Battery. POLYWOOL DUSTER (48"X82" EXT) Paper Picker. Sand Screen. Sand Screen. Sand Screen. Sand Screen. Plastic Shrink Wrap. Outdoor Floor Mat. Indoor Steel Cleaner. Insect Repellent. Plastic Dome Cap. United States Flag. Texas Flag. Polywool Duster. Dust Pan Short Handle. Staples SKU 2611672 FOAMING DISINFECTANT CLEANR CT Dolly Two Wheel Trucks Utility-Duty Home/Office Cart, 250 lb Capacity, 20.5 x 32.5, Platform, Black Utility Tilt Truck. Dust Mask. Rain Coat with Detachable Hood. Rain Coat with Detachable Hood. Rain Coat with Detachable Hood Rain Coat with Detachable Hood	Manufacturer Crews Crews Energizer Energizer Energizer Energizer Energizer BETTER BRUSH Unger Premiere Premiere Premiere Berry Plastic Ultra Scraper Ground Keeper JBC Safety Plastic Inc. Betco SC Johnson Rubber Maid Valley Forge Unisan Rubber Maid CLAIRE MANUFACTURING Milwaukee Rubbermaid CLAIRE MANUFACTURING River City River City River City River City River City River City	Manuf. Number CL110 CL112 LR03 1.5V EN92 LR05 1.5V EN91 #LR14 1.5V EN93 LR20 1.5 EN95 6LR61 9V EN22 470380 UNGNN90 PAD5017-60-10 PAD 5017-80-10 PAD 5017-80-10 PAD 5017-80-10 VINGN90 PAD5017-100-10 4WX1820 US4872B GK10046WA RS-70030CT 0523-00 SCJW 611081 Deep Wds 2647-88 UNI-9441/ Asst Colors BPR50873-ACT RCP440000 1314BLK 8210 w/Adj Nose piece 200C	Award Response \$0.88 \$7.20 \$7.20 \$7.08 \$9.60 \$11.88 \$3.69 \$7.99 \$4.53 \$3.73 \$3.27 \$12.34 \$10.20 \$9.92 \$14.26 \$1.97 \$59.22 \$51.24 \$90.89 \$90.89 \$1.49 \$1.49 \$1.40 \$13.35 \$49.57 \$163.64 \$320.00	Qty           288           288           288           288           48           60           300           12           300           150           100           200           300           200           300           2000           120           60           25           144           100           50           50           30	Ferguson Facilities Supply PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS CD Distributors, Inc. CC Distributors, Inc. CC Distributors, Inc. Interboro Packaging Corp. Ferguson Facilities Supply CC Distributors, Inc. Genesis II, Inc Gulf Coast Paper Gulf Coast Paper Gulf Coast Paper Conserv Flag Company Advanced Blending, Inc. DBA: LAst Grou Staples Inc Ferguson Facilities Supply Gateway Printing	LOW BID LOW BID LOW BID LOW BID LOW BID
76       77         78       79         80       81         82 Alt1       3         83       3         84       3         85       3         86       3         90       3         91       21         92       3         94       95         95       3         97       3         98 Alt1       3         100       Alt1         102       3         103       104         105       106         107       108         109       110         111       112	288 EA 48 BX 60 BX 30 BX 96 BX 12 BX 300 EA 100 EA 300 EA 150 EA 150 EA 150 EA 100 ROLLS 200 EA 200 EA 200 EA 200 EA 25 EA 144 EA 144 EA 100 BX 50 EA 50 EA 50 EA 20 EA	Safety Spectacles. Industrial Battery. Industrial Battery. Industrial Battery. Industrial Battery. Industrial Battery. POLYWOOL DUSTER (48"X82" EXT) Paper Picker. Sand Screen. Sand Screen. Sand Screen. Plastic Shrink Wrap. Outdoor Floor Mat. Indoor Hoor Mat. Indoor Mat. Indoor Hoor Mat. Indoor H	Crews Crems	CL112 LR03 1.5V EN92 LR06 1.5V EN91 #LR14 1.5V EN93 LR20 1.5 EN95 6LR61 9V EN22 470380 UNGNN90 PAD5017-60-10 PAD5017-100-10 PAD5017-60-10 PAD5017-60-10 PAD5017-60-10 PAD5017-60-10 PAD5017-60-10 PAD5017-60-10 PAD5017-60-10 PAD5017-60-10 PAD5017-60-10 PAD5017-60-10 PAD5017-60-10 PAD5017-60-10 PAD5017-60-10 PAD5017-60-10 PAD5017-80	\$0.88 \$7.20 \$7.20 \$7.08 \$9.60 \$11.88 \$3.69 \$7.99 \$4.53 \$3.73 \$12.34 \$10.20 \$9.92 \$14.26 \$1.97 \$59.22 \$51.24 \$90.89 \$1.49 \$1.49 \$1.335 \$49.57 \$163.64 \$320.00	288 48 60 30 96 12 300 150 150 100 2000 300 2000 120 60 25 25 144 144 100 50 50 30	Ferguson Facilities Supply PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS CD Distributors, Inc. CC Distributors, Inc. CC Distributors, Inc. Interboro Packaging Corp. Ferguson Facilities Supply CC Distributors, Inc. Genesis II, Inc Gulf Coast Paper Gulf Coast Paper Gulf Coast Paper Conserv Flag Company Advanced Blending, Inc. DBA: LAst Grou Staples Inc Ferguson Facilities Supply Gateway Printing	TIE AWARDED LOW BID LOW BID
77 78 79 80 81 82 Alt1 83 84 85 85 86 87 87 88 90 91 21 92 93 94 95 96 97 93 94 95 96 97 98 Alt1 101 102 103 104 105 106 107 108 100 111 111	48       BX         60       BX         30       BX         96       BX         12       BX         300       EA         100       EA         150       EA         150       EA         100       ROLLS         200       EA         300       EA         300       EA         300       EA         300       EA         200       EA         20       EA         30       EA         144       EA         100       BX         50       EA         50       EA         50       EA         50       EA         50       EA         20       EA         20       EA         20       EA         20       EA         20       EA         20	Industrial Battery. Industrial Battery. Industrial Battery. Industrial Battery. Industrial Battery. POLYWOOL DUSTER (48"x82" EXT) Paper Picker. Sand Screen. Sand Screen. Sand Screen. Sand Screen. Plastic Shrink Wrap. Outdoor Floor Mat. Indoor Floor Mat. Indoor Floor Mat. Indoor Floor Mat. Traffic Cones. Stainless Steel Cleaner. Insect Repellent. Plastic Dome Cap. United States Flag. Polywool Duster. Dust Pan Short Handle. Staples SKU 2611672 FOAMING DISINFECTANT CLEANR CT Dolly Two Wheel Trucks Utility-Duty Home/Office Cart, 250 Ib Capacity, 20.5 x 32.5, Platform, Black Utility Tit Truck. Dust Mask. Rain Coat with Detachable Hood. Rain Coat with Detachable Hood.	Energizer Energizer Energizer Energizer Energizer Energizer BETTER BRUSH Unger Premiere Premiere Berry Plastic Ultra Scraper Ground Keeper JBC Safety Plastic Inc. Betco SC Johnson Rubber Maid Valley Forge Valley Forge Unisan Rubbermaid CLAIRE MANUFACTURING Rubbermaid SC Johnson Rubbermaid SC Safety Plastic Inc.	LR03 1.5V EN92 LR06 1.5V EN91 #LR14 1.5V EN93 LR20 1.5 EN95 6LR61 9V EN22 470380 UNGNN90 PAD5017-60-10 PAD5017-100-10 4WX1820 US48728 GK10046WA RS-70030CT 05523-00 SCJW 611081 Deep Wds 2647-88 UNI-9441/ Asst Colors BPR50873-ACT RCP440000 1314BLK 8210 w/Adj Nose piece 200C	\$7.20 \$7.20 \$7.08 \$9.60 \$11.88 \$3.69 \$7.99 \$4.53 \$3.73 \$3.27 \$12.34 \$10.20 \$9.92 \$14.26 \$1.97 \$59.22 \$51.24 \$90.89 \$1.49 \$1.49 \$1.40 \$1.335 \$49.57 \$163.64 \$320.00	48 60 30 96 12 300 100 300 150 100 2000 300 2000 2000 60 25 25 144 144 100 50 50 30	PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS CC Distributors, Inc. CC Distributors, Inc. CC Distributors, Inc. CC Distributors, Inc. CC Distributors, Inc. CC Distributors, Inc. Genesis II, Inc Gulf Coast Paper Conserv Flag Company Advanced Blending, Inc. DBA: LAst Grou Staples Inc Ferguson Facilities Supply Gateway Printing	LOW BID LOW BID
78         79         80         81         82 Alt1         83         84         85         86         87         89         91         92         93         94         95         96         97         100 Alt1         102         103         104         105         106         107         108         109         110         111         112	60 BX 30 BX 12 BX 300 EA 100 EA 100 EA 150 EA 150 EA 150 EA 100 ROLLS 200 EA 200 EA 200 EA 200 EA 25 EA 144 EA 146 EA	Industrial Battery. Industrial Battery. Industrial Battery. Industrial Battery. Industrial Battery. POLYWOOL DUSTER (&\$"X82" EXT) Paper Picker. Sand Screen. Sand Screen. Sand Screen. Sand Screen. Sand Screen. Plastic Shrink Wrap. Outdoor Floor Mat. Traffic Cones. Stainless Steel Cleaner. Indoor Floor Mat. Traffic Cones. Stainless Steel Cleaner. Insect Repellent. Plastic Dome Cap. United States Flag. Polywool Duster. Dust Pan Short Handle. Staples SKU 2611672 FOAMING DISINFECTANT CLEANR CT Dolly Two Wheel Trucks Utility-Duty Home/Office Cart, 250 Ib Capacity, 20.5 x 32.5, Platform, Black Utility Tilt Truck. Dust Mask. Rain Coat with Detachable Hood. Rain Coat with Detachable Hood.	Energizer Energizer Energizer BETTER BRUSH Unger Premiere Premiere Premiere Berry Plastic Ultra Scraper Ground Keeper JBC Safety Plastic Inc. Betco SC Johnson Rubber Maid Valley Forge Unisan Rubbermaid CLAIRE MANUFACTURING Milwaukee Rubbermaid SM Rubbermaid SM River City	LR06 1.5V EN91 #LR14 1.5V EN93 LR20 1.5 EN95 6LR61 9V EN22 470380 UNGNN90 PAD5017-60-10 PAD 5017-80-10 PAD 5017-80-10 4WX1820 U54872B GK10046WA RS-70030CT 06523-00 SCJW 611081 Deep Wds 2647-88 UNI-9441/ Asst Colors BPR50873-ACT RCP440000 1314BLK 8210 w/Adj Nose piece 200C	\$7.20 \$7.08 \$9.60 \$11.88 \$3.69 \$7.99 \$4.53 \$3.73 \$12.34 \$10.20 \$9.92 \$14.26 \$1.97 \$59.22 \$51.24 \$90.89 \$1.49 \$1.40 \$1.335 \$49.57 \$163.64 \$320.00	60 30 96 12 300 100 300 150 100 200 300 2000 120 60 25 25 144 144 144 100 50 50	PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS CC Distributors, Inc. CC Distributors, Inc. CC Distributors, Inc. CC Distributors, Inc. CC Distributors, Inc. CC Distributors, Inc. Genesis II, Inc Gulf Coast Paper Gulf Coast Paper Gulf Coast Paper Conserv Flag Company Advanced Blending, Inc. DBA: LAst Grou Advanced Blending, Inc. DBA: LAst Grou Staples Inc Ferguson Facilities Supply Gateway Printing	LOW BID LOW BID
79         80         81         82 Alt1         83         84         85         86         87         90         91         92         93         94         95         96         97         98 Alt1         101         102         103         104         105         106         107         108         109         110         111         112	30       BX         96       BX         12       BX         300       EA         100       EA         150       EA         150       EA         150       EA         100       ROLLS         200       EA         300       EA         300       EA         200       EA         300       EA         200       EA         200       EA         200       EA         200       EA         200       EA         120       CS         60       EA         20       EA         144       EA         100       BX         50       EA         50       EA         50       EA         50       EA         20	Industrial Battery. Industrial Battery. POLYWOOL DUSTER (48"X82" EXT) Paper Picker. Sand Screen. Sand Screen. Sand Screen. Sand Screen. Plastic Shrink Wrap. Outdoor Floor Mat. Indoor Floor Mat. Traffic Cones. Stainless Steel Cleaner. Insect Repellent. Plastic Dome Cap. United States Flag. Texas Flag. Polywool Duster. Dust Pan Short Handle. Staples SKU 2611672 FOAMING DISINFECTANT CLEANR CT Dolly Two Wheel Trucks Utility-Duty Home/Office Cart, 250 lb Capacity, 20.5 x 32.5, Platform, Black Utility Tilt Truck. Dust Mask. Rain Coat with Detachable Hood. Rain Coat with Detachable Hood.	Energizer Energizer BETTER BRUSH Unger Premiere Premiere Premiere Berry Plastic Ultra Scraper JBC Safety Plastic Inc. Betco SC Johnson Rubber Maid Valley Forge Unisan Rubber Maid CLAIRE MANUFACTURING CLAIRE MANUFACTURING Milwaukee Rubbermaid SM Rubbermaid SM	#LR14 1.5V EN93 LR20 1.5 EN95 6LR61 9V EN22 470380 UNGNN90 PAD5017-60-10 PAD 5017-80-10 PAD 5017-80-10 PAD5017-100-10 4WX1820 U54872B GK10046WA RS-70030CT 06523-00 SCIW 611081 Deep Wds 2647-88 UNI-9441/ Asst Colors BPR50873-ACT RCP440000 1314BLK 8210 w/Adj Nose piece 200C	\$7.08 \$9.60 \$11.88 \$3.69 \$7.99 \$4.53 \$3.73 \$3.27 \$12.34 \$10.20 \$9.92 \$14.26 \$1.97 \$59.22 \$51.24 \$90.89 \$1.97 \$1.40 \$13.35 \$49.57 \$163.64 \$320.00	30 96 12 300 100 300 200 300 2000 120 60 25 25 144 144 140 50 50 30	PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS CC Distributors, Inc. CC Distributors, Inc. CC Distributors, Inc. Interboro Packaging Corp. Ferguson Facilities Supply Ferguson Facilities Supply CC Distributors, Inc. Genesis II, Inc Gulf Coast Paper Gulf Coast Paper Conserv Flag Company Conserv Flag Company Advanced Blending, Inc. DBA: LAst Grou Staples Inc Ferguson Facilities Supply Gateway Printing	LOW BID LOW BID
80 81 82 Alt1 : 83 : 84 : 85 : 86 : 87 : 88 : 90 : 91 22 : 93 : 94 : 92 : 93 : 94 : 95 : 96 : 97 : 98 Alt1 : 101 : 102 : 103 : 104 : 105 : 106 : 107 : 108 : 109 : 100 Alt1 : 101 : 103 : 104 : 105 : 106 : 107 : 109 : 110 : 111 : 111 : 112 : 121 : 1	96 BX 12 BX 300 EA 150 EA 150 EA 150 EA 150 EA 150 EA 300 EA 300 EA 300 EA 200 EA 200 EA 25 EA 124 EA 144 E	Industrial Battery. Industrial Battery. POLYWOOL DUSTER (48"X82" EXT) Paper Picker. Sand Screen. Sand Screen. Sand Screen. Plastic Shrink Wrap. Outdoor Floor Mat. Indoor Mat. Indoo	Energizer Energizer BETTER BRUSH Unger Premiere Premiere Premiere Berry Plastic Ultra Scraper Ground Keeper JBC Safety Plastic Inc. Betco SC Johnson Rubber Maid Valley Forge Unisan Rubber Maid CLAIRE MANUFACTURING CLAIRE MANUFACTURING Milwaukee Rubbermaid SM Rubbermaid SM Rubbermaid SM	LR20 1.5 EN95 6LR61 9V EN22 470380 UNGNN90 PAD5017-60-10 PAD 5017-80-10 PAD 5017-80-10 4WX1820 U54872B GK10046WA RS-70030CT 06523-00 SCIW 611081 Deep Wds 2647-88 UNI-9441/ Asst Colors BPR50873-ACT RCP440000 1314BLK 8210 w/Adj Nose piece 200C	\$9.60 \$11.88 \$3.69 \$7.99 \$4.53 \$3.27 \$12.34 \$10.20 \$9.92 \$14.26 \$1.97 \$59.22 \$51.24 \$90.89 \$1.49 \$1.49 \$1.40 \$13.35 \$49.57 \$163.64 \$320.00	96 12 300 100 300 200 300 2000 120 60 25 25 144 144 100 50 50 30	PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS CC Distributors, Inc. CC Distributors, Inc. CC Distributors, Inc. Interboro Packaging Corp. Ferguson Facilities Supply CC Distributors, Inc. Genesis II, Inc Gulf Coast Paper Gulf Coast Paper Conserv Flag Company Advanced Blending, Inc. DBA: LAst Grou Advanced Blending, Inc. DBA: LAst Grou Staples Inc Ferguson Facilities Supply Gateway Printing	LOW BID LOW BID
81 82 Alt1 83 84 85 87 88 90 91 91 92 93 94 95 96 97 98 Alt1 101 102 103 104 105 106 107 108 109 110 111 112	12 BX 300 EA 100 EA 150 EA 150 EA 150 EA 100 ROLLS 200 EA 300 EA 300 EA 120 CS 60 EA 25 EA 144 EA 144 EA 144 EA 144 EA 100 BX 50 EA 50 EA 20 EA	Industrial Battery. POLYWOOL DUSTER (48"X82" EXT) Paper Picker. Sand Screen. Sand Screen. Plastic Shrink Wrap. Outdoor Floor Mat. Indoor Floor Mat. Indoor Floor Mat. Traffic Cones. Stainless Steel Cleaner. Insect Repellent. Plastic Dome Cap. United States Flag. Texas Flag. Polywool Duster. Dust Pan Short Handle. Staples SKU 2611672 FOAMING DISINFECTANT CLEANR CT Dily Two Wheel Trucks Utility-Duty Home/Office Cart, 250 Ib Capacity, 20.5 x 32.5, Platform, Black Utility Tilt Truck. Dust Mask. Rain Coat with Detachable Hood. Rain Coat with Detachable Hood.	Energizer BETTER BRUSH Unger Premiere Premiere Berry Plastic Ultra Scraper Ground Keeper JBC Safety Plastic Inc. Betco SC Johnson Rubber Maid Valley Forge Unisan Rubber Forge Unisan Rubbermaid CLAIRE MANUFACTURING Rubbermaid SM Rubbermaid SM	6LR61 9V EN22 470380 UNGNN90 PAD5017-60-10 PAD 5017-80-10 PAD5017-100-10 4WX1820 U54872B GK10046WA RS-70030CT 06523-00 SCIW 611081 Deep Wds 2647-88 UNI-9441/ Asst Colors BPR50873-ACT RCP440000 1314BLK 8210 w/Adj Nose piece 200C	\$11.88 \$3.69 \$7.99 \$4.53 \$3.73 \$12.34 \$10.20 \$9.92 \$14.26 \$1.97 \$59.22 \$51.24 \$90.89 \$1.49 \$1.49 \$1.49 \$1.49 \$1.335 \$49.57 \$163.64 \$320.00	12 300 100 300 150 100 200 300 2000 120 60 25 25 144 144 100 50 50 30	PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS CC Distributors, Inc. CC Distributors, Inc. Interboro Packaging Corp. Ferguson Facilities Supply CC Distributors, Inc. Genesis II, Inc Gulf Coast Paper Gulf Coast Paper Gulf Coast Paper Conserv Flag Company Advanced Blending, Inc. DBA: LAst Grou Staples Inc Ferguson Facilities Supply Gateway Printing	LOW BID LOW BID
82 Alt1 383 384 385 386 387 388 399 399 399 399 399 399 399 399 399	300 EA 100 EA 300 EA 150 EA 150 EA 100 ROLLS 200 EA 300 EA 300 EA 120 CS 60 EA 25 EA 144 EA 144 EA 144 EA 100 BX 50 EA 50 EA 50 EA 20 EA	POLYWOOL DUSTER (48"X82" EXT) Paper Picker. Sand Screen. Sand Screen. Sand Screen. Plastic Shrink Wrap. Outdoor Floor Mat. Indoor Floor Mat. Indoor Floor Mat. Traffic Cones. Stainless Steel Cleaner. Insect Repellent. Plastic Dome Cap. United States Flag. Polywool Duster. Dust Pan Short Handle. Staples SKU 2611672 FOAMING DISINFECTANT CLEANR CT Dolly Two Wheel Trucks Utility-Duty Home/Office Cart, 250 lb Capacity, 20.5 x 32.5, Platform, Black Utility Tilt Truck. Dust Mask. Rain Coat with Detachable Hood. Rain Coat with Detachable Hood.	BETTER BRUSH Unger Premiere Premiere Berry Plastic Ultra Scraper Ground Keeper JBC Safety Plastic Inc. Betco SC Johnson Rubber Maid Valley Forge Valley Forge Unisan Rubbermaid CLAIRE MANUFACTURING Milwaukee Rubbermaid SM River City	470380 UNGNN90 PAD5017-60-10 PAD 5017-80-10 PAD5017-100-10 4WX1820 U54872B GK10046WA RS-70030CT 06523-00 SCJW 611081 Deep Wds 2647-88 UNI-9441/ Asst Colors BPR50873-ACT RCP440000 1314BLK 8210 w/Adj Nose piece 200C	\$3.69 \$7.99 \$4.53 \$3.73 \$12.34 \$10.20 \$9.92 \$14.26 \$1.97 \$59.22 \$51.24 \$90.89 \$1.49 \$1.49 \$1.40 \$13.35 \$49.57 \$163.64 \$320.00	300 100 300 150 100 200 300 2000 120 60 25 25 144 144 100 50 50 30	PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS CC Distributors, Inc. CC Distributors, Inc. CC Distributors, Inc. Interboro Packaging Corp. Ferguson Facilities Supply CC Distributors, Inc. Genesis II, Inc Gulf Coast Paper Gulf Coast Paper Conserv Flag Company Advanced Blending, Inc. DBA: LAst Grou Staples Inc Ferguson Facilities Supply Gateway Printing	LOW BID LOW BID
83 84 85 84 85 86 87 89 90 88 90 92 91 21 92 93 94 95 96 97 89 97 99 98 Alt1 99 100 Alt1 102 103 104 105 106 107 108 109 110 110 111 111	100 EA 300 EA 150 EA 150 EA 100 ROLLS 200 EA 300 EA 300 EA 200 EA 200 EA 25 EA 124 EA 144	Paper Picker. Sand Screen. Sand Screen. Plastic Shrink Wrap. Outdoor Floor Mat. Indoor Floor Mat. Indoor Floor Mat. Traffic Cones. Stainless Steel Cleaner. Insect Repellent. Plastic Dome Cap. United States Flag. Polywool Duster. Dust Pan Short Handle. Staples SKU 2611672 FOAMING DISINFECTANT CLEANR CT Dolly Two Wheel Trucks Utility-Duty Home/Office Cart, 250 lb Capacity, 20.5 x 32.5, Platform, Black Utility Tilt Truck. Dust Mask. Rain Coat with Detachable Hood. Rain Coat with Detachable Hood.	Unger Premiere Premiere Berry Plastic Ultra Scraper Ground Keeper JBC Safety Plastic Inc. Betco SC Johnson Rubber Maid Valley Forge Valley Forge Unisan Rubbermaid CLAIRE MANUFACTURING Milwaukee Rubbermaid SM River City	UNGNN90 PAD5017-60-10 PAD 5017-80-10 PAD5017-100-10 4WX1820 U54872B GK10046WA RS-70030CT 06523-00 SCJW 611081 Deep Wds 2647-88 UNI-9441/ Asst Colors BPR50873-ACT RCP440000 1314BLK 8210 w/Adj Nose piece 200C	\$7.99 \$4.53 \$3.73 \$12.34 \$10.20 \$9.92 \$14.26 \$1.97 \$59.22 \$51.24 \$90.89 \$1.49 \$1.40 \$1.35 \$49.57 \$163.64 \$320.00	100 300 150 100 200 300 2000 60 25 25 144 144 100 50 50	PYRAMID SCHOOL PRODUCTS CC Distributors, Inc. CC Distributors, Inc. CC Distributors, Inc. Interboro Packaging Corp. Ferguson Facilities Supply Ferguson Facilities Supply CC Distributors, Inc. Genesis II, Inc Gulf Coast Paper Gulf Coast Paper Conserv Flag Company Advanced Blending, Inc. DBA: LAst Grou Advanced Blending, Inc. DBA: LAst Grou Staples Inc Ferguson Facilities Supply Gateway Printing	LOW BID LOW BID
84 5 85 5 86 7 97 7 90 5 94 9 95 9 96 7 98 Alt1 7 99 100 Alt1 7 101 102 7 103 104 105 106 107 108 109 110 111 112	300 EA 150 EA 150 EA 100 ROLLS 200 EA 300 EA 300 EA 200 EA 120 CS 60 EA 25 EA 144 E	Sand Screen. Sand Screen. Plastic Shrink Wrap. Outdoor Floor Mat. Indoor Floor Mat. Traffic Cones. Stainless Steel Cleaner. Insect Repellent. Plastic Dome Cap. United States Flag. Polywool Duster. Dust Pan Short Handle. Staples SKU 2611672 FOAMING DISINFECTANT CLEANR CT Dolly Two Wheel Trucks Utility-Duty Home/Office Cart, 250 lb Capacity, 20.5 x 32.5, Platform, Black Utility Tilt Truck. Dust Mask. Rain Coat with Detachable Hood. Rain Coat with Detachable Hood.	Premiere Premiere Berry Plastic Ultra Scraper JBC Safety Plastic Inc. Betco SC Johnson Rubber Maid Valley Forge Unisan Rubbermaid CLAIRE MANUFACTURING Milwaukee Rubbermaid SM River City	PAD5017-60-10 PAD 5017-80-10 PAD 5017-100-10 4WX1820 U54872B GK10046WA RS-70030CT 06523-00 SCJW 611081 Deep Wds 2647-88 UNI-9441/ Asst Colors BPR50873-ACT RCP440000 1314BLK 8210 w/Adj Nose piece 200C	\$4.53 \$3.73 \$12.34 \$10.20 \$9.92 \$14.26 \$1.97 \$59.22 \$51.24 \$90.89 \$90.89 \$1.49 \$1.49 \$1.40 \$13.35 \$49.57 \$163.64 \$320.00	300 150 100 200 300 2000 120 60 25 25 144 144 100 50 50	CC Distributors, Inc. CC Distributors, Inc. CC Distributors, Inc. Interboro Packaging Corp. Ferguson Facilities Supply CC Distributors, Inc. Genesis II, Inc Gulf Coast Paper Gulf Coast Paper Conserv Flag Company Conserv Flag Company Advanced Blending, Inc. DBA: LAst Grou Advanced Blending, Inc. DBA: LAst Grou Staples Inc Ferguson Facilities Supply Gateway Printing	LOW BID LOW BID
85	150 EA 150 EA 150 EA 100 ROLLS 200 EA 300 EA 2000 EA 120 CS 60 EA 120 CS 60 EA 25 EA 144 EA 144 EA 144 EA 144 EA 144 EA 100 BX 50 EA 50 EA 30 EA 160 EA 20 EA 20 EA 20 EA 20 EA 20 EA 20 EA	Sand Screen. Sand Screen Plastic Shrink Wrap. Outdoor Floor Mat. Indoor Floor Mat. Traffic Cones. Stainless Steel Cleaner. Insect Repellent. Plastic Dome Cap. United States Flag. Texas Flag. Polywool Duster. Dust Pan Short Handle. Staples SKU 2611672 FOAMING DISINFECTANT CLEANR CT Dolly Two Wheel Trucks Utility-Duty Home/Office Cart, 250 lb Capacity, 20.5 x 32.5, Platform, Black Utility Tilt Truck. Dust Mask. Rain Coat with Detachable Hood. Rain Coat with Detachable Hood.	Premiere Premiere Berry Plastic Ultra Scraper Ground Keeper JBC Safety Plastic Inc. Betco SC Johnson Rubber Maid Valley Forge Unisan Rubbermaid CLAIRE MANUFACTURING Milwaukee Rubbermaid SM River City	PAD 5017-80-10 PAD5017-100-10 4WX1820 U54872B GK10046WA RS-70030CT 06523-00 SCIW 611081 Deep Wds 2647-88 UNI-9441/ Asst Colors BPR50873-ACT RCP440000 1314BLK 8210 w/Adj Nose piece 200C	\$3.73 \$3.27 \$12.34 \$10.20 \$9.92 \$14.26 \$1.97 \$59.22 \$51.24 \$90.89 \$90.89 \$1.49 \$1.40 \$13.35 \$49.57 \$163.64 \$320.00	150 150 200 300 2000 120 60 25 25 144 144 144 100 50 50	CC Distributors, Inc. CC Distributors, Inc. Interboro Packaging Corp. Ferguson Facilities Supply Ferguson Facilities Supply CC Distributors, Inc. Genesis II, Inc Gulf Coast Paper Gulf Coast Paper Conserv Flag Company Advanced Blending, Inc. DBA: LAst Grou Advanced Blending, Inc. DBA: LAst Grou Staples Inc Ferguson Facilities Supply Gateway Printing	LOW BID LOW BID
86       88         87       88         89       3         90       3         91       20         93       94         95       96         96       3         97       3         98       Alt1         100       Alt1         102       3         103       104         105       106         107       108         109       110         111       112	150 EA 100 ROLLS 200 EA 300 EA 2000 EA 120 CS 60 EA 25 EA 144 EA 144 EA 144 EA 100 BX 50 EA 50 EA 50 EA 20 EA 20 EA 20 EA 20 EA 20 EA 20 EA	Sand Screen Plastic Shrink Wrap. Outdoor Floor Mat. Indoor Floor Mat. Indoor Floor Mat. Traffic Cones. Stainless Steel Cleaner. Insect Repellent. Plastic Dome Cap. United States Flag. Texas Flag. Polywool Duster. Dust Pan Short Handle. Staples SKU 2611672 FOAMING DISINFECTANT CLEANR CT Dolly Two Wheel Trucks Utility-Duty Home/Office Cart, 250 Ib Capacity, 20.5 x 32.5, Platform, Black Utility Tilt Truck. Dust Mask. Rain Coat with Detachable Hood. Rain Coat with Detachable Hood.	Premiere Berry Plastic Ultra Scraper Ground Keeper JBC Safety Plastic Inc. Betco SC Johnson Rubber Maid Valley Forge Valley Forge Unisan Rubbermaid CLAIRE MANUFACTURING Nilwaukee Rubbermaid 3M River City River City	PAD5017-100-10 4WX1820 U54872B GK10046WA RS-70030CT 06523-00 SCIW 611081 Deep Wds 2647-88 UNI-9441/ Asst Colors BPR50873-ACT RCP440000 1314BLK 8210 w/Adj Nose piece 200C	\$3.27 \$12.34 \$10.20 \$9.92 \$14.26 \$1.97 \$59.22 \$51.24 \$90.89 \$1.49 \$1.49 \$1.40 \$13.35 \$49.57 \$163.64 \$320.00	150 100 200 300 2000 120 60 25 25 144 144 100 50 50	CC Distributors, Inc. Interboro Packaging Corp. Ferguson Facilities Supply Ferguson Facilities Supply CC Distributors, Inc. Genesis II, Inc Gulf Coast Paper Gulf Coast Paper Conserv Flag Company Advanced Blending, Inc. DBA: LAst Grou Advanced Blending, Inc. DBA: LAst Grou Staples Inc Ferguson Facilities Supply Gateway Printing	LOW BID LOW BID
87	100 ROLLS 200 EA 300 EA 2000 EA 120 CS 60 EA 25 EA 144 EA 144 EA 144 EA 100 BX 50 EA 50 EA 50 EA 20 EA 20 EA 20 EA 20 EA 20 EA 20 EA 20 EA	Plastic Shrink Wrap. Outdoor Floor Mat. Indoor Floor Mat. Traffic Cones. Stainless Steel Cleaner. Insect Repellent. Plastic Dome Cap. United States Flag. Texas Flag. Polywool Duster. Dust Pan Short Handle. Staples SKU 2611672 FOAMING DISINFECTANT CLEANR CT Dolly Two Wheel Trucks Utility-Duty Home/Office Cart, 250 lb Capacity, 20.5 x 32.5, Platform, Black Utility Tilt Truck. Dust Mask. Rain Coat with Detachable Hood. Rain Coat with Detachable Hood.	Berry Plastic Ultra Scraper Ground Keeper JBC Safety Plastic Inc. Betco SC Johnson Rubber Maid Valley Forge Unisan Rubbermaid CLAIRE MANUFACTURING Milwaukee Rubbermaid Rubbermaid SM River City River City	4WX1820 U54872B GK10046WA RS-70030CT 06523-00 SCIW 611081 Deep Wds 2647-88 UNI-9441/ Asst Colors BPR50873-ACT RCP440000 1314BLK 8210 w/Adj Nose piece 200C	\$12.34 \$10.20 \$9.92 \$14.26 \$1.97 \$59.22 \$51.24 \$90.89 \$1.49 \$1.40 \$13.35 \$49.57 \$163.64 \$320.00	100 200 300 2000 120 60 25 25 144 144 100 50 50	Interboro Packaging Corp. Ferguson Facilities Supply Ferguson Facilities Supply CC Distributors, Inc. Genesis II, Inc Gulf Coast Paper Gulf Coast Paper Conserv Flag Company Advanced Blending, Inc. DBA: LAst Grou Advanced Blending, Inc. DBA: LAst Grou Staples Inc Ferguson Facilities Supply Gateway Printing	LOW BID LOW BID
88       2         89       2         90       2         91       2         92       3         94       9         96       3         97       3         98 Alt1       3         100 Alt1       10         102       3         103       104         105       106         107       108         109       110         111       112	2000 EA 3000 EA 3000 EA 1200 CS 600 EA 255 EA 144 EA 1444 EA 1040 BX 500 EA 500 EA 300 EA 1600 EA 200 EA 200 EA 200 EA 200 EA 200 EA 200 EA 200 EA 200 EA 200 EA	Outdoor Floor Mat. Indoor Floor Mat. Traffic Cones. Stainless Steel Cleaner. Insect Repellent. Plastic Dome Cap. United States Flag. Texas Flag. Polywool Duster. Dust Pan Short Handle. Staples SKU 2611672 FOAMING DISINFECTANT CLEANR CT Dolly Two Wheel Trucks Utility-Duty Home/Office Cart, 250 lb Capacity, 20.5 x 32.5, Platform, Black Utility Tilt Truck. Dust Mask. Rain Coat with Detachable Hood. Rain Coat with Detachable Hood.	Ultra Scraper Ground Keeper JBC Safety Plastic Inc. Betco SC Johnson Rubber Maid Valley Forge Unisan Rubbermaid CLAIRE MANUFACTURING Milwaukee Rubbermaid 3M River City River City	U54872B GK10046WA RS-70030CT 06523-00 SCJW 611081 Deep Wds 2647-88 UNI-9441/ Asst Colors BPR50873-ACT RCP440000 1314BLK 8210 w/Adj Nose piece 200C	\$10.20 \$9.92 \$14.26 \$1.97 \$59.22 \$51.24 \$90.89 \$1.49 \$1.40 \$13.35 \$49.57 \$163.64 \$320.00	200 300 2000 120 60 25 25 144 144 100 50 50	Ferguson Facilities Supply Ferguson Facilities Supply CC Distributors, Inc. Genesis II, Inc Gulf Coast Paper Gulf Coast Paper Conserv Flag Company Conserv Flag Company Advanced Blending, Inc. DBA: LAst Grou Advanced Blending, Inc. DBA: LAst Grou Staples Inc Ferguson Facilities Supply Gateway Printing	LOW BID LOW BID LOW BID LOW BID TIE AWARDED LOW BID LOW BID LOW BID LOW BID LOW BID LOW BID
89	300 EA 300 EA 120 CS 60 EA 25 EA 25 EA 144 EA 144 EA 144 EA 100 BX 50 EA 50 EA 30 EA 160 EA 20 EA 20 EA 20 EA 20 EA 20 EA 20 EA	Indoor Floor Mat. Traffic Cones. Stainless Steel Cleaner. Insect Repellent. Plastic Dome Cap. United States Flag. Polywool Duster. Dust Pan Short Handle. Staples SKU 2611672 FOAMING DISINFECTANT CLEANR CT Dolly Two Wheel Trucks Utility-Duty Home/Office Cart, 250 lb Capacity, 20.5 x 32.5, Platform, Black Utility Tilt Truck. Dust Mask. Rain Coat with Detachable Hood. Rain Coat with Detachable Hood.	Ground Keeper JBC Safety Plastic Inc. Betco SC Johnson Rubber Maid Valley Forge Valley Forge Unisan Rubbermaid CLAIRE MANUFACTURING Milwaukee Rubbermaid 3M River City River City	GK10046WA RS-70030CT 06523-00 SCJW 611081 Deep Wds 2647-88 UNI-9441/ Asst Colors BPR50873-ACT RCP440000 1314BLK 8210 w/Adj Nose piece 200C	\$9.92 \$14.26 \$1.97 \$59.22 \$51.24 \$90.89 \$90.89 \$1.49 \$1.40 \$13.35 \$49.57 \$163.64 \$320.00	300 300 2000 120 60 25 25 144 144 100 50 50	Ferguson Facilities Supply CC Distributors, Inc. Genesis II, Inc Gulf Coast Paper Gulf Coast Paper Conserv Flag Company Conserv Flag Company Advanced Blending, Inc. DBA: LAst Grou Advanced Blending, Inc. DBA: LAst Grou Staples Inc Ferguson Facilities Supply Gateway Printing	LOW BID LOW BID
90       20         91       20         92       20         93       94         95       96         97       20         98       Alt1         99       100 Alt1         101       20         102       21         103       104         105       106         107       108         109       110         111       112	300 EA 2000 EA 120 CS 60 EA 25 EA 25 EA 144 EA 144 EA 100 BX 50 EA 50 EA 30 EA 160 EA 20 EA 20 EA 20 EA 20 EA 20 EA 20 EA 20 EA	Traffic Cones. Stainless Steel Cleaner. Insect Repellent. Plastic Dome Cap. United States Flag. Polywool Duster. Dust Pan Short Handle. Staples SKU 2611672 FOAMING DISINFECTANT CLEANR CT Dolly Two Wheel Trucks Utility-Duty Home/Office Cart, 250 lb Capacity, 20.5 x 32.5, Platform, Black Utility Tilt Truck. Dust Mask. Rain Coat with Detachable Hood. Rain Coat with Detachable Hood.	JBC Safety Plastic Inc. Betco SC Johnson Rubber Maid Valley Forge Unisan Rubbermaid CLAIRE MANUFACTURING Milwaukee Rubbermaid 3M River City River City	RS-70030CT 06523-00 SC/W 611081 Deep Wds 2647-88 UNI-9441/ Asst Colors BPR50873-ACT RCP440000 1314BLK 8210 w/Adj Nose piece 200C	\$14.26 \$1.97 \$59.22 \$51.24 \$90.89 \$1.49 \$1.40 \$13.35 \$49.57 \$163.64 \$320.00	300 2000 120 60 25 25 144 144 100 50 50	CC Distributors, Inc. Genesis II, Inc Gulf Coast Paper Gulf Coast Paper Conserv Flag Company Conserv Flag Company Advanced Blending, Inc. DBA: LAst Grou Advanced Blending, Inc. DBA: LAst Grou Staples Inc Ferguson Facilities Supply Gateway Printing	LOW BID LOW BID LOW BID LOW BID LOW BID LOW BID LOW BID LOW BID LOW BID LOW BID
91         24           92         3           94         95           96         3           97         3           98         httl           99         100 Alt1           101         102           103         104           105         106           107         108           109         110           111         112	2000 EA 120 CS 60 EA 25 EA 124 EA 144 EA 144 EA 100 BX 50 EA 50 EA 50 EA 160 EA 20 EA 20 EA 20 EA 20 EA 20 EA 20 EA	Stainless Steel Cleaner. Insect Repellent. Plastic Dome Cap. United States Flag. Texas Flag. Polywool Duster. Dust Pan Short Handle. Staples SKU 2611672 FOAMING DISINFECTANT CLEANR CT Dolly Two Wheel Trucks Utility-Duty Home/Office Cart, 250 lb Capacity, 20.5 x 32.5, Platform, Black Utility Tilt Truck. Dust Mask. Rain Coat with Detachable Hood. Rain Coat with Detachable Hood.	Betco SC Johnson Rubber Maid Valley Forge Unisan Rubbermaid CLAIRE MANUFACTURING Milwaukee Rubbermaid 3M River City River City	06523-00 SCJW 611081 Deep Wds 2647-88 UNI-9441/ Asst Colors BPR50873-ACT RCP440000 1314BLK 8210 w/Adj Nose piece 200C	\$1.97 \$59.22 \$51.24 \$90.89 \$1.49 \$1.40 \$13.35 \$49.57 \$163.64 \$320.00	2000 120 60 25 25 144 144 100 50 50	Genesis II, Inc Gulf Coast Paper Gulf Coast Paper Conserv Flag Company Advanced Blending, Inc. DBA: LAst Grou Advanced Blending, Inc. DBA: LAst Grou Staples Inc Ferguson Facilities Supply Gateway Printing	LOW BID LOW BID TIE AWARDED LOW BID LOW BID LOW BID LOW BID LOW BID LOW BID
92 93 94 95 95 96 5 98 Alt1 5 99 100 Alt1 9 100 Alt1 102 5 103 104 105 106 107 108 109 110 110 111	120 CS 60 EA 25 EA 124 EA 144 EA 100 BX 50 EA 50 EA 50 EA 160 EA 20 EA 20 EA 20 EA 20 EA 20 EA 20 EA	Insect Repellent. Plastic Dome Cap. United States Flag. Texas Flag. Polywool Duster. Dust Pan Short Handle. Staples SKU 2611672 FOAMING DISINFECTANT CLEANR CT Dolly Two Wheel Trucks Utility-Duty Home/Office Cart, 250 lb Capacity, 20.5 x 32.5, Platform, Black Utility Tilt Truck. Dust Mask. Rain Coat with Detachable Hood. Rain Coat with Detachable Hood.	SC Johnson Rubber Maid Valley Forge Valley Forge Unisan Rubbermaid CLAIRE MANUFACTURING Milwaukee Rubbermaid Rubbermaid 3M River City River City	SCJW 611081 Deep Wds 2647-88 UNI-9441/ Asst Colors BPR50873-ACT RCP440000 1314BLK 8210 w/Adj Nose piece 200C	\$59.22 \$51.24 \$90.89 \$1.49 \$1.40 \$13.35 \$49.57 \$163.64 \$320.00	120 60 25 25 144 144 100 50 50 30	Gulf Coast Paper Gulf Coast Paper Conserv Flag Company Conserv Flag Company Advanced Blending, Inc. DBA: LAst Grou Advanced Blending, Inc. DBA: LAst Grou Staples Inc Ferguson Facilities Supply Gateway Printing	LOW BID TIE AWARDED LOW BID LOW BID LOW BID LOW BID LOW BID LOW BID LOW BID
93 94 95 96 : 97 : 98 Alt1 : 100 Alt1 102 : 103 104 105 106 107 108 109 110 111 111 112	60 EA 25 EA 25 EA 144 EA 144 EA 100 BX 50 EA 50 EA 30 EA 160 EA 20 EA 20 EA 20 EA 20 EA 20 EA 20 EA	Plastic Dome Cap. United States Flag. Texas Flag. Polywool Duster. Dust Pan Short Handle. Staples SKU 2611672 FOAMING DISINFECTANT CLEANR CT Dolly Two Wheel Trucks Utility-Duty Home/Office Cart, 250 lb Capacity, 20.5 x 32.5, Platform, Black Utility Tilt Truck. Dust Mask. Rain Coat with Detachable Hood. Rain Coat with Detachable Hood.	Rubber Maid Valley Forge Valley Forge Unisan Rubbermaid CLAIRE MANUFACTURING Milwaukee Rubbermaid 3M River City River City	2647-88 UNI-9441/ Asst Colors BPR50873-ACT RCP440000 1314BLK 8210 w/Adj Nose piece 200C	\$51.24 \$90.89 \$1.49 \$1.40 \$13.35 \$49.57 \$163.64 \$320.00	60 25 25 144 144 100 50 50 30	Gulf Coast Paper Conserv Flag Company Conserv Flag Company Advanced Blending, Inc. DBA: LAst Grou Advanced Blending, Inc. DBA: LAst Grou Staples Inc Ferguson Facilities Supply Gateway Printing	TIE AWARDED LOW BID LOW BID LOW BID LOW BID LOW BID LOW BID LOW BID
94 95 96 :: 97 :: 98 Alt1 : 100 Alt1 102 : 103 104 105 106 107 108 109 110 111 111 112	25 EA 25 EA 144 EA 144 EA 100 BX 50 EA 50 EA 30 EA 160 EA 20 EA 20 EA 20 EA 20 EA 20 EA 20 EA	United States Flag. Texas Flag. Polywool Duster. Dust Pan Short Handle. Staples SKU 2611672 FOAMING DISINFECTANT CLEANR CT Dolly Two Wheel Trucks Utility-Duty Home/Office Cart, 250 lb Capacity, 20.5 x 32.5, Platform, Black Utility Tilt Truck. Dust Mask. Rain Coat with Detachable Hood. Rain Coat with Detachable Hood.	Valley Forge Valley Forge Unisan Rubbermaid CLAIRE MANUFACTURING Milwaukee Rubbermaid 3M River City River City	UNI-9441/ Asst Colors BPR50873-ACT RCP440000 1314BLK 8210 w/Adj Nose piece 200C	\$90.89 \$90.89 \$1.49 \$1.40 \$13.35 \$49.57 \$163.64 \$320.00	25 25 144 144 100 50 50 30	Conserv Flag Company Conserv Flag Company Advanced Blending, Inc. DBA: LAst Grou Advanced Blending, Inc. DBA: LAst Grou Staples Inc Ferguson Facilities Supply Gateway Printing	LOW BID LOW BID LOW BID LOW BID LOW BID LOW BID LOW BID
95 96 : : 97 : : 98 Alt1 : : 99 100 Alt1 : 101 102 : : 103 104 105 106 107 108 109 110 111 112	25 EA 144 EA 144 EA 100 BX 50 EA 50 EA 30 EA 160 EA 20 EA 20 EA 20 EA 20 EA 20 EA 20 EA	Texas Flag. Polywool Duster. Dust Pan Short Handle. Staples SKU 2611672 FOAMING DISINFECTANT CLEANR CT Dolly Two Wheel Trucks Utility-Duty Home/Office Cart, 250 lb Capacity, 20.5 x 32.5, Platform, Black Utility Tilt Truck. Dust Mask. Rain Coat with Detachable Hood. Rain Coat with Detachable Hood.	Valley Forge Unisan Rubbermaid CLAIRE MANUFACTURING Milwaukee Rubbermaid 3M River City River City	BPR50873-ACT RCP440000 1314BLK 8210 w/Adj Nose piece 200C	\$90.89 \$1.49 \$1.40 \$13.35 \$49.57 \$163.64 \$320.00	25 144 144 100 50 50 30	Conserv Flag Company Advanced Blending, Inc. DBA: LAst Grou Advanced Blending, Inc. DBA: LAst Grou Staples Inc Ferguson Facilities Supply Gateway Printing	LOW BID LOW BID LOW BID LOW BID LOW BID LOW BID
96 : 97 : 98 Alt1 : 99 100 Alt1 : 101 102 : 103 104 105 106 107 108 109 110 111 112 : 103	144 EA 144 EA 100 BX 50 EA 50 EA 30 EA 160 EA 20 EA 20 EA 20 EA 20 EA 20 EA 20 EA	Polywool Duster. Dust Pan Short Handle. Staples SKU 2611672 FOAMING DISINFECTANT CLEANR CT Dolly Two Wheel Trucks Utility-Duty Home/Office Cart, 250 lb Capacity, 20.5 x 32.5, Platform, Black Utility Tilt Truck. Dust Mask. Rain Coat with Detachable Hood. Rain Coat with Detachable Hood.	Unisan Rubbermaid CLAIRE MANUFACTURING Milwaukee Rubbermaid 3M River City River City	BPR50873-ACT RCP440000 1314BLK 8210 w/Adj Nose piece 200C	\$1.49 \$1.40 \$13.35 \$49.57 \$163.64 \$320.00	144 144 100 50 50 30	Advanced Blending, Inc. DBA: LAst Grou Advanced Blending, Inc. DBA: LAst Grou Staples Inc Ferguson Facilities Supply Gateway Printing	LOW BID LOW BID LOW BID LOW BID LOW BID
97 98 Alt1 99 100 Alt1 100 Alt1 100 100 100 100 100 100 100 100 100 1	144 EA 100 BX 50 EA 50 EA 30 EA 160 EA 20 EA 20 EA 20 EA 20 EA 20 EA 20 EA	Dust Pan Short Handle. Staples SKU 2611672 FOAMING DISINFECTANT CLEANR CT Dolly Two Wheel Trucks Utility-Duty Home/Office Cart, 250 lb Capacity, 20.5 x 32.5, Platform, Black Utility Tilt Truck. Dust Mask. Rain Coat with Detachable Hood. Rain Coat with Detachable Hood.	Rubbermaid CLAIRE MANUFACTURING Milwaukee Rubbermaid 3M River City River City	BPR50873-ACT RCP440000 1314BLK 8210 w/Adj Nose piece 200C	\$1.40 \$13.35 \$49.57 \$163.64 \$320.00	144 100 50 50 30	Advanced Blending, Inc. DBA: LAst Grou Staples Inc Ferguson Facilities Supply Gateway Printing	LOW BID LOW BID LOW BID LOW BID LOW BID
98 Alt1 : : 99 100 Alt1 : : 101 102 : : 103 104 105 106 107 108 109 110 111 112	100 BX 50 EA 50 EA 30 EA 160 EA 20 EA 20 EA 20 EA 20 EA 20 EA 20 EA	Staples SKU 2611672 FOAMING DISINFECTANT CLEANR CT Dolly Two Wheel Trucks Utility-Duty Home/Office Cart, 250 lb Capacity, 20.5 x 32.5, Platform, Black Utility Tilt Truck. Dust Mask. Rain Coat with Detachable Hood. Rain Coat with Detachable Hood. Rain Coat with Detachable Hood.	CLAIRE MANUFACTURING Milwaukee Rubbermaid 3M River City River City	RCP440000 1314BLK 8210 w/Adj Nose piece 200C	\$13.35 \$49.57 \$163.64 \$320.00	100 50 50 30	Staples Inc Ferguson Facilities Supply Gateway Printing	LOW BID LOW BID LOW BID LOW BID
99 100 Alt1 101 102 103 104 105 106 107 108 109 110 111 111 112	50 EA 50 EA 160 EA 20 EA 20 EA 20 EA 20 EA 20 EA 20 EA 20 EA	Dolly Two Wheel Trucks Utility-Duty Home/Office Cart, 250 lb Capacity, 20.5 x 32.5, Platform, Black Utility Tilt Truck. Dust Mask. Rain Coat with Detachable Hood. Rain Coat with Detachable Hood. Rain Coat with Detachable Hood.	Milwaukee Rubbermaid 3M River City River City	RCP440000 1314BLK 8210 w/Adj Nose piece 200C	\$49.57 \$163.64 \$320.00	50 50 30	Ferguson Facilities Supply Gateway Printing	LOW BID LOW BID LOW BID
100 Alt1 101 102 : 103 104 105 106 107 108 109 110 111 112	50 EA 30 EA 160 EA 20 EA 20 EA 20 EA 20 EA 20 EA 20 EA 20 EA	Utility-Duty Home/Office Cart, 250 lb Capacity, 20.5 x 32.5, Platform, Black Utility Tilt Truck. Dust Mask. Rain Coat with Detachable Hood. Rain Coat with Detachable Hood. Rain Coat with Detachable Hood.	Rubbermaid Rubbermaid 3M River City River City	1314BLK 8210 w/Adj Nose piece 200C	\$163.64 \$320.00	50 30	Gateway Printing	LOW BID
100 Alt1 101 102 : 103 104 105 106 107 108 109 110 111 112	50 EA 30 EA 160 EA 20 EA 20 EA 20 EA 20 EA 20 EA 20 EA 20 EA	Platform, Black Utility Tilt Truck. Dust Mask. Rain Coat with Detachable Hood. Rain Coat with Detachable Hood. Rain Coat with Detachable Hood.	Rubbermaid 3M River City River City	1314BLK 8210 w/Adj Nose piece 200C	\$163.64 \$320.00	50 30	Gateway Printing	LOW BID
102 : 103 104 105 106 107 108 109 110 111 112	30 EA 160 EA 20 EA 20 EA 20 EA 20 EA 20 EA 20 EA	Utility Tilt Truck. Dust Mask. Rain Coat with Detachable Hood. Rain Coat with Detachable Hood. Rain Coat with Detachable Hood.	3M River City River City	8210 w/Adj Nose piece 200C			Vanitor Paper and Supplies U.C.	
102 : 103 104 105 106 107 108 109 110 111 112	160 EA 20 EA 20 EA 20 EA 20 EA 20 EA 20 EA	Dust Mask. Rain Coat with Detachable Hood. Rain Coat with Detachable Hood. Rain Coat with Detachable Hood.	3M River City River City	8210 w/Adj Nose piece 200C			Vanitor Paner and Supplies LLC	
103 104 105 106 107 108 109 110 111 112	20 EA 20 EA 20 EA 20 EA 20 EA 20 EA	Rain Coat with Detachable Hood. Rain Coat with Detachable Hood. Rain Coat with Detachable Hood.	River City River City	200C	A			014/515
104 105 106 107 108 109 110 111 112	20 EA 20 EA 20 EA 20 EA 20 EA	Rain Coat with Detachable Hood. Rain Coat with Detachable Hood.	River City		\$0.26		•	LOW BID
105 106 107 108 109 110 111 112	20 EA 20 EA 20 EA 20 EA	Rain Coat with Detachable Hood.			\$5.80			LOW BID
106 107 108 109 110 111 112	20 EA 20 EA 20 EA		River Citv	200C	\$5.80		,	LOW BID
107 108 109 110 111 112	20 EA 20 EA	Rain Coat with Detachable Hood		200C	\$5.80		,	LOW BID
108 109 110 111 112	20 EA	Data Cost with Datashahla Usad	River City	200C	\$5.80		,	LOW BID
109 110 111 112		Rain Coat with Detachable Hood.	River City	200C	\$6.18			LOW BID
110 111 112		Step Ladder. Step Ladder.	Louisville Louisville		\$70.00		8 II I	LOW BID
111 112	20 EA	Step Ladder.	Louisville		\$91.86		5	LOW BID
112	10 EA	Step Ladder.	Louisville		\$120.00 \$165.00			LOW BID LOW BID
	10 EA	Step Ladder.	Lousiville		\$105.00		5	LOW BID
113	4 BX	Duct Tape	Cantech Duct Pro		\$104.88		5	LOW BID
		Caution Tape.	Electro Tape		\$4.39		, 6	LOW BID
115	40 EA	Protective Leather Chaps	·		NB		NO BID	2011 0.0
	160 GAL	Dust Mop Treatment.	Quest Vapco	2810	\$9.01			LOW BID
	200 PR	Safety Jaqs.	Treds and Paws		\$10.61		-	LOW BID
118		Safety Lifting Belt with Suspenders.	Proflex	Econo # 1650	\$7.42		,	LOW BID
119	50 EA	Safety Lifting Belt with Suspenders.	Proflex	Econo # 1650	\$7.42			LOW BID
120	50 EA	Safety Lifting Belt with Suspenders.	Proflex	Econo # 1650	\$7.42	50	PYRAMID SCHOOL PRODUCTS	LOW BID
121	50 EA	Safety Lifting Belt with Suspenders.	Proflex	Econo # 1650	\$7.42	50	PYRAMID SCHOOL PRODUCTS	LOW BID
122	40 EA	Safety Lifting Belt with Suspenders.	Proflex	Econo # 1650	\$7.42	40	PYRAMID SCHOOL PRODUCTS	LOW BID
123	20 EA	Safety Lifting with Suspenders.	Proflex	Econo # 1650	\$8.13	20	Ferguson Facilities Supply	LOW BID
124	20 EA	Rubber Boots. Extended Steel Shank, Moderate Chemical Protection	Onguard Industries	PVC Boot	\$11.68	20	CC Distributors, Inc.	LOW BID
125	30 EA	Rubber Boots.	Onguard Industries	PVC Boot	\$11.68	30	CC Distributors, Inc.	LOW BID
126	30 EA	Rubber Boots.	Onguard Industries	PVC Boot	\$11.68		,	LOW BID
127	30 EA	Rubber boots.	Onguard Industries	PVC Boot	\$11.68			LOW BID
128	12 EA	Rubber Boots.	Onguard Industries	PVC Boot	\$11.68			LOW BID
129	12 EA	Rubber Boots.	Onguard Industries	PVC Boot	\$11.68	12		LOW BID
130	12 EA	Rubber Boots.	Onguard Industries	PVC Boot	\$11.68			LOW BID
131	20	Safety Vest.	Protective Indus Products	302-0500 ANSI Class 2	\$4.39	25	American Industrial Supplies & Tool Rep	LOW BID
132 Alt1	50	Staples SKU 071762 SAFETY VEST ECON MESH LY MD	PROTECTIVE IND PROD INC	302-MVGLY-M	\$3.78	50	Staples Inc	LOW BID
133 Alt1	50 EA	Staples SKU 1074213 SAFTY VEST MESH CLS2 ZPR LY LG	PROTECTIVE IND PROD INC	302-MVGZLY-L	\$4.06	50	Staples Inc	LOW BID
134 Alt1	50 EA	Staples SKU 071761 SAFTY VEST ECON MESH CL2 LY XL	PROTECTIVE IND PROD INC		\$3.78	50	Staples Inc	LOW BID
135	15 EA	Safety Vest.	Protective Indus Products	302-0500 ANSI Class 2	\$4.39	15	American Industrial Supplies & Tool Rep	LOW BID
	1000 EA	High Pro Pad for Utility Pad Holder	3M	MC08550	\$0.59			LOW BID
137	144 EA	Utility Pad Holder with Wooden Handle.	3M	MCO6472	\$4.82	144	PYRAMID SCHOOL PRODUCTS	LOW BID
138	72 EA	Garbage Can 20 Gallon with Lid.	Rubbermaid	RCP2623GRA-Cont / RCP2619-60GRA-lid	\$15.55	72	Gulf Coast Paper	LOW BID
139	100 EA	Porcelain Dry Erase Board	Best-Rite	202AH-25	\$258.76	100	School Specialty, Inc.	LOW BID
140 Alt1	100 EA	MARKERBOARD PORCELAIN DELUXE 4X4	MOORECO	202AD-25	\$140.88	100	School Specialty, Inc.	LOW BID
141 Alt1	50 EA	TACKBOARD CORK VALU-TAK 4X4 NATURAL CORK	MOORECO	301AD	\$54.27			LOW BID
142 Alt1	50 EA	TACKBOARD CORK VALU-TAK 4'X8' NATURAL CORK	MOORECO	301AH	\$99.01	50	School Specialty, Inc.	LOW BID
144	100 EA	Trash Can Dolly	Brute	RCP2640BLA	\$18.60	100	Gulf Coast Paper	LOW BID
145	50 EA	Bag Heavy Capacity Janitor Cart	Rubbermaid	1966881	\$14.54	50	Advanced Blending, Inc. DBA: LAst Grou	LOW BID
146	50 EA	Bag Janitorial Cart Regular	Rubbermaid	1966719	\$10.18	50	Genesis II, Inc	LOW BID
147 Alt1	90 EA	floor sealer	midlab	151800-05	\$67.75			LOW BID
148		Gym Floor Cleaner	Buckeye	Screen Clean	\$27.40			LOW BID
	90 EA 100 EA	Flag with Custom Logo			\$112.00	100	Conserv Flag Company	LOW BID

	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
WARD	Staples Inc (Staples Contract and Commercial LLC)	125	EA	<b>\$2.91</b>	\$363.75		Rubbermaid	RCP 2955BLA
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	125	EA	\$2.92	\$365.00	CONTINENTAL #1358BK (MEETS ALL SPECS) - 12/CTN FULL CARTONS ONLY	Rubbermaid	RCP 2955BLA
	Gulf Coast Paper	125	EA	\$2.98	\$372.50		Rubbermaid	RCP 2955BLA
	Ferguson Facilities Supply	125	EA	\$3.25	\$406.25	CN-1358BK	Rubbermaid	RCP 2955BLA
	CC Distributors, Inc.	125	EA	\$3.30	\$412.50	CONTINENTAL 1358BK	Rubbermaid	RCP 2955BLA
	[ALT1] Gateway Printing	125	EA	\$3.39	\$423.75	Soft-Sided Wastebasket, 14 qt, Plastic, Black	Boardwalk	BWK14QTWBBLA
	Yanitor Paper and Supplies, LLC	125	EA	\$3.60	\$450.00	We are bidding the same item you requested: Manufacturer: Rubbermaid. Manufacturer Item# RCP 2955 BLA	Rubbermaid	RCP 2955BLA
	Genesis II, Inc	125	EA	\$3.84	\$480.00	Continental 1358BK, 12/cs, minimum order 132 each	Rubbermaid	RCP 2955BLA
	Rio Paper & Supply, LLC	125	EA	\$6.46	\$807.50	RCP295500BK RUBBERMAID COMMERCIAL PROD.Deskside Plastic Wastebasket, Rectangular, 3.5 gal, Black	Rubbermaid	RCP 2955BLA
	[ALT1] School Specialty, Inc.	125	EA	\$7.40	\$925.00	WASTEBASKET 13 QT BLACK-RUBBERMAID	RUBBERMAID	RCP295500BK
	Conserv Flag Company	125	EA	\$8.57	\$1,071.25		Rubbermaid	RCP 2955BLA
	Advanced Blending, Inc. DBA: LAst Group Enterprises	125	EA	No Bid			Rubbermaid	RCP 2955BLA
	US WHOLESALE PRODUCTS	125	EA	No Bid			Rubbermaid	RCP 2955BLA
	American Industrial Supplies & Tool Repair, Inc.	125	EA	No Bid			Rubbermaid	RCP 2955BLA

	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
ARD	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPA	300	ΕΑ	\$5.86	\$1,758.00	CARTONS ONLY	Marino	#WB4120-Bk-12
	Advanced Blending, Inc. DBA: LAst Group Enterprises	300	EA	\$6.05	\$1,815.00	each, Waste Paper Basket, Janico #1037GY, Color: Grey Size: 16" x 19" Rectangle Capacity: 41 Quart Material: Plastic Packed 10 each case. Please order by even case lot. Minimum order for Janico Products is \$2000. mixed product. (Items 2, 3, 4, 5, 6, 7, 8, 10, 12, 13, 14, 15, 16, 17, 18, 68, 72, 82, 83, 96, 97, 138, 144, 145.) QUOTING JANICO PRODUCTS AS EQUAL ITEMS	Marino	#WB4120-Bk-12
	Gulf Coast Paper	300	EA	\$6.12	\$1,836.00		Marino	#WB4120-Bk-12
	Staples Inc (Staples Contract and Commercial LLC)	300	EA	\$6.19	\$1,857.00		Marino	#WB4120-Bk-12
	CC Distributors, Inc.	300	EA	\$6.26	\$1,878.00	CONTINENTAL 4114BK	Marino	#WB4120-Bk-12
	[ALT1] Gateway Printing	300	EA	\$6.29	\$1,887.00	Soft-Sided Wastebasket, 41 qt, Plastic, Black	Boardwalk	BWK41QTWBBLA
	Genesis II, Inc	300	EA	\$6.48	\$1,944.00	Continental 4414BK, 12/cs, minimum order 120 each	Marino	#WB4120-Bk-12
	Ferguson Facilities Supply	300	EA	\$6.50	\$1,950.00	CN-4114BE	Marino	#WB4120-Bk-12
	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	300	EA	\$6.91	\$2,073.00	STAPLES SKU - 125039 WASTECAN 10.25GAL BLK PLASTIC	WORKLIFE BRANDS	CW56433
	Rio Paper & Supply, LLC	300	EA	\$12.36	, . ,	Equal - Gray - 295700GRAY-EA Rubbermaid Large Wastebasket Gray, 41 Quart / 38.8 Liter 1 / ea	Marino	#WB4120-Bk-12
	[ALT1] School Specialty, Inc.	300	EA	\$14.22	\$4,266.00	WASTEBASKET 41 QT -BLACK RUBBERMAID	RUBBERMAID	RCP295700BK
	US WHOLESALE PRODUCTS	300	EA	No Bid			Marino	#WB4120-Bk-12
	American Industrial Supplies & Tool Repair, Inc.	300	EA	No Bid			Marino	#WB4120-Bk-12
	Yanitor Paper and Supplies, LLC	300	EA	No Bid			Marino	#WB4120-Bk-12

3	Garbage Can 32 Gallon with Lid

	Supplier	QTY	UOM	Price		Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
ARD	Ferguson Facilities Supply	50	ΕΑ	\$17.01	\$850.50	CR-34103223Lid sold separately. Lid part number is CR-34103323 and costs \$6.25/ea	Rubbermaid	2632
	Gulf Coast Paper	50	EA	\$20.64	\$1,032.00	3200GY (CAN) + 3201GY (LID)	Rubbermaid	2632
	CC Distributors, Inc.	50	EA	\$21.11	\$1,055.50	CONTINENTAL 3200/3201	Rubbermaid	2632
	Genesis II, Inc	50	EA	\$21.31	, ,	Continental 3200GY/3201GY, 6/cs, minimum order 36 each.	Rubbermaid	2632
	Yanitor Paper and Supplies, LLC	50	EA	\$22.90	\$1,145.00	We are bidding the same item you requested: Manufacturer: Rubbermaid. Manufacturer Item# 2632 GREY 32 GALLONS CAPACITY	Rubbermaid	2632
	Advanced Blending, Inc. DBA: LAst Group Enterprises	50	EA	\$24.79	\$1,239.50	each, Garbage Can 32 gallon with Lid, Color: Grey, Capacity: 32 Gallon Material: Plastic Janico #1032GY (Can) and 1032GY-02GY (Lid) Packed 4 each case. Please order by even case lot. Minimum order for Janico Products is \$2000. mixed product. (Items 2, 3, 4, 5, 6, 7, 8, 10, 12, 13, 14, 15, 16, 17, 18, 68, 72, 82, 83, 96, 97, 138, 144, 145) QUOTING JANICO PRODUCTS AS EQUAL ITEMS	Rubbermaid	2632
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	50	EA	\$29.98	\$1,499.00	CONTINENTAL #3200 + 3201 - 6 PER CTN FULL CARTONS ONLY	Rubbermaid	2632
	Rio Paper & Supply, LLC	50	EA	\$30.27		RCP263200GY RUBBERMAID COMMERCIAL PROD.Round Brute Container, Plastic, 32 gal, Gray	Rubbermaid	2632
	[ALT1] Gateway Printing	50	EA	\$30.74	\$1,537.00	Pricing consists of two part numbers (see manf number)Round Waste Receptacle, LLDPE, 32 gal, Gray, Lids for 32 gal Waste Receptacle, Flat- Top, Round, Plastic, Gray	Bordwalk	BWK32GLWRGRA + BWK32GLWRLIDG
	Staples Inc (Staples Contract and Commercial LLC)	50	EA	\$31.02	\$1,551.00		Rubbermaid	2632
	Conserv Flag Company	50	EA	\$47.88	\$2,394.00		Rubbermaid	2632
	American Industrial Supplies & Tool Repair, Inc.	50	EA	No Bid			Rubbermaid	2632
	School Specialty, Inc.	50	EA	No Bid			Rubbermaid	2632
	US WHOLESALE PRODUCTS	50	EA	No Bid			Rubbermaid	2632

	Supplier	QTY	UOM	Price		Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
ARD	Ferguson Facilities Supply	150	ΕΑ	\$22.78	\$3,417.00	Can: CR-34104423Lid: CR-34104523 \$10.44/eaDolly:CR-3691103 \$20.31/ea	Rubbermaid	2643-60
	Genesis II, Inc	150	EA	\$46.56	\$6,984.00	Continental 4444GY/4445GY/3255-4, 4/cs, minimum order 68 each	Rubbermaid	2643-60
	Gulf Coast Paper	150	EA	\$51.70	\$7,755.00	4444GY (CAN) + 4445GY (LID) + 3255-4 (DOLLY)	Rubbermaid	2643-60
	Rio Paper & Supply, LLC	150	EA	\$53.25	\$7,987.50	RCP264360GY RUBBERMAID COMMERCIAL PROD.Brute Vented Trash Receptacle, Round, 44 gal, Gray (Note: Trash can only)	Rubbermaid	2643-60
	CC Distributors, Inc.	150	EA	\$54.79	\$8,218.50	CONTINENTAL 4444GY/4445GY/3255-4	Rubbermaid	2643-60
	Advanced Blending, Inc. DBA: LAst Group Enterprises	150	EA	\$55.63	\$8,344.50	each, Garbage Can with Lid and Dolly, Color: Grey Capacity: 44 Gallon Material: Plastic Janico #1044GY (Can.) 1044GY-02GY (Lid.) and 1104 (Dolly.) Packed 4 each case. Please order by even case lot. Minimum order for Janico Products is \$2000. mixed product. (Items 2, 3, 4, 5, 6, 7, 8, 10, 12, 13, 14, 15, 16, 17, 18, 68, 72, 82, 83, 96, 97, 138, 144, 145) QUOTING JANICO PRODUCTS AS EQUAL ITEMS	Rubbermaid	2643-60
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	150	EA	\$59.98	\$8,997.00	CONTINENTAL #444+#4445+#3255-4 - 4 EA/CTN FULL CARTONS ONLY	Rubbermaid	2643-60
	Yanitor Paper and Supplies, LLC	150	EA	\$65.00	\$9,750.00	We are bidding the same item you requested: Mfr: Rubbermaid. Mfr Item # 2643-60 GREY, 44 GALLONS CAPACITY	Rubbermaid	2643-60
	[ALT1] Gateway Printing	150	EA	\$75.50	\$11,325.00	Pricing consists of three item numbers: BWK44GLWRGRA / BWK44GLWRLIDGRA / BWKDOLLY	Boardwalk	see notes.
	Conserv Flag Company	150	EA	\$79.89	\$11,983.50		Rubbermaid	2643-60
	School Specialty, Inc.	150	EA	No Bid			Rubbermaid	2643-60
	US WHOLESALE PRODUCTS	150	EA	No Bid			Rubbermaid	2643-60
	Staples Inc (Staples Contract and Commercial LLC)	150	EA	No Bid			Rubbermaid	2643-60
	American Industrial Supplies & Tool Repair, Inc.	150	EA	No Bid			Rubbermaid	2643-60

### 5 Bottle and Sprayer Combo.

	Supplier	QTY	UOM	Price	Extended Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
AWARD	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	200	ST	\$0.92	\$184.00 IMPACT #5032W+#4902 - 100 SET MINIMUM ORDER	Unisan	7120
	Gulf Coast Paper	200	ST	\$1.27	\$254.00 BOTTLEQT + TRIGQT	Unisan	7120
	CC Distributors, Inc.	200	ST	\$1.60	\$320.00 CONTINENTAL 932CG/902RW9	Unisan	7120
	Advanced Blending, Inc. DBA: LAst Group Enterprises	200	ST	\$1.61	\$322.00 each, Bottle and Sprayer Combo, Color: Clear Size: 32 Oz. Chemical Resistant Requesting: 200 Sets Janico #1104 Packed 12 each case. Please order by even case lot. Minimum order for Janico Products is \$2000. mixed product. (Items 2, 3, 4, 5, 6, 7, 8, 10, 12, 13, 14, 15, 16, 17, 18, 68, 72, 82, 83, 96, 97, 138, 144, 145) QUOTING JANICO PRODUCTS AS EQUAL ITEMS	Unisan	7120

Genesis II, Inc	200	ST	\$1.62	\$324.00 Genesis 550732/550610, 200/cs	Unisan	7120
American Industrial Supplies & Tool Repair, Inc.	200	ST	\$2.26	\$452.00	Unisan	7120
Ferguson Facilities Supply	200	ST	\$2.29	\$458.00 TO-120125 \$1.53/ealM-4950 \$0.76/eaMost all daily cleaners for school cleaning do not require a chemical resistant trigger. You could save money by converting to a standrd trigger.	Unisan	7120
[ALT1] Gateway Printing	200	ST	\$3.89	\$778.00 Professional Spray Bottle w/Trigger Sprayer, 32 oz, Clear Plastic	Zep	ZPEHDPRO36EA
Rio Paper & Supply, LLC	200	ST	\$5.51	\$1,102.00 Equal- Please Note- comes in three pack combo - BWK03010 BOARDWALKTrigger Spray Bottle, 32 oz, Clear/Red, HDPE, 3/Pack	Unisan	7120
Staples Inc (Staples Contract and Commercial LLC)	200	ST	No Bid		Unisan	7120
Yanitor Paper and Supplies, LLC	200	ST	No Bid		Unisan	7120
School Specialty, Inc.	200	ST	No Bid		Unisan	7120
US WHOLESALE PRODUCTS	200	ST	No Bid		Unisan	7120

### 6 Plastic Bottle Sprayer.

	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
AWARD	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPAI	200	EA	<i>\$0.58</i>	\$116.00	CONTINENTAL #902BW9 - 100 EACH MINIMUM ORDER	Impact	UNS55910-9
	Ferguson Facilities Supply	200	EA	\$0.66	\$132.00	TO-110248	Impact	UNS55910-9
	Rio Paper & Supply, LLC	200	EA	\$0.70	\$140.00	Equal- 5032WG-EA, Impact Plastic Bottle Graduated 32 oz $1$ / ea	Impact	UNS55910-9
	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	200	EA	\$0.75	\$150.00	STAPLES SKU - 796495 BOTTLE PLASTIC 320Z NATURAL	IMPACT PRODUCTS, LLC	5032WG24
	Genesis II, Inc	200	EA	\$0.83	\$166.00	Genesis BB550732, 100/cs, minimum order 200 each	Impact	UNS55910-9
	CC Distributors, Inc.	200	EA	\$0.94	\$188.00	CONTINENTAL 902RW9 (STANDARD)	Impact	UNS55910-9
	Advanced Blending, Inc. DBA: LAst Group Enterprises	200	EA	\$0.95	\$190.00	each, Plastic Bottle Sprayer, Color: Clear Size: 97,48 Chemical Resistant, Janico #1007, Packed 200 each case. Please order by even case lot. Minimum order for Janico Products is \$2000. mixed product. (Items 2, 3, 4, 5, 6, 7, 8, 10, 12, 13, 14, 15, 16, 17, 18, 68, 72, 82, 83, 96, 97, 138, 144, 145) QUOTING JANICO PRODUCTS AS EQUAL ITEMS	Impact	UNS55910-9
	Gulf Coast Paper	200	EA	\$1.02	\$204.00		Impact	UNS55910-9
	Gateway Printing	200	EA	\$1.63	\$326.00		Impact	UNS55910-9
	Yanitor Paper and Supplies, LLC	200	EA	No Bid			Impact	UNS55910-9
	US WHOLESALE PRODUCTS	200	EA	No Bid			Impact	UNS55910-9
	School Specialty, Inc.	200	EA	No Bid			Impact	UNS55910-9

	Supplier	QTY	UOM	Price		Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
AWARD	Advanced Blending, Inc. DBA: LAst Group Enterprises	40	ΕΑ	\$78.89	\$3,155.60	Janitor Cart, Janico #1050, packed 1 ea cs. Pls order by even cs lot. Min order for Janico Products is \$2000. mix product. (Items 2, 3, 4, 5, 6, 7, 8, 10, 12, 13, 14, 15, 16, 17, 18, 68, 72, 82, 83, 96, 97, 138, 144, 145) QUOTING JANICO AS EQUAL ITEM	Rubbermaid	FG9T7200BLK
	Genesis II, Inc	40	EA	\$86.20	\$3,448.00	Genesis BB154048, minimum order 14 each	Rubbermaid	FG9T7200BLK
	Ferguson Facilities Supply	40	EA	\$92.11	\$3,684.40	CR-JC1945L23	Rubbermaid	FG9T7200BLK
	Gulf Coast Paper	40	EA	\$98.29	\$3,931.60		Rubbermaid	FG9T7200BLK
	Safeway Supply Inc (Hunte)	40	EA	\$100.50	\$4,020.00	DURAPLUS JANITOR CART BLACK #804628	Rubbermaid	FG9T7200BLK
	CC Distributors, Inc.	40	EA	\$100.60	\$4,024.00	CONTINENTAL 184BK	Rubbermaid	FG9T7200BLK
	Rio Paper & Supply, LLC	40	EA	\$120.36		ALT: BWKJCARTGRA Boardwalk Janitor's Cart, 3-Shelf, 22w x 44d x 38h, Gray	Rubbermaid	FG9T7200BLK
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	40	EA	\$168.95		RUBBERMAID FG9T7200BLK	Rubbermaid	FG9T7200BLK
	Yanitor Paper and Supplies, LLC	40	EA	\$221.00		Mfr: Rubbermaid. Mfr Item# FG9T7200BLK	Rubbermaid	FG9T7200BLK
	[ALT1] School Specialty, Inc.	40	EA	\$245.83	\$9,833.20	JANITOR CART 8" WHEELS 4" CASTERS 21 3/4"X46"X38 3/8" GRAY	RUBBERMAID	RCP617388
	Gateway Printing	40	EA	\$299.00	\$11,960.00	)	Rubbermaid	FG9T7200BLK
	Staples Inc (Staples Contract and Commercial LLC)	40	EA	\$367.21	\$14,688.40		Rubbermaid	FG9T7200BLK
	US WHOLESALE PRODUCTS	40	EA	No Bid			Rubbermaid	FG9T7200BLK
8 Mop	Bucket with Down Press Wringer							
	Supplier	QTY	UOM	Price		Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
AWARD	Advanced Blending, Inc. DBA: LAst Group Enterprises	140	EA	\$39.45	\$5,523.00	Mop Bucket w/Side Press Wringer, Color: Yellow Capacity: 35 Quart, Janico #1010, packed 1 ea cs. Pls order by even cs lot. Min order for Janico Products is \$2000. mix product. (Items 2, 3, 4, 5, 6, 7, 8, 10, 12, 13, 14, 15, 16, 17, 18, 68, 72, 82, 83, 96, 97, 138, 144, 145) QUOTING JANICO AS EQUAL ITEM		335-37Yw
	Ferguson Facilities Supply	140	EA	\$47.00	\$6,580.00		Continental	335-37Yw
	[ALT1] School Specialty, Inc.	140	EA	\$50.03		MOP BUCKET WRINGER COMBO GJO02347	GENUINE JOE	GJO02347
	Yanitor Paper and Supplies, LLC	140	EA	\$53.00	\$7,420.00	We are offering an equal item you requested from another Mfr: Mfr: Rubbermaid. Mfr Item # FG758000 Color: Yellow Capacity: 35 qt.	Continental	335-37Yw
	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	140	EA	\$56.45	\$7,903.00	STAPLES SKU - 364105 MOP BUCKET SIDE-PRESS WRINGER	WORKLIFE BRANDS	CW21871/21871
	KAUTSCH TRUE VALUE (TRUE TEST VENTURES LLC)	140	EA	\$59.00	\$8,260.00		Continental	335-37Yw
	Genesis II, Inc	140	EA	\$60.87	\$8,521.80	Minimum order 55 each	Continental	335-37Yw
	[ALT1] Gateway Printing	140	EA	\$62.00		Genuine Joe 35 QT Side Press Mop Bucket Wringer Combo	Genuine Joe	GJO02347
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	140	EA	\$64.98	\$9,097.20	CONTINENTAL #335-37YW	Continental	335-37Yw
	CC Distributors, Inc.	140	EA	\$66.83		CONTINENTAL 335-37YW	Continental	335-37Yw
	Gulf Coast Paper	140	EA	\$67.60	\$9,464.00	)	Continental	335-37Yw
	Safeway Supply Inc (Hunte)	140	EA	\$68.35	\$9,569.00	DURAPLUS MOP BUCKET COMBO 35QT W/DOWN PRESS WRINGER #801796	Continental	335-37Yw
	Rio Paper & Supply, LLC	140	EA	\$107.20	\$15,008.00	Equal- RCPFG758088YEL RUBBERMAID COMMERCIAL PROD.WaveBrake 2.0 Bucket/Wringer Combos, Side-Press, 35 qt, Plastic, Yellow	Continental	335-37Yw
	American Industrial Supplies & Tool Repair, Inc.	140	EA	\$123.10	\$17,234.00		Continental	335-37Yw
	US WHOLESALE PRODUCTS	140	EA	No Bid			Continental	335-37Yw
9 Buck	et / Pail							
	Supplier	QTY	UOM	Price		Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
AWARD	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPAI	75	EA	\$ <b>3.</b> 29	\$246.75	CONTINENTAL #8110 - 12/CTN FULL CARTONS ONLY	Continental	8110
	Gulf Coast Paper	75	EA	\$3.37	\$252.75		Continental	8110
	CC Distributors, Inc.	75	EA	\$3.73	\$279.75	CONTINENTAL 8110RD	Continental	8110
			EA	\$3.96	\$297.00	)	Continental	8110
	Ferguson Facilities Supply	75	LA	<b>\$5.50</b>				
	,	75 75	EA	\$7.89		Impact Products 10-qt Deluxe Bucket	Impact Products	IMP5510R
	Ferguson Facilities Supply [ALT1] Gateway Printing Rio Paper & Supply, LLC	75 75	EA EA	\$7.89 \$11.04	\$828.00	PRCP2963RED RUBBERMAID COMMERCIAL PROD.BRUTE Round Utility Pail, 10qt, Red	Continental	8110
	Ferguson Facilities Supply [ALT1] Gateway Printing	75	EA	\$7.89	\$828.00	RCP2963RED RUBBERMAID COMMERCIAL PROD.BRUTE Round Utility		

EA

ΕA

EA

ΕA

75

75

75

75

No Bid

No Bid

No Bid

No Bid

School Specialty, Inc.

Genesis II, Inc

Yanitor Paper and Supplies, LLC

Advanced Blending, Inc. DBA: LAst Group Enterprises

Continental

Continental

Continental

Continental

8110

8110

8110

8110

10 House Hold Broom. QTY UOM Price Extended Supplier Notes / Alternate Description Supplier Manufacturer Manufacturer # AWARD Ferguson Facilities Supply 300 EA \$2.91 \$873.00 AB-20BROOM UNISAN UNS-9320 \$1,137.00 ABCO #00303NB - 12/CTN FULL CARTONS ONLY UNISAN UNS-932C PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY 300 ΕA \$3.79 \$4.18 \$1,254.00 Ea, Corn Broom, Color, Yellow, Janico #4045, packed 12 ea cs. Pls UNS-932C UNISAN Advanced Blending, Inc. DBA: LAst Group Enterprises 300 ΕA order by even cs lot. Min order for Janico Products is \$2000. mix product. (Items 2, 3, 4, 5, 6, 7, 8, 10, 12, 13, 14, 15, 16, 17, 18, 68, 72, 82, 83, 96, 97, 138, 144, 145) QUOTING JANICO AS EQUAL ITEM \$5.18 \$1,554.00 Genesis BB432033, 12/cs, minimum order 192 each UNISAN UNS-932C Genesis II, Inc 300 ΕA UNS-932C UNISAN American Industrial Supplies & Tool Repair, Inc. 300 ΕA \$6.45 \$1,935.00 \$2,037.00 GOLDEN STAR BRW58B UNISAN UNS-932C CC Distributors, Inc. 300 ΕA \$6.79 \$2,049.00 STAPLES SKU - 24420776 CW 56IN PARLOR BROOM CORN THE ODELL CORPORATION CW57732 [ALT1] Staples Inc (Staples Contract and Commercial LLC) 300 EΑ \$6.83 \$2,094.00 Angler Broom, Plastic Bristles, 53" Wood Handle, Yellow Boardwalk BWK932AEA [ALT1] Gateway Printing 300 ΕA \$6.98 UNISAN UNS-932C Gulf Coast Paper 300 ΕA \$7.15 \$2,145.00 \$3,060.00 BROOM CORN/FIBER WHSE GJO12001EA GENUINE JOE [ALT1] School Specialty, Inc. 300 ΕA \$10.20 GJO12001EA UNISAN UNS-932C Rio Paper & Supply, LLC 300 EΑ No Bid UNISAN UNS-932C Yanitor Paper and Supplies, LLC 300 ΕA No Bid UNISAN UNS-932C US WHOLESALE PRODUCTS 300 ΕA No Bid

#### 11 Push Broom 18" With Handle

CC Distributors, Inc.30EA\$7.48\$224.40MAGNOLA BRUSH 1418-SLPalmyraPLB2Genesis II, Inc30EA\$7.61\$228.30Genesis B120218/140160, 12/cs, minimum order 36 eachPalmyraPLB2Ferguson Facilities Supply30EA\$7.81\$234.30LW-2024SLHandle sold separatelyPalmyraPLB2Staples Inc (staples Contract and Commercial LLC)30EA\$8.10\$243.00PalmyraPLB2Gulf Coast Paper30EA\$12.23\$366.90F006018 + M101060PalmyraPLB2American Industrial Supplies & Tool Repair, Inc.30EA\$15.13\$453.90PalmyraPLB2[ALT1] Gateway Printing30EA\$18.26\$547.80Push Brooms, 18" Brush, PET Bristles, For Heavy Debris, 62" WoodRubbermaidRCP2	B20118 and PLB-136 B20118 and PLB-136 B20118 and PLB-136 B20118 and PLB-136 B20118 and PLB-136
Genesis II, Inc         30         EA         \$7.61         \$228.30         Genesis BB120218/140160, 12/cs, minimum order 36 each         Palmyra         PLB2           Ferguson Facilities Supply         30         EA         \$7.81         \$234.30         LW-2024SLHandle sold separately         Palmyra         PLB2           Staples Inc (staples Contract and Commercial LLC)         30         EA         \$8.10         \$243.00         Palmyra         PLB2           Gulf Coast Paper         30         EA         \$12.23         \$366.90         F006018 + M101060         Palmyra         PLB2           American Industrial Supplies & Tool Repair, Inc.         30         EA         \$15.13         \$453.90         Palmyra         PLB2           [ALT1] Gateway Printing         30         EA         \$18.26         \$547.80         Push Brooms, 18" Brush, PET Bristles, For Heavy Debris, 62" Wood         Rubbermaid         RCP2	B20118 and PLB-136 B20118 and PLB-136 B20118 and PLB-136
Ferguson Facilities Supply30EA\$7.81\$234.30LW-2024SLHandle sold separatelyPalmyraPLB2Staples Inc (Staples Contract and Commercial LLC)30EA\$8.10\$243.00PalmyraPLB2Gulf Coast Paper30EA\$12.23\$366.90\$0006018 + M101060PalmyraPLB2American Industrial Supplies & Tool Repair, Inc.30EA\$15.13\$453.90PalmyraPLB2[ALT1] Gateway Printing30EA\$18.26\$547.80Push Brooms, 18" Brush, PET Bristles, For Heavy Debris, 62" WoodRubbermaidRCP2	B20118 and PLB-136 B20118 and PLB-136
Staples Inc (staples Contract and Commercial LLC)         30         EA         \$8.10         \$243.00         Palmyra         PLB2           Gulf Coast Paper         30         EA         \$12.23         \$366.90         \$2000018 + M101060         Palmyra         PLB2           American Industrial Supplies & Tool Repair, Inc.         30         EA         \$15.13         \$453.90         Palmyra         PLB2           [ALT1] Gateway Printing         30         EA         \$18.26         \$547.80         Push Brooms, 18" Brush, PET Bristles, For Heavy Debris, 62" Wood         Rubbermaid         RCP2	B20118 and PLB-136
Gulf Coast Paper     30     EA     \$12.23     \$366.90     Point     Plaz       Gulf Coast Paper     30     EA     \$15.13     \$453.90     Palmyra     Plaz       American Industrial Supplies & Tool Repair, Inc.     30     EA     \$15.13     \$453.90     Palmyra     Plaz       [ALT1] Gateway Printing     30     EA     \$18.26     \$547.80     Push Brooms, 18" Brush, PET Bristles, For Heavy Debris, 62" Wood     Rubbermaid     RCP2	
American Industrial Supplies & Tool Repair, Inc.     30     EA     \$15.13     \$453.90     Palmyra     PLB2       [ALT1] Gateway Printing     30     EA     \$18.26     \$547.80     Push Brooms, 18" Brush, PET Bristles, For Heavy Debris, 62" Wood     Rubbermaid     RCP2	
[ALT1] Gateway Printing 30 EA \$18.26 \$547.80 Push Brooms, 18" Brush, PET Bristles, For Heavy Debris, 62" Wood Rubbermaid RCP2	B20118 and PLB-136
	B20118 and PLB-136
Handle, Black/Gray	CP2040055
US WHOLESALE PRODUCTS 30 EA No Bid Palmyra PLB2	B20118 and PLB-136
Yanitor Paper and Supplies, LLC     30     EA     No Bid     Palmyra     PLB2	B20118 and PLB-136
Rio Paper & Supply, LLC         30         EA         No Bid         Palmyra         PLB2	B20118 and PLB-136
Advanced Blending, Inc. DBA: LAst Group Enterprises 30 EA No Bid Palmyra PLB2	B20118 and PLB-136
School Specialty, Inc. 30 EA No Bid Palmyra PLB2	

#### 12 Counter Brush with Hardwood Handle.

	Supplier	QTY	UOM	Price	Extended Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
AWARD	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	65	EA	\$2.08	\$135.20 ABCO 00100 - 12/CTN FULL CARTONS ONLY	Weiler	71019
	Advanced Blending, Inc. DBA: LAst Group Enterprises	65	EA	\$2.09	\$135.85 ea, Counter Brush w/Poly Handle. Janico #4006 packed 12 ea cs. Pls order by even cs lot. Min order for Janico Products is \$2000. mix product. (Items 2,3, 4, 5, 6, 7, 8, 10, 12, 13, 14, 15, 16, 17, 18, 68, 72, 82, 83, 96, 97, 138, 144, 145) QUOTING JANICO AS EQUAL ITEMS	Weiler	71019
	Ferguson Facilities Supply	65	EA	\$2.22	\$144.30 AB-00100	Weiler	71019
	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	65	EA	\$2.58	\$167.70 STAPLES SKU - 24418472 CW 8 IN POLY COUNTER BRUSH	WORKLIFE BRANDS	CW56791
	CC Distributors, Inc.	65	EA	\$3.11	\$202.15 GOLDEN STAR BCB13W	Weiler	71019
	Gulf Coast Paper	65	EA	\$3.41	\$221.65	Weiler	71019
	[ALT1] Gateway Printing	65	EA	\$3.49	\$226.85 Counter Brush, Polypropylene Fill, 8" Long, Tan Handle	Boardwalk	BWK5308
	American Industrial Supplies & Tool Repair, Inc.	65	EA	\$10.22	\$664.30	Weiler	71019
	US WHOLESALE PRODUCTS	65	EA	No Bid		Weiler	71019
	Yanitor Paper and Supplies, LLC	65	EA	No Bid		Weiler	71019
	School Specialty, Inc.	65	EA	No Bid		Weiler	71019
	Rio Paper & Supply, LLC	65	EA	No Bid		Weiler	71019
	Genesis II, Inc	65	EA	No Bid		Weiler	71019

### 13 Lobby Dust Pan

	Supplier	QTY	UOM	Price	Extended Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
AWARD	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPAI	120	EA	\$ <b>5.</b> 89	<b>\$706.80</b> ABCO DP204E - 20/CTN FULL CARTONS ONLY	Lobby Master	2600
	Gulf Coast Paper	120	EA	\$5.93	\$711.60	Lobby Master	2600
	Advanced Blending, Inc. DBA: LAst Group Enterprises	120	EA	\$6.09	\$730.80 ea, Lobby Dust Pan, Black, Janico #1085, Packed 12 ea cs. Pls order by even cs lot. Min order for Janico Products is \$2000. mix product. (Items 2, 3, 4, 5, 6, 7, 8, 10, 12, 13, 14, 15, 16, 17, 18, 68, 72, 82, 83, 96, 97, 138, 144, 145) QUOTING JANICO AS EQUAL ITEM	Lobby Master	2600
	Genesis II, Inc	120	EA	\$6.58	\$789.60 Genesis DP-00204E, 20/cs, minimum order 40 each	Lobby Master	2600
	CC Distributors, Inc.	120	EA	\$6.79	\$814.80 CONTINENTAL 912BK	Lobby Master	2600
	Ferguson Facilities Supply	120	EA	\$6.85	\$822.00 CR-36141003	Lobby Master	2600
	[ALT1] Gateway Printing	120	EA	\$10.21	\$1,225.20 Lobby Master Plastic Lobby Dustpan, 12" Wide, 32" High, Black Pan/White Handle	Impact Products	IMP2602
	Staples Inc (Staples Contract and Commercial LLC)	120	EA	\$10.64	\$1,276.80	Lobby Master	2600
	[ALT1] School Specialty, Inc.	120	EA	\$20.20	\$2,424.00 DUST PAN UPRIGHT LOBBY PRO BLACK	RUBBERMAID COMMERCIAL	FG253100BLA
	Rio Paper & Supply, LLC	120	EA	No Bid		Lobby Master	2600
	US WHOLESALE PRODUCTS	120	EA	No Bid		Lobby Master	2600
	Yanitor Paper and Supplies, LLC	120	EA	No Bid		Lobby Master	2600

	sh Mop Head. Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
AWARD	Gulf Coast Paper	250	EA	\$2.01	\$502.50		Unisan	UNS542
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY		EA	\$3.12		ABCO #LM203MC5NB - 12/CTN FULL CARTONS ONLY	Unisan	UNS542
	Genesis II, Inc	250	EA	\$3.42	1	Genesis HC-78MBW/NB, 12/cs	Unisan	UNS542
	Advanced Blending, Inc. DBA: LAst Group Enterprises	250	EA	\$3.99		ea, Finish Mop Head, 16 oz. 8 ply cotton, wide band, cut end, White, Janico #3616. Packed 12 ea cs. Pls order by even cs lot. Min order for Janico Products is \$2000. mix product. (Items 2, 3, 4, 5, 6, 7, 8, 10, 12, 13, 14, 15, 16, 17, 18, 68, 72, 82, 83, 96, 97, 138, 144, 145) QUOTING JANICO AS EQUAL ITEMS	Unisan	UNS542
	Ferguson Facilities Supply	250	EA	\$4.20	\$1,050.00	AB-LM203MCS	Unisan	UNS542
	American Industrial Supplies & Tool Repair, Inc.	250	EA	\$5.23	\$1,307.50		Unisan	UNS542
	CC Distributors, Inc.	250	EA	\$5.93	\$1,482.50	GOLDEN STAR AST30BWM	Unisan	UNS542
	[ALT1] Gateway Printing	250	EA	\$8.17		Mop Head, Floor Finish, Narrow, Rayon/Polyester, Medium, White/Blue	Boardwalk	BWK542CT
	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	250	EA	\$9.17	\$2,292.50	Staples SKU 420173 S S FINISH MOP MED WHT/BL SIN	Rubbermaid Comm Products	FGD55206WH00
	School Specialty, Inc.	250	EA	No Bid			Unisan	UNS542
	US WHOLESALE PRODUCTS	250	EA	No Bid			Unisan	UNS542
	Rio Paper & Supply, LLC	250	EA	No Bid			Unisan	UNS542
	Yanitor Paper and Supplies, LLC	250	EA	No Bid			Unisan	UNS542
5 Wet	Mop Head.							
	Supplier	QTY	UOM	Price		Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
WARD	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	2500	EA	<i>\$2.97</i>	\$7,425.00	Staples SKU 24420788 CW CTN-CE MOP #24 1IN WHITE	THE ODELL CORPORATION	CW57744
	Gulf Coast Paper	2500	EA	\$3.31	\$8,275.00		Unisan	UNS424R
	Genesis II, Inc	2500	EA	\$3.32		Genesis HC-24OZRLPNB, 12/cs, minimum order 432 each	Unisan	UNS424R
	Advanced Blending, Inc. DBA: LAst Group Enterprises	2500	EA	\$3.43	\$8,575.00	each, Medium Blended Cotton Narrow Band Looped End Mop Head, Janico #3161 Packed 12 each case. Please order by even case lot. Minimum order for Janico Products is \$2000. mixed product. (Items 2, 3, 4, 5, 6, 7, 8, 10, 12, 13, 14, 15, 16, 17, 18, 68, 72, 82, 83, 96, 97, 138, 144, 145) QUOTING JANICO AS EQUAL ITEM	Unisan	UNS424R
	American Industrial Supplies & Tool Repair, Inc.	2500	EA	\$3.91			Unisan	UNS424R
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	2500	EA	\$3.99	\$9 <i>,</i> 975.00	ABCO #BH25002 - 12/CTN FULL CARTONS ONLY	Unisan	UNS424R
	Ferguson Facilities Supply	2500	EA		\$10,500.00		Unisan	UNS424R
	Safeway Supply Inc (Hunte)	2500	EA			ABCO LM-4003LW 12/CASE MIN ORDER 40 CASES	Unisan	UNS424R
	CC Distributors, Inc.	2500	EA			GOLDEN STAR AST30L	Unisan	UNS424R
	[ALT1] School Specialty, Inc.	2500	EA			MOP WET NO.24 RAYON CUT END GJON24RAYEA	GENUINE JOE	GJON24RAYEA
	[ALT1] Gateway Printing	2500	EA	\$7.49	\$18,725.00	Pro Loop Web/Tailband Wet Mop Head, Cotton, 24oz, White	Boardwalk	BWK424CEA
	US WHOLESALE PRODUCTS	2500	EA	No Bid			Unisan	UNS424R
	Rio Paper & Supply, LLC	2500	EA	No Bid			Unisan	UNS424R
	Yanitor Paper and Supplies, LLC	2500	EA	No Bid			Unisan	UNS424R
6 Mop	) Handle.							
14/4 22	Supplier	QTY	UOM	Price		Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
AWARD	Advanced Blending, Inc. DBA: LAst Group Enterprises	250	ΕΑ	\$5.08	\$1,270.00	ea, Mop Handle, Bolt Down, Metal, Janico 3003, Packed 12 ea cs. Pls order even cs lot. Min order for Janico Products is \$2000. mix product. (Items 2, 3, 4, 5, 6, 7, 8, 10, 12, 13, 14, 15, 16, 17, 18, 68, 72, 82, 83, 96, 97, 138, 144, 145) QUOTING JANICO AS EQUAL ITEM	Impact	IMP-94
	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	250	EA	\$5.90	\$1,475.00	Staples SKU 24420000 CW SIDEGATE MOP HANDLE WOOD	WORKLIFE BRANDS	CW58009
	Ferguson Facilities Supply	250	EA	\$6.79	\$1,697.50	AB-01206NB	Impact	IMP-94
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	250	EA	\$7.99	\$1,997.50	IMPACT #94 - 12/CTN FULL CARTONS ONLY	Impact	IMP-94
	Genesis II, Inc	250	EA	\$8.52	\$2,130.00	Genesis HC-94, 12/cs	Impact	IMP-94
	CC Distributors, Inc.	250	EA	\$9.72	\$2,430.00	GOLDEN STAR JWM1516FPORG	Impact	IMP-94
	American Industrial Supplies & Tool Repair, Inc.	250	EA	\$10.21	\$2,552.50		Impact	IMP-94
	Gulf Coast Paper	250	EA	\$13.80	\$3,450.00		Impact	IMP-94
	Gateway Printing	250	EA	\$13.89	\$3,472.50		Impact	IMP-94
	US WHOLESALE PRODUCTS	250	EA	No Bid			Impact	IMP-94
	School Specialty, Inc.	250	EA	No Bid			Impact	IMP-94
	Rio Paper & Supply, LLC	250	EA	No Bid			Impact	IMP-94
				No Bid			Impact	IMP-94

17 Wedge Mop Head QTY UOM Price Extended Supplier Notes / Alternate Description Manufacturer # Supplier Manufacturer AWARD PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPAI 350 EA \$1.82 \$637.00 ABCO #BH25002 - 12/CTN FULL CARTONS ONLY UNISAN UNS1491 \$668.50 ea, Wedge Mop Head, White Size: 17 1/2" x 13 1/2" Material: Cotton, UNISAN UNS1491 Advanced Blending, Inc. DBA: LAst Group Enterprises \$1.91 350 ΕA Janico #3512. Packed 12 ea cs. Pls order by even cs lot. Min order for Janico Products is \$2000. mix product. (Items 2, 3, 4, 5, 6, 7, 8, 10, 12, 13, 14, 15, 16, 17, 18, 68, 72, 82, 83, 96, 97, 138, 144, 145) QUOTING JANICO AS EQUAL ITEM \$805.00 AB-BH25002 UNISAN UNS1491 Ferguson Facilities Supply 350 ΕA \$2.30 Genesis II, Inc \$938.00 Genesis BH-25002, 12/cs, minimum order 96 each UNISAN UNS1491 350 ΕA \$2.68 UNISAN UNS1491 Gulf Coast Paper 350 ΕA \$2.79 \$976.50 CC Distributors, Inc. \$1,176.00 GOLDEN STAR AWE303ITW UNISAN UNS1491 350 ΕA \$3.36 \$1,277.50 Wedge Dust Mop Head, Cotton, 17 1/2l x 13 1/2w, White BWK1491 Boardwalk [ALT1] Gateway Printing 350 EA \$3.65 UNISAN UNS1491 American Industrial Supplies & Tool Repair, Inc. \$1,368.50 350 ΕA \$3.91 \$1,771.00 Staples SKU 24418788 CW WEDGE DUST HEAD 15/16 X 48 WORKLIFE BRANDS [ALT1] Staples Inc (Staples Contract and Commercial LLC) CW56768 350 ΕA \$5.06 UNISAN UNS1491 Yanitor Paper and Supplies, LLC 350 ΕA No Bid No Bid UNISAN UNS1491 US WHOLESALE PRODUCTS 350 ΕA UNISAN UNS1491 School Specialty, Inc. 350 ΕA No Bid UNISAN UNS1491 Rio Paper & Supply, LLC 350 ΕA No Bid

	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
ARD	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	100	EA	\$1.47	\$147.00	Staples SKU 24418760 CW WEDGE DUST MOP HEAD	WORKLIFE BRANDS	CW56762
	[ALT1] Gateway Printing	100	EA	\$3.79	\$379.00	Wedge Dust Mop Head Frame/Natural Wood Handle, 15/16" Dia. x 48" Long	Boardwalk	BWK1492
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	100	EA	\$3.99	\$399.00	ABCO #BH25001 - 12/CTN FULL CARTONS ONLY	UNISAN	UNS-1492
	CC Distributors, Inc.	100	EA	\$4.88	\$488.00	GOLDEN STAR TWE303	UNISAN	UNS-1492
	American Industrial Supplies & Tool Repair, Inc.	100	EA	\$5.78	\$578.00		UNISAN	UNS-1492
	Advanced Blending, Inc. DBA: LAst Group Enterprises	100	EA	\$6.29	\$629.00	ea, Wedge Mop Handle, Color, Natural, Size 5/16 x 48, Janico #4361 Packed 12 ea cs. Pls order by even cs lot. Min order for Janico Products is \$2000. mix product. (Items 2, 3, 4, 5, 6, 7, 8, 10, 12, 13, 14, 15, 16, 17, 18, 68, 72, 82, 83, 96, 97, 138, 144, 145) QUOTING JANICO AS EQUAL ITEM	UNISAN	UNS-1492
	Gulf Coast Paper	100	EA	\$6.94	\$694.00		UNISAN	UNS-1492
	Ferguson Facilities Supply	100	EA	\$7.90	\$790.00		UNISAN	UNS-1492
	Rio Paper & Supply, LLC	100	EA	No Bid			UNISAN	UNS-1492
	Genesis II, Inc	100	EA	No Bid			UNISAN	UNS-1492
	US WHOLESALE PRODUCTS	100	EA	No Bid			UNISAN	UNS-1492
	Yanitor Paper and Supplies, LLC	100	EA	No Bid			UNISAN	UNS-1492
	School Specialty, Inc.	100	EA	No Bid			UNISAN	UNS-1492

### 19 Toilet Plunger.

	Supplier	QTY	UOM	Price		Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
AWARD	CC Distributors, Inc.	50	EA	\$2.75		PLUMB PAK PP845-4	Cobra Products	00320
	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	50	EA	\$3.03	\$151.50	Staples SKU 24418465 CW INDUSTRIAL PLUNGER 20 IN	WORKLIFE BRANDS	CW56805
	[ALT1] PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER (	50	EA	\$3.31	\$165.50	TOILET PLUNGER	BETTER BRUSH	510209
	Genesis II, Inc	50	EA	\$3.58	\$179.00	Genesis BB510209, 12/cs	Cobra Products	00320
	American Industrial Supplies & Tool Repair, Inc.	50	EA	\$4.78	\$239.00		Cobra Products	00320
	Ferguson Facilities Supply	50	EA	\$8.35	\$417.50	IM-9205. Same style	Cobra Products	00320
	Advanced Blending, Inc. DBA: LAst Group Enterprises	50	EA	No Bid			Cobra Products	00320
	Gulf Coast Paper	50	EA	No Bid			Cobra Products	00320
	Rio Paper & Supply, LLC	50	EA	No Bid			Cobra Products	00320
	School Specialty, Inc.	50	EA	No Bid			Cobra Products	00320
	US WHOLESALE PRODUCTS	50	EA	No Bid			Cobra Products	00320
	Yanitor Paper and Supplies, LLC	50	EA	No Bid			Cobra Products	00320
	Gateway Printing	50	EA	No Bid			Cobra Products	00320

### 20 Lavatory Plunger

Luvu							
	Supplier	QTY	UOM	Price	Extended Supplier Notes	Manufacturer	Manufacturer #
AWARD	CC Distributors, Inc.	50	EA	\$1.7 <mark>2</mark>	\$86.00 PLUMB PAK PP845-2	GT Water Products	C5TF30
	Gulf Coast Paper	50	EA	\$2.66	\$133.00	GT Water Products	C5TF30
	Ferguson Facilities Supply	50	EA	\$4.00	\$200.00 <sup>IM-9201</sup>	GT Water Products	C5TF30
	School Specialty, Inc.	50	EA	No Bid		GT Water Products	C5TF30
	US WHOLESALE PRODUCTS	50	EA	No Bid		GT Water Products	C5TF30
	Gateway Printing	50	EA	No Bid		GT Water Products	C5TF30
	Rio Paper & Supply, LLC	50	EA	No Bid		GT Water Products	C5TF30
	Advanced Blending, Inc. DBA: LAst Group Enterprises	50	EA	No Bid		GT Water Products	C5TF30
	Yanitor Paper and Supplies, LLC	50	EA	No Bid		GT Water Products	C5TF30
	Genesis II, Inc	50	EA	No Bid		GT Water Products	C5TF30
	Staples Inc (Staples Contract and Commercial LLC)	50	EA	No Bid		GT Water Products	C5TF30

Nitri	le Gloves.							
	Supplier	QTY	UOM	Price		Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
VARD	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	150	BX	\$8.79		Staples SKU 103747 EXAM GLOVE NTRL PFREE LG 100BX	TRADEX INTERNATIONAL	NLG200
	Ferguson Facilities Supply	150	ΒХ	\$15.34	\$2,301.00	This market is extremely volatile at the moment. Prices and item numbers are subject to change. VG-A14C13 is packed 200 gloves per box. Per 100 cost submitted.	Kimberly Clark	KCC57373
	Gulf Coast Paper	150	BX	\$15.81	\$2,371.50	***PLEASE NOTE DUE TO THE ONGOING PANDEMIC WE CANNOT GUARANTEE THIS PRICE FOR FULL TERM OF BID*****PRICES SUBJECT TO CHANGE WITH 30 DAY NOTICE*** GULF COAST PAPER WILL PROVIDE WRITTEN PROOF IF AN INCREASE IS WARRANTED***	Kimberly Clark	KCC57373
	Rio Paper & Supply, LLC	150	BX	\$21.95	\$3,292.50	Equal: X3 Nitrile Gloves, 100 gloves per box.	Kimberly Clark	KCC57373
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	150	BX	\$27.99		IMPACT #8644LARGE - 10 BX PER CASE FULL CASE ONLY	Kimberly Clark	KCC57373
	Interboro Packaging Corp.	150	BX	\$36.00	\$5,400.00	Price quoted is per box of 100Med Pride/Aurelia-Lrg-NPFGMfr:Med Pride/Supermax	Kimberly Clark	KCC57373
	Genesis II, Inc	150	BX	No Bid			Kimberly Clark	KCC57373
	US WHOLESALE PRODUCTS	150	BX	No Bid			Kimberly Clark	KCC57373
	School Specialty, Inc.	150	BX	No Bid			Kimberly Clark	KCC57373
	Advanced Blending, Inc. DBA: LAst Group Enterprises	150	BX	No Bid			Kimberly Clark	KCC57373
	CC Distributors, Inc.	150	BX	No Bid			Kimberly Clark	KCC57373
	Gateway Printing	150	BX	No Bid			Kimberly Clark	KCC57373
	Yanitor Paper and Supplies, LLC	150	BX	No Bid			Kimberly Clark	KCC57373

	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
VARD	Genesis II, Inc	100	BX	\$0.46	\$46.00	Hygrade HL-100-M, 12 bx/cs	Safety Zone	41634
	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	100	BX	\$5.87	\$587.00	Staples SKU 886692 LATEX FLOCKLINED GLOVE MEDIUM	TRADEX INTERNATIONAL	LMD6500
	Ferguson Facilities Supply	100	BX	\$7.65	\$765.00	SZ-GRFY	Safety Zone	41634
	Gulf Coast Paper	100	BX	\$10.46	\$1,046.00	***PLEASE NOTE DUE TO THE ONGOING PANDEMIC WE CANNOT GUARANTEE THIS PRICE FOR FULL TERM OF BID******PRICES SUBJECT TO CHANGE WITH 30 DAY NOTICE*** GULF COAST PAPER WILL PROVIDE WRITTEN PROOF IF AN INCREASE IS WARRANTED***	Safety Zone	41634
	American Industrial Supplies & Tool Repair, Inc.	100	BX	\$10.49	\$1,049.00	)	Safety Zone	41634
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	100	BX	\$12.98	\$1,298.00	IMPACT 8440M	Safety Zone	41634
	Gateway Printing	100	BX	No Bid			Safety Zone	41634
	US WHOLESALE PRODUCTS	100	BX	No Bid			Safety Zone	41634
	Advanced Blending, Inc. DBA: LAst Group Enterprises	100	BX	No Bid			Safety Zone	41634
	Rio Paper & Supply, LLC	100	BX	No Bid			Safety Zone	41634
	Yanitor Paper and Supplies, LLC	100	BX	No Bid			Safety Zone	41634
	CC Distributors, Inc.	100	BX	No Bid			Safety Zone	41634
	School Specialty, Inc.	100	BX	No Bid			Safety Zone	41634

23	Rubber	Gloves.

3 Rubb	er Gloves.							
	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
WARD	Genesis II, Inc	100	BX	<b>\$0.46</b>	\$46.00	Hygrade HL-100-L, 12 bx/cs	Safety Zone	41634
	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	100	BX	\$5.87	\$587.00	Staples SKU 886615 LATEX FLOCKLINED GLOVE LARGE	TRADEX INTERNATIONAL	LLG6500
	Ferguson Facilities Supply	100	BX	\$7.65	\$765.00		Safety Zone	41634
	Gulf Coast Paper	100	BX	\$10.46	\$1,046.00	*PIs note due to the ongoing pandemic, can't guarantee price for full term of bid*Prices subject to change w/30 day notice*Will provide written proof if an increase is warranted*	Safety Zone	41634
	American Industrial Supplies & Tool Repair, Inc.	100	BX	\$10.49	\$1,049.00		Safety Zone	41634
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	100	BX	\$12.98	\$1,298.00	IMPACT 8440L	Safety Zone	41634
	Gateway Printing	100	BX	No Bid			Safety Zone	41634
	US WHOLESALE PRODUCTS	100	BX	No Bid			Safety Zone	41634
	Advanced Blending, Inc. DBA: LAst Group Enterprises	100	BX	No Bid			Safety Zone	41634
	Rio Paper & Supply, LLC	100	BX	No Bid			Safety Zone	41634
	Yanitor Paper and Supplies, LLC	100	BX	No Bid			Safety Zone	41634
	CC Distributors, Inc.	100	BX	No Bid			Safety Zone	41634
	School Specialty, Inc.	100	BX	No Bid			Safety Zone	41634

	Supplier	QTY	UOM	Price		Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
RD	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	350	BX	\$7.27		Staples SKU 931429 LATEX DISP GLOVE PF MD 100BX	TRADEX INTERNATIONAL	LMD5201
	Ferguson Facilities Supply	350	BX	\$8.66	\$3,031.00	Currently out of stock of latex. Recommend either vinyl or nitrile depending on where/how it is being used. Price quoted for vinyl at today's prices. The glove market is extremely volatile at the moment. Prices and item #s are subject to change.WC-106717	GLX	GLX-355
	Gulf Coast Paper	350	BX	\$9.71	\$3,398.50	*PIs note due to the ongoing pandemic, can't guarantee price for full term of bid*Prices subject to change w/30 day notice*Will provide written proof if an increase is warranted*	GLX	GLX-355
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	350	BX	\$15.99	\$5,596.50	IMPACT 8622L 100/BX, 10 BX/CASE FULL CASE ONLY	GLX	GLX-355
	Interboro Packaging Corp.	350	BX	\$17.75	\$6,212.50	Price quoted is per box of 100JobGuard-Lrg-LG-EMfr:Spring-fill	GLX	GLX-355
	Advanced Blending, Inc. DBA: LAst Group Enterprises	350	BX	No Bid			GLX	GLX-355
	Genesis II, Inc	350	BX	No Bid			GLX	GLX-355
	Rio Paper & Supply, LLC	350	BX	No Bid			GLX	GLX-355
	US WHOLESALE PRODUCTS	350	BX	No Bid			GLX	GLX-355
	School Specialty, Inc.	350	BX	No Bid			GLX	GLX-355
	CC Distributors, Inc.	350	BX	No Bid			GLX	GLX-355
	Yanitor Paper and Supplies, LLC	350	BX	No Bid			GLX	GLX-355
	Gateway Printing	350	BX	No Bid			GLX	GLX-355

	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
ARD	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	350	BX	\$7.27	\$2,544.50	Staples SKU 931429 LATEX DISP GLOVE PF MD 100BX	TRADEX INTERNATIONAL	LMD5201
	Ferguson Facilities Supply	350	BX	\$8.66	\$3,031.00	Currently out of stock of latex. Recommend either vinyl or nitrile depending on where/how it is being used. Price quoted for vinyl at today's prices. The glove market is extremely volatile at the moment. Prices and item #s are subject to change.WC-106717	GLX	GLX-355
	Gulf Coast Paper	350	BX	\$9.71	\$3,398.50	*PIs note due to the ongoing pandemic, can't guarantee price for full term of bid*Prices subject to change w/30 day notice*Will provide written proof if an increase is warranted*	GLX	GLX-355
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	350	BX	\$15.99	\$5,596.50	IMPACT 8622M 100/BX, 10 BX/CASE FULL CASE ONLY	GLX	GLX-355
	Interboro Packaging Corp.	350	BX	\$17.75	\$6,212.50	Price quoted is per box of 100JobGuard-Med-LG-EMfr:Spring-fill	GLX	GLX-355
	Advanced Blending, Inc. DBA: LAst Group Enterprises	350	BX	No Bid			GLX	GLX-355
	Genesis II, Inc	350	BX	No Bid			GLX	GLX-355
	Rio Paper & Supply, LLC	350	BX	No Bid			GLX	GLX-355
	US WHOLESALE PRODUCTS	350	BX	No Bid			GLX	GLX-355
	School Specialty, Inc.	350	BX	No Bid			GLX	GLX-355
	CC Distributors, Inc.	350	BX	No Bid			GLX	GLX-355
	Yanitor Paper and Supplies, LLC	350	BX	No Bid			GLX	GLX-355
	Gateway Printing	350	BX	No Bid			GLX	GLX-355

	Supplier	QTY	UOM	Price		Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
WARD	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	150	BX	\$7.27	\$1,090.50	Staples SKU 931436 LATEX DISP GLOVE PF LG 100BX	TRADEX INTERNATIONAL	ANS69318
	Ferguson Facilities Supply	150	BX	\$8.66	\$1,299.00	Currently out of stock of latex. Recommend either vinyl or nitrile depending on where/how it is being used. Price quoted for vinyl at today's prices. The glove market is extremely volatile at the moment. Prices and item #s are subject to change.WC-106717	Ansell	ANS69318
	Gulf Coast Paper	150	BX	\$9.71	\$1,456.50	*PIs note due to the ongoing pandemic, can't guarantee price for full term of bid*Prices subject to change w/30 day notice*Will provide written proof if an increase is warranted*	Ansell	ANS69318
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	150	BX	\$15.55	\$2,332.50	IMPACT 8625M 100/BX, 10 BX/CASE FULL CASE ONLY	Ansell	ANS69318
	Rio Paper & Supply, LLC	150	BX	\$15.95	\$2,392.50	Equal: X3 Latex, Powdered Free, 100 gloves per box, Medium	Ansell	ANS69318
	Interboro Packaging Corp.	150	BX	\$19.50	\$2,925.00	Price quoted is per box of 100JobGuard-Med-LPFGMfr:Spring-fill	Ansell	ANS69318
	Genesis II, Inc	150	BX	No Bid			Ansell	ANS69318
	US WHOLESALE PRODUCTS	150	BX	No Bid			Ansell	ANS69318
	School Specialty, Inc.	150	BX	No Bid			Ansell	ANS69318
	Advanced Blending, Inc. DBA: LAst Group Enterprises	150	BX	No Bid			Ansell	ANS69318
	CC Distributors, Inc.	150	BX	No Bid			Ansell	ANS69318
	Gateway Printing	150	BX	No Bid			Ansell	ANS69318
	Yanitor Paper and Supplies, LLC	150	BX	No Bid			Ansell	ANS69318

	Supplier	QTY	UOM	Price		Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
ARD	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	150	BX	\$7.27		Staples SKU 931436 LATEX DISP GLOVE PF LG 100BX	TRADEX INTERNATIONAL	LLG5201
	Ferguson Facilities Supply	150	BX	\$8.66	\$1,299.00	Currently out of stock of latex. Recommend either vinyl or nitrile depending on where/how it is being used. Price quoted for vinyl at today's prices. The glove market is extremely volatile at the moment. Prices and item #s are subject to change.WC-106717	Ansell	ANS69318
	Gulf Coast Paper	150	BX	\$9.71	\$1,456.50	*PIs note due to the ongoing pandemic, can't guarantee price for full term of bid*Prices subject to change w/30 day notice*Will provide written proof if an increase is warranted*	Ansell	ANS69318
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	150	BX	\$15.55	\$2,332.50	IMPACT 8625L 100/BX, 10 BX/CASE FULL CASE ONLY	Ansell	ANS69318
	Rio Paper & Supply, LLC	150	BX	\$15.95	\$2,392.50	Equal: X3 Latex, Powdered Free, 100 gloves per box, Large	Ansell	ANS69318
	Interboro Packaging Corp.	150	BX	\$19.50	\$2,925.00	Price quoted is per box of 100JobGuard-Lrg-LPFGMfr:Spring-fill	Ansell	ANS69318
	Genesis II, Inc	150	BX	No Bid			Ansell	ANS69318
	US WHOLESALE PRODUCTS	150	BX	No Bid			Ansell	ANS69318
	School Specialty, Inc.	150	BX	No Bid			Ansell	ANS69318
	Advanced Blending, Inc. DBA: LAst Group Enterprises	150	BX	No Bid			Ansell	ANS69318
	CC Distributors, Inc.	150	BX	No Bid			Ansell	ANS69318
	Gateway Printing	150	BX	No Bid			Ansell	ANS69318
	Yanitor Paper and Supplies, LLC	150	BX	No Bid			Ansell	ANS69318

	rs Pigskin Leather Gloves.							
	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
WARD	American Industrial Supplies & Tool Repair, Inc.	120	PR	\$ <b>3.</b> 11	\$373.20		Memphis Glove Company	Unlined Large
	[ALT1] US WHOLESALE PRODUCTS	120	PR	\$3.45	\$414.00	Cordova Drivers Leather Cowhide Gloves Unlined Light Tan Color	CORDOVA	8212
	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	120	PR	\$4.11	\$493.20	Staples SKU 179953 GLOVE PIGSKIN KEYSTONE THMB MED	PROTECTIVE IND PROD INC	70361/M
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	120	PR	\$4.59	\$550.80	HOSEPCO #GWPSLDR1-MEDIUM - 12 PR/BOX FULL BOXES ONLY	Memphis Glove Company	Unlined Large
	CC Distributors, Inc.	120	PR	\$6.27	\$752.40	SAFETY WORKS WA2433A/M	Memphis Glove Company	Unlined Large
	Ferguson Facilities Supply	120	PR	\$7.28	\$873.60	COWHIDE glove. Lasts longer and is much higher quality.	Memphis Glove Company	Unlined Large
	Gulf Coast Paper	120	PR	\$7.78	\$933.60	*PIs note due to the ongoing pandemic, can't guarantee price for full term of bid*Prices subject to change w/30 day notice*Will provide written proof if an increase is warranted*	Memphis Glove Company	Unlined Large
	Advanced Blending, Inc. DBA: LAst Group Enterprises	120	PR	No Bid			Memphis Glove Company	Unlined Large
	School Specialty, Inc.	120	PR	No Bid			Memphis Glove Company	Unlined Large
	Yanitor Paper and Supplies, LLC	120	PR	No Bid			Memphis Glove Company	Unlined Large
	Genesis II, Inc	120	PR	No Bid			Memphis Glove Company	Unlined Large
	Rio Paper & Supply, LLC	120	PR	No Bid			Memphis Glove Company	Unlined Large
	Gateway Printing	120	PR	No Bid			Memphis Glove Company	Unlined Large

# 29 Drivers Pigskin Leather Gloves

Supplier	QTY	UOM	Price	Extended Supplier No	tes / Alternate Description	Manufacturer	Manufacturer #
American Industrial Supplies & Tool Repair, Inc.	<b>120</b>	PR	\$ <b>3.</b> 11	\$373.20		Memphis Glove Company	Unlined Large
[ALT1] US WHOLESALE PRODUCTS	120	PR	\$3.45	\$414.00 Cordova Drivers I	eather Cowhide Gloves Unlined Light Tan Color	CORDOVA	8212
[ALT1] Staples Inc (Staples Contract and Commercial LLC)	120	PR	\$4.11	\$493.20 Staples SKU 1799	52 GLOVE PIGSKIN KEYSTONE THMB LG	PROTECTIVE IND PROD INC	70-361/L
PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	120	PR	\$4.59	\$550.80 HOSPECO GWSPL	DR1-L	Memphis Glove Company	Unlined Large
CC Distributors, Inc.	120	PR	\$6.27	\$752.40 SAFETY WORKS V	VA2433A/L	Memphis Glove Company	Unlined Large
Ferguson Facilities Supply	120	PR	\$7.28	\$873.60 COWHIDE glove.	Lasts longer and is much higher quality.	Memphis Glove Company	Unlined Large
Gulf Coast Paper	120	PR	\$7.78	term of bid*Price	s subject to change w/30 day notice*Will provide	Memphis Glove Company	Unlined Large
Advanced Blending, Inc. DBA: LAst Group Enterprises	120	PR	No Bid			Memphis Glove Company	Unlined Large
School Specialty, Inc.	120	PR	No Bid			Memphis Glove Company	Unlined Large
Yanitor Paper and Supplies, LLC	120	PR	No Bid			Memphis Glove Company	Unlined Large
Genesis II, Inc	120	PR	No Bid			Memphis Glove Company	Unlined Large
Rio Paper & Supply, LLC	120	PR	No Bid			Memphis Glove Company	Unlined Large
Gateway Printing	120	PR	No Bid			Memphis Glove Company	Unlined Large
	American Industrial Supplies & Tool Repair, Inc. [ALT1] US WHOLESALE PRODUCTS [ALT1] Staples Inc (Staples Contract and Commercial LLC) PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY CC Distributors, Inc. Ferguson Facilities Supply Gulf Coast Paper Advanced Blending, Inc. DBA: LAst Group Enterprises School Specialty, Inc. Yanitor Paper and Supplies, LLC Genesis II, Inc Rio Paper & Supply, LLC	American Industrial Supplies & Tool Repair, Inc.120[ALT1] US WHOLESALE PRODUCTS120[ALT1] Staples Inc (staples Contract and Commercial LLC)120PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY120CC Distributors, Inc.120Ferguson Facilities Supply120Gulf Coast Paper120Advanced Blending, Inc. DBA: LAst Group Enterprises120School Specialty, Inc.120Yanitor Paper and Supplies, LLC120Genesis II, Inc120Rio Paper & Supply, LLC120	American Industrial Supplies & Tool Repair, Inc.120PR[ALT1] US WHOLESALE PRODUCTS120PR[ALT1] Staples Inc (staples Contract and Commercial LLC)120PRPYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY120PRCC Distributors, Inc.120PRFerguson Facilities Supply120PRGulf Coast Paper120PRAdvanced Blending, Inc. DBA: LAst Group Enterprises120PRSchool Specialty, Inc.120PRYanitor Paper and Supplies, LLC120PRGenesis II, Inc120PRRio Paper & Supply, LLC120PR	American Industrial Supplies & Tool Repair, Inc.120PR\$3.11[ALT1] US WHOLESALE PRODUCTS120PR\$3.45[ALT1] Staples Inc (Staples Contract and Commercial LLC)120PR\$4.11PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY120PR\$4.59CC Distributors, Inc.120PR\$6.27Ferguson Facilities Supply120PR\$7.28Gulf Coast Paper120PR\$7.78Advanced Blending, Inc. DBA: LAst Group Enterprises120PRNo BidSchool Specialty, Inc.120PRNo BidYanitor Paper and Supplies, LLC120PRNo BidGenesis II, Inc120PRNo BidRio Paper & Supply, LLC120PRNo Bid	American Industrial Supplies & Tool Repair, Inc.       120       PR       \$3.11       \$373.20         [ALT1] US WHOLESALE PRODUCTS       120       PR       \$3.45       \$414.00       Cordova Drivers I         [ALT1] Staples Inc (staples Contract and Commercial LLC)       120       PR       \$4.11       \$493.20       Staples SKU 1799         PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY       120       PR       \$4.59       \$550.80       HOSPECO GWSPL         CC Distributors, Inc.       120       PR       \$6.27       \$752.40       SAFETO WORKS V         Ferguson Facilities Supply       120       PR       \$7.28       \$873.60       COWHIDE glove.         Gulf Coast Paper       120       PR       \$7.78       \$933.60       *PIs note due to to term of bid*Price written proof if a         Advanced Blending, Inc. DBA: LAst Group Enterprises       120       PR       No Bid       Yanitor Paper and Supplies, LLC       120       PR       No Bid         Yanitor Paper and Supplies, LLC       120       PR       No Bid       Rio Paper & No Bid       Fergus PR       No Bid	American Industrial Supplies & Tool Repair, Inc.       120       PR       \$3.11       \$373.20         [ALT1] US WHOLESALE PRODUCTS       120       PR       \$3.45       \$414.00       Cordova Drivers Leather Cowhide Gloves Unlined Light Tan Color         [ALT1] Staples Inc (staples Contract and Commercial LLC)       120       PR       \$4.11       \$493.20       Staples SkU 179952 GLOVE PIGSKIN KEYSTONE THMB LG         PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY       120       PR       \$4.59       \$550.80       HOSPECO GWSPLDR1-L         CC Distributors, Inc.       120       PR       \$6.27       \$752.40       SAFETY WORKS WA2433A/L         Ferguson Facilities Supply       120       PR       \$7.28       \$873.60       COWHIDE glove. Last longer and is much higher quality.         Gulf Coast Paper       120       PR       \$7.78       \$933.60       *PIs note due to the ongoing pandemic, can't guarantee price for full term of bid*Prices subject to change w/30 day notice*Will provide written proof if an increase is warranted*         Advanced Blending, Inc. DBA: LAst Group Enterprises       120       PR       No Bid         School Specialty, Inc.       120       PR       No Bid         Yanitor Paper and Supplies, LLC       120       PR       No Bid         Genesis II, Inc       120       PR       No Bid <tr< td=""><td>American Industrial Supplies &amp; Tool Repair, Inc.       120       PR       \$3.11       \$373.20       Memphis Glove Company         [ALT1] US WHOLESALE PRODUCTS       120       PR       \$3.45       \$414.00       Cordova Drivers Leather Cowhide Gloves Unlined Light Tan Color       CORDOVA         [ALT1] Staples Inc (staples Contract and Commercial LLC)       120       PR       \$4.11       \$493.20       Staples SkU 179952 GLOVE PIGSKIN KEYSTONE THIMB LG       PROTECTIVE IND PROD INC         PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY       120       PR       \$4.59       \$550.80       HOSPECG GWSPLDR1-L       Memphis Glove Company         CC Distributors, Inc.       120       PR       \$6.27       \$752.40       SAFETY WORKS WA2433A/L       Memphis Glove Company         Ferguson Facilities Supply       120       PR       \$7.28       \$873.60       COWHIDE glove. Lasts longer and is much higher quality.       Memphis Glove Company         Gulf Coast Paper       120       PR       No Bid       Memphis Glove Company       Memphis Glove Company         School Specialty, Inc.       120       PR       No Bid       Memphis Glove Company       Memphis Glove Company         Yanitor Paper and Supplies, LLC       120       PR       No Bid       Memphis Glove Company       Memphis Glove Company         Yanitor Paper &amp; Supply,</td></tr<>	American Industrial Supplies & Tool Repair, Inc.       120       PR       \$3.11       \$373.20       Memphis Glove Company         [ALT1] US WHOLESALE PRODUCTS       120       PR       \$3.45       \$414.00       Cordova Drivers Leather Cowhide Gloves Unlined Light Tan Color       CORDOVA         [ALT1] Staples Inc (staples Contract and Commercial LLC)       120       PR       \$4.11       \$493.20       Staples SkU 179952 GLOVE PIGSKIN KEYSTONE THIMB LG       PROTECTIVE IND PROD INC         PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY       120       PR       \$4.59       \$550.80       HOSPECG GWSPLDR1-L       Memphis Glove Company         CC Distributors, Inc.       120       PR       \$6.27       \$752.40       SAFETY WORKS WA2433A/L       Memphis Glove Company         Ferguson Facilities Supply       120       PR       \$7.28       \$873.60       COWHIDE glove. Lasts longer and is much higher quality.       Memphis Glove Company         Gulf Coast Paper       120       PR       No Bid       Memphis Glove Company       Memphis Glove Company         School Specialty, Inc.       120       PR       No Bid       Memphis Glove Company       Memphis Glove Company         Yanitor Paper and Supplies, LLC       120       PR       No Bid       Memphis Glove Company       Memphis Glove Company         Yanitor Paper & Supply,

### 30 Drivers Pigskin Leather Gloves.

	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
WARD	American Industrial Supplies & Tool Repair, Inc.	<b>120</b>	PR	\$ <b>3.11</b>	\$373.20		Memphis Glove Company	Unlined Large
	[ALT1] US WHOLESALE PRODUCTS	120	PR	\$3.45	\$414.00	Cordova Drivers Leather Cowhide Gloves Unlined Light Tan Color	CORDOVA	8212
	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	120	PR	\$4.11	\$493.20	Staples SKU 179951 GLOVE PIGSKIN KEYSTONE THMB XL	PROTECTIVE IND PROD INC	70-361/XL
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	120	PR	\$4.59	\$550.80	HOSPECO GWSPLDR1-XL	Memphis Glove Company	Unlined Large
	CC Distributors, Inc.	120	PR	\$6.27	\$752.40	SAFETY WORKS WA2433A/XL	Memphis Glove Company	Unlined Large
	Ferguson Facilities Supply	120	PR	\$7.28	\$873.60	COWHIDE glove. Lasts longer and is much higher quality.	Memphis Glove Company	Unlined Large
	Gulf Coast Paper	120	PR	\$7.78	\$933.60	*PIs note due to the ongoing pandemic, can't guarantee price for full term of bid*Prices subject to change w/30 day notice*Will provide written proof if an increase is warranted*	Memphis Glove Company	Unlined Large
	Advanced Blending, Inc. DBA: LAst Group Enterprises	120	PR	No Bid			Memphis Glove Company	Unlined Large
	School Specialty, Inc.	120	PR	No Bid			Memphis Glove Company	Unlined Large
	Yanitor Paper and Supplies, LLC	120	PR	No Bid			Memphis Glove Company	Unlined Large
	Genesis II, Inc	120	PR	No Bid			Memphis Glove Company	Unlined Large
	Rio Paper & Supply, LLC	120	PR	No Bid			Memphis Glove Company	Unlined Large
	Gateway Printing	120	PR	No Bid			Memphis Glove Company	Unlined Large

	Supplier	QTY	UOM	Price	Extended Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
VARD	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPAI	150	EA	\$13.94	\$2,091.00 CHASE #1000	Vecair Systems	Arioma
	CC Distributors, Inc.	150	EA	\$15.91	\$2,386.50 HOSPECOAWMAD	Vecair Systems	Arioma
	Genesis II, Inc	150	EA	\$18.38	\$2,757.00 Hospeco 07531L, 12/cs	Vecair Systems	Arioma
	Gulf Coast Paper	150	EA	\$20.69	\$3,103.50	Vecair Systems	Arioma
	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	150	EA	\$21.85	\$3,277.50 Staples SKU 2612124 METERED AIR FRESHENR DSPNSR EA	CLAIRE MANUFACTURING	BPR50857-A
	Ferguson Facilities Supply	150	EA	\$22.47	\$3,370.50 There are more cost-effective fragrance dispensing systems than these available to the district.	Vecair Systems	Arioma
	[ALT1] Gateway Printing	150	EA	\$27.30	\$4,095.00 Classic Metered Aerosol Fragrance Disp, 3.75" x 3.25" x 9.5", White	TimeMist	TMS1047717
	[ALT1] School Specialty, Inc.	150	EA	\$27.64	\$4,146.00 DISPENSER TIMEMIST CLASSIC TMS1047717	WATERBURY	TMS1047717
	US WHOLESALE PRODUCTS	150	EA	No Bid		Vecair Systems	Arioma
	Yanitor Paper and Supplies, LLC	150	EA	No Bid		Vecair Systems	Arioma
	Advanced Blending, Inc. DBA: LAst Group Enterprises	150	EA	No Bid		Vecair Systems	Arioma
	Rio Paper & Supply, LLC	150	EA	No Bid		Vecair Systems	Arioma

# 32 Time Mist Spray Deodorant.

	Supplier	QTY	UOM	Price		Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
WARD	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	200	CS	\$11.40	\$2,280.00	Staples SKU 2612125 TROPICBRZE METER AIR FRSHNR CT 6 PER CS	CLAIRE MANUFACTURING	BPR50864-A
	CC Distributors, Inc.	200	CS	\$23.86	\$4,772.00	HOSPECO14 DIFFERENT FRAGRANCES	Vecair Systems	Airoma Refills
	Ferguson Facilities Supply	200	CS	\$26.75	\$5,350.00	CM-CLxxxThere are more cost-effective fragrance systems than these avail to the district. Products that smell better and longer, but that also cost less money over time.	Vecair Systems	Airoma Refills
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	200	CS	\$26.98		HOSPECO #079XX	Vecair Systems	Airoma Refills
	Genesis II, Inc	200	CS	\$27.83	\$5,566.00	Hospeco 07906 - 07936, 12/cs See attachment on fragrance avail	Vecair Systems	Airoma Refills
	Gulf Coast Paper	200	CS	\$28.49	\$5,698.00		Vecair Systems	Airoma Refills
	American Industrial Supplies & Tool Repair, Inc.	200	CS	\$44.30	\$8,860.00		Vecair Systems	Airoma Refills
	[ALT1] School Specialty, Inc.	200	CS			REFILL FRESHENER CNTRYGRDN CASE OF 12 TMS1042786CT	TIMEMIST	TMS1042786CT
	[ALT1] Gateway Printing	200	CS	\$62.40	\$12,480.00	Premium Metered Air Freshener Refill,6.6 oz AerosolScents to be chosen. 12ea per case.	TimeMist	Various Scents
	Yanitor Paper and Supplies, LLC	200	CS	No Bid			Vecair Systems	Airoma Refills
	Advanced Blending, Inc. DBA: LAst Group Enterprises	200	CS	No Bid			Vecair Systems	Airoma Refills
	Rio Paper & Supply, LLC	200	CS	No Bid			Vecair Systems	Airoma Refills
	US WHOLESALE PRODUCTS	200	CS	No Bid			Vecair Systems	Airoma Refills

# 33 Carpet Deodorant.

.53 .53
.53
53
320084113
90300-12
.53
.53
.53
.53
.53
.53
.53
9030 .53 .53 .53 .53 .53 .53

### 34 Neutralizer Conditioner.

HCut								
	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
AWARD	[ALT1] Boydsco Holdings LLC	50	CS	\$33.92	\$1,696.00	Nice 4/1gal bottles per case	Midlab	181500-41
	Gulf Coast Paper	50	CS	\$41.11	\$2,055.50		Johnson Diversey	90685
	Ferguson Facilities Supply	50	CS	\$46.62	\$2,331.00	EC-61191402 from Eco-Lab. Same spec.	Johnson Diversey	90685
	Rio Paper & Supply, LLC	50	CS	\$49.80		DVO990685 DIVERSEY Neutralizer Cond/Odor Counteractant, 0.5 oz Packet, 90/Tub. 2 Tubs/Carton	Johnson Diversey	90685
	[ALT1] Gateway Printing	50	CS	\$56.15	\$2,807.50	Neutralizer Cond/Odor Counteractant, 0.5 oz Packet, 90/Tub, 2 Tubs/Carton	EasyPaks	DVO990685
	CC Distributors, Inc.	50	CS	\$56.51	\$2,825.50	DIVERSEY 90685	Johnson Diversey	90685
	Staples Inc (Staples Contract and Commercial LLC)	50	CS	\$87.60	\$4,380.00	I	Johnson Diversey	90685
	Advanced Blending, Inc. DBA: LAst Group Enterprises	50	CS	No Bid			Johnson Diversey	90685
	Genesis II, Inc	50	CS	No Bid			Johnson Diversey	90685
	US WHOLESALE PRODUCTS	50	CS	No Bid			Johnson Diversey	90685
	School Specialty, Inc.	50	CS	No Bid			Johnson Diversey	90685
	Yanitor Paper and Supplies, LLC	50	CS	No Bid			Johnson Diversey	90685

	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
WARD	Advanced Blending, Inc. DBA: LAst Group Enterprises	100	PL	\$32.90	\$3,290.00	ea, 5 gal ctnr, Adv Blending "Zyme Alive", Enzyme Odor Control, Opaque/Milky White Color, 5 gal ctnr, Min order 36/5 gal ctnrs ea shipment. Pls order even pallet cnt. Equal Item to Bacteria Alive.	Arcot	7709
	Gulf Coast Paper	100	PL	\$40.23	\$4,023.00	)	Arcot	7709
	Ferguson Facilities Supply	100	PL	\$45.47	\$4,547.00	)	Arcot	7709
	CC Distributors, Inc.	100	PL	\$48.35	\$4,835.00	BETCO 1330500 BIOACTIVE SOLUTIONS PUSH	Arcot	7709
	[ALT1] Boydsco Holdings LLC	100	PL	\$59.14	\$5,914.00	Sudz	midlab	221000-05
	[ALT1] Gateway Printing	100	PL	\$60.25	\$6,025.00	Natures Power, bio engineered de-greaser 5gallon	National Chemical Laboratory	NLL182521
	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	100	PL	\$60.90	\$6,090.00	Staples SKU 920341 ENZYME PLUS ODOR ELIMINATOR 4/GL PRICING IN STAPLES UOM \$48.72	WORKLIFE BRANDS	CW735001-A
	American Industrial Supplies & Tool Repair, Inc.	100	PL	\$64.64	\$6,464.00	)	Arcot	7709
	Rio Paper & Supply, LLC	100	PL	\$65.63	\$6,563.00	Equal- ITW23301 ITW PRO BRANDSLIQUID ALIVE Enzyme Producing Bacteria, 1gal, Bottle, (4gals per case) Note: product is avail in gals. Price is per case.	Arcot	7709
	School Specialty, Inc.	100	PL	No Bid			Arcot	7709
	Genesis II, Inc	100	PL	No Bid			Arcot	7709
	US WHOLESALE PRODUCTS	100	PL	No Bid			Arcot	7709
	Yanitor Paper and Supplies, LLC	100	PL	No Bid			Arcot	7709

# 36 Germicidal Chlorine Bleach

Ju dem								
	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
AWARD	Gulf Coast Paper	350	CS	\$11.9 <mark>3</mark>	\$4,175.50		Clorox	CLO02490
	Ferguson Facilities Supply	350	CS	\$13.89	\$4,861.50	BZ-G27600028 HASA Bleach 6gal of 6% bleach per case	Clorox	CLO02490
	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	350	CS	\$15.74		Staples SKU 815745 BLEACH LIQUID 6-1GAL/CT 6/GL	LAGASSE BROS INC	KIKBLEACH6
	CC Distributors, Inc.	350	CS	\$16.76	\$5,866.00	KIK PURE BRIGHT 6-1GAL/CASE	Clorox	CLO02490
	[ALT1] Gateway Printing	350	CS	\$17.29	\$6,051.50	Liquid Bleach, 1 gal Bottle, 6/Carton	PureBright	KIKBLEACH6
	Rio Paper & Supply, LLC	350	CS	\$17.53	\$6,135.50	) Equal- (EPA Reg. No. 70271-13) KIK BLEACH 6 KIK INT'L Liquid Bleach, 1 gal Bottle, 6/Carton.Pls note: ours is 128oz/6 per cs.	Clorox	CLO02490
	[ALT1] Boydsco Holdings LLC	350	CS	\$39.49	\$13,821.50	Gsc germicidal 12/1 quart bottles per case	midlab	042000-12
	Yanitor Paper and Supplies, LLC	350	CS	No Bid			Clorox	CLO02490
	School Specialty, Inc.	350	CS	No Bid			Clorox	CLO02490
	Advanced Blending, Inc. DBA: LAst Group Enterprises	350	CS	No Bid			Clorox	CLO02490
	Genesis II, Inc	350	CS	No Bid			Clorox	CLO02490
	US WHOLESALE PRODUCTS	350	CS	No Bid			Clorox	CLO02490

### 37 Vomit Absorbent.

	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
AWARD	[ALT1] Boydsco Holdings LLC	60	CS	\$32.47		granular absorbent deodorant 25lb bx	midlab	010100-25
	Ferguson Facilities Supply	60	CS	\$32.61	\$1,956.60	FG-SSC6 Super-Sorb Lemon	Big D	BGD 150
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	60	CS	\$33.98	\$2,038.80	BID D 150 12/CASE	Big D	BGD 150
	Rio Paper & Supply, LLC	60	CS	\$35.08	\$2,104.80	BGD150 BIG D Granul Deo, Lemon, 16 oz, Shaker Can, 12/Carton	Big D	BGD 150
	Gateway Printing	60	CS	\$35.35	\$2,121.00		Big D	BGD 150
	CC Distributors, Inc.	60	CS	\$36.36	\$2,181.60	BIG D 150	Big D	BGD 150
	Gulf Coast Paper	60	CS	\$40.84	\$2,450.40		Big D	BGD 150
	[ALT1] School Specialty, Inc.	60	CS	\$73.96	\$4,437.60	ABSORBENT - CAN - 12OZ - 6 EA/CT	MEDLINE	MIILGSFRS614SSC
	Genesis II, Inc	60	CS	\$76.56	\$4,593.60	Genesis 9-83005, 16 oz, 24/cs, min order 10 cs. The price reflected is for a cs of 24 ea.	Big D	BGD 150
	US WHOLESALE PRODUCTS	60	CS	No Bid			Big D	BGD 150
	Advanced Blending, Inc. DBA: LAst Group Enterprises	60	CS	No Bid			Big D	BGD 150
	Staples Inc (Staples Contract and Commercial LLC)	60	CS	No Bid			Big D	BGD 150
	Yanitor Paper and Supplies, LLC	60	CS	No Bid			Big D	BGD 150

# 38 Hand Sanitizer.

	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
AWARD	Safeway Supply Inc (Hunte)	600	EA	\$ <b>2.9</b> 4	\$1,764.00	CLEACE HAND SANITIZER 80Z 75% ALCOHOL GEL #252563	Purell	GOJ-9552-12-CMR
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	600	EA	\$3.19	\$1,914.00	SANICOL #AM1040 (70% ALCOHOL) - 12/CTN FULL CARTONS ONLY	Purell	GOJ-9552-12-CMR
	Gulf Coast Paper	600	EA	\$3.29	\$1,974.00	l de la companya de l	Purell	GOJ-9552-12-CMR
	CC Distributors, Inc.	600	EA	\$3.40	\$2,040.00	KUTOL 5619	Purell	GOJ-9552-12-CMR
	Ferguson Facilities Supply	600	EA	\$3.50	\$2,100.00	Priced per btl, but sold 12 btls/cs. This product is limited in avail. We have substitutes avail that match the same spec and are readily avail for 3.55/btl. FG GGHSS00 (447 avail today)	Purell -	GOJ-9552-12-CMR
	American Industrial Supplies & Tool Repair, Inc.	600	EA	\$3.68	\$2,208.00		Purell	GOJ-9552-12-CMR
	[ALT1] Gateway Printing	600	EA	\$3.84	\$2,304.00	Advanced Gel Hand Sanitizer, 8 oz Pump Bottle, 12/Carton	Purell	GOJ404012S
	Staples Inc (Staples Contract and Commercial LLC)	600	EA	\$4.02	\$2,412.00		Purell	GOJ-9552-12-CMR
	[ALT1] School Specialty, Inc.	14	cs/42	\$259.99	\$3,639.86	HAND SANITIZER - 16.90Z PUMP BOTTLE, PACK OF 42	PRIMOCARE	PRIHS
	Rio Paper & Supply, LLC	600	EA	No Bid			Purell	GOJ-9552-12-CMR
	Genesis II, Inc	600	EA	No Bid			Purell	GOJ-9552-12-CMR
	US WHOLESALE PRODUCTS	600	EA	No Bid			Purell	GOJ-9552-12-CMR
	Yanitor Paper and Supplies, LLC	600	EA	No Bid			Purell	GOJ-9552-12-CMR
	Advanced Blending, Inc. DBA: LAst Group Enterprises	600	EA	No Bid			Purell	GOJ-9552-12-CMR

Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
[ALT1] Staples Inc (Staples Contract and Commercial LLC)	300	ВХ	\$0.55		PACK	ROYAL PAPER CONVERTING	РК57779-СС
[ALT1] PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER (	300	BX	\$0.67	\$201.00	FACIAL TISSUE WHITE 100/BX, 2 PLY - 30 BX/CASE FULL CASE ONLY	BOARDWALK	BWK6500B
Ferguson Facilities Supply	300	BX	\$0.70	\$210.00	SI-11516 90/box , 26 boxes per case. Box price shown, must order in case increments.	Kimberly Clark	KIM-26080BX
Gulf Coast Paper	300	BX	\$0.72			Kimberly Clark	KIM-26080BX
CC Distributors, Inc.	300	BX	\$1.27	\$381.00	KIMBERLY CLARK 21340	Kimberly Clark	KIM-26080BX
American Industrial Supplies & Tool Repair, Inc.	300	BX	\$1.32	\$396.00	)	Kimberly Clark	KIM-26080BX
[ALT1] Gateway Printing	300	BX	\$2.79			Kimberly Clark	KCC49978BX
Rio Paper & Supply, LLC	300	BX	\$16.63	\$4,989.00	Equal - BWK6500B BOARDWALK Office Packs Facial Tissue, 2-Ply, White, Flat Box, 100 Sheets/Box, 30 Boxes/Carton	Kimberly Clark	KIM-26080BX
School Specialty, Inc.	300	BX	No Bid			Kimberly Clark	KIM-26080BX
Yanitor Paper and Supplies, LLC	300	BX	No Bid			Kimberly Clark	KIM-26080BX
Advanced Blending, Inc. DBA: LAst Group Enterprises	300	BX	No Bid			Kimberly Clark	KIM-26080BX
Genesis II, Inc	300	BX	No Bid			Kimberly Clark	KIM-26080BX
US WHOLESALE PRODUCTS	300	BX	No Bid			Kimberly Clark	KIM-26080BX
	[ALT1] Staples Inc (staples Contract and Commercial LLC) [ALT1] PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER of Ferguson Facilities Supply Gulf Coast Paper CC Distributors, Inc. American Industrial Supplies & Tool Repair, Inc. [ALT1] Gateway Printing Rio Paper & Supply, LLC School Specialty, Inc. Yanitor Paper and Supplies, LLC Advanced Blending, Inc. DBA: LASt Group Enterprises Genesis II, Inc	[ALT1] Staples Inc (staples Contract and Commercial LLC)300[ALT1] PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER (300Ferguson Facilities Supply300Gulf Coast Paper300CC Distributors, Inc.300American Industrial Supplies & Tool Repair, Inc.300[ALT1] Gateway Printing300Rio Paper & Supply, LLC300School Specialty, Inc.300Yanitor Paper and Supplies, LLC300Advanced Blending, Inc. DBA: LASt Group Enterprises300Genesis II, Inc300	[ALT1] Staples Inc (Staples Contract and Commercial LLC)300BX[ALT1] PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER300BXFerguson Facilities Supply300BXGulf Coast Paper300BXCC Distributors, Inc.300BXAmerican Industrial Supplies & Tool Repair, Inc.300BX[ALT1] Gateway Printing300BXRio Paper & Supply, LLC300BXSchool Specialty, Inc.300BXYanitor Paper and Supplies, LLC300BXAdvanced Blending, Inc. DBA: LASt Group Enterprises300BX	[ALT1] Staples Inc (staples contract and Commercial LLC)300BX\$0.55[ALT1] PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER   300BX\$0.67Ferguson Facilities Supply300BX\$0.70Gulf Coast Paper300BX\$0.72CC Distributors, Inc.300BX\$1.27American Industrial Supplies & Tool Repair, Inc.300BX\$1.27Rio Paper & Supply, LLC300BX\$2.79Rio Paper & Supply, LLC300BX\$16.63School Specialty, Inc.300BXNo BidYanitor Paper and Supplies, LLC300BXNo BidAdvanced Blending, Inc. DBA: LASt Group Enterprises300BXNo Bid	[ALT1] Staples Inc (Staples Contract and Commercial LLC)         300         BX         \$0.55         \$165.00           [ALT1] PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER)         300         BX         \$0.67         \$201.00           Ferguson Facilities Supply         300         BX         \$0.70         \$210.00           Guif Coast Paper         300         BX         \$0.72         \$216.00           CC Distributors, Inc.         300         BX         \$0.72         \$216.00           American Industrial Supplies & Tool Repair, Inc.         300         BX         \$1.27         \$381.00           American Industrial Supplies & Tool Repair, Inc.         300         BX         \$2.79         \$837.00           Rio Paper & Supply, LLC         300         BX         \$1.63         \$4,989.00           School Specialty, Inc.         300         BX         No Bid           Yanitor Paper and Supplies, LLC         300         BX         No Bid           Advanced Blending, Inc. DBA: LAst Group Enterprises         300         BX         No Bid	[ALT1] Staples Inc (Staples Contract and Commercial LLC)300BX\$0.55\$165.00Staples SKU 24405546 VIRGIN 95 2PLY CUBE & BOXES PER PACK \$4.15 PER PACK[ALT1] PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER)300BX\$0.67\$201.00FACIAL TISSUE WHITE 100/BX, 2 PLY - 30 BX/CASE FULL CASE ONLYFerguson Facilities Supply300BX\$0.70\$210.00Si-11516 90/bx, 26 boxes per case. Box price shown, must order in case increments.Guif Coast Paper300BX\$0.72\$216.00CC Distributors, Inc.300BX\$1.27\$381.00American Industrial Supplies & Tool Repair, Inc.300BX\$2.79\$837.00American Industrial Supplies, LLC300BX\$16.63\$4,989.00Fault- 9WK5500 BOARDWAIK Office Packs Facial Tissue, 2-Ply, White, Flat Box, 100 Sheets/Box, 30 Boxes/CartonSchool Specialty, Inc.300BXNo BidYanitor Paper and Supplies, LLC300BXNo BidAdvanced Blending, Inc. DBA: LAst Group Enterprises300BXNo Bid	[ALT1] Staples Inc (Staples Contract and Commercial LLC)       300       BX       \$0.55       \$165.00       Staples SKU 24405546 VIRGIN 95 2PLY CUBE 6 BOXES PER PACK \$4.15 PER PACK       ROYAL PAPER CONVERTING LC         [ALT1] PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER)       300       BX       \$0.67       \$201.00       FACIAL TISSUE WHITE 100/BX, 2 PLY - 30 BX/CASE FULL CASE ONLY       BOARDWALK         Ferguson Facilities Supply       300       BX       \$0.67       \$210.00       Si-11516 90/box, 2 6 boxes per case. Box price shown, must order in case increments.       Kimberly Clark         Guif Coast Paper       300       BX       \$1.27       \$381.00       KiMBERLY CLARK 21340       Kimberly Clark         CC Distributors, Inc.       300       BX       \$2.79       \$837.00       Anti-Viral Facial Tissue, 3-Ply. White, 60 Sheets/Box       Kimberly Clark         [ALT1] Gateway Printing       300       BX       \$2.79       \$837.00       Anti-Viral Facial Tissue, 3-Ply. White, 60 Sheets/Box       Kimberly Clark         School Specialty, Inc.       300       BX       No Bid       Kimberly Clark       Kimberly Clark         Yanitor Paper and Supplies, LLC       300       BX       No Bid       Kimberly Clark       Kimberly Clark         Advanced Blending, Inc. DBA: LAst Group Enterprises       300       BX       No Bid       Kimberly Clark

# 40 Flannel Dusting/Wiping Rags.

	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
NARD	US WHOLESALE PRODUCTS	200	BX	\$14.75	\$2,950.00		Johnson & Johnson	
	Gulf Coast Paper	200	BX	\$14.77	\$2 <i>,</i> 954.00		Johnson & Johnson	
	Ferguson Facilities Supply	200	BX	\$15.00	\$3,000.00	25lb box of white industrial wiping rags.	Johnson & Johnson	
	Rio Paper & Supply, LLC	200	BX	\$17.29	\$3,458.00	Equal- UFSN205CW05 GEN Multipurpose Reusable Wiping Cloths, Cotton, White, Slb Box	Johnson & Johnson	
	CC Distributors, Inc.	200	BX	\$21.65	\$4,330.00	ADENNA 180-25	Johnson & Johnson	
	Genesis II, Inc	200	BX	\$26.84		Hospeco 180-25	Johnson & Johnson	
	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	200	BX	\$49.63	\$9,926.00	Staples SKU 885099 FLANNEL DUST CLOTH WH 10LB BX \$19.85 IN STAPLES UOM PRICING IN STAPLES UOM \$19.85	MONARCH GLOBAL BRANDS	R010-W80-10
	Advanced Blending, Inc. DBA: LAst Group Enterprises	200	BX	No Bid			Johnson & Johnson	
	School Specialty, Inc.	200	BX	No Bid			Johnson & Johnson	
	Gateway Printing	200	BX	No Bid			Johnson & Johnson	
	Yanitor Paper and Supplies, LLC	200	BX	No Bid			Johnson & Johnson	

# 41 Texas Classroom Flag

	Supplier	QTY	UOM	Price	Extended Supplier Notes	Manufacturer	Manufacturer #
AWARD	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPAI	200	EA	\$1.99	\$398.00 FLAGZONE #2426274	Valley Forge	
	Gateway Printing	200	EA	\$2.56	\$512.00 FLAG TEXAS 12X18 SEWNBy Atlas Flag	Valley Forge	
	Conserv Flag Company	200	EA	\$5.57	\$1,114.00	Valley Forge	
	Gulf Coast Paper	200	EA	\$6.00	\$1,200.00	Valley Forge	
	Rio Paper & Supply, LLC	200	EA	No Bid		Valley Forge	
	School Specialty, Inc.	200	EA	No Bid		Valley Forge	
	Advanced Blending, Inc. DBA: LAst Group Enterprises	200	EA	No Bid		Valley Forge	
	Yanitor Paper and Supplies, LLC	200	EA	No Bid		Valley Forge	
	CC Distributors, Inc.	200	EA	No Bid		Valley Forge	
	Genesis II, Inc	200	EA	No Bid		Valley Forge	
	Staples Inc (Staples Contract and Commercial LLC)	200	EA	No Bid		Valley Forge	
	Ferguson Facilities Supply	200	EA	No Bid		Valley Forge	
	US WHOLESALE PRODUCTS	200	EA	No Bid		Valley Forge	

	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
WARD	Gateway Printing	200	EA	\$1.45		FLAG U.S. 12X18 30"STAFFBy Atlas Flag	Valley Forge	
	[ALT1] School Specialty, Inc.	199	EA	\$2.99	\$595.01	FLAG W/ STAFF US 12X18	ANNIN	042800
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	200	EA	\$3.29	\$658.00	FLAGZONE #1049274	Valley Forge	
	Gulf Coast Paper	200	EA	\$6.00	\$1,200.00		Valley Forge	
	Yanitor Paper and Supplies, LLC	200	EA	No Bid			Valley Forge	
	Advanced Blending, Inc. DBA: LAst Group Enterprises	200	EA	No Bid			Valley Forge	
	US WHOLESALE PRODUCTS	200	EA	No Bid			Valley Forge	
	Rio Paper & Supply, LLC	200	EA	No Bid			Valley Forge	
	Genesis II, Inc	200	EA	No Bid			Valley Forge	
	Staples Inc (Staples Contract and Commercial LLC)	200	EA	No Bid			Valley Forge	
	CC Distributors, Inc.	200	EA	No Bid			Valley Forge	
	Ferguson Facilities Supply	200	EA	No Bid			Valley Forge	

43 U.S.	Flag.							
	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
AWARD	[ALT1] School Specialty, Inc.	100	EA	\$18.71		FLAG US 4X6 NYLON	ANNIN	2140
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	100	EA	\$21.39	\$2,139.00	VALLEY FORGE #46211000CH	Valley Forge	
	Conserv Flag Company	100	EA	\$24.89	\$2 <i>,</i> 489.00		Valley Forge	
	Gulf Coast Paper	100	EA	\$25.84	1 /		Valley Forge	
	Gateway Printing	100	EA	\$49.63	\$4,963.00	FLAG U.S. 4X6 NYLONBy Atlas Flag	Valley Forge	
	Ferguson Facilities Supply	100	EA	No Bid			Valley Forge	
	Yanitor Paper and Supplies, LLC	100	EA	No Bid			Valley Forge	
	Staples Inc (Staples Contract and Commercial LLC)	100	EA	No Bid			Valley Forge	
	Advanced Blending, Inc. DBA: LAst Group Enterprises	100	EA	No Bid			Valley Forge	
	CC Distributors, Inc.	100	EA	No Bid			Valley Forge	
	Rio Paper & Supply, LLC	100	EA	No Bid			Valley Forge	
	US WHOLESALE PRODUCTS	100	EA	No Bid			Valley Forge	
	Genesis II, Inc	100	EA	No Bid			Valley Forge	

# 44 U.S. Flag.

Supplier	QTY	UOM	Price	Extended Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER C	50	EA	\$46.49	\$2,324.50 FLAGZONE #1152161	Valley Forge	
[ALT1] School Specialty, Inc.	50	EA	\$48.07	\$2,403.50 FLAG US 6X10 NYLON	ANNIN	2300
Conserv Flag Company	50	EA	\$55.89	\$2,794.50	Valley Forge	
Gulf Coast Paper	50	EA	\$59.34	\$2,967.00	Valley Forge	
Gateway Printing	50	EA	\$91.25	\$4,562.50 FLAG OUTDOOR NYLON 6'X10'By Atlas Flag	Valley Forge	
Ferguson Facilities Supply	50	EA	No Bid		Valley Forge	
Yanitor Paper and Supplies, LLC	50	EA	No Bid		Valley Forge	
Staples Inc (Staples Contract and Commercial LLC)	50	EA	No Bid		Valley Forge	
Advanced Blending, Inc. DBA: LAst Group Enterprises	50	EA	No Bid		Valley Forge	
CC Distributors, Inc.	50	EA	No Bid		Valley Forge	
Rio Paper & Supply, LLC	50	EA	No Bid		Valley Forge	
US WHOLESALE PRODUCTS	50	EA	No Bid		Valley Forge	
Genesis II, Inc	50	EA	No Bid		Valley Forge	

# 45 Texas Flag.

	Supplier	QTY	UOM	Price	Extended Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
AWARD	Conserv Flag Company	100	EA	\$22.89	\$2,289.00	Valley Forge	
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	100	EA	\$23.69		Valley Forge	
	[ALT1] School Specialty, Inc.	100	EA	\$23.82	\$2,382.00 FLAG TEXAS 4X6 NYLON - DROP SHIP	ANNIN	145270
	Gulf Coast Paper	100	EA	\$28.75	\$2,875.00	Valley Forge	
	Gateway Printing	100	EA	\$52.55	\$5,255.00 FLAG TEXAS 6X10 NYLONBy Atlas Flag	Valley Forge	
	Ferguson Facilities Supply	100	EA	No Bid		Valley Forge	
	Yanitor Paper and Supplies, LLC	100	EA	No Bid		Valley Forge	
	Staples Inc (Staples Contract and Commercial LLC)	100	EA	No Bid		Valley Forge	
	Advanced Blending, Inc. DBA: LAst Group Enterprises	100	EA	No Bid		Valley Forge	
	CC Distributors, Inc.	100	EA	No Bid		Valley Forge	
	Rio Paper & Supply, LLC	100	EA	No Bid		Valley Forge	
	US WHOLESALE PRODUCTS	100	EA	No Bid		Valley Forge	
	Genesis II, Inc	100	EA	No Bid		Valley Forge	

	Supplier	QTY	UOM	Price	Extended Supplier Notes	Manufacturer	Manufacturer #
WARD	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPAI	50	EA	\$59.49	\$2,974.50 FLAGZONE #2422161	Valley Forge	
	Conserv Flag Company	50	EA	\$66.89	\$3,344.50	Valley Forge	
	Gulf Coast Paper	50	EA	\$81.17	\$4,058.50	Valley Forge	
	Gateway Printing	50	EA	\$197.10	\$9,855.00 FLAG TEXAS 6X10 NYLONBy Atlas Flag	Valley Forge	
	Ferguson Facilities Supply	50	EA	No Bid		Valley Forge	
	US WHOLESALE PRODUCTS	50	EA	No Bid		Valley Forge	
	Advanced Blending, Inc. DBA: LAst Group Enterprises	50	EA	No Bid		Valley Forge	
	Yanitor Paper and Supplies, LLC	50	EA	No Bid		Valley Forge	
	Genesis II, Inc	50	EA	No Bid		Valley Forge	
	School Specialty, Inc.	50	EA	No Bid		Valley Forge	
	CC Distributors, Inc.	50	EA	No Bid		Valley Forge	
	Staples Inc (Staples Contract and Commercial LLC)	50	EA	No Bid		Valley Forge	
	Rio Paper & Supply, LLC	50	EA	No Bid		Valley Forge	

/ Class	room Flag Holder.	0.77/		<b>B</b> . (1) (1)	Firsted & Barr		
	Supplier	QTY	UOM	Price	Extended Supplier Notes	Manufacturer	Manufacturer #
WARD	School Specialty, Inc.	150	EA	\$0.68	\$102.00 SSI # 016794	School Smart	016794
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	150	EA	\$0.69	\$103.50 VALLEY FORGE #00002400	School Smart	016794
	Gateway Printing	150	EA	\$1.99	\$298.50 FLAG BRACKET 3/4"By Atlas Flag	School Smart	016794
	Conserv Flag Company	150	EA	\$3.50	\$525.00	School Smart	016794
	Genesis II, Inc	150	EA	No Bid		School Smart	016794
	Staples Inc (Staples Contract and Commercial LLC)	150	EA	No Bid		School Smart	016794
	Ferguson Facilities Supply	150	EA	No Bid		School Smart	016794
	US WHOLESALE PRODUCTS	150	EA	No Bid		School Smart	016794
	Gulf Coast Paper	150	EA	No Bid		School Smart	016794
	Rio Paper & Supply, LLC	150	EA	No Bid		School Smart	016794
	CC Distributors, Inc.	150	EA	No Bid		School Smart	016794
	Advanced Blending, Inc. DBA: LAst Group Enterprises	150	EA	No Bid		School Smart	016794
	Yanitor Paper and Supplies, LLC	150	EA	No Bid		School Smart	016794

48	Buffing	Pad

	Supplier	QTY	UOM	Price		Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
/ARD	[ALT1] PYRAMID SCHOOL PRODUCTS (PYRAMID PAPE)	30	CS	\$6.98	\$209.40	BUFFING PAD RED 13" 5/CASE	ACS	51-13
	Ferguson Facilities Supply	30	CS	\$12.50	\$375.00		3M	5100
	Gulf Coast Paper	30	CS	\$12.80	\$384.00		3M	5100
	Staples Inc (Staples Contract and Commercial LLC)	30	CS	\$15.68	\$470.40		3M	5100
	CC Distributors, Inc.	30	CS	\$16.53	\$495.90		3M	5100
	[ALT1] Gateway Printing	30	CS	\$19.64	\$589.20	Low-Speed Buffer Floor Pads 5100, 13" Diameter, Red, 5/Carton	3M	MMM08388
	Conserv Flag Company	30	CS	\$23.89		Minimum order 3	3M	5100
	Rio Paper & Supply, LLC	30	CS	\$35.19	\$1,055.70	MMM08395 3M/COMMERCIAL TAPE DIV.Low-Speed Buffer Floor Pads 5100, 20" Diameter, Red, 5/Carton	3M	5100
	Advanced Blending, Inc. DBA: LAst Group Enterprises	30	CS	No Bid			3M	5100
	School Specialty, Inc.	30	CS	No Bid			3M	5100
	Genesis II, Inc	30	CS	No Bid			3M	5100
	US WHOLESALE PRODUCTS	30	CS	No Bid			3M	5100
	Yanitor Paper and Supplies, LLC	30	CS	No Bid			3M	5100

49	Stripping	Pad.

Г

	Supplier	QTY	UOM	Price		Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
ARD	[ALT1] PYRAMID SCHOOL PRODUCTS (PYRAMID PAPE)	30	CS	\$6.98	\$209.40	STRIPPING PAD BLACK 13" 5/CASE	ACS	72-13
	Ferguson Facilities Supply	30	CS	\$13.00	\$390.00		3M	7200
	Gulf Coast Paper	30	CS	\$13.15	\$394.50		3M	7200
	CC Distributors, Inc.	30	CS	\$16.94	\$508.20		3M	7200
	[ALT1] Gateway Printing	30	CS	\$18.69	\$560.70	Low-Speed Stripper Floor Pad 7200, 13" Diameter, Black, 5/Carton	3M	MMM08375
	Conserv Flag Company	30	CS	\$24.89	\$746.70	Minimum order 3	3M	7200
	Staples Inc (Staples Contract and Commercial LLC)	30	CS	\$30.48	\$914.40		3M	7200
	Rio Paper & Supply, LLC	30	CS	\$35.19	\$1,055.70	MMM08382 3M/COMMERCIAL TAPE DIV.Low-Speed Stripper Floor Pad 7200, 20" Diameter, Black, 5/Carton	3M	7200
	Advanced Blending, Inc. DBA: LAst Group Enterprises	30	CS	No Bid			3M	7200
	School Specialty, Inc.	30	CS	No Bid			3M	7200
	Genesis II, Inc	30	CS	No Bid			3M	7200
	US WHOLESALE PRODUCTS	30	CS	No Bid			3M	7200
	Yanitor Paper and Supplies, LLC	30	CS	No Bid			3M	7200

	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
VARD	[ALT1] PYRAMID SCHOOL PRODUCTS (PYRAMID PAPE)	30	CS	\$6.98	\$209.40	BUFFING PAD BLACK 13" 5/CASE	ACS	72-13
	Ferguson Facilities Supply	30	CS	\$12.50	\$375.00		3M	4100
	Gulf Coast Paper	30	CS	\$12.80	\$384.00		3M	4100
	Staples Inc (Staples Contract and Commercial LLC)	30	CS	\$15.13	\$453.90		3M	4100
	CC Distributors, Inc.	30	CS	\$16.53	\$495.90		3M	4100
	[ALT1] Gateway Printing	30	CS	\$18.69		Super Polish Floor Pad 4100, 13" Diameter, White, 5/Carton	3M	MMM08477
	Rio Paper & Supply, LLC	30	CS	\$35.19	\$1,055.70	MMM08484 3M/COMMERCIAL TAPE DIV.Super Polish Floor Pad 4100, 20" Diameter, White, 5/Carton	3M	4100
	US WHOLESALE PRODUCTS	30	CS	No Bid			3M	4100
	School Specialty, Inc.	30	CS	No Bid			3M	4100
	Yanitor Paper and Supplies, LLC	30	CS	No Bid			3M	4100
	Advanced Blending, Inc. DBA: LAst Group Enterprises	30	CS	No Bid			3M	4100
	Genesis II, Inc	30	CS	No Bid			3M	4100

	Supplier	QTY	UOM	Price		Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
AWARD	[ALT1] PYRAMID SCHOOL PRODUCTS (PYRAMID PAPE)	125	CS	\$8.99	\$1,123.75	BUFFING PAD RED 16" 5/CASE	ACS	51-16
	Ferguson Facilities Supply	125	CS	\$16.40	\$2,050.00		3M	5100
	Gulf Coast Paper	125	CS	\$17.05	\$2,131.25		3M	5100
	CC Distributors, Inc.	125	CS	\$21.94	\$2,742.50		3M	5100
	Staples Inc (Staples Contract and Commercial LLC)	125	CS	\$23.11	\$2,888.75		3M	5100
	[ALT1] Gateway Printing	125	CS	\$28.00	\$3,500.00	Low-Speed Buffer Floor Pads 5100, 16" Diameter, Red, 5/Carton	3M	MMM08391
	Rio Paper & Supply, LLC	125	CS	\$28.33	\$3,541.25	MMM08391 3M / COMMERCIALLow-Speed Buffer Floor Pads 5100, 16" Diameter. Red. 5/Carton	3M	5100
	Conserv Flag Company	125	CS	\$29.89	\$3,736.25	Minimum order 3	3M	5100
	US WHOLESALE PRODUCTS	125	CS	No Bid			3M	5100
	Boydsco Holdings LLC	125	CS	No Bid			3M	5100
	Genesis II, Inc	125	CS	No Bid			3M	5100
	Yanitor Paper and Supplies, LLC	125	CS	No Bid			3M	5100
	Advanced Blending, Inc. DBA: LAst Group Enterprises	125	CS	No Bid			3M	5100
	School Specialty, Inc.	125	CS	No Bid			3M	5100

# 52 Stripping Pad.

	Supplier	QTY	UOM	Price		Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
ARD	[ALT1] PYRAMID SCHOOL PRODUCTS (PYRAMID PAPE)	150	CS	\$8.99	\$1,348.50	STRIPPING PAD BLACK 16" 5/CASE	ACS	72-16
	Ferguson Facilities Supply	150	CS	\$16.83	\$2,524.50		3M	7200
	Gulf Coast Paper	150	CS	\$17.51	\$2,626.50	I	3M	7200
	Staples Inc (Staples Contract and Commercial LLC)	150	CS	\$21.96	\$3,294.00		3M	7200
	CC Distributors, Inc.	150	CS	\$22.53	\$3,379.50	1	3M	7200
	[ALT1] Gateway Printing	150	CS	\$23.89	\$3,583.50	Low-Speed Stripper Floor Pad 7200, 16" Diameter, Black, 5/Carton	3M	MMM08378
	Rio Paper & Supply, LLC	150	CS	\$28.33	\$4,249.50	MMM08378 3M/COMMERCIAL,Low-Speed Stripper Floor Pad 7200, 16" Diameter, Black, 5/Carton	3M	7200
	Conserv Flag Company	150	CS	\$56.89	\$8,533.50	Minimum order 3	3M	7200
	US WHOLESALE PRODUCTS	150	CS	No Bid			3M	7200
	Yanitor Paper and Supplies, LLC	150	CS	No Bid			3M	7200
	Advanced Blending, Inc. DBA: LAst Group Enterprises	150	CS	No Bid			3M	7200
	School Specialty, Inc.	150	CS	No Bid			3M	7200
	Genesis II, Inc	150	CS	No Bid			3M	7200

	Supplier	QTY	UOM	Price	Extended Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
VARD	[ALT1] PYRAMID SCHOOL PRODUCTS (PYRAMID PAPE)	250	CS	\$9.29	\$2,322.50 BUFFING PAD RED 17" 5/CASE	ACS	51-17
	Ferguson Facilities Supply	250	CS	\$18.19	\$4,547.50	3M	5100
	Gulf Coast Paper	250	CS	\$18.86	\$4,715.00	3M	5100
	Staples Inc (Staples Contract and Commercial LLC)	250	CS	\$23.11	\$5,777.50	3M	5100
	CC Distributors, Inc.	250	CS	\$24.28	\$6,070.00	3M	5100
	Rio Paper & Supply, LLC	250	CS	\$30.25	\$7,562.50 MMM08392 3M / COMMERCIAL,Low-Speed Buffer Floor Pads 5100, 17" Diameter, Red, 5/Carton	3M	5100
	[ALT1] Gateway Printing	250	CS	\$33.00	\$8,250.00 Low-Speed Buffer Floor Pads 5100, 17" Diameter, Red, 5/Carton	3M	MMM08392
	Conserv Flag Company	250	CS	\$33.89	\$8,472.50 Minimum order 3	3M	5100
	US WHOLESALE PRODUCTS	250	CS	No Bid		3M	5100
	Yanitor Paper and Supplies, LLC	250	CS	No Bid		3M	5100
	Advanced Blending, Inc. DBA: LAst Group Enterprises	250	CS	No Bid		3M	5100
	School Specialty, Inc.	250	CS	No Bid		3M	5100
	Genesis II, Inc	250	CS	No Bid		3M	5100

	Supplier	QTY	UOM	Price	Extended Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
WARD	[ALT1] PYRAMID SCHOOL PRODUCTS (PYRAMID PAPE)	175	CS	\$9.29	\$1,625.75 SCRUBBING PAD BLUE 17" 5/CASE	ACS	53-17
	Ferguson Facilities Supply	175	CS	\$18.19	\$3,183.25	3M	5300
	Gulf Coast Paper	175	CS	\$18.86	\$3,300.50	3M	5300
	Staples Inc (Staples Contract and Commercial LLC)	175	CS	\$23.11	\$4,044.25	3M	5300
	CC Distributors, Inc.	175	CS	\$24.29	\$4,250.75	3M	5300
	[ALT1] Gateway Printing	175	CS	\$26.89	\$4,705.75 Cleaner Floor Pad 5300, 17" Diameter, Blue, 5/Carton	3M	MMM08410
	Rio Paper & Supply, LLC	175	CS	\$30.25	\$5,293.75 MMM08410 3M/COMMERCIAL,Cleaner Flr Pd 5300, 17" Dia, Blue, 5/Ctn	3M	5300
	Conserv Flag Company	175	CS	\$34.89	\$6,105.75 Minimum order 3	3M	5300
	US WHOLESALE PRODUCTS	175	CS	No Bid		3M	5300
	Yanitor Paper and Supplies, LLC	175	CS	No Bid		3M	5300
	Advanced Blending, Inc. DBA: LAst Group Enterprises	175	CS	No Bid		3M	5300
	School Specialty, Inc.	175	CS	No Bid		3M	5300
	Genesis II, Inc	175	CS	No Bid		3M	5300

	Supplier	QTY	UOM	Price		Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
WARD	[ALT1] PYRAMID SCHOOL PRODUCTS (PYRAMID PAPE)	450	CS	<i>\$9.29</i>	\$4,180.50	STRIPPING PAD BLACK 17" 5/CASE	ACS	72-17
	Ferguson Facilities Supply	450	CS	\$18.67	\$8,401.50		3M	7200
	Gulf Coast Paper	450	CS	\$19.39	\$8,725.50		3M	7200
	Staples Inc (Staples Contract and Commercial LLC)	450	CS	\$23.75	\$10,687.50		3M	7200
	CC Distributors, Inc.	450	CS		\$11,250.00		3M	7200
	[ALT1] Gateway Printing	450	CS	\$26.59	\$11,965.50	Low-Speed Stripper Floor Pad 7200, 17" Diameter, Black, 5/Ctn	3M	MMM08379
	Rio Paper & Supply, LLC	450	CS	\$31.10	\$13,995.00	MMM08379 3M/COMMERCIAL,Low-Speed Stripper Fir Pd 7200, 17" Dia, Black, 5/Ctn	3M	7200
	Conserv Flag Company	450	CS	\$35.89	\$16,150.50	Minimum order 3	3M	7200
	US WHOLESALE PRODUCTS	450	CS	No Bid			3M	7200
	Yanitor Paper and Supplies, LLC	450	CS	No Bid			3M	7200
	Advanced Blending, Inc. DBA: LAst Group Enterprises	450	CS	No Bid			3M	7200
	School Specialty, Inc.	450	CS	No Bid			3M	7200
	Genesis II, Inc	450	CS	No Bid			3M	7200

56	Hog Hair 27" Buffing Pad.
	56

	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
VARD	[ALT1] PYRAMID SCHOOL PRODUCTS (PYRAMID PAPE)	75	BX	\$10.99	\$824.25	HOG HAIR 27" BUFFING PAD 2/CASE	ACS	35-27-2
	Genesis II, Inc	75	BX	\$26.61	\$1,995.75	Norton 05151, 5/cs, minimum 20 cases	3M	59319 Niagra
	Gulf Coast Paper	75	BX	\$28.93	\$2,169.75		3M	59319 Niagra
	CC Distributors, Inc.	75	BX	\$31.13	\$2,334.75	NORTON 5151	3M	59319 Niagra
	Ferguson Facilities Supply	75	BX	\$31.79	\$2,384.25		3M	59319 Niagra
	Staples Inc (Staples Contract and Commercial LLC)	75	BX	\$66.60	\$4,995.00		3M	59319 Niagra
	[ALT1] Gateway Printing	75	BX	\$87.00	\$6,525.00	Ultra High-Speed Natural Blend Floor Burnishing Pads 3500, 27" Dia., Tan, 5/CT	3M	MMM20317
	Conserv Flag Company	75	BX	\$101.89	\$7,641.75	Minimum order 3	3M	59319 Niagra
	Rio Paper & Supply, LLC	75	BX	No Bid			3M	59319 Niagra
	US WHOLESALE PRODUCTS	75	BX	No Bid			3M	59319 Niagra
	Yanitor Paper and Supplies, LLC	75	BX	No Bid			3M	59319 Niagra
	Advanced Blending, Inc. DBA: LAst Group Enterprises	75	BX	No Bid			3M	59319 Niagra
	School Specialty, Inc.	75	BX	No Bid			3M	59319 Niagra

# 57 Hog Hair Pad.

Supplier	QTY	UOM	Price			Manufacturer	Manufacturer #
[ALT1] PYRAMID SCHOOL PRODUCTS (PYRAMID PAPE)	800	CS				ACS	35-20-2
Genesis II, Inc	800	CS	\$12.03	\$9 <i>,</i> 624.00	Norton 57804, 5/cs, minimum 40 cases	MPC	35-20
Gulf Coast Paper	800	CS	\$12.91	\$10,328.00		MPC	35-20
Ferguson Facilities Supply	800	CS	\$13.02	\$10,416.00		MPC	35-20
CC Distributors, Inc.	800	CS				MPC	35-20
[ALT1] Gateway Printing	800	CS	\$19.98	\$15,984.00	Natural Hog Hair Burnishing Floor Pads, 20" Diameter, 5/Carton	Boardwalk	BWK4020NHE
US WHOLESALE PRODUCTS	800	CS	No Bid			MPC	35-20
School Specialty, Inc.	800	CS	No Bid			MPC	35-20
Rio Paper & Supply, LLC	800	CS	No Bid			MPC	35-20
Staples Inc (Staples Contract and Commercial LLC)	800	CS	No Bid			MPC	35-20
Yanitor Paper and Supplies, LLC	800	CS	No Bid			MPC	35-20
Advanced Blending, Inc. DBA: LAst Group Enterprises	800	CS	No Bid			MPC	35-20
	[ALT1] PYRAMID SCHOOL PRODUCTS (PYRAMID PAPEL         Genesis II, Inc         Gulf Coast Paper         Ferguson Facilities Supply         CC Distributors, Inc.         [ALT1] Gateway Printing         US WHOLESALE PRODUCTS         School Specialty, Inc.         Rio Paper & Supply, LLC         Staples Inc (staples Contract and Commercial LLC)         Yanitor Paper and Supplies, LLC	[ALT1] PYRAMID SCHOOL PRODUCTS (PYRAMID PAPEI800Genesis II, Inc800Gulf Coast Paper800Ferguson Facilities Supply800CC Distributors, Inc.800[ALT1] Gateway Printing800US WHOLESALE PRODUCTS800School Specialty, Inc.800Rio Paper & Supply, LLC800Staples Inc (staples Contract and Commercial LLC)800Yanitor Paper and Supplies, LLC800	[ALT1] PYRAMID SCHOOL PRODUCTS (PYRAMID PAPEI800CSGenesis II, Inc800CSGulf Coast Paper800CSFerguson Facilities Supply800CSCC Distributors, Inc.800CS[ALT1] Gateway Printing800CSUS WHOLESALE PRODUCTS800CSSchool Specialty, Inc.800CSRio Paper & Supply, LLC800CSStaples Inc (Staples Contract and Commercial LLC)800CSYanitor Paper and Supplies, LLC800CS	[ALT1] PYRAMID SCHOOL PRODUCTS (PYRAMID PAPEL800CS\$11.89Genesis II, Inc800CS\$12.03Gulf Coast Paper800CS\$12.91Ferguson Facilities Supply800CS\$13.02CC Distributors, Inc.800CS\$13.98[ALT1] Gateway Printing800CS\$19.98US WHOLESALE PRODUCTS800CSNo BidSchool Specialty, Inc.800CSNo BidRio Paper & Supply, LLC800CSNo BidStaples Inc (staples contract and Commercial LLC)800CSNo BidYanitor Paper and Supplies, LLC800CSNo Bid	[ALT1] PYRAMID SCHOOL PRODUCTS (PYRAMID PAPEI         800         CS         \$11.89         \$9,512.00           Genesis II, Inc         800         CS         \$12.03         \$9,624.00           Gulf Coast Paper         800         CS         \$12.03         \$9,624.00           Gulf Coast Paper         800         CS         \$12.91         \$10,328.00           Ferguson Facilities Supply         800         CS         \$13.02         \$10,416.00           CC Distributors, Inc.         800         CS         \$13.98         \$11,184.00           [ALT1] Gateway Printing         800         CS         \$19.98         \$15,984.00           US WHOLESALE PRODUCTS         800         CS         No Bid           School Specialty, Inc.         800         CS         No Bid           Rio Paper & Supply, LLC         800         CS         No Bid           Staples Inc (Staples Contract and Commercial LLC)         800         CS         No Bid           Yanitor Paper and Supplies, LLC         800         CS         No Bid	[ALT1] PYRAMID SCHOOL PRODUCTS (PYRAMID PAPEI         800         CS         \$11.89         \$9,512.00         HOG HAIR PAD 20" 2/CASE           Genesis II, Inc         800         CS         \$12.03         \$9,624.00         Norton 57804, 5/cs, minimum 40 cases           Gulf Coast Paper         800         CS         \$12.03         \$9,624.00         Norton 57804, 5/cs, minimum 40 cases           Gulf Coast Paper         800         CS         \$12.91         \$10,328.00           Ferguson Facilities Supply         800         CS         \$13.02         \$10,416.00           CC Distributors, Inc.         800         CS         \$13.98         \$11,184.00         NORTON 57804           [ALT1] Gateway Printing         800         CS         \$19.98         \$15,984.00         Natural Hog Hair Burnishing Floor Pads, 20" Diameter, 5/Carton           US WHOLESALE PRODUCTS         800         CS         No Bid         School Specialty, Inc.         800         CS         No Bid           Rio Paper & Supply, LLC         800         CS         No Bid         Staples Contract and Commercial LLC)         800         CS         No Bid           Yanitor Paper and Supplies, LLC         800         CS         No Bid         Scondate	[ALT1] PYRAMID SCHOOL PRODUCTS (PYRAMID PAPEI         800         CS         \$11.89         \$9,512.00         HOG HAIR PAD 20" 2/CASE         ACS           Genesis II, Inc         800         CS         \$12.03         \$9,624.00         Norton 57804, 5/cs, minimum 40 cases         MPC           Gulf Coast Paper         800         CS         \$12.91         \$10,328.00         MPC           Ferguson Facilities Supply         800         CS         \$13.02         \$10,416.00         MPC           CC Distributors, Inc.         800         CS         \$13.98         \$11,184.00         NORTON 57804         MPC           [ALT1] Gateway Printing         800         CS         \$19.98         \$15,984.00         Natural Hog Hair Burnishing Floor Pads, 20" Diameter, 5/Carton         Boardwalk           US WHOLESALE PRODUCTS         800         CS         No Bid         MPC           School Specialty, Inc.         800         CS         No Bid         MPC           Rio Paper & Supply, LLC         800         CS         No Bid         MPC           Staples Inc (staples contract and Commercial LLC)         800         CS         No Bid         MPC           Yanitor Paper and Supplies, LLC         800         CS         No Bid         MPC

	Supplier	QTY	UOM	Price	Extended Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
VARD	[ALT1] PYRAMID SCHOOL PRODUCTS (PYRAMID PAPE)	150	CS	\$11.89	\$1,783.50 BUFFING PAD RED 20" 5/CASE	ACS	51-20
	Ferguson Facilities Supply	150	CS	\$23.53	\$3,529.50	3M	5100
	Gulf Coast Paper	150	CS	\$24.42	\$3,663.00	3M	5100
	Staples Inc (Staples Contract and Commercial LLC)	150	CS	\$29.90	\$4,485.00	3M	5100
	CC Distributors, Inc.	150	CS	\$30.40	\$4,560.00	3M	5100
	[ALT1] Gateway Printing	150	CS	\$33.00	\$4,950.00 Low-Speed Buffer Floor Pads 5100, 20" Diameter, Red, 5/Carton	3M	MMM08395
	Rio Paper & Supply, LLC	150	CS	\$35.49	\$5,323.50 As Specified / MMM08395 3M/COMMERCIAL TAPE DIV.Low-Speed Buffer Floor Pads 5100, 20" Diameter, Red, 5/Carton	3M	5100
	Conserv Flag Company	150	CS	\$43.89	\$6,583.50 Minimum order 3	3M	5100
	US WHOLESALE PRODUCTS	150	CS	No Bid		3M	5100
	Yanitor Paper and Supplies, LLC	150	CS	No Bid		3M	5100
	Advanced Blending, Inc. DBA: LAst Group Enterprises	150	CS	No Bid		3M	5100
	School Specialty, Inc.	150	CS	No Bid		3M	5100
	Genesis II, Inc	150	CS	No Bid		3M	5100

	Supplier	QTY	UOM	Price		Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
/ARD	[ALT1] PYRAMID SCHOOL PRODUCTS (PYRAMID PAPE)	300	CS	\$11.89	\$3,567.00	HIGH SPEED BUFFING PAD WHITE 20" 5/CASE	ACS	41-20
	Ferguson Facilities Supply	300	CS	\$23.53	\$7,059.00		3M	4100
	Gulf Coast Paper	300	CS	\$24.42	\$7,326.00		3M	4100
	Staples Inc (Staples Contract and Commercial LLC)	300	CS	\$29.90	\$8,970.00		3M	4100
	CC Distributors, Inc.	300	CS	\$31.47	\$9,441.00		3M	4100
	[ALT1] Gateway Printing	300	CS	\$31.79		Super Polish Floor Pad 4100, 20" Diameter, White, 5/Carton	3M	MMM08484
	Rio Paper & Supply, LLC	300	CS	\$37.68	\$11,304.00	As Specified / MMM08484 3M/COMMERCIAL TAPE DIV.Super Polish Floor Pad 4100, 20" Diameter, White, 5/Carton	3M	4100
	Conserv Flag Company	300	CS	\$43.89	\$13,167.00	Minimum order 3	3M	4100
	US WHOLESALE PRODUCTS	300	CS	No Bid			3M	4100
	Yanitor Paper and Supplies, LLC	300	CS	No Bid			3M	4100
	Advanced Blending, Inc. DBA: LAst Group Enterprises	300	CS	No Bid			3M	4100
	School Specialty, Inc.	300	CS	No Bid			3M	4100
	Genesis II, Inc	300	CS	No Bid			3M	4100

# 60 Scrubbing Pad.

	<u> </u>							
	Supplier	QTY	UOM	Price		Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
WARD	[ALT1] PYRAMID SCHOOL PRODUCTS (PYRAMID PAPEL	150	CS	<i>\$11.89</i>	\$1,783.50	SCRUBBING PAD BLUE 20" 5/CASE	ACS	53-20
	Ferguson Facilities Supply	150	CS	\$23.53	\$3,529.50		3M	5300
	Gulf Coast Paper	150	CS	\$24.42	\$3,663.00		3M	5300
	CC Distributors, Inc.	150	CS	\$31.47	\$4,720.50		3M	5300
	[ALT1] Gateway Printing	150	CS	\$33.29		Cleaner Floor Pad 5300, 20" Diameter, Blue, 5/Carton	3M	5300
	Rio Paper & Supply, LLC	150	CS	\$37.68	\$5,652.00	As Specified / MMM08413 3M/COMMERCIAL TAPE DIV.Cleaner Floor Pad 5300, 20" Dia, Blue, 5/Ctn	3M	5300
	Conserv Flag Company	150	CS	\$42.89	\$6,433.50	Minimum order 3	3M	5300
	Staples Inc (Staples Contract and Commercial LLC)	150	CS	\$56.61	\$8,491.50		3M	5300
	Advanced Blending, Inc. DBA: LAst Group Enterprises	150	CS	No Bid			3M	5300
	Genesis II, Inc	150	CS	No Bid			3M	5300
	US WHOLESALE PRODUCTS	150	CS	No Bid			3M	5300
	School Specialty, Inc.	150	CS	No Bid			3M	5300
	Yanitor Paper and Supplies, LLC	150	CS	No Bid			3M	5300

	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
VARD	[ALT1] PYRAMID SCHOOL PRODUCTS (PYRAMID PAPE)	500	CS	\$11.89	\$5,945.00	STRIPPING PAD BLACK 20" 5/CASE	ACS	72-20
	Ferguson Facilities Supply	500	CS	\$24.22	\$12,110.00		3M	7200
	Gulf Coast Paper	500	CS	\$25.11	\$12,555.00		3M	7200
	Staples Inc (Staples Contract and Commercial LLC)	500	CS	\$30.01	\$15,005.00		3M	7200
	CC Distributors, Inc.	500	CS		\$16,175.00		3M	7200
	[ALT1] Gateway Printing	500	CS			Low-Speed Stripper Floor Pad 7200, 20" Diameter, Black, 5/Carton	3M	MMM08382
	Rio Paper & Supply, LLC	500	CS	\$38.70	\$19,350.00	As Specified / MMM08382 3M/COMMERCIAL TAPE DIV.Low-Speed Stripper Floor Pad 7200, 20" Diameter, Black, 5/Ctn	3M	7200
	Conserv Flag Company	500	CS	\$42.89	\$21,445.00	Minimum order 3	3M	7200
	US WHOLESALE PRODUCTS	500	CS	No Bid			3M	7200
	Yanitor Paper and Supplies, LLC	500	CS	No Bid			3M	7200
	Advanced Blending, Inc. DBA: LAst Group Enterprises	500	CS	No Bid			3M	7200
	School Specialty, Inc.	500	CS	No Bid			3M	7200
	Genesis II, Inc	500	CS	No Bid			3M	7200

# 62 High Productivity Pad.

Ŭ	· · · · · · · · · · · · · · · · · · ·							
	Supplier	QTY	UOM	Price		Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
AWARD	[ALT1] PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER	250	CS	\$13.99	\$3,497.50	HIGH PRODUCTIVITY PAD BLACK 16" 5/CASE	ACS	73-16
	Ferguson Facilities Supply	250	CS	\$31.80	\$7,950.00		3M	7300
	Gulf Coast Paper	250	CS	\$32.89	\$8,222.50		3M	7300
	Staples Inc (Staples Contract and Commercial LLC)	250	CS	\$40.66	\$10,165.00		3M	7300
	CC Distributors, Inc.	250	CS	\$42.76	\$10,690.00		3M	7300
	[ALT1] Gateway Printing	250	CS	\$46.29	\$11,572.50	Low-Speed High Productivity Flr Pds 7300, 16" Dia, Black, 5/Ctn	3M	MMM08274
	Rio Paper & Supply, LLC	250	CS	\$53.25	\$13,312.50	As Specified / MMM08274 3M/COMMERCIAL TAPE DIV.Low-Speed High Productivity FIr Pds 7300, 16" Dia, Black, 5/Ctn	3M	7300
	Conserv Flag Company	250	CS	\$55.89	\$13,972.50	Minimum order 3	3M	7300
	US WHOLESALE PRODUCTS	250	CS	No Bid			3M	7300
	Yanitor Paper and Supplies, LLC	250	CS	No Bid			3M	7300
	Advanced Blending, Inc. DBA: LAst Group Enterprises	250	CS	No Bid			3M	7300
	School Specialty, Inc.	250	CS	No Bid			3M	7300
	Genesis II, Inc	250	CS	No Bid			3M	7300

	Supplier	QTY	UOM	Price		upplier Notes / Alternate Description	Manufacturer	Manufacturer #
ARD	[ALT1] PYRAMID SCHOOL PRODUCTS (PYRAMID PAPE)	200	CS	\$14.89	\$2,978.00 <sup>HI</sup>	IGH PRODUCTIVITY PAD BLACK 17" 5/CASE	ACS	73-17
	Ferguson Facilities Supply	200	CS	\$35.00	\$7,000.00		3M	7300
	Gulf Coast Paper	200	CS	\$36.17	\$7,234.00		3M	7300
	Staples Inc (Staples Contract and Commercial LLC)	200	CS	\$44.69	\$8,938.00		3M	7300
	CC Distributors, Inc.	200	CS		\$9,400.00		3M	7300
	[ALT1] Gateway Printing	200	CS	\$52.29	\$10,458.00 <sup>Hi</sup>	igh Productivity Floor Pad 7300, 17" Diameter, Black, 5/Carton	3M	MMM08275
	Conserv Flag Company	200	CS	\$64.89	\$12,978.00 <sup>M</sup>	linimum order 3	3M	7300
	US WHOLESALE PRODUCTS	200	CS	No Bid			3M	7300
	Advanced Blending, Inc. DBA: LAst Group Enterprises	200	CS	No Bid			3M	7300
	Genesis II, Inc	200	CS	No Bid			3M	7300
	Yanitor Paper and Supplies, LLC	200	CS	No Bid			3M	7300
	School Specialty, Inc.	200	CS	No Bid			3M	7300
	Rio Paper & Supply, LLC	200	CS	No Bid			3M	7300

High	Productivity Pad.							
	Supplier	QTY	UOM	Price		Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
WARD	[ALT1] PYRAMID SCHOOL PRODUCTS (PYRAMID PAPE)	350	CS	\$16.99	\$5,946.50	HIGH PRODUCTIVITY PAD BLACK 20" 5/CASE	ACS	73-20
	Ferguson Facilities Supply	350	CS	\$46.00	\$16,100.00		3M	7300
	Gulf Coast Paper	350	CS	\$46.91	\$16,418.50		3M	7300
	Staples Inc (Staples Contract and Commercial LLC)	350	CS	\$56.61	\$19,813.50		3M	7300
	CC Distributors, Inc.	350	CS		\$21,350.00		3M	7300
	[ALT1] Gateway Printing	350	CS	\$69.70	\$24,395.00	High Productivity Floor Pad 7300, 20" Diameter, Black, 5/Carton	3M	MMM08278
	Rio Paper & Supply, LLC	350	CS	\$73.03	\$25,560.50	As Specified / MMM08278 3M/COMMERCIAL TAPE DIV.High Productivity Floor Pad 7300, 20" Diameter, Black, 5/Carton	3M	7300
	Conserv Flag Company	350	CS	\$78.89	\$27,611.50	Minimum order 3	3M	7300
	US WHOLESALE PRODUCTS	350	CS	No Bid			3M	7300
	Yanitor Paper and Supplies, LLC	350	CS	No Bid			3M	7300
	Advanced Blending, Inc. DBA: LAst Group Enterprises	350	CS	No Bid			3M	7300
	School Specialty, Inc.	350	CS	No Bid			3M	7300
	Genesis II, Inc	350	CS	No Bid			3M	7300

### 65 Shampoo Bonnet with Scrub Strips.

	Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
AWARD	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPAI	25	EA	\$12.99	\$324.75	RUBBERMAID RPCP267 - 5/CARTON FULL CARTONS ONLY	Rubbermaid	RCP P267
	Ferguson Facilities Supply	25	EA	\$14.13	\$353.25		Rubbermaid	RCP P267
	Gulf Coast Paper	25	EA	\$14.80	\$370.00	ASP17G (17CP)	Rubbermaid	RCP P267
	CC Distributors, Inc.	25	EA	\$15.56	\$389.00	GOLDEN STAR ASP17G	Rubbermaid	RCP P267
	Yanitor Paper and Supplies, LLC	25	EA	\$26.00	\$650.00	We are bidding the same item you requested: Manufacturer: Rubbermaid. Manufacturer Item# RCP P267 Color:White/Green. Fabric:Cotton Size:17"	Rubbermaid	RCP P267
	Gateway Printing	25	EA	\$31.00	\$775.00		Rubbermaid	RCP P267
:	Staples Inc (Staples Contract and Commercial LLC)	25	EA	\$123.99	\$3,099.75		Rubbermaid	RCP P267
	Rio Paper & Supply, LLC	25	EA	No Bid			Rubbermaid	RCP P267
	Advanced Blending, Inc. DBA: LAst Group Enterprises	25	EA	No Bid			Rubbermaid	RCP P267
	School Specialty, Inc.	25	EA	No Bid			Rubbermaid	RCP P267
	Genesis II, Inc	25	EA	No Bid			Rubbermaid	RCP P267
	US WHOLESALE PRODUCTS	25	EA	No Bid			Rubbermaid	RCP P267

# 66 Shampoo Bonnet with Scrubs Strips

	Supplier	QTY	UOM	Price		Supplier Notes	Manufacturer	Manufacturer #
AWARD	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPAI	25	EA	\$16.99	\$424.75	RUBBERMAID RCPP271 - 5/CARTON FULL CARTONS ONLY	Rubbermaid	RCP P271
	Ferguson Facilities Supply	25	EA	\$17.52	\$438.00		Rubbermaid	RCP P271
	CC Distributors, Inc.	25	EA	\$19.34	\$483.50	GOLDEN STAR ASP21G	Rubbermaid	RCP P271
	Gulf Coast Paper	25	EA	\$20.25	\$506.25		Rubbermaid	RCP P271
	Yanitor Paper and Supplies, LLC	25	EA	\$30.30	\$757.50	We are bidding the same item you requested: Mfr: Rubbermaid. Mfr Item # RCP P267 Color: White/Green. Fabric: Cotton Size:21"	Rubbermaid	RCP P271
	Gateway Printing	25	EA	\$36.00	\$900.00		Rubbermaid	RCP P271
	Genesis II, Inc	25	EA	No Bid			Rubbermaid	RCP P271
	US WHOLESALE PRODUCTS	25	EA	No Bid			Rubbermaid	RCP P271
	Advanced Blending, Inc. DBA: LAst Group Enterprises	25	EA	No Bid			Rubbermaid	RCP P271
	School Specialty, Inc.	25	EA	No Bid			Rubbermaid	RCP P271
	Rio Paper & Supply, LLC	25	EA	No Bid			Rubbermaid	RCP P271
	Staples Inc (Staples Contract and Commercial LLC)	25	EA	No Bid			Rubbermaid	RCP P271

oile	Bowl Swag.							
	Supplier	QTY	UOM	Price		Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
RD	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPAI	450	EA	\$0.53	\$238.50	TOLCO #280100 - 100/CTN FULL CARTONS ONLY	Tolco	280100
	Genesis II, Inc	450	EA	\$0.58	\$261.00	Genesis BB280412, 100/cs	Tolco	280100
	Ferguson Facilities Supply	450	EA	\$0.60	\$270.00		Tolco	280100
	Gulf Coast Paper	450	EA	\$0.64	\$288.00		Tolco	280100
	CC Distributors, Inc.	450	EA	\$0.68		CONTINENTAL WJ510000	Tolco	280100
	[ALT1] School Specialty, Inc.	18	PK/25	\$19.29		MOP TOILETBOWL DURALON WHI PK25GJO99756	GENUINE JOE	GJO99756
	[ALT1] Gateway Printing	450	EA	\$0.85	\$382.50	Toilet Bowl Mop, White	Boardwalk	BWK00160EA
	American Industrial Supplies & Tool Repair, Inc.	450	EA	\$0.94	\$423.00		Tolco	280100
	US WHOLESALE PRODUCTS	450	EA	No Bid			Tolco	280100
	Yanitor Paper and Supplies, LLC	450	EA	No Bid			Tolco	280100
	Advanced Blending, Inc. DBA: LAst Group Enterprises	450	EA	No Bid			Tolco	280100
	Rio Paper & Supply, LLC	450	EA	No Bid			Tolco	280100
	Staples Inc (Staples Contract and Commercial LLC)	450	EA	No Bid			Tolco	280100

68	Urinal	Screen.

Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
CC Distributors, Inc.	<b>134</b>	BX	\$8.64	\$1,157.76	HOSPECO 3901	UNISAN	UNS-03013
Advanced Blending, Inc. DBA: LAst Group Enterprises	134	BX	\$8.80	\$1,179.20	cs, Urinal Screen "Scent Bon" Cherry, Non Para, Packed 12 ea cs. Pls order even cs lot. Min order for Janico is \$2000. mix product. (Items 2, 3, 4, 5, 6, 7, 8, 10, 12, 13, 14, 15, 16, 17, 18, 68, 72, 82, 83, 96, 97, 138, 144, 145.) QUOTING JANICO AS EQUAL ITEM	UNISAN	UNS-03013
Ferguson Facilities Supply	134	BX	\$8.95	\$1,199.30		UNISAN	UNS-03013
Gulf Coast Paper	134	BX	\$9.55	\$1,279.70		UNISAN	UNS-03013
Safeway Supply Inc (Hunte)	134	BX	\$10.77	\$1,443.18	COVEBAY URINAL SCREEN W/DEODORANT BLOCK 12/40Z PER BOX	UNISAN	UNS-03013
Genesis II, Inc	134	BX	\$11.60	\$1,554.40	Hospeco 03901, 12/cs, minimum order 24 boxes	UNISAN	UNS-03013
PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	134	BX	\$11.99	\$1,606.66	AS SPECIFIED	UNISAN	UNS-03013
[ALT1] Gateway Printing	134	BX	\$14.39			Boardwalk	BWKNUS
[ALT1] Staples Inc (Staples Contract and Commercial LLC)	134	BX	\$14.56	\$1,951.04	Staples SKU 071081 URINAL SCREEN N/PARA BERRY12BX	IMPACT PRODUCTS, LLC	BPR28610
[ALT1] School Specialty, Inc.	134	BX	\$18.60	\$2,492.40	SCREEN - CAMPHOR BLOCK - 3.5 OZ - IMP9587 - PACK OF 12	IMPACT	IMP9587
Yanitor Paper and Supplies, LLC	134	BX	No Bid			UNISAN	UNS-03013
Rio Paper & Supply, LLC	134	BX	No Bid			UNISAN	UNS-03013
US WHOLESALE PRODUCTS	134	BX	No Bid			UNISAN	UNS-03013
	CC Distributors, Inc. Advanced Blending, Inc. DBA: LAst Group Enterprises Ferguson Facilities Supply Gulf Coast Paper Safeway Supply Inc (Hunte) Genesis II, Inc PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY [ALT1] Gateway Printing [ALT1] Staples Inc (Staples Contract and Commercial LLC) [ALT1] School Specialty, Inc. Yanitor Paper and Supplies, LLC Rio Paper & Supply, LLC	CC Distributors, Inc.134Advanced Blending, Inc. DBA: LAST Group Enterprises134Ferguson Facilities Supply134Gulf Coast Paper134Safeway Supply Inc (Hunte)134Genesis II, Inc134PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)134[ALT1] Gateway Printing134[ALT1] Staples Inc (staples Contract and Commercial LLC)134[ALT1] School Specialty, Inc.134Yanitor Paper and Supplies, LLC134Rio Paper & Supply, LLC134	CC Distributors, Inc.134BXAdvanced Blending, Inc. DBA: LAST Group Enterprises134BXFerguson Facilities Supply134BXGulf Coast Paper134BXSafeway Supply Inc (Hunte)134BXGenesis II, Inc134BXPYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY134BX[ALT1] Gateway Printing134BX[ALT1] School Specialty, Inc.134BXYanitor Paper and Supplies, LLC134BXRio Paper & Supply, LLC134BX	CC Distributors, Inc.134BX\$8.64Advanced Blending, Inc. DBA: LAst Group Enterprises134BX\$8.80Ferguson Facilities Supply134BX\$8.95Gulf Coast Paper134BX\$9.55Safeway Supply Inc (Hunte)134BX\$10.77Genesis II, Inc134BX\$11.60PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY134BX\$11.99[ALT1] Gateway Printing134BX\$14.39[ALT1] Staples Inc (Staples Contract and Commercial LLC)134BX\$18.60Yanitor Paper and Supplies, LLC134BXNo BidRio Paper & Supply, LLC134BXNo Bid	CC Distributors, Inc.         134         BX         \$8.64         \$1,157.76           Advanced Blending, Inc. DBA: LAST Group Enterprises         134         BX         \$8.80         \$1,179.20           Ferguson Facilities Supply         134         BX         \$8.80         \$1,179.20           Gulf Coast Paper         134         BX         \$8.95         \$1,199.30           Gafeway Supply Inc (Hunte)         134         BX         \$9.55         \$1,279.70           Safeway Supply Inc (Hunte)         134         BX         \$10.77         \$1,443.18           Genesis II, Inc         134         BX         \$11.60         \$1,554.40           PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY         134         BX         \$11.99         \$1,606.66           [ALT1] Gateway Printing         134         BX         \$14.39         \$1,928.26           [ALT1] School Specialty, Inc.         134         BX         \$14.39         \$1,928.26           [ALT1] School Specialty, Inc.         134         BX         \$14.56         \$1,951.04           [ALT1] School Specialty, Inc.         134         BX         \$18.60         \$2,492.40           Yanitor Paper and Supplies, LLC         134         BX         No Bid         Rio Paper & Supply, LLC	CC Distributors, Inc.134BX\$8.64\$1,157.76HOSPECO 3901Advanced Blending, Inc. DBA: LAST Group Enterprises134BX\$8.80\$1,179.20cs, Urinal Screen "Scent Bon" Cherry, Non Para, Packed 12 ea cs. Pls order even cs lot. Min order for Janico is \$2000. mix product. (Items 2, 3, 4, 5, 6, 7, 8, 10, 12, 13, 14, 15, 16, 17, 18, 68, 72, 82, 83, 96, 97, 138, 144, 145.) QUDING JANICO AS EQUAL ITEMFerguson Facilities Supply134BX\$8.95\$1,199.30Gulf Coast Paper134BX\$9.55\$1,279.70Safeway Supply Inc (Hunte)134BX\$10.77\$1,443.18COVEBAY URINAL SCREEN W/DEDDORANT BLOCK 12/402 PER BOXGenesis II, Inc134BX\$11.60\$1,554.40PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY [ALT1] Gateway Printing134BX\$14.39[ALT1] Staples Inc (staples contract and Commercial LLC)134BX\$14.50\$2,492.40Yanitor Paper and Supplies, LLC134BX\$18.60\$2,492.40ScREEN - CAMPHOR BLOCK - 3.5 02 - IMP9587 - PACK OF 12Yanitor Paper & Supply, LLC134BXNo BidNo Bid	CC Distributors, Inc.134BX\$8.64\$1,157.76HOSPECO 3901UNISANAdvanced Blending, Inc. DBA: LAst Group Enterprises134BX\$8.80\$1,179.20cs, Urinal Screen "Scent Bon" Cherry, Non Para, Packed 12 ea cs. Pls order even cs lot. Min order for Janico is 52000. mix product. (Items 2,3,4,5,6,7,8,10,12,13,14,15,16,17,18,68,72,82,83,96,97,UNISANFerguson Facilities Supply134BX\$8.95\$1,199.30UNISANGulf Coast Paper134BX\$9.55\$1,279.70UNISANSafeway Supply Inc (Hunte)134BX\$10.77\$1,443.18COVEBAY URINAL SCREEN W/DEODORANT BLOCK 12/402 PER BOXUNISANGenesis II, Inc134BX\$11.60\$1,554.40Hospeco 03901, 12/cs, minimum order 24 boxesUNISANPYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY [ALT1] Gateway Printing134BX\$14.39\$1,928.26Urinal Screen w/Non-Para Cleaner Block, Green Apple, 12/Box BoardwalkBoardwalk[ALT1] School Specialty, Inc.134BX\$18.60\$2,492.40SCREEN - CAMPHOR BLOCK -3.5 02 - IMP9587 - PACK OF 12IMPACT VINISANYanitor Paper and Supplies, LLC134BX\$18.60\$2,492.40SCREEN - CAMPHOR BLOCK -3.5 02 - IMP9587 - PACK OF 12IMPACT VINISANRio Paper & Supply, LLC134BXNo BidUNISANUNISAN

# 69 Garden Hose.

	Supplier	QTY	UOM	Price	Extended Supplier Notes	Manufacturer	Manufacturer #
AWARD	CC Distributors, Inc.	150	EA	<i>\$16.25</i>	\$2,437.50 FLEXON FR5875	Flexon	FR5875 Medium Duty
	Genesis II, Inc	150	EA	\$19.48	\$2,922.00 Gilmour 15058075, 4/cs, minimum order 72 each	Flexon	FR5875 Medium Duty
	Ferguson Facilities Supply	150	EA	\$19.81	\$2,971.50 Product cd FR5875 light duty. Quoted med duty crush-proof hose, 50ft.	Flexon	FR5875 Medium Duty
	Advanced Blending, Inc. DBA: LAst Group Enterprises	150	EA	No Bid		Flexon	FR5875 Medium Duty
	Yanitor Paper and Supplies, LLC	150	EA	No Bid		Flexon	FR5875 Medium Duty
	Staples Inc (Staples Contract and Commercial LLC)	150	EA	No Bid		Flexon	FR5875 Medium Duty
	Gulf Coast Paper	150	EA	No Bid		Flexon	FR5875 Medium Duty
	School Specialty, Inc.	150	EA	No Bid		Flexon	FR5875 Medium Duty
	US WHOLESALE PRODUCTS	150	EA	No Bid		Flexon	FR5875 Medium Duty
	Gateway Printing	150	EA	No Bid		Flexon	FR5875 Medium Duty
	Rio Paper & Supply, LLC	150	EA	No Bid		Flexon	FR5875 Medium Duty

# 70 Garden Hose Nozzle

	Supplier	QTY	UOM	Price	Extended Supplier Notes	Manufacturer	Manufacturer #
AWARD	CC Distributors, Inc.	100	EA	\$5.23	\$523.00 FISKARS805722	Nelson	50501
	Genesis II, Inc	100	EA	\$8.62	\$862.00 Gilmour 573TF, 48/cs, minimum order 96 each	Nelson	50501
	Ferguson Facilities Supply	100	EA	\$14.47	\$1,447.00 Heavy-duty with stainless steel components	Nelson	50501
	Advanced Blending, Inc. DBA: LAst Group Enterprises	100	EA	No Bid		Nelson	50501
	Yanitor Paper and Supplies, LLC	100	EA	No Bid		Nelson	50501
	Staples Inc (Staples Contract and Commercial LLC)	100	EA	No Bid		Nelson	50501
	Gulf Coast Paper	100	EA	No Bid		Nelson	50501
	School Specialty, Inc.	100	EA	No Bid		Nelson	50501
	US WHOLESALE PRODUCTS	100	EA	No Bid		Nelson	50501
	Gateway Printing	100	EA	No Bid		Nelson	50501
	Rio Paper & Supply, LLC	100	EA	No Bid		Nelson	50501

	Supplier	QTY	UOM	Price	Extended Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
VARD	CC Distributors, Inc.	500	EA	<i>\$1.37</i>	\$685.00 HYDE 13000	Hyde	13000
	American Industrial Supplies & Tool Repair, Inc.	500	EA	\$1.76	\$880.00	Hyde	13000
	Gulf Coast Paper	500	EA	\$1.98	\$990.00	Hyde	13000
	Ferguson Facilities Supply	500	EA	\$2.06	\$1,030.00 Unger SR500	Hyde	13000
	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	500	EA	\$2.40	\$1,200.00 Staples SKU 701020 SCRAPER WINDOW	ORS NASCO, INC (NSP)	630-3223
	[ALT1] Gateway Printing	500	EA	\$2.59	\$1,295.00 Retractable Razor-Blade Window Scraper	Red Devil	RDL3223
	Rio Paper & Supply, LLC	500	EA	No Bid		Hyde	13000
	Genesis II, Inc	500	EA	No Bid		Hyde	13000
	US WHOLESALE PRODUCTS	500	EA	No Bid		Hyde	13000
	Yanitor Paper and Supplies, LLC	500	EA	No Bid		Hyde	13000
	Advanced Blending, Inc. DBA: LAst Group Enterprises	500	EA	No Bid		Hyde	13000
	School Specialty, Inc.	500	EA	No Bid		Hyde	13000

# 72 Window Squeegee.

	Supplier	QTY	UOM	Price		Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
AWARD	Genesis II, Inc	100	EA	\$2.22	\$222.00	Genesis BB260112, 10/cs, minimum order 30 each	Continental	21170660
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	100	EA	\$2.79	\$279.00	ABCO #BH15006 - 12/CTN FULL CARTONS ONLY	Continental	21170660
	CC Distributors, Inc.	100	EA	\$3.00	\$300.00	O'CEDAR96812S	Continental	21170660
	Advanced Blending, Inc. DBA: LAst Group Enterprises	100	EA	\$3.80	\$380.00	Ea, Window Squeegee, 12", Janico #4810, Packed 12 ea cs. Please order even cs lot. Min order Janico Products is \$2000. mix product. (Items 2, 3, 4, 5, 6, 7, 8, 10, 12, 13, 14, 15, 16, 17, 18, 68, 72, 82, 83, 96, 97, 138, 144, 145.) QUOTING JANICO AS EQUAL ITEM	Continental	21170660
	Gulf Coast Paper	100	EA	\$5.58	\$558.00		Continental	21170660
	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	100	EA	\$13.44	\$1,344.00	Staples SKU 848798 SQUEEGEE 12 INCH STST	UNGER ENTERPRISES, INC.	PR300
	US WHOLESALE PRODUCTS	100	EA	No Bid			Continental	21170660
	Ferguson Facilities Supply	100	EA	No Bid			Continental	21170660
	Yanitor Paper and Supplies, LLC	100	EA	No Bid			Continental	21170660
	School Specialty, Inc.	100	EA	No Bid			Continental	21170660
	Rio Paper & Supply, LLC	100	EA	No Bid			Continental	21170660

100

EA

No Bid

# 73 Food Service Towel.

Gateway Printing

	Service rowen.						
	Supplier	QTY	UOM	Price		Manufacturer	Manufacturer #
AWARD	Genesis II, Inc	650	EA	<i>\$13.64</i>		Kimberly Clark	КСС06053
	[ALT1] US WHOLESALE PRODUCTS	650	EA	\$17.00	\$11,050.00 12" X 23" FOOD SERVICE WIPERS 200 PER BOX	AMERICAN WIPER	FS1223
	Ferguson Facilities Supply	650	EA	\$19.12	\$12,428.00	Kimberly Clark	KCC06053
	Advanced Blending, Inc. DBA: LAst Group Enterprises	650	EA	\$19.19	\$12,473.50 cs, "Infinity" White Food Svc Towel, 12'x 24", 200 ea cs, Dallas Wiping Materials, #07469, Min order is 150 cs ea shipment.	Kimberly Clark	KCC06053
	Gulf Coast Paper	650	EA	\$19.21	\$12,486.50	Kimberly Clark	KCC06053
	CC Distributors, Inc.	650	EA	\$19.71	\$12,811.50 KIMBERLY CLARK 6053	Kimberly Clark	KCC06053
	[ALT1] Gateway Printing	650	EA	\$19.89	\$12,928.50 Food service Wipers, Pink/White, 12 x 21, 200/Carton	Boardwalk	BWK8140
	Staples Inc (Staples Contract and Commercial LLC)	650	EA	\$20.95	\$13,617.50	Kimberly Clark	KCC06053
	[ALT1] PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER (	650	EA	\$29.96	\$19,474.00 FOOD SERVICE TOWEL 150/BX	MDI	97101
	Yanitor Paper and Supplies, LLC	650	EA	No Bid		Kimberly Clark	KCC06053
	School Specialty, Inc.	650	EA	No Bid		Kimberly Clark	KCC06053
	Rio Paper & Supply, LLC	650	EA	No Bid		Kimberly Clark	KCC06053
	US WHOLESALE PRODUCTS	650	EA	No Bid		Kimberly Clark	KCC06053

Continental

21170660

# 74 Cafeteria Replacement Stools.

Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
CC Distributors, Inc.	500	EA	No Bid			Bio Fit	041890
Ferguson Facilities Supply	500	EA	No Bid			Bio Fit	041890
School Specialty, Inc.	500	EA	No Bid			Bio Fit	041890
Gateway Printing	500	EA	No Bid			Bio Fit	041890
Rio Paper & Supply, LLC	500	EA	No Bid			Bio Fit	041890
US WHOLESALE PRODUCTS	500	EA	No Bid			Bio Fit	041890
Advanced Blending, Inc. DBA: LAst Group Enterprises	500	EA	No Bid			Bio Fit	041890
Yanitor Paper and Supplies, LLC	500	EA	No Bid			Bio Fit	041890
Gulf Coast Paper	500	EA	No Bid			Bio Fit	041890
Genesis II, Inc	500	EA	No Bid			Bio Fit	041890
Staples Inc (Staples Contract and Commercial LLC)	500	EA	No Bid			Bio Fit	041890

	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
WARD	Ferguson Facilities Supply	288	EA	\$0.88	\$253.44		Crews	CL110
	CC Distributors, Inc.	288	EA	\$0.88	\$253.44	CREWS CL110	Crews	CL110
	American Industrial Supplies & Tool Repair, Inc.	288	EA	\$0.94	\$270.72	2	Crews	CL110
	[ALT1] School Specialty, Inc.	288	EA	\$1.04	\$299.52	GLASSES SAFETY X300 CLEAR LENS SM FRAME EA	SELLSTROM	S70702
	Gulf Coast Paper	288	EA	\$1.08	\$311.04	l de la companya de l	Crews	CL110
	Gateway Printing	288	EA	\$1.09	\$313.92		Crews	CL110
	[ALT1] PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER (	288	EA	\$1.22	\$351.36	SAFETY GLASSES CLEAR - 120/CTN FULL CARTONS ONLY	CORDOVA	EHF10S
	Staples Inc (Staples Contract and Commercial LLC)	288	EA	\$10.93	\$3,147.84	l .	Crews	CL110
	Advanced Blending, Inc. DBA: LAst Group Enterprises	288	EA	No Bid			Crews	CL110
	Genesis II, Inc	288	EA	No Bid			Crews	CL110
	US WHOLESALE PRODUCTS	288	EA	No Bid			Crews	CL110
	Rio Paper & Supply, LLC	288	EA	No Bid			Crews	CL110
	Yanitor Paper and Supplies, LLC	288	EA	No Bid			Crews	CL110

76	Safety	Spectacles.

	Supplier	QTY	UOM	Price	Extended Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
	CC Distributors, Inc.	288	EA	\$0.88	\$253.44 CREWS CL112	Crews	CL112
RD	Ferguson Facilities Supply	288	EA	\$0.88	\$253.44	Crews	CL112
	[ALT1] PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER (	288	EA	\$0.89	\$256.32 SAFETY GLASSES SMOKE - 120/CTN FULL CARTONS ONLY	CORDOVA	EHB20S
	American Industrial Supplies & Tool Repair, Inc.	288	EA	\$0.94	\$270.72	Crews	CL112
	Gulf Coast Paper	288	EA	\$1.08	\$311.04	Crews	CL112
	Gateway Printing	288	EA	\$1.09	\$313.92	Crews	CL112
	Staples Inc (Staples Contract and Commercial LLC)	288	EA	\$1.57	\$452.16	Crews	CL112
	Yanitor Paper and Supplies, LLC	288	EA	No Bid		Crews	CL112
	Advanced Blending, Inc. DBA: LAst Group Enterprises	288	EA	No Bid		Crews	CL112
	Genesis II, Inc	288	EA	No Bid		Crews	CL112
	US WHOLESALE PRODUCTS	288	EA	No Bid		Crews	CL112
	School Specialty, Inc.	288	EA	No Bid		Crews	CL112
	Rio Paper & Supply, LLC	288	EA	No Bid		Crews	CL112

	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
WARD	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPAI	48	BX	\$7.20	\$345.60		Energizer	LR03 1.5V EN92
	CC Distributors, Inc.	48	BX	\$8.00	\$384.00	ENERGIZER EN92	Energizer	LR03 1.5V EN92
	American Industrial Supplies & Tool Repair, Inc.	48	BX	\$8.64	\$414.72		Energizer	LR03 1.5V EN92
	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	48	BX	\$10.17	\$488.16	Staples SKU 479074 PROCELL AAA CELL BATTERY BOX OF 24	DURACELL DISTRIBUTING INC.	PC2400/PC2400BK
	Gulf Coast Paper	48	BX	\$10.23	\$491.04		Energizer	LR03 1.5V EN92
	Gateway Printing	48	BX	\$10.29	\$493.92		Energizer	LR03 1.5V EN92
	Ferguson Facilities Supply	48	BX	\$14.05	\$674.40		Energizer	LR03 1.5V EN92
	School Specialty, Inc.	48	BX	\$20.16	\$967.68	SSI # 1541437	Energizer	LR03 1.5V EN92
	US WHOLESALE PRODUCTS	48	BX	No Bid			Energizer	LR03 1.5V EN92
	Yanitor Paper and Supplies, LLC	48	BX	No Bid			Energizer	LR03 1.5V EN92
	Genesis II, Inc	48	BX	No Bid			Energizer	LR03 1.5V EN92
	Rio Paper & Supply, LLC	48	BX	No Bid			Energizer	LR03 1.5V EN92
	Advanced Blending, Inc. DBA: LAst Group Enterprises	48	BX	No Bid			Energizer	LR03 1.5V EN92

	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
NARD	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPAI	60	BX	\$7.20	\$432.00		Energizer	LR06 1.5V EN91
	CC Distributors, Inc.	60	BX	\$7.72	\$463.20	ENERGIZER EN91	Energizer	LR06 1.5V EN91
	American Industrial Supplies & Tool Repair, Inc.	60	BX	\$8.64	\$518.40		Energizer	LR06 1.5V EN91
	Gateway Printing	60	BX	\$9.79	\$587.40		Energizer	LR06 1.5V EN91
	Gulf Coast Paper	60	BX	\$9.93	\$595.80		Energizer	LR06 1.5V EN91
	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	60	BX	\$11.80	\$708.00	Staples SKU 479067 PROCELL AA CELL BATTERY BOX OF 24	Energizer	LR06 1.5V EN91
	Ferguson Facilities Supply	60	BX	\$12.76	\$765.60		Energizer	LR06 1.5V EN91
	School Specialty, Inc.	60	BX	No Bid			Energizer	LR06 1.5V EN91
	Rio Paper & Supply, LLC	60	BX	No Bid			Energizer	LR06 1.5V EN91
	Genesis II, Inc	60	BX	No Bid			Energizer	LR06 1.5V EN91
	US WHOLESALE PRODUCTS	60	BX	No Bid			Energizer	LR06 1.5V EN91
	Yanitor Paper and Supplies, LLC	60	BX	No Bid			Energizer	LR06 1.5V EN91
	Advanced Blending, Inc. DBA: LAst Group Enterprises	60	BX	No Bid			Energizer	LR06 1.5V EN91

9 Indu	strial Battery.							
	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
AWARD	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPAI	30	BX	\$7.08	\$212.40		Energizer	#LR14 1.5V EN93
	Gateway Printing	30	BX	\$8.29	\$248.70		Energizer	#LR14 1.5V EN93
	Gulf Coast Paper	30	BX	\$8.47	\$254.10		Energizer	#LR14 1.5V EN93
	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	30	BX	\$8.63	\$258.90	Staples SKU 410699 PROCELL C CELL BATTERY BOX OF 12	DURACELL DISTRIBUTING INC.	PC1400
	CC Distributors, Inc.	30	BX	\$8.97	\$269.10	ENERGIZER EN93	Energizer	#LR14 1.5V EN93
	American Industrial Supplies & Tool Repair, Inc.	30	BX	\$9.12	\$273.60		Energizer	#LR14 1.5V EN93
	Ferguson Facilities Supply	30	BX	\$11.99	\$359.70		Energizer	#LR14 1.5V EN93
	Yanitor Paper and Supplies, LLC	30	BX	No Bid			Energizer	#LR14 1.5V EN93
	Advanced Blending, Inc. DBA: LAst Group Enterprises	30	BX	No Bid			Energizer	#LR14 1.5V EN93
	Genesis II, Inc	30	BX	No Bid			Energizer	#LR14 1.5V EN93
	US WHOLESALE PRODUCTS	30	BX	No Bid			Energizer	#LR14 1.5V EN93
	School Specialty, Inc.	30	BX	No Bid			Energizer	#LR14 1.5V EN93
	Rio Paper & Supply, LLC	30	BX	No Bid			Energizer	#LR14 1.5V EN93

80	Industrial Battery.

	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
RD	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPAI	<del>96</del>	BX	<i>\$9.60</i>	\$921.60		Energizer	LR20 1.5 EN95
	Gateway Printing	96	BX	\$9.89	\$949.44		Energizer	LR20 1.5 EN95
	CC Distributors, Inc.	96	BX	\$9.93	\$953.28	ENERGIZER EN95	Energizer	LR20 1.5 EN95
	Gulf Coast Paper	96	BX	\$10.66	\$1,023.36		Energizer	LR20 1.5 EN95
	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	96	BX	\$11.12	\$1,067.52	Staples SKU 410698 PROCELL D CELL BATTERY BOX OF 12	DURACELL DISTRIBUTING INC.	PC1300
	American Industrial Supplies & Tool Repair, Inc.	96	BX	\$12.48	\$1,198.08	•	Energizer	LR20 1.5 EN95
	Ferguson Facilities Supply	96	BX	\$13.59	\$1,304.64		Energizer	LR20 1.5 EN95
	Yanitor Paper and Supplies, LLC	96	BX	No Bid			Energizer	LR20 1.5 EN95
	Advanced Blending, Inc. DBA: LAst Group Enterprises	96	BX	No Bid			Energizer	LR20 1.5 EN95
	Genesis II, Inc	96	BX	No Bid			Energizer	LR20 1.5 EN95
	US WHOLESALE PRODUCTS	96	BX	No Bid			Energizer	LR20 1.5 EN95
	School Specialty, Inc.	96	BX	No Bid			Energizer	LR20 1.5 EN95
	Rio Paper & Supply, LLC	96	BX	No Bid			Energizer	LR20 1.5 EN95

	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
AWARD	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPAI	12	BX	\$11.88	\$142.56		Energizer	6LR61 9V EN22
	CC Distributors, Inc.	12	BX	\$13.66	\$163.92	ENERGIZER EN22	Energizer	6LR61 9V EN22
	American Industrial Supplies & Tool Repair, Inc.	12	BX	\$16.68	\$200.16		Energizer	6LR61 9V EN22
	Gulf Coast Paper	12	BX	\$18.13	\$217.56		Energizer	6LR61 9V EN22
	Gateway Printing	12	BX	\$19.89	\$238.68		Energizer	6LR61 9V EN22
	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	12	BX	\$21.43	\$257.16	Staples SKU 479069 DURACELL PROCELL 9VOLT BATTERY	DURACELL DISTRIBUTING INC.	PC1604/PC1604BK
	Ferguson Facilities Supply	12	BX	\$24.07	\$288.84		Energizer	6LR61 9V EN22
	Yanitor Paper and Supplies, LLC	12	BX	No Bid			Energizer	6LR61 9V EN22
	Advanced Blending, Inc. DBA: LAst Group Enterprises	12	BX	No Bid			Energizer	6LR61 9V EN22
	Genesis II, Inc	12	BX	No Bid			Energizer	6LR61 9V EN22
	US WHOLESALE PRODUCTS	12	BX	No Bid			Energizer	6LR61 9V EN22
	School Specialty, Inc.	12	BX	No Bid			Energizer	6LR61 9V EN22
	Rio Paper & Supply, LLC	12	BX	No Bid			Energizer	6LR61 9V EN22

	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
RD	[ALT1] PYRAMID SCHOOL PRODUCTS (PYRAMID PAPE)	300	EA	\$ <mark>3.</mark> 69	\$1,107.00	POLYWOOL DUSTER (48"X82" EXT)	BETTER BRUSH	470380
	Genesis II, Inc	300	EA	\$4.08	, ,	Genesis BB470380, 12/cs, minimum order 60 each	Unisan	UNS9442 / Metal Handle
	Advanced Blending, Inc. DBA: LAst Group Enterprises	300	EA	\$4.39	\$1,317.00	ea, Polywool Duster, w ext, Janico #3070, Packed 12 ea cs. Pls order by even cs lot. Min order Janico Products is \$2000. mix product. (Items 2, 3, 4, 5, 6, 7, 8, 10, 12, 13, 14, 15, 16, 17, 18, 68, 72, 82, 83, 96, 97, 138, 144, 145.) QUOTING JANICO AS EQUAL ITEM	Unisan	UNS9442 / Metal Handle
	Ferguson Facilities Supply	300	EA	\$4.51	\$1,353.00	1	Unisan	UNS9442 / Metal Handle
	CC Distributors, Inc.	300	EA	\$4.77	\$1,431.00	O'CEDAR96482	Unisan	UNS9442 / Metal Handle
	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	300	EA	\$4.80	\$1,440.00	Staples SKU 24418467 CW LAMBSWOOL DUSTER 38-48 IN	WORKLIFE BRANDS	CW56799
	Gulf Coast Paper	300	EA	\$4.82	\$1,446.00		Unisan	UNS9442 / Metal Handle
	[ALT1] School Specialty, Inc.	300	EA	\$6.83	\$2,049.00	DUSTER-EXTENDED-POLY-WOOL - IMP3125W	IMPACT	IMP3125W
	American Industrial Supplies & Tool Repair, Inc.	300	EA	\$8.48	\$2,544.00		Unisan	UNS9442 / Metal Handle
	[ALT1] Gateway Printing	300	EA	\$8.69	\$2,607.00	Polywool Duster, Metal Handle Extends 51" to 82", Asst Colors	Boardwalk	BWK9442
	Yanitor Paper and Supplies, LLC	300	EA	No Bid			Unisan	UNS9442 / Metal Handle
	US WHOLESALE PRODUCTS	300	EA	No Bid			Unisan	UNS9442 / Metal Handle
	Rio Paper & Supply, LLC	300	EA	No Bid			Unisan	UNS9442 / Metal Handle

83 Paper Picker. Price Supplier QTY UOM Extended Supplier Notes Manufacturer # Manufacturer \$799.00 BETTER BRUSH #550532 (32" LONG) AWARD PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPAI 100 EA \$7.99 Unger UNGNN90 \$10.38 \$1,038.00 Genesis BB550532, 12/cs Unger UNGNN90 Genesis II. Inc 100 ΕA \$13.22 \$1,322.00 ea, 36" Grabber, Janico #4870, Packed 10 ea cs. Plse= order by even Unger UNGNN90 Advanced Blending, Inc. DBA: LAst Group Enterprises 100 ΕA cs lot. Min order Janico Products is \$2000. mix product. (Items 2, 3, 4, 5, 6, 7, 8, 10, 12, 13, 14, 15, 16, 17, 18, 68, 72, 82, 83, 96, 97, 138, 144, 145.) QUOTING JANICO AS EQUAL ITEM Unger UNGNN90 American Industrial Supplies & Tool Repair, Inc. 100 ΕA \$18.16 \$1,816.00 UNGNN90 Unger Gulf Coast Paper 100 ΕA \$23.86 \$2,386.00 \$2,425.00 UNGER NN90 Unger UNGNN90 CC Distributors, Inc. 100 FΑ \$24.25 Unger UNGNN90 Ferguson Facilities Supply 100 ΕA \$25.05 \$2,505.00 UNGNN90 Staples Inc (Staples Contract and Commercial LLC) 100 ΕA \$25.32 \$2,532.00 Unger \$3,100.00 Unger UNGNN90 Gateway Printing 100 ΕA \$31.00 UNGNN90 Yanitor Paper and Supplies, LLC 100 ΕA No Bid Unger UNGNN90 Unger US WHOLESALE PRODUCTS 100 ΕA No Bid Unger UNGNN90 School Specialty, Inc. 100 ΕA No Bid UNGNN90 Rio Paper & Supply, LLC 100 ΕA No Bid Unger

#### 84 Sand Screen.

	Supplier	QTY	UOM	Price	Extended Supplier Notes	Manufacturer	Manufacturer #
AWARD	CC Distributors, Inc.	300	EA	<i>\$4.53</i>	\$1,359.00 NORTON 48906	Premiere	PAD5017-60-10
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	300	EA	\$5.05	\$1,515.00 ACA #32091 - 10/CTN FULL CARTONS ONLY	Premiere	PAD5017-60-10
	Ferguson Facilities Supply	300	EA	\$8.53	\$2,559.00	Premiere	PAD5017-60-10
	Gulf Coast Paper	300	EA	\$43.17	\$12,951.00	Premiere	PAD5017-60-10
	Gateway Printing	300	EA	No Bid		Premiere	PAD5017-60-10
	Rio Paper & Supply, LLC	300	EA	No Bid		Premiere	PAD5017-60-10
	Advanced Blending, Inc. DBA: LAst Group Enterprises	300	EA	No Bid		Premiere	PAD5017-60-10
	Yanitor Paper and Supplies, LLC	300	EA	No Bid		Premiere	PAD5017-60-10
	Genesis II, Inc	300	EA	No Bid		Premiere	PAD5017-60-10
	Staples Inc (Staples Contract and Commercial LLC)	300	EA	No Bid		Premiere	PAD5017-60-10
	School Specialty, Inc.	300	EA	No Bid		Premiere	PAD5017-60-10
	US WHOLESALE PRODUCTS	300	EA	No Bid		Premiere	PAD5017-60-10

	Supplier	QTY	UOM	Price	Extended Supplier Notes	Manufacturer	Manufacturer #
VARD	CC Distributors, Inc.	150	EA	\$ <mark>3.73</mark>	\$559.50 NORTON 48905	Premiere	PAD 5017-80-10
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	150	EA	\$4.69	\$703.50 ACS #32100 - 10/CTN FULL CARTONS ONLY	Premiere	PAD 5017-80-10
	Ferguson Facilities Supply	150	EA	\$7.46	\$1,119.00	Premiere	PAD 5017-80-10
	Gulf Coast Paper	150	EA	\$35.77	\$5,365.50	Premiere	PAD 5017-80-10
	Gateway Printing	150	EA	No Bid		Premiere	PAD 5017-80-10
	Rio Paper & Supply, LLC	150	EA	No Bid		Premiere	PAD 5017-80-10
	Advanced Blending, Inc. DBA: LAst Group Enterprises	150	EA	No Bid		Premiere	PAD 5017-80-10
	Yanitor Paper and Supplies, LLC	150	EA	No Bid		Premiere	PAD 5017-80-10
	Genesis II, Inc	150	EA	No Bid		Premiere	PAD 5017-80-10
	Staples Inc (Staples Contract and Commercial LLC)	150	EA	No Bid		Premiere	PAD 5017-80-10
	School Specialty, Inc.	150	EA	No Bid		Premiere	PAD 5017-80-10
	US WHOLESALE PRODUCTS	150	EA	No Bid		Premiere	PAD 5017-80-10

### 86 Sand Screen

	Supplier	QTY	UOM	Price	Extended Supplier Notes	Manufacturer	Manufacturer #
AWARD	CC Distributors, Inc.	150	EA	\$3.27	\$490.50 NORTON 48904	Premiere	PAD5017-100-10
	Gulf Coast Paper	150	EA	\$31.79	\$4,768.50	Premiere	PAD5017-100-10
	Gateway Printing	150	EA	No Bid		Premiere	PAD5017-100-10
	Rio Paper & Supply, LLC	150	EA	No Bid		Premiere	PAD5017-100-10
	Advanced Blending, Inc. DBA: LAst Group Enterprises	150	EA	No Bid		Premiere	PAD5017-100-10
	Yanitor Paper and Supplies, LLC	150	EA	No Bid		Premiere	PAD5017-100-10
	Genesis II, Inc	150	EA	No Bid		Premiere	PAD5017-100-10
	Staples Inc (Staples Contract and Commercial LLC)	150	EA	No Bid		Premiere	PAD5017-100-10
	School Specialty, Inc.	150	EA	No Bid		Premiere	PAD5017-100-10
	US WHOLESALE PRODUCTS	150	EA	No Bid		Premiere	PAD5017-100-10

87 Plastic Shrink Wrap. QTY UOM Price Extended Supplier Notes / Alternate Description Supplier Manufacturer Manufacturer # AWARD [ALT1] Interboro Packaging Corp. 100 ROLLS \$8.84 \$884.00 Price quoted is per 1 roll. However, we will only ship this item IBS INT-SF1815-XH packed 4 rolls per case for \$35.36 Ferguson Facilities Supply 100 ROLLS \$11.50 \$1,150.00 Berry Plastic 4WX1820 4WX1820 CC Distributors, Inc. 100 ROLLS \$11.89 \$1,189.00 AEP HW1880 Berry Plastic \$12.34 \$1,234.00 Price quoted is per 1 roll. However, we will only ship this item packed 4 rolls per case for \$49.36iNT-SF1815-XXHMfr: IBS Berry Plastic 4WX1820 Interboro Packaging Corp. 100 ROLLS 4WX1820 Berry Plastic **Gulf Coast Paper** 100 ROLLS \$45.69 \$4,569.00 American Industrial Supplies & Tool Repair, Inc. ROLLS \$76.19 Berry Plastic 4WX1820 100 \$7,619.00 Berry Plastic 4WX1820 Rio Paper & Supply, LLC 100 ROLLS No Bid Berry Plastic 4WX1820 School Specialty, Inc. 100 ROLLS No Bid Berry Plastic 4WX1820 Genesis II, Inc 100 ROLLS No Bid Berry Plastic 4WX1820 **Gateway Printing** 100 ROLLS No Bid Berry Plastic 4WX1820 US WHOLESALE PRODUCTS 100 ROLLS No Bid Berry Plastic 4WX1820 Staples Inc (Staples Contract and Commercial LLC) 100 ROLLS No Bid Advanced Blending, Inc. DBA: LAst Group Enterprises Berry Plastic 4WX1820 No Bid 100 ROLLS Yanitor Paper and Supplies, LLC 100 ROLLS No Bid Berry Plastic 4WX1820

#### 88 Outdoor Floor Mat.

	Supplier	QTY	UOM	Price			Manufacturer	Manufacturer #
AWARD	Ferguson Facilities Supply	200	ΕΑ	\$10.20		Superior un-backed mat, capture more dirt/dust and is easy for custadial staff to clean. Lifetime warranty Anderson (M&A) Mats with a 100% satisfaction guarantee for the life of the mat. Lifetime warranty Anderson (M&A) Mats with a 100% satisfaction guarantee for the life of the mat. Have seen these easily last 5 years at other schools.	Ultra Scraper	U54872B
	Genesis II, Inc	200	EA	\$28.62	\$5,724.00	Apache 01-030-Black-4X6, minimum 100 each	Ultra Scraper	U54872B
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	200	EA	\$46.98		APACHE 79-376-0900-4X6-BLACK (SUPER GRIP) - 50 EA MIN ORDER	Ultra Scraper	U54872B
	CC Distributors, Inc.	200	EA			MATS, INC. CSI46BK2 CLEAN STEP	Ultra Scraper	U54872B
	[ALT1] Gateway Printing	200	EA	\$61.00	\$12,200.00	Needle-Rib Wiper/Scraper Mat, Polypropylene, 48 x 72, Charcoal	Crown	CWNNR0046CH
	Gulf Coast Paper	200	EA	\$66.90	\$13,380.00		Ultra Scraper	U54872B
	Rio Paper & Supply, LLC	200	EA	No Bid			Ultra Scraper	U54872B
	US WHOLESALE PRODUCTS	200	EA	No Bid			Ultra Scraper	U54872B
	Staples Inc (Staples Contract and Commercial LLC)	200	EA	No Bid			Ultra Scraper	U54872B
	Yanitor Paper and Supplies, LLC	200	EA	No Bid			Ultra Scraper	U54872B
	Advanced Blending, Inc. DBA: LAst Group Enterprises	200	EA	No Bid			Ultra Scraper	U54872B
	School Specialty, Inc.	200	EA	No Bid			Ultra Scraper	U54872B

### 89 Indoor Floor Mat.

Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
<sup>D</sup> Ferguson Facilities Supply	300	EA	\$9.92	\$2,976.00	Lifetime warranty Anderson (M&A) Mats with a 100% satisfaction	Ground Keeper	GK10046WA
					guarantee for the life of the mat. Have seen these easily last 5 years at other schools.	;	
PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER	COMPANY 300	EA	\$29.89		APACHE 01-030-4X6-BROWN - 50 EACH MINIMUM ORDER	Ground Keeper	GK10046WA
Gulf Coast Paper	300	EA	\$32.75	\$9,825.00		Ground Keeper	GK10046WA
Genesis II, Inc	300	EA			Apache 79-376-0900-4X6, minimum 100 each	Ground Keeper	GK10046WA
CC Distributors, Inc.	300	EA	\$55.36	\$16,608.00	MATS, INC. DO46BS DELUXE OLEFIN	Ground Keeper	GK10046WA
[ALT1] Staples Inc (Staples Contract and Commercia	LLC) 300	EA	\$70.22	\$21,066.00	Staples SKU 750945 TRIGRIP 4X6 MAT BROWNTONE	M + A MATTING, LLC	100246040
Advanced Blending, Inc. DBA: LAst Group Enterpr	ises 300	EA	No Bid			Ground Keeper	GK10046WA
US WHOLESALE PRODUCTS	300	EA	No Bid			Ground Keeper	GK10046WA
School Specialty, Inc.	300	EA	No Bid			Ground Keeper	GK10046WA
Rio Paper & Supply, LLC	300	EA	No Bid			Ground Keeper	GK10046WA
Gateway Printing	300	EA	No Bid			Ground Keeper	GK10046WA
Yanitor Paper and Supplies, LLC	300	EA	No Bid			Ground Keeper	GK10046WA

90 Traff	ic Cones.							
	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
AWARD	CC Distributors, Inc.	300	EA	\$14.26	\$4,278.00	CORTINA SAFETY 03-500-10	JBC Safety Plastic Inc.	RS-70030CT
	American Industrial Supplies & Tool Repair, Inc.	300	EA	\$15.15	\$4,545.00		JBC Safety Plastic Inc.	RS-70030CT
	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	300	EA	\$16.34		Staples SKU 309806 28IN CONES 2 REFLECT COLLARS	CORTINA SAFETY PRODUCTS	03-500-10
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	300	EA	\$16.99	\$5,097.00	JBC RS70032CT3M64 - 120 EACH MINIMUM ORDER	JBC Safety Plastic Inc.	RS-70030CT
	Ferguson Facilities Supply	300	EA	\$18.96	\$5,688.00		JBC Safety Plastic Inc.	RS-70030CT
	Yanitor Paper and Supplies, LLC	300	EA	No Bid			JBC Safety Plastic Inc.	RS-70030CT
	Advanced Blending, Inc. DBA: LAst Group Enterprises	300	EA	No Bid			JBC Safety Plastic Inc.	RS-70030CT
	School Specialty, Inc.	300	EA	No Bid			JBC Safety Plastic Inc.	RS-70030CT
	Gulf Coast Paper	300	EA	No Bid			JBC Safety Plastic Inc.	RS-70030CT
	US WHOLESALE PRODUCTS	300	EA	No Bid			JBC Safety Plastic Inc.	RS-70030CT
	Genesis II, Inc	300	EA	No Bid			JBC Safety Plastic Inc.	RS-70030CT
	Gateway Printing	300	EA	No Bid			JBC Safety Plastic Inc.	RS-70030CT
	Rio Paper & Supply, LLC	300	EA	No Bid			JBC Safety Plastic Inc.	RS-70030CT

	Supplier	QTY	UOM	Price		Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
ARD	Genesis II, Inc	2000	EA	\$1.97	\$3,940.00	Claire CS227, 12/cs, minimum order 480 each	Betco	06523-00
	Gulf Coast Paper	2000	EA	\$2.01	\$4,020.00		Betco	06523-00
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	2000	EA	\$2.21		Chase #433-4111 (18 OZ) 144 ea min order (12/ctn full ctns only)	Betco	06523-00
	Safeway Supply Inc (Hunte)	2000	EA	\$2.27	\$4,540.00	Pro Series C5227 oil base SS & metal polish 12/14oz min order 40 cs (480 cans)	Betco	06523-00
	[ALT1] Gateway Printing	2000	EA	\$2.79	\$5,580.00	Stainless Steel Cleaner and Polish, Lemon, 18 oz Aerosol	Boardwalk	BWK347AEA
	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	2000	EA	\$2.86	\$5,720.00	Staples SKU 2611674 STAINLESS STEEL CLNR/MAINTAINR	CLAIRE MANUFACTURING	BPR50877-A
	CC Distributors, Inc.	2000	EA	\$3.00	\$6,000.00	BETCO 06523-00	Betco	06523-00
	[ALT1] Boydsco Holdings LLC	2000	EA	\$4.41	\$8,820.00	stainless steel cleaner	midlab	073500-20
	American Industrial Supplies & Tool Repair, Inc.	2000	EA		\$11,960.00		Betco	06523-00
	Rio Paper & Supply, LLC	2000	EA	\$31.23	\$62,460.00	Equal: BWK347ACT BOARDWALKStainless Steel Cleaner and Polish, Lemon, 18 oz Aerosol, 12/Carton	Betco	06523-00
	Ferguson Facilities Supply	2000	EA	\$43.98	\$87,960.00	BT-06523 true 17 oz.	Betco	06523-00
	US WHOLESALE PRODUCTS	2000	EA	No Bid			Betco	06523-00
	School Specialty, Inc.	2000	EA	No Bid			Betco	06523-00
	Yanitor Paper and Supplies, LLC	2000	EA	No Bid			Betco	06523-00
	Advanced Blending, Inc. DBA: LAst Group Enterprises	2000	EA	No Bid			Betco	06523-00

#### 92 Insect Repellent.

52 111500							
	Supplier	QTY	UOM	Price	Extended Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
AWARD	Gulf Coast Paper	120	CS	\$59.22	\$7,106.40	SC Johnson	SCJW 611081 Deep Woods
	[ALT1] Boydsco Holdings LLC	120	CS	\$61.73	\$7,407.60 insect killer 12 can per case	Midlab	078500-20
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	120	CS	\$64.98	\$7,797.60	SC Johnson	SCJW 611081 Deep Woods
	CC Distributors, Inc.	120	CS	\$67.62	\$8,114.40 SC JOHNSON 01842 DEEP WOODS OFF	SC Johnson	SCJW 611081 Deep Woods
	Gateway Printing	120	CS	\$75.48	\$9,057.60	SC Johnson	SCJW 611081 Deep Woods
	American Industrial Supplies & Tool Repair, Inc.	120	CS	\$82.88	\$9,945.60	SC Johnson	SCJW 611081 Deep Woods
	Yanitor Paper and Supplies, LLC	120	CS	No Bid		SC Johnson	SCJW 611081 Deep Woods
	Advanced Blending, Inc. DBA: LAst Group Enterprises	120	CS	No Bid		SC Johnson	SCJW 611081 Deep Woods
	Rio Paper & Supply, LLC	120	CS	No Bid		SC Johnson	SCJW 611081 Deep Woods
	US WHOLESALE PRODUCTS	120	CS	No Bid		SC Johnson	SCJW 611081 Deep Woods
	School Specialty, Inc.	120	CS	No Bid		SC Johnson	SCJW 611081 Deep Woods
	Staples Inc (Staples Contract and Commercial LLC)	120	CS	No Bid		SC Johnson	SCJW 611081 Deep Woods
	Genesis II, Inc	120	CS	No Bid		SC Johnson	SCJW 611081 Deep Woods

### 93 Plastic Dome Cap.

1 1030							
	Supplier	QTY	UOM	Price	Extended Supplier Notes	Manufacturer	Manufacturer #
	Ferguson Facilities Supply	60	EA	\$51.24	\$3,074.40	Rubbermaid	2647-88
AWARD	Gulf Coast Paper	60	EA	\$51.24		Rubbermaid	2647-88
	Yanitor Paper and Supplies, LLC	60	EA	\$54.00	\$3,240.00 Bidding same item requested: Mfr: Rubbermaid. Item # 2647-88	Rubbermaid	2647-88
	CC Distributors, Inc.	60	EA	\$63.01	\$3,780.60 CONTINENTAL 4456GY	Rubbermaid	2647-88
	Genesis II, Inc	60	EA	\$65.62	\$3,937.20 Continental 4456GY, 2/cs, minimum order 12 each	Rubbermaid	2647-88
	Gateway Printing	60	EA	\$99.00	\$5,940.00	Rubbermaid	2647-88
	School Specialty, Inc.	60	EA	\$105.64	\$6,338.40 SSI # 1078532	Rubbermaid	2647-88
	US WHOLESALE PRODUCTS	60	EA	No Bid		Rubbermaid	2647-88
	Staples Inc (Staples Contract and Commercial LLC)	60	EA	No Bid		Rubbermaid	2647-88
	Rio Paper & Supply, LLC	60	EA	No Bid		Rubbermaid	2647-88
	Advanced Blending, Inc. DBA: LAst Group Enterprises	60	EA	No Bid		Rubbermaid	2647-88

#### 94 United States Flag. QTY UOM Supplier Price Extended Supplier Notes / Alternate Description Manufacturer Manufacturer # AWARD Conserv Flag Company 25 EA \$90.89 \$2,272.25 Valley Forge Valley Forge PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY 25 ΕA \$97.99 \$2,449.75 \$98.56 \$2,464.00 FLAG US 8 X 12 NYLON ANNIN 2320 [ALT1] School Specialty, Inc. 25 ΕA Gulf Coast Paper 25 ΕA \$120.75 \$3,018.75 Valley Forge Valley Forge **Gateway Printing** 25 ΕA No Bid Valley Forge Yanitor Paper and Supplies, LLC 25 ΕA No Bid Valley Forge Ferguson Facilities Supply 25 ΕA No Bid Advanced Blending, Inc. DBA: LAst Group Enterprises 25 No Bid Valley Forge ΕA Valley Forge Rio Paper & Supply, LLC 25 ΕA No Bid Genesis II, Inc 25 No Bid Valley Forge ΕA Staples Inc (Staples Contract and Commercial LLC) Valley Forge 25 ΕA No Bid CC Distributors, Inc. Valley Forge 25 ΕA No Bid Valley Forge US WHOLESALE PRODUCTS 25 No Bid ΕA

	Supplier	QTY	UOM	Price	Extended Su	pplier Notes	Manufacturer	Manufacturer #
NARD	Conserv Flag Company	25	EA	\$90.89	\$2,272.25		Valley Forge	
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	25	EA	\$129.98	\$3,249.50		Valley Forge	
	Gulf Coast Paper	25	EA	\$141.42	\$3,535.50		Valley Forge	
	Rio Paper & Supply, LLC	25	EA	No Bid			Valley Forge	
	School Specialty, Inc.	25	EA	No Bid			Valley Forge	
	Gateway Printing	25	EA	No Bid			Valley Forge	
	Advanced Blending, Inc. DBA: LAst Group Enterprises	25	EA	No Bid			Valley Forge	
	Yanitor Paper and Supplies, LLC	25	EA	No Bid			Valley Forge	
	Genesis II, Inc	25	EA	No Bid			Valley Forge	
	Staples Inc (Staples Contract and Commercial LLC)	25	EA	No Bid			Valley Forge	
	US WHOLESALE PRODUCTS	25	EA	No Bid			Valley Forge	
	CC Distributors, Inc.	25	EA	No Bid			Valley Forge	
	Ferguson Facilities Supply	25	EA	No Bid			Valley Forge	

96	Poly	wool	Duster.
----	------	------	---------

	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
AWARD	Advanced Blending, Inc. DBA: LAst Group Enterprises	144	ΕΑ	<i>\$1.49</i>	\$214.56	ea, Polywool Duster, 24" Overall Length, Janico #3071, Packed 12 ea cs. Pls order by even cs lot. Min order Janico Products is \$2000. mix product. (Items 2, 3, 4, 5, 6, 7, 8, 10, 12, 13, 14, 15, 16, 17, 18, 68, 72, 82, 83, 96, 97, 138, 144, 145.) QUOTING JANICO AS EQUAL ITEM	Unisan	UNI-9441 / Assorted Colors
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	144	EA	\$1.87	\$269.28		Unisan	UNI-9441 / Assorted Colors
	Genesis II, Inc	144	EA	\$1.88	\$270.72	Genesis BB470220, 12/cs	Unisan	UNI-9441 / Assorted Colors
	American Industrial Supplies & Tool Repair, Inc.	144	EA	\$2.81	\$404.64		Unisan	UNI-9441 / Assorted Colors
	[ALT1] Gateway Printing	144	EA	\$4.09	\$588.96	Polywool Duster w/20" Plastic Handle, Assorted Colors	Boardwalk	BWK9441
	Ferguson Facilities Supply	144	EA	\$4.51	\$649.44		Unisan	UNI-9441 / Assorted Colors
	CC Distributors, Inc.	144	EA	\$4.59	\$660.96	BOARDWALK 9441	Unisan	UNI-9441 / Assorted Colors
	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	144	EA	\$4.80	\$691.20	Staples SKU 24418467 CW LAMBSWOOL DUSTER 38-48 IN	WORKLIFE BRANDS	CW56799
	Gulf Coast Paper	144	EA	\$4.88	\$702.72		Unisan	UNI-9441 / Assorted Colors
	US WHOLESALE PRODUCTS	144	EA	No Bid			Unisan	UNI-9441 / Assorted Colors
	Yanitor Paper and Supplies, LLC	144	EA	No Bid			Unisan	UNI-9441 / Assorted Colors
	School Specialty, Inc.	144	EA	No Bid			Unisan	UNI-9441 / Assorted Colors
	Rio Paper & Supply, LLC	144	EA	No Bid			Unisan	UNI-9441 / Assorted Colors

	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
RD ,	Advanced Blending, Inc. DBA: LAst Group Enterprises	144	ΕΑ	<i>\$1.40</i>	\$201.60	ea, Dust Pan, Short Handle, 12", Janico #1089 Packed 24 ea cs. Pls order by even cs lot. Min order Janico Products is \$2000. mix product. (Items 2, 3, 4, 5, 6, 7, 8, 10, 12, 13, 14, 15, 16, 17, 18, 68, 72, 82, 83, 96, 97, 138, 144, 145.) QUOTING JANICO AS EQUAL ITEM	Rubbermaid	
	Gulf Coast Paper	144	EA	\$1.64	\$236.16		Rubbermaid	
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	144	EA	\$1.79	\$257.76		Rubbermaid	
	CC Distributors, Inc.	144	EA	\$1.81	\$260.64	CONTINENTAL 712	Rubbermaid	
	Ferguson Facilities Supply	144	EA	\$1.90	\$273.60	1	Rubbermaid	
	Staples Inc (Staples Contract and Commercial LLC)	144	EA	\$2.45	\$352.80		Rubbermaid	
	Genesis II, Inc	144	EA	\$2.59	\$372.96	Genesis BB410412, 12/cs, minimum order 36 each	Rubbermaid	
	American Industrial Supplies & Tool Repair, Inc.	144	EA	\$3.26	\$469.44		Rubbermaid	
	[ALT1] Gateway Printing	144	EA	\$6.09	\$876.96	Metal Dust Pan, 12" Wide, 2" Handle, Black	Boardwalk	BWK04212EA
	US WHOLESALE PRODUCTS	144	EA	No Bid			Rubbermaid	
1	School Specialty, Inc.	144	EA	No Bid			Rubbermaid	
	Yanitor Paper and Supplies, LLC	144	EA	No Bid			Rubbermaid	
	Rio Paper & Supply, LLC	144	EA	No Bid			Rubbermaid	

	Supplier	QTY	UOM	Price		Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
AWARD	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	100	BX	\$1 <mark>3.3</mark> 5		Staples SKU 2611672 FOAMING DISINFECTANT CLEANR CT	CLAIRE MANUFACTURING	BPR50873-ACT
	Genesis II, Inc	100	BX	\$25.86	\$2,586.00	Chase 433-4104, 12/bx, minimum order 72 boxes	Lysol	
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	100	BX	\$29.98	\$2,998.00		Lysol	
	Gulf Coast Paper	100	BX	\$32.79	\$3,279.00		Lysol	
	[ALT1] Gateway Printing	100	BX	\$36.00		Avistat-D, hospital grade disinfectant, 12x32 oz spray	National Chemical Laboratory	NLL025236
	Ferguson Facilities Supply	100	BX	\$36.38		Lysol Unavailable. Quoting MicroBan. DOES have COVID-19 claim at 1 min. 6 cans/box	Lysol	
	[ALT1] Boydsco Holdings LLC	100	BX	\$43.05		SURFACE DISINFECTANT & DEODORANT 12 can per bx	Lysol	
	CC Distributors, Inc.	100	BX	\$59.65	\$5,965.00	QUEST SPECIALTY3110/3120 PHENOMENOL	Lysol	
	American Industrial Supplies & Tool Repair, Inc.	100	BX	\$73.10	\$7,310.00		Lysol	
	Rio Paper & Supply, LLC	100	BX	\$125.95	\$12,595.00	Lysol disinfectant spray, 12 cans, 19oz per can.	Lysol	
	School Specialty, Inc.	100	BX	No Bid			Lysol	
	Yanitor Paper and Supplies, LLC	100	BX	No Bid			Lysol	
	Advanced Blending, Inc. DBA: LAst Group Enterprises	100	BX	No Bid			Lysol	
	US WHOLESALE PRODUCTS	100	BX	No Bid			Lysol	

	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
RD	Ferguson Facilities Supply	50	EA	\$49.57	\$2,478.50		Milwaukee	
	CC Distributors, Inc.	50	EA	\$63.12	\$3,156.00	MILWAUKEE 30019	Milwaukee	
	[ALT1] School Specialty, Inc.	50	EA	\$97.93		D HANDLE HAND TRUCK HEAVY DUTY 800 LBS. CAP 19WX20DX50H IN		SPR72636
	Gateway Printing	50	EA	\$159.36	\$7,968.00	Convertible hand truck offers steel frame with a solid steel deck that prevents items from falling through. 10" pneumatic tires offer smoother transport over all terrain. Hand truck holds up to 800 lb. in two-wheel and four-wheel positions.	Milwaukee	
	Genesis II, Inc	50	EA	No Bid			Milwaukee	
	Advanced Blending, Inc. DBA: LAst Group Enterprises	50	EA	No Bid			Milwaukee	
	US WHOLESALE PRODUCTS	50	EA	No Bid			Milwaukee	
	Staples Inc (Staples Contract and Commercial LLC)	50	EA	No Bid			Milwaukee	
	Rio Paper & Supply, LLC	50	EA	No Bid			Milwaukee	
	Yanitor Paper and Supplies, LLC	50	EA	No Bid			Milwaukee	
	Gulf Coast Paper	50	EA	No Bid			Milwaukee	

	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
/ARD	[ALT1] Gateway Printing	50	EA	\$163.64	\$8,182.00	Utility-Duty Home/Office Cart, 250 lb Capacity, 20.5 x 32.5, Platform, Black	Rubbermaid	RCP440000
	American Industrial Supplies & Tool Repair, Inc.	50	EA	\$339.82	\$16,991.00		Burbank	HQ-3060-RT Stl Bd Hdwd Dk
	CC Distributors, Inc.	50	EA	\$684.68	\$34,234.00	DAYTON 24101504	Burbank	HQ-3060-RT Stl Bd Hdwd Dk
	Staples Inc (Staples Contract and Commercial LLC)	50	EA	No Bid			Burbank	HQ-3060-RT Stl Bd Hdwd Dk
	Genesis II, Inc	50	EA	No Bid			Burbank	HQ-3060-RT Stl Bd Hdwd Dk
	Advanced Blending, Inc. DBA: LAst Group Enterprises	50	EA	No Bid			Burbank	HQ-3060-RT Stl Bd Hdwd Dk
	US WHOLESALE PRODUCTS	50	EA	No Bid			Burbank	HQ-3060-RT Stl Bd Hdwd Dk
	Rio Paper & Supply, LLC	50	EA	No Bid			Burbank	HQ-3060-RT Stl Bd Hdwd Dk
	School Specialty, Inc.	50	EA	No Bid			Burbank	HQ-3060-RT Stl Bd Hdwd Dk
	Gulf Coast Paper	50	EA	No Bid			Burbank	HQ-3060-RT Stl Bd Hdwd Dk
	Yanitor Paper and Supplies, LLC	50	EA	No Bid			Burbank	HQ-3060-RT Stl Bd Hdwd Dk

	Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
RD	Yanitor Paper and Supplies, LLC	30	ΕΑ	\$320.00	\$9,600.00	We are bidding the same item you requested: Manufacturer: Rubbermaid. Manufacturer Item# 1314 BLK. 1 Cubic Yard with 12" Wheels As Specified/No Deviations	Rubbermaid	1314BLK
	CC Distributors, Inc.	30	EA	\$484.45	\$14,533.50	CONTINENTAL 5833BK	Rubbermaid	1314BLK
	Ferguson Facilities Supply	30	EA	\$486.82	\$14,604.60	CR-TTS10003	Rubbermaid	1314BLK
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	30	EA	\$585.99	\$17,579.70	AS SPEC (6 EACH MINIMUM ORDER)	Rubbermaid	1314BLK
	Gulf Coast Paper	30	EA	\$649.34	\$19,480.20		Rubbermaid	1314BLK
	American Industrial Supplies & Tool Repair, Inc.	30	EA		\$23,997.60		Rubbermaid	1314BLK
	Rio Paper & Supply, LLC	30	EA	\$920.48	\$27,614.40	RCP1314BLA RUBBERMAID COMMERCIAL PROD.Rotomolded Tilt Truck, Rectangular, Plastic, 850 lb Capacity, Black	Rubbermaid	1314BLK
	Staples Inc (Staples Contract and Commercial LLC)	30	EA	No Bid			Rubbermaid	1314BLK
	Genesis II, Inc	30	EA	No Bid			Rubbermaid	1314BLK
	US WHOLESALE PRODUCTS	30	EA	No Bid			Rubbermaid	1314BLK
	Gateway Printing	30	EA	No Bid			Rubbermaid	1314BLK
	School Specialty, Inc.	30	EA	No Bid			Rubbermaid	1314BLK
	Advanced Blending, Inc. DBA: LAst Group Enterprises	30	EA	No Bid			Rubbermaid	1314BLK

102 Dust	Mask.						
	Supplier	QTY	UOM	Price	Extended Supplier Notes	Manufacturer	Manufacturer #
AWARD	Gulf Coast Paper	160	EA	<i>\$0.26</i>	\$41.60	ЗМ	8210 w/Adj Nose pc
	Ferguson Facilities Supply	160	EA	\$14.53	\$2,324.80	3M	8210 w/Adj Nose pc
	CC Distributors, Inc.	160	EA	\$17.13	\$2,740.80	3M	8210 w/Adj Nose pc
	US WHOLESALE PRODUCTS	160	EA	No Bid		3M	8210 w/Adj Nose pc
	Genesis II, Inc	160	EA	No Bid		3M	8210 w/Adj Nose pc
	Advanced Blending, Inc. DBA: LAst Group Enterprises	160	EA	No Bid		3M	8210 w/Adj Nose pc
	Yanitor Paper and Supplies, LLC	160	EA	No Bid		3M	8210 w/Adj Nose pc
	Rio Paper & Supply, LLC	160	EA	No Bid		3M	8210 w/Adj Nose pc
	School Specialty, Inc.	160	EA	No Bid		3M	8210 w/Adj Nose pc
	Staples Inc (Staples Contract and Commercial LLC)	160	EA	No Bid		3M	8210 w/Adj Nose pc
	Gateway Printing	160	EA	No Bid		3M	8210 w/Adj Nose pc

	Supplier	QTY	UOM	Price	Extended Supplier Notes	Manufacturer	Manufacturer #
NARD	CC Distributors, Inc.	20	EA	\$5.80	\$116.00	River City	200C
	Genesis II, Inc	20	EA	\$5.98	\$119.60 Hygrade RC-300-M, 10/cs, minimum order 20 each	River City	200C
	Ferguson Facilities Supply	20	EA	\$6.70	\$134.00	River City	200C
	American Industrial Supplies & Tool Repair, Inc.	20	EA	\$8.69	\$173.80	River City	200C
	Gulf Coast Paper	20	EA	\$18.29	\$365.80	River City	200C
	Rio Paper & Supply, LLC	20	EA	No Bid		River City	200C
	Gateway Printing	20	EA	No Bid		River City	200C
	US WHOLESALE PRODUCTS	20	EA	No Bid		River City	200C
	School Specialty, Inc.	20	EA	No Bid		River City	200C
	Staples Inc (Staples Contract and Commercial LLC)	20	EA	No Bid		River City	200C
	Yanitor Paper and Supplies, LLC	20	EA	No Bid		River City	200C
	Advanced Blending, Inc. DBA: LAst Group Enterprises	20	EA	No Bid		River City	200C

# 104 Rain Coat with Detachable Hood.

	Supplier	QTY	UOM	Price	Extended Supplier Notes	Manufacturer	Manufacturer #
AWARD	CC Distributors, Inc.	20	EA	\$5.80	\$116.00	River City	200C
	Genesis II, Inc	20	EA	\$5.98	\$119.60 Hygrade RC-300-L, 10/cs, minimum order 20 each	River City	200C
	Staples Inc (Staples Contract and Commercial LLC)	20	EA	\$6.52	\$130.40	River City	200C
	Ferguson Facilities Supply	20	EA	\$6.70	\$134.00	River City	200C
	American Industrial Supplies & Tool Repair, Inc.	20	EA	\$8.69	\$173.80	River City	200C
	Gulf Coast Paper	20	EA	\$18.29	\$365.80	River City	200C
	Rio Paper & Supply, LLC	20	EA	No Bid		River City	200C
	Gateway Printing	20	EA	No Bid		River City	200C
	US WHOLESALE PRODUCTS	20	EA	No Bid		River City	200C
	Yanitor Paper and Supplies, LLC	20	EA	No Bid		River City	200C
	Advanced Blending, Inc. DBA: LAst Group Enterprises	20	EA	No Bid		River City	200C
	School Specialty, Inc.	20	EA	No Bid		River City	200C

### 105 Rain Coat with Detachable Hood.

	Supplier	QTY	UOM	Price	Extended Supplier Notes	Manufacturer	Manufacturer #
WARD	CC Distributors, Inc.	20	EA	\$5.80	\$116.00	River City	200C
	Genesis II, Inc	20	EA	\$5.98	\$119.60 Hygrade RC-300-XL, 10/cs, minimum order 20 ea	River City	200C
	Staples Inc (Staples Contract and Commercial LLC)	20	EA	\$6.52	\$130.40	River City	200C
	Ferguson Facilities Supply	20	EA	\$6.70	\$134.00	River City	200C
	American Industrial Supplies & Tool Repair, Inc.	20	EA	\$8.69	\$173.80	River City	200C
	Gulf Coast Paper	20	EA	\$18.29	\$365.80	River City	200C
	Rio Paper & Supply, LLC	20	EA	No Bid		River City	200C
	Gateway Printing	20	EA	No Bid		River City	200C
	US WHOLESALE PRODUCTS	20	EA	No Bid		River City	200C
	Yanitor Paper and Supplies, LLC	20	EA	No Bid		River City	200C
	Advanced Blending, Inc. DBA: LAst Group Enterprises	20	EA	No Bid		River City	200C
	School Specialty, Inc.	20	EA	No Bid		River City	200C

### 106 Rain Coat with Detachable Hood

	Supplier	QTY	UOM	Price	Extended Supplier Notes	Manufacturer	Manufacturer #
AWARD	CC Distributors, Inc.	20	EA	\$5.80	\$116.00	River City	200C
	Genesis II, Inc	20	EA	\$6.18	\$123.60 Hygrade RC-300-XXL, 10/cs, min order 20 each	River City	200C
	Staples Inc (Staples Contract and Commercial LLC)	20	EA	\$6.52	\$130.40	River City	200C
	Ferguson Facilities Supply	20	EA	\$6.70	\$134.00	River City	200C
	American Industrial Supplies & Tool Repair, Inc.	20	EA	\$8.69	\$173.80	River City	200C
	Gulf Coast Paper	20	EA	\$18.29	\$365.80	River City	200C
	Rio Paper & Supply, LLC	20	EA	No Bid		River City	200C
	Gateway Printing	20	EA	No Bid		River City	200C
	US WHOLESALE PRODUCTS	20	EA	No Bid		River City	200C
	Yanitor Paper and Supplies, LLC	20	EA	No Bid		River City	200C
	Advanced Blending, Inc. DBA: LAst Group Enterprises	20	EA	No Bid		River City	200C
	School Specialty, Inc.	20	EA	No Bid		River City	200C

### 107 Rain Coat with Detachable Hood.

QTY	UOM	Price	Extended Supplier Notes	Manufacturer	Manufacturer #
20	EA	<i>\$6.18</i>	\$123.60 Hygrade RC-300-XXXL, 10/cs, min order 20 each	River City	200C
20	EA	\$6.21	\$124.20	River City	200C
20	EA	\$7.21	\$144.20	River City	200C
. 20	EA	\$8.85	\$177.00	River City	200C
20	EA	\$18.29	\$365.80	River City	200C
20	EA	No Bid		River City	200C
20	EA	No Bid		River City	200C
20	EA	No Bid		River City	200C
20	EA	No Bid		River City	200C
20	EA	No Bid		River City	200C
20	EA	No Bid		River City	200C
20	EA	No Bid		River City	200C
	20 20 20 20 20 20 20 20 20 20 20 20 20	20         EA           20         EA	20         EA         \$6.18           20         EA         \$6.21           20         EA         \$7.21           20         EA         \$8.85           20         EA         \$18.29           20         EA         No Bid           20         EA         No Bid	20         EA         \$6.18         \$123.60         Hygrade RC-300-XXXL, 10/cs, min order 20 each           20         EA         \$6.21         \$124.20           20         EA         \$7.21         \$144.20           20         EA         \$8.85         \$177.00           20         EA         \$18.29         \$365.80           20         EA         No Bid           20         EA         No Bid	20         EA         \$6.18         \$123.60         Hygrade RC-300-XXX1, 10/cs, min order 20 each         River City           20         EA         \$6.21         \$124.20         River City           20         EA         \$7.21         \$144.20         River City           20         EA         \$7.21         \$144.20         River City           20         EA         \$8.85         \$177.00         River City           20         EA         \$18.29         \$365.80         River City           20         EA         No Bid         River City         River City

LO8 Step	Ladder.							
	Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
AWARD	Ferguson Facilities Supply	20	EA	\$70.00	\$1,400.00		Louisville	
	CC Distributors, Inc.	20	EA	\$73.76	\$1,475.20	LOUISVILLE LADDER L-3016-4	Louisville	
	American Industrial Supplies & Tool Repair, Inc.	20	EA	\$75.90	\$1,518.00		Louisville	
	KAUTSCH TRUE VALUE (TRUE TEST VENTURES LLC)	20	EA	\$79.00	\$1,580.00		Louisville	
	Gulf Coast Paper	20	EA		\$1,778.80		Louisville	
	Gateway Printing	20	EA	\$215.29	\$4,305.80	DAD FXP1704 4 Step - 300 lb Load Capacity - 80" x 25" x 10.5" x 48" - Orange	Louisville	
	US WHOLESALE PRODUCTS	20	EA	No Bid			Louisville	
	Yanitor Paper and Supplies, LLC	20	EA	No Bid			Louisville	
	Advanced Blending, Inc. DBA: LAst Group Enterprises	20	EA	No Bid			Louisville	
	Genesis II, Inc	20	EA	No Bid			Louisville	
	School Specialty, Inc.	20	EA	No Bid			Louisville	
	Rio Paper & Supply, LLC	20	EA	No Bid			Louisville	
	Staples Inc (Staples Contract and Commercial LLC)	20	EA	No Bid			Louisville	

# 109 Step Ladder.

os otep	Edducii							
	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
AWARD	Ferguson Facilities Supply	20	EA	<i>\$91.86</i>	\$1,837.20		Louisville	
	CC Distributors, Inc.	20	EA	\$96.36	\$1,927.20	LOUISVILLE LADDER L-3016-6	Louisville	
	American Industrial Supplies & Tool Repair, Inc.	20	EA	\$104.90	\$2,098.00	1	Louisville	
	KAUTSCH TRUE VALUE (TRUE TEST VENTURES LLC)	20	EA	\$109.00	\$2,180.00	1	Louisville	
	Gulf Coast Paper	20	EA	\$117.42	\$2,348.40		Louisville	
	[ALT1] School Specialty, Inc.	20	EA	\$135.62	\$2,712.40	LADDER STEP FIBERGLSII 6 FT DADFS4006	DAVIDSON	DADFS4006
	Gateway Printing	20	EA	\$166.29	\$3,325.80	DAD FS1506 5 Step - 300 lb Load Capacity - 7" x 22.5"72" - Orange	Louisville	
	Yanitor Paper and Supplies, LLC	20	EA	No Bid			Louisville	
	Advanced Blending, Inc. DBA: LAst Group Enterprises	20	EA	No Bid			Louisville	
	Rio Paper & Supply, LLC	20	EA	No Bid			Louisville	
	Staples Inc (Staples Contract and Commercial LLC)	20	EA	No Bid			Louisville	
	Genesis II, Inc	20	EA	No Bid			Louisville	
	US WHOLESALE PRODUCTS	20	EA	No Bid			Louisville	

# 110 Step Ladder.

	Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
AWARD	Ferguson Facilities Supply	20	EA	\$120.00	\$2,400.00		Louisville	
	CC Distributors, Inc.	20	EA	\$129.71	\$2,594.20	LOUISVILLE LADDER L-3016-8	Louisville	
	KAUTSCH TRUE VALUE (TRUE TEST VENTURES LLC)	20	EA	\$137.00	\$2,740.00		Louisville	
	American Industrial Supplies & Tool Repair, Inc.	20	EA	\$139.90	\$2,798.00		Louisville	
	Gulf Coast Paper	20	EA	\$183.92			Louisville	
	Gateway Printing	20	EA	\$282.86	\$5,657.20	DAD FS1408HD 7 Step - 375 lb Load Capacity - 50" x 3.5" x 21" x 96" - Orange	Louisville	
	US WHOLESALE PRODUCTS	20	EA	No Bid			Louisville	
	Yanitor Paper and Supplies, LLC	20	EA	No Bid			Louisville	
	Advanced Blending, Inc. DBA: LAst Group Enterprises	20	EA	No Bid			Louisville	
	Genesis II, Inc	20	EA	No Bid			Louisville	
	School Specialty, Inc.	20	EA	No Bid			Louisville	
	Rio Paper & Supply, LLC	20	EA	No Bid			Louisville	
	Staples Inc (Staples Contract and Commercial LLC)	20	EA	No Bid			Louisville	

# 111 Step Ladder.

	Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
AWARD	Ferguson Facilities Supply	10	EA	\$165.00	\$1,650.00		Louisville	
	CC Distributors, Inc.	10	EA	\$184.51	\$1,845.10	LOUISVILLE LADDER L-3016-10	Louisville	
	KAUTSCH TRUE VALUE (TRUE TEST VENTURES LLC)	10	EA	\$199.00	\$1,990.00		Louisville	
	American Industrial Supplies & Tool Repair, Inc.	10	EA	\$213.90	\$2,139.00		Louisville	
	Staples Inc (Staples Contract and Commercial LLC)	10	EA	No Bid			Louisville	
	Gulf Coast Paper	10	EA	No Bid			Louisville	
	US WHOLESALE PRODUCTS	10	EA	No Bid			Louisville	
	Genesis II, Inc	10	EA	No Bid			Louisville	
	Advanced Blending, Inc. DBA: LAst Group Enterprises	10	EA	No Bid			Louisville	
	Rio Paper & Supply, LLC	10	EA	No Bid			Louisville	
	School Specialty, Inc.	10	EA	No Bid			Louisville	
	Yanitor Paper and Supplies, LLC	10	EA	No Bid			Louisville	
	Gateway Printing	10	EA	No Bid			Louisville	

	Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
NARD	Ferguson Facilities Supply	10	EA		\$2,100.00		Louisville	
	CC Distributors, Inc.	10	EA	\$240.44	\$2,404.40	LOUISVILLE LADDER L-3016-12	Louisville	
	KAUTSCH TRUE VALUE (TRUE TEST VENTURES LLC)	10	EA	\$251.00	\$2,510.00		Louisville	
	American Industrial Supplies & Tool Repair, Inc.	10	EA	\$257.90	\$2,579.00		Louisville	
	Staples Inc (Staples Contract and Commercial LLC)	10	EA	No Bid			Louisville	
	Gulf Coast Paper	10	EA	No Bid			Louisville	
	US WHOLESALE PRODUCTS	10	EA	No Bid			Louisville	
	Genesis II, Inc	10	EA	No Bid			Louisville	
	Advanced Blending, Inc. DBA: LAst Group Enterprises	10	EA	No Bid			Louisville	
	Rio Paper & Supply, LLC	10	EA	No Bid			Louisville	
	School Specialty, Inc.	10	EA	No Bid			Louisville	
	Yanitor Paper and Supplies, LLC	10	EA	No Bid			Louisville	
	Gateway Printing	10	EA	No Bid			Louisville	

# 113 Duct Tape

Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
<sup>RD</sup> Gateway Printing	4	BX	\$104.88		DUC1265013Colored Duct Tape, 3" Core, 1.88" x 20 yds, BlackPrice quoted is a box of 24rolls.	Cantech Duct Pro	
Ferguson Facilities Supply	4	BX	\$126.50	\$506.00	IT-AC15S	Cantech Duct Pro	
CC Distributors, Inc.	4	BX	\$149.36	\$597.44	INTERTAPE 4382	Cantech Duct Pro	
PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	4	BX	\$167.76	\$671.04	SHURTAPE #200546	Cantech Duct Pro	
[ALT1] Staples Inc (Staples Contract and Commercial LLC)	4	BX	\$240.95	\$963.80	Staples SKU 947168 2X60YDBLCK10 MILINDSTRLDCTTAP 24/CT	BOX PARTNERS LLC	T987100B
Genesis II, Inc	4	BX	No Bid			Cantech Duct Pro	
US WHOLESALE PRODUCTS	4	BX	No Bid			Cantech Duct Pro	
Rio Paper & Supply, LLC	4	BX	No Bid			Cantech Duct Pro	
Gulf Coast Paper	4	BX	No Bid			Cantech Duct Pro	
School Specialty, Inc.	4	BX	No Bid			Cantech Duct Pro	
Yanitor Paper and Supplies, LLC	4	BX	No Bid			Cantech Duct Pro	
Advanced Blending, Inc. DBA: LAst Group Enterprises	4	BX	No Bid			Cantech Duct Pro	

# 114 Caution Tape.

	Supplier	QTY	UOM	Price		Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
NARD	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPAI	100	ROLLS	\$4.39	\$439.00	CORDOVA #T15101	Electro Tape	
	American Industrial Supplies & Tool Repair, Inc.	100	ROLLS	\$5.35	\$535.00		Electro Tape	
	Ferguson Facilities Supply	100	ROLLS	\$6.13	\$613.00		Electro Tape	
	CC Distributors, Inc.	100	ROLLS	\$6.18	\$618.00	IRONWEAR 1100-01	Electro Tape	
	Conserv Flag Company	100	ROLLS	\$6.89	\$689.00		Electro Tape	
	Gateway Printing	100	ROLLS	\$9.84	\$984.00	EML771001Caution Barricade Tape, "Caution" Text, 3" x 1000ft, Yellow/BlackPrice quoted is per roll.	Electro Tape	
	Gulf Coast Paper	100	ROLLS	\$10.41	\$1,041.00		Electro Tape	
	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	100	ROLLS	\$10.62	1 /	Staples SKU 422715 3X1000 CAUTION CUIDADO	ORS NASCO, INC (NSP)	272-77-1001
	[ALT1] School Specialty, Inc.	100	ROLLS	\$21.16	\$2,116.00	BARRICADE TAPE CAUTION 3X1000 YELLOW/BLACK	SPARCO	SPR11795
	Advanced Blending, Inc. DBA: LAst Group Enterprises	100	ROLLS	No Bid			Electro Tape	
	Genesis II, Inc	100	ROLLS	No Bid			Electro Tape	
	US WHOLESALE PRODUCTS	100	ROLLS	No Bid			Electro Tape	
	Rio Paper & Supply, LLC	100	ROLLS	No Bid			Electro Tape	
	Yanitor Paper and Supplies, LLC	100	ROLLS	No Bid			Electro Tape	
Prote	ective Leather Chaps							
	Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	CC Distributors, Inc.	40	EA	No Bid			Q-13	RN-79683
	Ferguson Facilities Supply	40	EA	No Bid			Q-13	RN-79683
	School Specialty, Inc.	40	EA	No Bid			Q-13	RN-79683
	Gateway Printing	40	EA	No Bid			Q-13	RN-79683
	Rio Paper & Supply, LLC	40	EA	No Bid			Q-13	RN-79683
	US WHOLESALE PRODUCTS	40	EA	No Bid			Q-13	RN-79683
	Advanced Blending, Inc. DBA: LAst Group Enterprises	40	EA	No Bid			Q-13	RN-79683
	Yanitor Paper and Supplies, LLC	40	EA	No Bid			Q-13	RN-79683
	Gulf Coast Paper	40	EA	No Bid			Q-13	RN-79683
	Genesis II, Inc	40	EA	No Bid			Q-13	RN-79683
	Staples Inc (Staples Contract and Commercial LLC)	40	EA	No Bid			Q-13	RN-79683
	ocupies ine (suples contract and contract and contract and							

Supplier		QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
RD Gulf Coast Pape	r	160	GAL	\$9.01	\$1,441.60		Quest Vapco	2810
CC Distributors,	Inc.	160	GAL	\$16.26	\$2,601.60	CARROLL CLEAN 34428 700 SPECIAL	Quest Vapco	2810
Rio Paper & Sup	ply, LLC	160	GAL	\$26.39	\$4,222.40	Equal: Misty, AMR1003411 ZEP INC. Dust Mop Treatment, Attracts Dirt, Non-Oily, Grapefruit Scent, 1gal, 1)Dressing for dust mop heads aids in the removal of dust, dirt, and other abrasive matter from floor surfaces.2)Mop heads treated with this compound act as a "dust magnet". Attracts and holds particles until mop is cleaned or laundered. Non-oily and leaves a dry, protective, plasticized film on floor.For wood, asphalt, linoleum, vinyl, vinyl composition, rubber, terrazzo, concrete and gymasium floors.Treatment will not harm waxed or finished surfaces.	Quest Vapco	2810
American Indust	rial Supplies & Tool Repair, Inc.	160	GAL	\$32.39	\$5,182.40		Quest Vapco	2810
[ALT1] Boydsco	Holdings LLC	160	GAL	\$46.18	\$7,388.80	Dust Mop Treatment	midlab	192000-41
US WHOLESALE	PRODUCTS	160	GAL	No Bid			Quest Vapco	2810
Genesis II, Inc		160	GAL	No Bid			Quest Vapco	2810
Gateway Printin	g	160	GAL	No Bid			Quest Vapco	2810
Ferguson Faciliti	es Supply	160	GAL	No Bid		Would not recommend. Dust mop treatment is oily and makes it so that you cannot shake out your mops after use, it makes washing them more difficult, and it leaves a residue on the floor at actually attracts dirt, resulting in the floor becoming dirtier faster.	Quest Vapco	2810
Yanitor Paper ar	nd Supplies, LLC	160	GAL	No Bid			Quest Vapco	2810
Advanced Blend	ing, Inc. DBA: LAst Group Enterpri	160	GAL	No Bid			Quest Vapco	2810
	s Contract and Commercial LLC)	160	GAL	No Bid			Quest Vapco	2810
School Specialty	, Inc.	160	GAL	No Bid			Quest Vapco	2810
afety Jaqs.								
Supplier		QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manufacturer #

Supplier	QTY	UOM	Price	Extended Supplier Notes	Manufacturer	Manufacturer #
CC Distributors, Inc.	200	PR	\$10.61	\$2,122.00 PAWS 13062	Treds and Paws	
Ferguson Facilities Supply	200	PR	\$10.85	\$2,170.00	Treds and Paws	
Gulf Coast Paper	200	PR	\$11.42	\$2,284.00	Treds and Paws	
Gateway Printing	200	PR	No Bid		Treds and Paws	
Rio Paper & Supply, LLC	200	PR	No Bid		Treds and Paws	
Advanced Blending, Inc. DBA: LAst Group Enterprises	200	PR	No Bid		Treds and Paws	
Yanitor Paper and Supplies, LLC	200	PR	No Bid		Treds and Paws	
Genesis II, Inc	200	PR	No Bid		Treds and Paws	
Staples Inc (Staples Contract and Commercial LLC)	200	PR	No Bid		Treds and Paws	
School Specialty, Inc.	200	PR	No Bid		Treds and Paws	
US WHOLESALE PRODUCTS	200	PR	No Bid		Treds and Paws	
	CC Distributors, Inc. Ferguson Facilities Supply Gulf Coast Paper Gateway Printing Rio Paper & Supply, LLC Advanced Blending, Inc. DBA: LAST Group Enterprises Yanitor Paper and Supplies, LLC Genesis II, Inc Staples Inc (Staples Contract and Commercial LLC) School Specialty, Inc.	CC Distributors, Inc.200Ferguson Facilities Supply200Gulf Coast Paper200Gateway Printing200Rio Paper & Supply, LLC200Advanced Blending, Inc. DBA: LAst Group Enterprises200Yanitor Paper and Supplies, LLC200Genesis II, Inc200Staples Inc (staples Contract and Commercial LLC)200School Specialty, Inc.200	CC Distributors, Inc.200PRFerguson Facilities Supply200PRGulf Coast Paper200PRGateway Printing200PRRio Paper & Supply, LLC200PRAdvanced Blending, Inc. DBA: LAst Group Enterprises200PRYanitor Paper and Supplies, LLC200PRGenesis II, Inc200PRStaples Inc (staples Contract and Commercial LLC)200PRSchool Specialty, Inc.200PR	CC Distributors, Inc.200PR\$10.61Ferguson Facilities Supply200PR\$10.85Gulf Coast Paper200PR\$11.42Gateway Printing200PRNo BidRio Paper & Supply, LLC200PRNo BidAdvanced Blending, Inc. DBA: LAst Group Enterprises200PRNo BidYanitor Paper and Supplies, LLC200PRNo BidGenesis II, Inc200PRNo BidStaples Inc (staples Contract and Commercial LLC)200PRNo BidSchool Specialty, Inc.200PRNo Bid	CC Distributors, Inc.200PR\$10.61\$2,122.00PAWS 13062Ferguson Facilities Supply200PR\$10.85\$2,170.00Gulf Coast Paper200PR\$11.42\$2,284.00Gateway Printing200PRNo BidRio Paper & Supply, LLC200PRNo BidAdvanced Blending, Inc. DBA: LAst Group Enterprises200PRNo BidYanitor Paper and Supplies, LLC200PRNo BidGenesis II, Inc200PRNo BidStaples Inc (staples Contract and Commercial LLC)200PRNo BidSchool Specialty, Inc.200PRNo Bid	Ferguson Facilities Supply200PR\$10.85\$2,170.00Treds and PawsGulf Coast Paper200PR\$11.42\$2,284.00Treds and PawsGateway Printing200PRNo BidTreds and PawsRio Paper & Supply, LLC200PRNo BidTreds and PawsAdvanced Blending, Inc. DBA: LAst Group Enterprises200PRNo BidTreds and PawsYanitor Paper and Supplies, LLC200PRNo BidTreds and PawsGenesis II, Inc200PRNo BidTreds and PawsStaples Inc (staples Contract and Commercial LLC)200PRNo BidTreds and PawsSchool Specialty, Inc.200PRNo BidTreds and Paws

# 118 Safety Lifting Belt with Suspenders.

	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
WARD	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPAI	40	EA	<i>\$</i> 7.42	\$296.80	CORDOVA SB-SMALL	Proflex	Econo # 1650
	Ferguson Facilities Supply	40	EA	\$8.13	\$325.20		Proflex	Econo # 1650
	Rio Paper & Supply, LLC	40	EA	\$9.33	\$373.20	Equal: Cordova Back Support Belt, Small, w/suspenders, Black, Ea	Proflex	Econo # 1650
	CC Distributors, Inc.	40	EA	\$9.34	\$373.60	IRONWEAR 1900	Proflex	Econo # 1650
	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	40	EA	\$9.68	\$387.20	Staples SKU 036904 BACK SUPRT 1650 ECON ELS BK SM	ERGODYNE CORPORATION	11092
	American Industrial Supplies & Tool Repair, Inc.	40	EA	\$10.69	\$427.60		Proflex	Econo # 1650
	[ALT1] Gateway Printing	40	EA	\$12.01	\$480.40	Adjustable, Strechable, Comfortable - 30" Adjustment - Strap Mount - 7.5"7.5" - Black Fits waists that measure from 25" to 30"	Tenacious Holdings, Inc	EG011092
	Gulf Coast Paper	40	EA	\$13.13	\$525.20		Proflex	Econo # 1650
	School Specialty, Inc.	40	EA	No Bid			Proflex	Econo # 1650
	Genesis II, Inc	40	EA	No Bid			Proflex	Econo # 1650
	US WHOLESALE PRODUCTS	40	EA	No Bid			Proflex	Econo # 1650
	Yanitor Paper and Supplies, LLC	40	EA	No Bid			Proflex	Econo # 1650
	Advanced Blending, Inc. DBA: LAst Group Enterprises	40	EA	No Bid			Proflex	Econo # 1650

# 119 Safety Lifting Belt with Suspenders.

	Supplier	QTY	UOM	Price		Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
AWARD	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPAI	50	EA	\$7.42	\$371.00	CORDOVA SB-MEDIUM	Proflex	Econo # 1650
	Ferguson Facilities Supply	50	EA	\$8.13	\$406.50		Proflex	Econo # 1650
	Rio Paper & Supply, LLC	50	EA	\$9.33	\$466.50	*Equal: Cordova Back Support Belt, Med, w/suspenders, Black, Ea	Proflex	Econo # 1650
	CC Distributors, Inc.	50	EA	\$9.34	\$467.00	IRONWEAR 1900	Proflex	Econo # 1650
	American Industrial Supplies & Tool Repair, Inc.	50	EA	\$10.69	\$534.50		Proflex	Econo # 1650
	[ALT1] Gateway Printing	50	EA	\$12.42	\$621.00	Reduce risk of back injuries - Extra-firm support - Adjustable, detachable suspenders - Single-strap closure for easy application - Fits waists that measure from 30" to 34"	Tenacious Holdings, Inc	EG011093
	Gulf Coast Paper	50	EA	\$13.13	\$656.50		Proflex	Econo # 1650
	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	50	EA	\$15.24	\$762.00	Staples SKU 036716 BACK SUPRT 1600 STD ELAS BK MD	ERGODYNE CORPORATION	11103
	School Specialty, Inc.	50	EA	No Bid			Proflex	Econo # 1650
	Genesis II, Inc	50	EA	No Bid			Proflex	Econo # 1650
	US WHOLESALE PRODUCTS	50	EA	No Bid			Proflex	Econo # 1650
	Yanitor Paper and Supplies, LLC	50	EA	No Bid			Proflex	Econo # 1650
	Advanced Blending, Inc. DBA: LAst Group Enterprises	50	EA	No Bid			Proflex	Econo # 1650

Ferguson Facilities Supply         So         EA         Solar         Solar </th <th>20 Safet</th> <th>ty Lifting Belt with Suspenders.</th> <th></th> <th></th> <th></th> <th></th> <th></th> <th></th> <th></th>	20 Safet	ty Lifting Belt with Suspenders.							
Ferguson Facilities Supply         SO         EA         SA 13         S406 50         Modes         Econo F 1460           Rio Paper         Supply, LLC         SO         EA         SA 33         S466 50         Microbay Bark Supply (LLC         Some F 3500         Modes         Econo F 1500           CC Distributors, Inc.         SO         EA         SA 31.0         Staf 50         Microbay Bark Supply (LC         Econo F 1500         Econo F 1500           American Industrial Supplies & Tool Repair, Inc.         SO         EA         S13.13         S665.50         Modes         Modes         Econo F 1500         Econo F 3500           Guif Coast Paper         SO         EA         S13.13         S665.50         Modes         Modes         Econo F 3600           School Specialty, Inc.         SO         EA         No Bid         Tool School Specialty, Inc.         Modes         Econo F 3600           US WHOLESALE PRODUCTS         SO         EA         No Bid         Tool School Specialty, Inc.         Modes         Econo F 3600           US WHOLESALE PRODUCTS         SO         EA         No Bid         Tool School Specialty, Inc.         Modes         Econo F 3600           Supplier         WHOLESALE PRODUCTS         SO         EA         No Bid		Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
Nick Supply R         Supplies	AWARD	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPAI	50	EA	\$7.42	\$371.00	CORDOVA SB-LARGE	Proflex	Econo # 1650
CC Distributors, inc.         So         EA         \$9.3.4         \$467,00         MONVEAL900         Portine         Econo # 1550           American industrial Supplies & Tool Repair, Inc.         So         EA         \$10.69         \$534.50         Medice nix of backt injuries - Bera firm support: Adjustable, tetrahabe supmorts : Signet and goal to easy supplication. If weather the support is and the signet means from \$16.30"         Tensions Holdings, Inc.         Scolo 1         Scolo 1         Tensions Holdings, Inc.         Scolo 1         Scolo 1         Tensions Holdings, Inc.         Scolo 1		Ferguson Facilities Supply	50	EA	\$8.13			Proflex	Econo # 1650
American Industrial Supplies & Tool Repair, Inc.         50         EA         \$10.60         \$534.50         Perform         Come # 1550           [A11] Gateway Printing         50         EA         \$12.73         \$536.50         Perform         Eascous Nodings, Inc.         Perform         Eascous Nodings, Inc.         Eascous Nodings, Inc		Rio Paper & Supply, LLC	50	EA	\$9.33	\$466.50	Equal: Cordova Back Support Belt, Lg, w/suspenders, Black, Ea	Proflex	Econo # 1650
International supplies at non-region region rate.         50         EA         512/73         5636.50         Folder is it deal region rate rate rate rate rate rate rate rate		CC Distributors, Inc.	50	EA	\$9.34	\$467.00	IRONWEAR 1900	Proflex	Econo # 1650
Guif Coast Paper       50       EA       \$13.13       \$656.50       Profex       Econo # 1650         IALTI] Staples Inc (Supple Contract and Commercial LLC)       50       EA       \$15.24       \$762.00       Suppler F100 BLK LG       Profex       Econo # 1650         School Specialty, Inc.       50       EA       No Bid       Profex       Econo # 1650         US WHOLESALE PRODUCTS       50       EA       No Bid       Profex       Econo # 1650         Vanitor Paper and Supplies, LLC       50       EA       No Bid       Profex       Econo # 1650         Supplier       Otto       FP ordex       Econo # 1650       Profex       Econo # 1650         Supplier       Otto       FP ordex       Econo # 1650       Profex       Econo # 1650         Supplier       Otto       FP ordex       Econo # 1650       Profex       Econo # 1650         WRAB       Predivable School (Stool (S		American Industrial Supplies & Tool Repair, Inc.	50	EA	\$10.69	\$534.50	l de la construcción de la constru	Proflex	Econo # 1650
Out Class repert         Sub         FAX         SUBJOR         SUBJOR         FAX		[ALT1] Gateway Printing	50	EA	\$12.73	\$636.50	detachable suspenders - Single-strap closure for easy application -	Tenacious Holdings, Inc	EGO11094
IALT1] Staples Inc (staples Contract and Commercial LLC)         50         EA         \$15.2.0         \$762.00         Staples SkU 154175 BACK SUPRT PF100 BLK LG         PR0fex         Excon# 1550           School Specialty, Inc.         50         EA         No Bid         Profex         Excon# 1550           US WHOLESALE PRODUCTS         50         EA         No Bid         Profex         Excon# 1550           Vanitor Paper and Supplies, LLC         50         EA         No Bid         Profex         Excon# 1560           Supplier         Other Machines Supplier, LC         50         EA         No Bid         Profex         Excon# 1560           Supplier         Other Machines Supplier, LC         Sov         EA         No Bid         Profex         Excon# 1560           VARAD         Profex         Supplier Notes / Alternate Description         Manufacturer #         Manufacturer #           VARAD         Profex         Sov         EA         \$7.42         \$7.72.0         Stapise Contex # Supplier         Profex         Econ# 1550           CC Distributors, Inc.         Sov         EA         \$7.42         \$7.72.0         Stapise Stu 15176 BACK SUPRT PF100 BLK XE         Profex         Econ# 1550           CC Distributors, Inc.         Sov         EA         \$1		Gulf Coast Paper	50	EA	\$13.13	\$656.50	1	Proflex	Econo # 1650
School Speciality, Inc.         50         EA         No Bid         Proflex         Econe # 1500           Genesis II, Inc         50         EA         No Bid         Proflex         Econe # 1560           US WHOLESALE PRODUCTS         50         EA         No Bid         Proflex         Econe # 1560           Yanitor Paper and Supplies, LLC         50         EA         No Bid         Proflex         Econe # 1560           Advanced Blending, Inc. Dix: LAX Group Enterprises         50         EA         No Bid         Proflex         Econe # 1560           Supplier         Supplier Notes / Alternate Description         Manufacturer         Manufacturer #         Econe # 1560           Proflex         Econe # 1500         EA         \$7.42         \$371,00         Concova Sex 4         Proflex         Econe # 1560           Proflex         Econe # 1500         EA         \$7.42         \$371,00         Concova Sex 4         Proflex         Econe # 1560           Error # 1600// Brobiol// Supply         50         EA         \$5.3.4         \$406,50         Econe # 1500         Proflex         Econe # 1560           American Industrial Supplies & Tool Repair, Inc.         50         EA         \$1.6.9         \$534,50         Proflex         Econe # 1560		·	50	EA	\$15.24	\$762.00	Staples SKU 154175 BACK SUPRT PF100 BLK LG	ERGODYNE CORPORATION	11384
Genesis II, Inc         50         EA         No Bid         Profiles         End on S150           US WHOLESALE PRODUCTS         50         EA         No Bid         Profiles         Econo #1500           Yanitor Paper and Supplies, LLC         50         EA         No Bid         Profiles         Econo #1500           21 Jasfet/Uting Beit with Suspenders.         Supplier         Verifies         Econo #1500         Econo #1500           21 Jasfet/Uting Beit with Suspenders.         Supplier         Verifies         Extended         Supplier Notes / Alternate Description         Manufacturer #         Manufacturer #           PYRAMID SCHOOL PRODUCTS (pressumo paper comma 50         EA         \$7.42         \$371.00         Compute Satu         Profiles         Econo #1500           Ferguson Facilities Supply         SO         EA         \$7.42         \$371.00         Compute Satu         Profiles         Econo #1500           CC Distributors, Inc.         SO         EA         \$53.3         \$466.50         Supplier Notes / Alternate Description         Profiles         Econo #1500           CL Distributors, Inc.         SO         EA         \$53.3         \$466.50         Profiles         Econo #1500         Econo #1500           [AltT1] Gateway Printing         SO         EA								Proflex	Econo # 1650
US WHOLESALE PRODUCTS         S0         EA         No Bid         Proflex         Excont # 1650           Yanitor Paper and Supplies, LLC         S0         EA         No Bid         Proflex         Econt # 1650           Advanced Blending, Inc. Dax: Lat Group Enterprise         S0         EA         No Bid         Proflex         Econt # 1650           21 Safety Lifting Belt with Suspenders.         Extended         Supplier Notes / Alternate Description         Manufacturer #         Manufacturer #           WARD         Proflex         Extended         Supplier Notes / Alternate Description         Manufacturer #         Econt # 1650           WARD         Proflex         Supplier         OV         OV         Proflex         Extended         Supplier Notes / Alternate Description         Manufacturer #         Manufacturer #           WARD         Proflex         Supplier         Supplier Notes / Alternate Description         Manufacturer #         Econt # 1650           Ferguson Facilities Supply         S0         EA         \$9.33         \$466.50         Equal Codrova Back Support Belt, XLg, w/sugenders, Black, Ea         Proflex         Econt # 1650           American Industrial Supplies & Tool Repair, Inc.         S0         EA         \$10.43         \$665.00         Proflex         Econt # 1650			50	EA	No Bid			Proflex	Econo # 1650
Yanitor Paper and Supplies, LLC       50       EA       No Bid       Proflex       Econo # 1650         Advanced Blending, Inc. DBA: LAX Group Enterprises       50       EA       No Bid       Proflex       Econo # 1650         Istatus       Supplier       QTY       VDM       Price       Extended       Supplier Notes / Alternate Description       Manufacturer       Manufacturer #         Proflex       Supplier       QTY       VDM       Price       Extended       Supplier Notes / Alternate Description       Manufacturer #       Econo # 1650         Proflex       Supplier       Supplier       Supplier       Supplier Notes / Alternate Description       Manufacturer #       Econo # 1650         Proflex       Supplier Supply       Supplier Notes / Alternate Description       Manufacturer #       Econo # 1650         Rio Paper & Supply, LLC       S0       EA       \$9.34       \$466.50       Equal: Cordova Back Support Belt, Xig. w/suspenders, Black, Ea       Proflex       Econo # 1650         American Industrial Supplies & Tool Repair, Inc.       S0       EA       \$10.9       \$50.50       Reduce risk of back Injuries - Extra-firm support - Adjustable, Alternate Description       Proflex       Econo # 1650         Guif Coast Paper       S0       EA       \$13.13       \$565.50       Reduce risk of back								Proflex	Econo # 1650
Advanced Blending, Inc. Dak: LAK Group Enterprises     50     EA     No Bid     Profex     Econe # 1690       It ] Safety: Lifting Belt with Suspenders.     Supplier     QTY     UOM     Price     Extended     Supplier Notes / Alternate Description     Manufacturer #     Manufacturer #       WMARD     PYRAMID SCHOOL PRODUCTS (wrandmo paper, comera     50     EA     \$7.42     \$37.00     GORDOVA 58-XL     Profex     Econe # 1650       Ferguson Facilities Supply, LLC     50     EA     \$9.33     \$466.50     Equal: Cordova Back Support Belt, Xig, w/suspenders, Black, Ea     Profex     Econe # 1650       CC Distributors, Inc.     50     EA     \$9.34     \$467.00     IFONWEAR 1900     Profex     Econe # 1650       American Industrial Supplies & Tool Repair, Inc.     50     EA     \$51.24     \$50.00     Riour erisk of back injuries - Extra firm support - Adjustable, discussed Fore asy application application of the stack support and instruct of the stack injuries - Extra firm support - Adjustable, discussed Fore asy application application of the stack injuries - Extra firm support - Adjustable, discussed Fore asy application application of the stack injuries - Extra firm support - Adjustable, discussed Fore asy application application of the stack injuries - Extra firm support - Adjustable, discussed Fore asy application application of the stack injuries - Extra firm support - Adjustable, discussed Fore asy application application of the stack injuries - Extra firm support - Adjustable, discussed Fore asy application application application ap		Yanitor Paper and Supplies, LLC	50	EA	No Bid			Proflex	Econo # 1650
Supplier       QTY       UOM       Price       Extended       Supplier Notes / Alternate Description       Manufacturer       Manufacturer       # Manufacturer <t< td=""><td></td><td>Advanced Blending, Inc. DBA: LAst Group Enterprises</td><td>50</td><td>EA</td><td>No Bid</td><td></td><td></td><td>Proflex</td><td>Econo # 1650</td></t<>		Advanced Blending, Inc. DBA: LAst Group Enterprises	50	EA	No Bid			Proflex	Econo # 1650
WWARD     PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPAL     50     EA     \$7.42     \$371.00     CORDOVA SB-XL     Proflex     Econo # 1650       Ferguson Facilities Supply     50     EA     \$8.13     \$406.50     Equal: Cordova Back Support Belt, XLg, w/suspenders, Black, Ea     Proflex     Econo # 1650       Rio Paper & Supply, LLC     50     EA     \$9.34     \$466.50     Equal: Cordova Back Support Belt, XLg, w/suspenders, Black, Ea     Proflex     Econo # 1650       American Industrial Supplies & Tool Repair, Inc.     50     EA     \$9.34     \$467.00     IRONVEAR 1900     Proflex     Econo # 1650       [ALT1] Gateway Printing     50     EA     \$10.69     \$533.45     Proflex     Econo # 1650       [ALT1] Staples Inc (Staples Contract and Commercial LLC)     50     EA     \$11.20     \$605.00     Reduce risk of back injuries - Etra-Hirm support - Adjustable, detachable suspenders - Single-strap Cosure for easy application - Fits waists that measure for asy application - Fits waists that measure for asy application - Fits waists that measure for asy application - Fits waists that measure for 38* to 42*     Proflex     Econo # 1650       [ALT1] Staples Inc (Staples Contract and Commercial LLC)     50     EA     No Bid     Proflex     Econo # 1650       School Speciality, Inc.     50     EA     No Bid     Proflex     Econo # 1650       US WHOLESALE PRODUCTS <td< td=""><td>21 Safet</td><td>ty Lifting Belt with Suspenders.</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></td<>	21 Safet	ty Lifting Belt with Suspenders.							
Ferguson Facilities Supply       50       EA       \$8.13       \$406.50       Fourier Control Back Support Belt, XLg, w/suspenders, Black, Ea       Proflex       Econo # 1650         Rio Paper & Supply, LLC       50       EA       \$9.33       \$466.50       feul: Condoxa Back Support Belt, XLg, w/suspenders, Black, Ea       Proflex       Econo # 1650         CC Distributors, Inc.       50       EA       \$9.34       \$467.00       IRONWEAR 1900       Proflex       Econo # 1650         American Industrial Supplies & Tool Repair, Inc.       50       EA       \$10.69       \$534.50       Proflex       Econo # 1650         Guif Coast Paper       50       EA       \$12.10       \$605.00       Reduce risk of back injuries - Extra-firm support - Adjustable, dischable, d		Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
Rio Boot Notative Controct Nucleic Supply, LLC       So       EA       \$9.33       \$466.50       Equal: Cordova Back Supply, LLC       Proflex       Econo # 1650         CC Distributors, Inc.       50       EA       \$9.34       \$467.00       IRONWEAR 1900       Proflex       Econo # 1650         American Industrial Supplies & Tool Repair, Inc.       50       EA       \$10.69       \$534.50       Proflex       Econo # 1650         [ALT1] Gateway Printing       50       EA       \$10.69       \$534.50       Proflex       Econo # 1650         [ALT1] Gateway Printing       50       EA       \$12.10       \$605.00       Reduce risk of back injuries - Extra-firm support - Adjustable, detachable suspenders - Single-strap closure for easy application - Fits waists that measure from 38" to 42"       Tenacious Holdings, Inc       EG011095         Guif Coast Paper       50       EA       \$13.13       \$656.50       Explicit Skup Skup Skup Skup Skup Skup Skup Skup	AWARD	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPAI	50	EA	\$7.42	\$371.00	CORDOVA SB-XL	Proflex	Econo # 1650
CC Distributors, Inc.       50       EA       \$9.34       \$467.00       IRONWEAR 1900       Proflex       Econo # 1650         American Industrial Supplies & Tool Repair, Inc.       50       EA       \$10.69       \$534.50       Proflex       Econo # 1650         [ALT1] Gateway Printing       50       EA       \$10.69       \$534.50       Proflex       Econo # 1650         [ALT1] Gateway Printing       50       EA       \$12.10       \$605.00       Reduce risk of back injuries - Extra-florm support - Adjustable, dicat-hable supper rescarap closure for easy application - Fits waists that measure from 38" to 42"       Econo # 1650         Gulf Coast Paper       50       EA       \$13.13       \$656.50       Proflex       Econo # 1650         [ALT1] Staples Inc (staples Contract and Commercial LLC)       50       EA       \$15.24       \$762.00       Staples SKU 154176 BACK SUPRT PF100 BLK XL       ERGODYNE CORPORATION       11385         School Specialty, Inc.       50       EA       No Bid       Proflex       Econo # 1650         US WHOLESALE PRODUCTS       50       EA       No Bid       Proflex       Econo # 1650         Yanitor Paper and Supplies, LLC       50       EA       No Bid       Proflex       Econo # 1650         Yanitor Paper and Supplies, LLC       50       EA <td></td> <td>Ferguson Facilities Supply</td> <td>50</td> <td>EA</td> <td>\$8.13</td> <td></td> <td></td> <td>Proflex</td> <td>Econo # 1650</td>		Ferguson Facilities Supply	50	EA	\$8.13			Proflex	Econo # 1650
American Industrial Supplies & Tool Repair, Inc.       50       EA       \$10.69       \$534.50       Proflex       Econo # 1650         [ALT1] Gateway Printing       50       EA       \$12.10       \$605.00       Reduce risk of back liquires - Extra-firm support - Adjustable, detachable suspenders - Single-strap closure for easy application - Fits waits that mesuport - Adjustable, detachable suspenders - Single-strap closure for easy application - Fits waits that mesuport - Adjustable, detachable suspenders - Single-strap closure for easy application - Fits waits that mesuport - Adjustable, detachable suspenders - Single-strap closure for easy application - Fits waits that mesuport - Adjustable, detachable suspenders - Single-strap closure for easy application - Fits waits that mesuport - Adjustable, detachable suspenders - Single-strap closure for easy application - Fits waits that mesuport - Adjustable, detachable suspenders - Single-strap closure for easy application - Fits waits that mesuport - Adjustable, detachable suspenders - Single-strap closure for easy application - Fits waits that mesuport - Adjustable, detachable suspenders - Single-strap closure for easy application - Fits waits that mesuport - Adjustable, detachable suspenders - Single-strap closure for easy application - Fits waits that mesuport - Adjustable, detachable suspenders - Single-strap closure for easy application - Fits waits that mesuport - Adjustable, detachable suspenders - Single-strap closure for easy application - Fits waits that mesuport - Adjustable, detachable suspenders - Single-strap closure for easy application - Fits waits that mesuport - Adjustable, detachable suspenders - Single-strap closure for easy application - Fits waits that mesuport - Adjustable, detachable suspenders - Single-strap closure for easy applicatin - Fits waits that mesuport - Adjustable, detachable s		Rio Paper & Supply, LLC	50	EA	\$9.33	\$466.50	Equal: Cordova Back Support Belt, XLg, w/suspenders, Black, Ea	Proflex	Econo # 1650
American maddating oppines at room Reput, me.       30       EA       \$10.00       \$505.00       Reducerisk of back injuries - Extra-firm support - Adjustable, detachable suspenders - Single-Strap closure for easy application - Fits waists that measure from 38" to 42"       Tenacious Holdings, Inc.       EG011095         Guif Coast Paper       50       EA       \$13.13       \$656.50       Proflex       Econo # 1650         [ALT1] Staples Inc (staples Contract and Commercial LLC)       50       EA       \$15.24       \$762.00       Staples SKU 154176 BACK SUPRT PF100 BLK XL       ERGODVNE CORPORATION       11385         School Specialty, Inc.       50       EA       No Bid       Proflex       Econo # 1650         Genesis II, Inc       50       EA       No Bid       Proflex       Econo # 1650         VS WHOLESALE PRODUCTS       50       EA       No Bid       Proflex       Econo # 1650         Vanicer Paper and Supplies, LLC       50       EA       No Bid       Proflex       Econo # 1650         Advanced Blending, Inc. DBA: LAst Group Enterprises       50       EA       No Bid       Proflex       Econo # 1650         22       Safety Lifting Belt with Suspenders.       Supplier       No Bid       Proflex       Econo # 1650         22       Safety Lifting Belt with Suspenders.       Guif Cool & Profl		CC Distributors, Inc.	50	EA	\$9.34	\$467.00	IRONWEAR 1900	Proflex	Econo # 1650
Gulf Coast Paper       50       EA       \$13.13       \$656.50       Proflex       Econo # 1650         [ALT1] Staples Inc (Staples Contract and Commercial LLC)       50       EA       \$15.24       \$762.00       Staples SKU 154176 BACK SUPRT PF100 BLK XL       ERGODYNE CORPORATION       11385         School Specialty, Inc.       50       EA       No Bid       Proflex       Econo # 1650         Genesis II, Inc       50       EA       No Bid       Proflex       Econo # 1650         VS WHOLESALE PRODUCTS       50       EA       No Bid       Proflex       Econo # 1650         Vanitor Paper and Supplies, LLC       50       EA       No Bid       Proflex       Econo # 1650         22       Safety Lifting Belt with Suspenders.       Supplier       No Bid       Proflex       Econo # 1650         22       Safety Lifting Belt with Suspenders.       Supplier Notes / Alternate Description       Manufacturer # Proflex       Manufacturer # Econo # 1650         22       Safety Lifting Supply       40       EA       \$7.42       \$296.80       CORDVA SB-XXL       Proflex       Econo # 1650         400       EA       \$8.13       \$325.20       Proflex       Econo # 1650       Proflex       Econo # 1650         22       Safety Lifting B		American Industrial Supplies & Tool Repair, Inc.	50	EA	\$10.69	\$534.50	1	Proflex	Econo # 1650
Image: State of the state		[ALT1] Gateway Printing	50	EA	\$12.10	\$605.00	detachable suspenders - Single-strap closure for easy application -	Tenacious Holdings, Inc	EGO11095
[ALT1] Staples Inc (staples Contract and Commercial LLC)       50       EA       \$15.24       \$762.00       Staples SKU 154176 BACK SUPRT PF100 BLK XL       ERGODYNE CORPORATION       11385         School Specialty, Inc.       50       EA       No Bid       Proflex       Econo #1650         Genesis II, Inc       50       EA       No Bid       Proflex       Econo #1650         US WHOLESALE PRODUCTS       50       EA       No Bid       Proflex       Econo #1650         Yanitor Paper and Supplies, LLC       50       EA       No Bid       Proflex       Econo #1650         Yanitor Paper and Supplies, LLC       50       EA       No Bid       Proflex       Econo #1650         Yanitor Paper and Supplies, LLC       50       EA       No Bid       Proflex       Econo #1650         Yanitor Paper and Supplies, LLC       50       EA       No Bid       Proflex       Econo #1650         Yanitor Paper and Supplies, LLC       50       EA       No Bid       Proflex       Econo #1650         Yanitor Paper and Supplier, ILC. DBA: LAst Group Enterprises       50       EA       No Bid       Proflex       Econo #1650         Yanitor Paper and Supplier       Proflex       Econo #1650       Proflex       Econo #1650       Proflex       Eco		Gulf Coast Paper	50	EA	\$13.13	\$656.50	·	Proflex	Econo # 1650
School Specialty, Inc.       50       EA       No Bid       Proflex       Econo # 1650         Genesis II, Inc       50       EA       No Bid       Proflex       Econo # 1650         US WHOLESALE PRODUCTS       50       EA       No Bid       Proflex       Econo # 1650         Vanitor Paper and Supplies, LLC       50       EA       No Bid       Proflex       Econo # 1650         Advanced Blending, Inc. DBA: LAst Group Enterprises       50       EA       No Bid       Proflex       Econo # 1650         Vanitor Paper and Supplies, LLC       50       EA       No Bid       Proflex       Econo # 1650         Vanitor Belt with Suspenders.       Supplier       Proflex       Econo # 1650       Proflex       Econo # 1650         VMARD       PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPAI       40       EA       \$7.42       \$296.80       CORDOVA SB-XXL       Proflex       Econo # 1650         WARD       PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPAI       40       EA       \$7.42       \$296.80       CORDOVA SB-XXL       Proflex       Econo # 1650         Ferguson Facilities Supply       40       EA       \$8.13       \$325.20       Proflex       Econo # 1650								ERGODYNE CORPORATION	11385
Genesis II, Inc.       50       EA       No Bid       Proflex       Econo # 1650         US WHOLESALE PRODUCTS       50       EA       No Bid       Proflex       Econo # 1650         Yanitor Paper and Supplies, LLC       50       EA       No Bid       Proflex       Econo # 1650         Advanced Blending, Inc. DBA: LAst Group Enterprises       50       EA       No Bid       Proflex       Econo # 1650         Vanitor Paper and Supplies, LLC       50       EA       No Bid       Proflex       Econo # 1650         Vanitor Belt with Suspenders.       Vanitor Supplier       VOM       Price       Extended       Supplier Notes / Alternate Description       Manufacturer #         WARD       PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPAI       40       EA       \$7.42       \$296.80       CORDOVA SB-XXL       Proflex       Econo # 1650         Ferguson Facilities Supply       40       EA       \$325.20       Proflex       Econo # 1650								Proflex	Econo # 1650
US WHOLESALE PRODUCTS       50       EA       No Bid       Proflex       Econo # 1650         Yanitor Paper and Supplies, LLC       50       EA       No Bid       Proflex       Econo # 1650         Advanced Blending, Inc. DBA: LAst Group Enterprises       50       EA       No Bid       Proflex       Econo # 1650         22       Safety Lifting Belt with Suspenders.       Forglex       Econo # 1650       Proflex       Econo # 1650         24       Supplier       QTY       VOM       Price       Extended       Supplier Notes / Alternate Description       Manufacturer #         WARD       PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPAI)       40       EA       \$7.42       \$296.80       CORDOVA SB-XXL       Proflex       Econo # 1650         Ferguson Facilities Supply       40       EA       \$325.20       Proflex       Econo # 1650								Proflex	Econo # 1650
Advanced Blending, Inc. DBA: LAst Group Enterprises 50 EA No Bid Proflex Econo #1650  22 Safety Lifting Belt with Suspenders.  34 Vince Blending, Inc. DBA: LAst Group Enterprises 50 EA No Bid Proflex Econo #1650  34 Vince Blending, Inc. DBA: LAst Group Enterprises 50 EA No Bid Proflex Econo #1650  35 EA No ECON		·		EA	No Bid			Proflex	Econo # 1650
Advanced Blending, Inc. DBA: LAst Group Enterprises       50       EA       No Bid       Proflex       Econo #1650         22       Safety Lifting Belt with Suspenders.		Yanitor Paper and Supplies, LLC	50	EA	No Bid			Proflex	Econo # 1650
Supplier         QTY         UOM         Price         Extended         Supplier Notes / Alternate Description         Manufacturer         Manufacturer #           WARD         PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPAI         40         EA         \$7.42         \$296.80         CORDOVA SB-XXL         Proflex         Econo #1650           Ferguson Facilities Supply         40         EA         \$8.13         \$325.20         Proflex         Econo #1650			50	EA	No Bid			Proflex	Econo # 1650
Supplier         QTY         UOM         Price         Extended         Supplier Notes / Alternate Description         Manufacturer         Manufacturer #           WARD         PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPAI         40         EA         \$7.42         \$296.80         CORDOVA SB-XXL         Proflex         Econo #1650           Ferguson Facilities Supply         40         EA         \$8.13         \$325.20         Proflex         Econo #1650	22 Safet	ty Lifting Belt with Suspenders.							
Ferguson Facilities Supply40EA\$8.13\$325.20ProflexEcono # 1650			QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
Ferguson Facilities Supply40EA\$8.13\$325.20ProflexEcono # 1650	AWARD								
		•		EA	\$8.13			Proflex	Econo # 1650
			40	EA	\$9.33	\$373.20	Equal: Cordova Back Support Belt, XXLg, w/suspenders, Black, Ea	Proflex	Econo # 1650

Rio Paper & Supply, LLC	40	ΕA	\$9.33	\$373.20 Equal. Cordova back support belt, AALg, W/suspenders, Black, Ea	Profilex	ECONO # 1650
CC Distributors, Inc.	40	EA	\$9.34	\$373.60 IRONWEAR 1900	Proflex	Econo # 1650
[ALT1] Staples Inc (Staples Contract and Commercial LLC)	40	EA	\$9.68	\$387.20 Staples SKU 037844 BACK SUPRT 1650 ECON ELS BK 2X	ERGODYNE CORPORATION	11096
[ALT1] Gateway Printing	40	EA	\$12.10	\$484.00 Reduce risk of back injuries - Extra-firm support - Adjustable, detachable suspenders - Single strap closure for easy application - Fi waists that measure from 42" to 46"	Tenacious Holdings, Inc ts	EGO11096
American Industrial Supplies & Tool Repair, Inc.	40	EA	\$13.96	\$558.40	Proflex	Econo # 1650
Gulf Coast Paper	40	EA	\$15.00	\$600.00	Proflex	Econo # 1650
School Specialty, Inc.	40	EA	No Bid		Proflex	Econo # 1650
Genesis II, Inc	40	EA	No Bid		Proflex	Econo # 1650
US WHOLESALE PRODUCTS	40	EA	No Bid		Proflex	Econo # 1650
Yanitor Paper and Supplies, LLC	40	EA	No Bid		Proflex	Econo # 1650
Advanced Blending, Inc. DBA: LAst Group Enterprises	40	EA	No Bid		Proflex	Econo # 1650

# 123 Safety Lifting with Suspenders.

	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
WARD	Ferguson Facilities Supply	20	EA	\$8.13	<i>\$162.60</i>		Proflex	Econo # 1650
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	20	EA	\$8.99		CORDOVA SBXXXL	Proflex	Econo # 1650
	Rio Paper & Supply, LLC	20	EA	\$9.33	\$186.60	Equal: Cordova Back Support Belt, XXXLg, w/suspenders, Black, Ea	Proflex	Econo # 1650
	CC Distributors, Inc.	20	EA	\$9.34	\$186.80	IRONWEAR 1900	Proflex	Econo # 1650
	[ALT1] Gateway Printing	20	EA	\$12.10	\$242.00	Reduce risk of back injuries - Extra-firm support - Adjustable, detachable suspenders - Single strap closure for easy application - Fits waists that measure from 46" to 52"	Tenacious Holdings, Inc	EGO11097
	American Industrial Supplies & Tool Repair, Inc.	20	EA	\$14.56	\$291.20		Proflex	Econo # 1650
	Gulf Coast Paper	20	EA	\$15.00	\$300.00		Proflex	Econo # 1650
	Advanced Blending, Inc. DBA: LAst Group Enterprises	20	EA	No Bid			Proflex	Econo # 1650
	School Specialty, Inc.	20	EA	No Bid			Proflex	Econo # 1650
	Staples Inc (Staples Contract and Commercial LLC)	20	EA	No Bid			Proflex	Econo # 1650
	Genesis II, Inc	20	EA	No Bid			Proflex	Econo # 1650
	US WHOLESALE PRODUCTS	20	EA	No Bid			Proflex	Econo # 1650
	Yanitor Paper and Supplies, LLC	20	EA	No Bid			Proflex	Econo # 1650

	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
	Staples Inc (Staples Contract and Commercial LLC)	20	EA	\$0.00	\$0.00		Onguard Industries	PVC Boot
AWARD	CC Distributors, Inc.	20	EA	<i>\$11.68</i>	\$233.60	IRONWEAR 9258-B	Onguard Industries	PVC Boot
	Ferguson Facilities Supply	20	EA	\$12.38	\$247.60		Onguard Industries	PVC Boot
	American Industrial Supplies & Tool Repair, Inc.	20	EA	\$18.34	\$366.80		Onguard Industries	PVC Boot
	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	20	EA	\$93.20	\$1,864.00	Staples SKU 1931678 15IN NBR RUBBER BOOT SIZE 7	ALLIANCE MERCANTILE INC.	VW88-7
	Gulf Coast Paper	20	EA	No Bid			Onguard Industries	PVC Boot
	Advanced Blending, Inc. DBA: LAst Group Enterprises	20	EA	No Bid			Onguard Industries	PVC Boot
	Rio Paper & Supply, LLC	20	EA	No Bid			Onguard Industries	PVC Boot
	Genesis II, Inc	20	EA	No Bid			Onguard Industries	PVC Boot
	US WHOLESALE PRODUCTS	20	EA	No Bid			Onguard Industries	PVC Boot
	School Specialty, Inc.	20	EA	No Bid			Onguard Industries	PVC Boot
	Yanitor Paper and Supplies, LLC	20	EA	No Bid			Onguard Industries	PVC Boot
	Gateway Printing	20	EA	No Bid			Onguard Industries	PVC Boot

# 125 Rubber Boots.

125 1400	er boots.							
	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
	Staples Inc (Staples Contract and Commercial LLC)	30	EA	\$0.00	\$0.00		Onguard Industries	PVC Boot
AWARD	CC Distributors, Inc.	30	EA	\$11.68	\$350.40	IRONWEAR 9258-B	Onguard Industries	PVC Boot
	Ferguson Facilities Supply	30	EA	\$12.38	\$371.40		Onguard Industries	PVC Boot
	American Industrial Supplies & Tool Repair, Inc.	30	EA	\$18.34	\$550.20		Onguard Industries	PVC Boot
	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	30	EA	\$93.20	\$2,796.00	Staples SKU 1931677 15IN NBR RUBBER BOOT SIZE 8	ALLIANCE MERCANTILE INC.	VW88-8
	Gulf Coast Paper	30	EA	No Bid			Onguard Industries	PVC Boot
	Advanced Blending, Inc. DBA: LAst Group Enterprises	30	EA	No Bid			Onguard Industries	PVC Boot
	Rio Paper & Supply, LLC	30	EA	No Bid			Onguard Industries	PVC Boot
	Genesis II, Inc	30	EA	No Bid			Onguard Industries	PVC Boot
	US WHOLESALE PRODUCTS	30	EA	No Bid			Onguard Industries	PVC Boot
	School Specialty, Inc.	30	EA	No Bid			Onguard Industries	PVC Boot
	Yanitor Paper and Supplies, LLC	30	EA	No Bid			Onguard Industries	PVC Boot
	Gateway Printing	30	EA	No Bid			Onguard Industries	PVC Boot

# 126 Rubber Boots.

	Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	Staples Inc (Staples Contract and Commercial LLC)	30	EA	\$0.00	\$0.00	Staples SKU 1931676 15IN NBR RUBBER BOOT SIZE 9 ALLIANCE MERCANTILE INC.VW88-9 DID NOT GIVE ME A DROP DOWN FOR ALT	Onguard Industries	PVC Boot
AWARD	CC Distributors, Inc.	30	EA	\$11.68	\$350.40	IRONWEAR 9258-B	Onguard Industries	PVC Boot
	Ferguson Facilities Supply	30	EA	\$12.38	\$371.40		Onguard Industries	PVC Boot
	American Industrial Supplies & Tool Repair, Inc.	30	EA	\$18.34	\$550.20		Onguard Industries	PVC Boot
	Gulf Coast Paper	30	EA	No Bid			Onguard Industries	PVC Boot
	US WHOLESALE PRODUCTS	30	EA	No Bid			Onguard Industries	PVC Boot
	Genesis II, Inc	30	EA	No Bid			Onguard Industries	PVC Boot
	Advanced Blending, Inc. DBA: LAst Group Enterprises	30	EA	No Bid			Onguard Industries	PVC Boot
	Rio Paper & Supply, LLC	30	EA	No Bid			Onguard Industries	PVC Boot
	School Specialty, Inc.	30	EA	No Bid			Onguard Industries	PVC Boot
	Yanitor Paper and Supplies, LLC	30	EA	No Bid			Onguard Industries	PVC Boot
	Gateway Printing	30	EA	No Bid			Onguard Industries	PVC Boot

	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
WARD	CC Distributors, Inc.	30	EA	\$11.68	\$350.40	IRONWEAR 9258-B	Onguard Industries	PVC Boot
	Ferguson Facilities Supply	30	EA	\$12.38	\$371.40		Onguard Industries	PVC Boot
	American Industrial Supplies & Tool Repair, Inc.	30	EA	\$18.34	\$550.20		Onguard Industries	PVC Boot
	Staples Inc (Staples Contract and Commercial LLC)	30	EA	\$93.20	\$2,796.00		Onguard Industries	PVC Boot
	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	30	EA	\$106.42	\$3,192.60	Staples SKU 1931757 14IN METATARSAL BOOT SIZE 10	ALLIANCE MERCANTILE INC.	VW49-10
	Advanced Blending, Inc. DBA: LAst Group Enterprises	30	EA	No Bid			Onguard Industries	PVC Boot
	Yanitor Paper and Supplies, LLC	30	EA	No Bid			Onguard Industries	PVC Boot
	School Specialty, Inc.	30	EA	No Bid			Onguard Industries	PVC Boot
	Gulf Coast Paper	30	EA	No Bid			Onguard Industries	PVC Boot
	Genesis II, Inc	30	EA	No Bid			Onguard Industries	PVC Boot
	US WHOLESALE PRODUCTS	30	EA	No Bid			Onguard Industries	PVC Boot
	Gateway Printing	30	EA	No Bid			Onguard Industries	PVC Boot
	Rio Paper & Supply, LLC	30	EA	No Bid			Onguard Industries	PVC Boot

	Supplier	QTY	UOM	Price		Supplier Notes	Manufacturer	Manufacturer #
WARD	CC Distributors, Inc.	12	EA	\$11.68	\$140.16	IRONWEAR 9258-B	<b>Onguard Industries</b>	PVC Boot
	Ferguson Facilities Supply	12	EA	\$12.38	\$148.56		Onguard Industries	PVC Boot
	American Industrial Supplies & Tool Repair, Inc.	12	EA	\$18.34	\$220.08		Onguard Industries	PVC Boot
	Staples Inc (Staples Contract and Commercial LLC)	12	EA	No Bid			Onguard Industries	PVC Boot
	Gulf Coast Paper	12	EA	No Bid			Onguard Industries	PVC Boot
	US WHOLESALE PRODUCTS	12	EA	No Bid			Onguard Industries	PVC Boot
	Genesis II, Inc	12	EA	No Bid			Onguard Industries	PVC Boot
	Advanced Blending, Inc. DBA: LAst Group Enterprises	12	EA	No Bid			Onguard Industries	PVC Boot
	Rio Paper & Supply, LLC	12	EA	No Bid			Onguard Industries	PVC Boot
	School Specialty, Inc.	12	EA	No Bid			Onguard Industries	PVC Boot
	Yanitor Paper and Supplies, LLC	12	EA	No Bid			Onguard Industries	PVC Boot
	Gateway Printing	12	EA	No Bid			Onguard Industries	PVC Boot

# 129 Rubber Boots.

	Supplier	QTY	UOM	Price	Extended Supplier Notes	Manufacturer	Manufacturer #
AWARD	CC Distributors, Inc.	12	EA	\$11.68	\$140.16 IRONWEAR 9258-B	Onguard Industries	PVC Boot
	Ferguson Facilities Supply	12	EA	\$12.38	\$148.56	Onguard Industries	PVC Boot
	American Industrial Supplies & Tool Repair, Inc.	12	EA	\$18.34	\$220.08	Onguard Industries	PVC Boot
	Staples Inc (Staples Contract and Commercial LLC)	12	EA	No Bid		Onguard Industries	PVC Boot
	Gulf Coast Paper	12	EA	No Bid		Onguard Industries	PVC Boot
	US WHOLESALE PRODUCTS	12	EA	No Bid		Onguard Industries	PVC Boot
	Genesis II, Inc	12	EA	No Bid		Onguard Industries	PVC Boot
	Advanced Blending, Inc. DBA: LAst Group Enterprises	12	EA	No Bid		Onguard Industries	PVC Boot
	Rio Paper & Supply, LLC	12	EA	No Bid		Onguard Industries	PVC Boot
	School Specialty, Inc.	12	EA	No Bid		Onguard Industries	PVC Boot
	Yanitor Paper and Supplies, LLC	12	EA	No Bid		Onguard Industries	PVC Boot
	Gateway Printing	12	EA	No Bid		Onguard Industries	PVC Boot

# 130 Rubber Boots.

Manufacturer #
PVC Boot
PVC Boot
PVC Boot
VW88-13
PVC Boot

	Supplier	QTY	UOM	Price	Extended Supplier Notes	Manufacturer Manufacture	er #
ARD	American Industrial Supplies & Tool Repair, Inc.	25	EA	\$4.39	\$109.75	Protective Industries Products 302-0500 ANSI Cl	ass 2
	Ferguson Facilities Supply	25	EA	\$6.94	\$173.50	Protective Industries Products 302-0500 ANSI Cla	ass 2
	CC Distributors, Inc.	25	EA	\$7.94	\$198.50 IRONWEAR 1277-LZ-RD	Protective Industries Products 302-0500 ANSI Cla	ass 2
	Staples Inc (Staples Contract and Commercial LLC)	25	EA	No Bid		Protective Industries Products 302-0500 ANSI Cla	ass 2
	Gulf Coast Paper	25	EA	No Bid		Protective Industries Products 302-0500 ANSI Cla	ass 2
	US WHOLESALE PRODUCTS	25	EA	No Bid		Protective Industries Products 302-0500 ANSI Cla	ass 2
	Genesis II, Inc	25	EA	No Bid		Protective Industries Products 302-0500 ANSI Cla	ass 2
	Advanced Blending, Inc. DBA: LAst Group Enterprises	25	EA	No Bid		Protective Industries Products 302-0500 ANSI Cla	ass 2
	Rio Paper & Supply, LLC	25	EA	No Bid		Protective Industries Products 302-0500 ANSI Cla	ass 2
	School Specialty, Inc.	25	EA	No Bid		Protective Industries Products 302-0500 ANSI Cla	ass 2
	Yanitor Paper and Supplies, LLC	25	EA	No Bid		Protective Industries Products 302-0500 ANSI Cla	ass 2
	Gateway Printing	25	EA	No Bid		Protective Industries Products 302-0500 ANSI Cla	ass 2

	Supplier	QTY	UOM	Price		Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
RD	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	50	EA	\$3.78	\$189.00	Staples SKU 071762 SAFETY VEST ECON MESH LY MD	PROTECTIVE IND PROD INC	302-MVGLY-M
	American Industrial Supplies & Tool Repair, Inc.	50	EA	\$4.39	\$219.50		Protective Industries Products	302-0500 Ansi Class 2
	Ferguson Facilities Supply	50	EA	\$6.94	\$347.00		Protective Industries Products	302-0500 Ansi Class 2
	CC Distributors, Inc.	50	EA	\$7.94	\$397.00	IRONWEAR 1277-LZ-RD	Protective Industries Products	302-0500 Ansi Class 2
	Gulf Coast Paper	50	EA	No Bid			Protective Industries Products	302-0500 Ansi Class 2
	Genesis II, Inc	50	EA	No Bid			Protective Industries Products	302-0500 Ansi Class 2
	Gateway Printing	50	EA	No Bid			Protective Industries Products	302-0500 Ansi Class 2
	US WHOLESALE PRODUCTS	50	EA	No Bid			Protective Industries Products	302-0500 Ansi Class 2
	Rio Paper & Supply, LLC	50	EA	No Bid			Protective Industries Products	302-0500 Ansi Class 2
	School Specialty, Inc.	50	EA	No Bid			Protective Industries Products	302-0500 Ansi Class 2
	Advanced Blending, Inc. DBA: LAst Group Enterprises	50	EA	No Bid			Protective Industries Products	302-0500 Ansi Class 2
	Yanitor Paper and Supplies, LLC	50	EA	No Bid			Protective Industries Products	302-0500 Ansi Class 2

	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
ARD	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	50	EA	\$4.06	\$203.00	Staples SKU 1074213 SAFTY VEST MESH CLS2 ZPR LY LG	PROTECTIVE IND PROD INC	302-MVGZLY-L
	American Industrial Supplies & Tool Repair, Inc.	50	EA	\$4.39	\$219.50		Protective Industries Products	302-0500 Ansi Class 2
	Gulf Coast Paper	50	EA	\$5.04	\$252.00		Protective Industries Products	302-0500 Ansi Class 2
	Ferguson Facilities Supply	50	EA	\$6.94	\$347.00		Protective Industries Products	302-0500 Ansi Class 2
	CC Distributors, Inc.	50	EA	\$7.94	\$397.00	IRONWEAR 1277-LZ-RD	Protective Industries Products	302-0500 Ansi Class 2
	Genesis II, Inc	50	EA	No Bid			Protective Industries Products	302-0500 Ansi Class 2
	US WHOLESALE PRODUCTS	50	EA	No Bid			Protective Industries Products	302-0500 Ansi Class 2
	Gateway Printing	50	EA	No Bid			Protective Industries Products	302-0500 Ansi Class 2
	School Specialty, Inc.	50	EA	No Bid			Protective Industries Products	302-0500 Ansi Class 2
	Yanitor Paper and Supplies, LLC	50	EA	No Bid			Protective Industries Products	302-0500 Ansi Class 2
	Advanced Blending, Inc. DBA: LAst Group Enterprises	50	EA	No Bid			Protective Industries Products	302-0500 Ansi Class 2

# 134 Safety Vest.

	Supplier	QTY	UOM	Price	Extended Supplier Notes / Alternate Description	Manufacturer Manufacturer #
AWARD	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	50	ΕΑ	\$3.78	\$189.00 Staples SKU 071761 SAFTY VEST ECON MESH CL2 LY XL	PROTECTIVE IND PROD INC
	American Industrial Supplies & Tool Repair, Inc.	50	EA	\$4.39	\$219.50	Protective Industries Products
	Gulf Coast Paper	50	EA	\$5.04	\$252.00	Protective Industries Products
	Ferguson Facilities Supply	50	EA	\$6.94	\$347.00	Protective Industries Products
	CC Distributors, Inc.	50	EA	\$7.94	\$397.00 IRONWEAR 1277-LZ-RD	Protective Industries Products
	Genesis II, Inc	50	EA	No Bid		Protective Industries Products
	US WHOLESALE PRODUCTS	50	EA	No Bid		Protective Industries Products
	Gateway Printing	50	EA	No Bid		Protective Industries Products
	School Specialty, Inc.	50	EA	No Bid		Protective Industries Products
	Yanitor Paper and Supplies, LLC	50	EA	No Bid		Protective Industries Products
	Advanced Blending, Inc. DBA: LAst Group Enterprises	50	EA	No Bid		Protective Industries Products

	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
/ARD	American Industrial Supplies & Tool Repair, Inc.	15	EA	\$4.39	\$65.85		Protective Industries Products	302-0500 ANSI Class 2
	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	15	EA	\$6.02	\$90.30	Staples SKU 1432601 SAFETY VEST MESH CLS2 LY 3X	PROTECTIVE IND PROD INC	302-MVGZ4PLY-3X
	Ferguson Facilities Supply	15	EA	\$6.94	\$104.10		Protective Industries Products	302-0500 ANSI Class 2
	CC Distributors, Inc.	15	EA	\$7.94	\$119.10	IRONWEAR 1277-LZ-RD	Protective Industries Products	302-0500 ANSI Class 2
	Gulf Coast Paper	15	EA	No Bid			Protective Industries Products	302-0500 ANSI Class 2
	Genesis II, Inc	15	EA	No Bid			Protective Industries Products	302-0500 ANSI Class 2
	Gateway Printing	15	EA	No Bid			Protective Industries Products	302-0500 ANSI Class 2
	US WHOLESALE PRODUCTS	15	EA	No Bid			Protective Industries Products	302-0500 ANSI Class 2
	Rio Paper & Supply, LLC	15	EA	No Bid			Protective Industries Products	302-0500 ANSI Class 2
	School Specialty, Inc.	15	EA	No Bid			Protective Industries Products	302-0500 ANSI Class 2
	Advanced Blending, Inc. DBA: LAst Group Enterprises	15	EA	No Bid			Protective Industries Products	302-0500 ANSI Class 2
	Yanitor Paper and Supplies, LLC	15	EA	No Bid			Protective Industries Products	302-0500 ANSI Class 2

	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
ARD	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPAI	1000	EA	\$0.59	\$590.00	ACS #0210401 - 20/CTN FULL CARTONS ONLY	ЗМ	MC08550
	Ferguson Facilities Supply	1000	EA	\$0.82	\$820.00	AC-672	3M	MC08550
	CC Distributors, Inc.	1000	EA	\$0.88	\$880.00	NORTON 52207	3M	MC08550
	Rio Paper & Supply, LLC	1000	EA	\$3.45		MMM05241 3M/COMMERCIAL Doodlebug Hi-Productivity Stripping Pad, 4 5/8 x 10, Black, Each	3M	MC08550
	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	1000	EA	\$28.31	\$28,310.00	Staples SKU 696852 D-BUG BLACK HI PRO PAD 10/PK	3M CORPORATION	8550-PK
	Gulf Coast Paper	1000	EA	\$30.15	\$30,150.00		3M	MC08550
	Genesis II, Inc	1000	EA	No Bid			3M	MC08550
	US WHOLESALE PRODUCTS	1000	EA	No Bid			3M	MC08550
	Yanitor Paper and Supplies, LLC	1000	EA	No Bid			3M	MC08550
	Advanced Blending, Inc. DBA: LAst Group Enterprises	1000	EA	No Bid			3M	MC08550
	Gateway Printing	1000	EA	No Bid			3M	MC08550
	School Specialty, Inc.	1000	EA	No Bid			3M	MC08550

# 137 Utility Pad Holder with Wooden Handle.

Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPAI	144	EA	<i>\$4.82</i>	\$694.08	BETTER BRUSH #370709+01102 - 24 EA MIN ORDER	3M	MCO6472
Ferguson Facilities Supply	144	EA	\$5.19	\$747.36	IM-2000 & AB-01123	3M	MCO6472
Genesis II, Inc	144	EA	\$6.18	\$889.92	Genesis BB370709/140160, 12/cs	3M	MCO6472
CC Distributors, Inc.	144	EA	\$6.67	+		3M	MCO6472
Gulf Coast Paper	144	EA				3M	MCO6472
[ALT1] Staples Inc (Staples Contract and Commercial LLC)	144	EA	\$33.68	\$4,849.92	Staples SKU 697905 DOODLEBUG HOLDER SET W/2 PADS	3M CORPORATION	6472PK
Gateway Printing	144	EA	No Bid			3M	MCO6472
US WHOLESALE PRODUCTS	144	EA	No Bid			3M	MCO6472
Yanitor Paper and Supplies, LLC	144	EA	No Bid			3M	MCO6472
Advanced Blending, Inc. DBA: LAst Group Enterprises	144	EA	No Bid			3M	MCO6472
School Specialty, Inc.	144	EA	No Bid			3M	MCO6472
Rio Paper & Supply, LLC	144	EA	No Bid			3M	MCO6472
	Ferguson Facilities Supply Genesis II, Inc CC Distributors, Inc. Gulf Coast Paper [ALT1] Staples Inc (Staples Contract and Commercial LLC) Gateway Printing US WHOLESALE PRODUCTS	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPA144Ferguson Facilities Supply144Genesis II, Inc144CC Distributors, Inc.144Gulf Coast Paper144[ALT1] Staples Inc (Staples Contract and Commercial LLC)144Gateway Printing144US WHOLESALE PRODUCTS144Yanitor Paper and Supplies, LLC144Advanced Blending, Inc. DBA: LASt Group Enterprises144School Specialty, Inc.144	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPAI144EAFerguson Facilities Supply144EAGenesis II, Inc144EACC Distributors, Inc.144EAGuif Coast Paper144EA[ALT1] Staples Inc (Staples Contract and Commercial LLC)144EAGateway Printing144EAUS WHOLESALE PRODUCTS144EAYanitor Paper and Supplies, LLC144EAAdvanced Blending, Inc. DBA: LASt Group Enterprises144EA	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPAI144EA\$4.82Ferguson Facilities Supply144EA\$5.19Genesis II, Inc144EA\$6.18CC Distributors, Inc.144EA\$6.67Gulf Coast Paper144EA\$33.66[ALT1] Staples Inc (Staples Contract and Commercial LLC)144EA\$33.68Gateway Printing144EANo BidUS WHOLESALE PRODUCTS144EANo BidYanitor Paper and Supplies, LLC144EANo BidAdvanced Blending, Inc. DBA: LASt Group Enterprises144EANo BidSchool Specialty, Inc.144EANo Bid	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPAI)         144         EA         \$4.82         \$694.08           Ferguson Facilities Supply         144         EA         \$5.19         \$747.36           Genesis II, Inc         144         EA         \$6.18         \$889.92           CC Distributors, Inc.         144         EA         \$6.67         \$960.48           Guif Coast Paper         144         EA         \$6.67         \$960.48           Guif Coast Paper         144         EA         \$33.66         \$4,847.04           [ALT1] Staples Inc (Staples Contract and Commercial LLC)         144         EA         \$33.68         \$4,849.92           Gateway Printing         144         EA         No Bid         Yanitor Paper and Supplies, LLC         144         EA         No Bid           Yanitor Paper and Supplies, LLC         144         EA         No Bid         School Specialty, Inc.         144         EA         No Bid	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPAI144EA\$4.82\$694.08BETTER BRUSH #370709+01102 - 24 EA MIN ORDERFerguson Facilities Supply144EA\$5.19\$747.36IM-2000 & AB-01123Genesis II, Inc144EA\$6.18\$889.92Genesis B8370709/140160, 12/csCC Distributors, Inc.144EA\$6.67\$960.48O'CEDAR/LASSWELL 93105/A-60Guif Coast Paper144EA\$33.66\$4,847.04ITEM 6472 (PAD HOLDER) + ITEM 125 (WOODEN HANDLE)[ALT1] Staples Inc (Staples Contract and Commercial LLC)144EA\$33.68\$4,849.92Staples SKU 697905 DOODLEBUG HOLDER SET W/2 PADSGateway Printing144EANo BidVHOLESALE PRODUCTS144EANo BidYanitor Paper and Supplies, LLC144EANo BidAdvanced Blending, Inc. DBA: LASt Group Enterprises144EANo BidSchool Specialty, Inc.144EANo Bid	PYRAMID SCHOOL PRODUCTS (pyRAMID PAPER cOMPAI144EA\$4.82\$694.08BETTER BRUSH #370709+01102 - 24 EA MIN ORDER3MFerguson Facilities Supply144EA\$5.19\$747.36IM-2000 & AB-011233MGenesis II, Inc144EA\$6.18\$889.92Genesis BB370709/140160, 12/cs3MCC Distributors, Inc.144EA\$6.67\$960.48O'CEDAR/LASSWELL 93105/A-603MGuif Coast Paper144EA\$33.66\$4,847.04ITEM 6472 (PAD HOLDER) + ITEM 125 (WOODEN HANDLE)3M[ALT1] Staples Inc (Staples Contract and Commercial LLC)144EA\$33.68\$4,849.92Staples SkU 697905 DOODLEBUG HOLDER SET W/2 PADS3M CORPORATIONGateway Printing144EANo Bid3M3M3M3MVS WHOLESALE PRODUCTS144EANo Bid3M3MYanitor Paper and Supplies, LLC144EANo Bid3MAdvanced Blending, Inc. DBA: LASt Group Enterprises144EANo Bid3MSchool Specialty, Inc.144EANo Bid3M

	Supplier	QTY	UОМ	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
RD	Gulf Coast Paper	72	EA	\$15.55	\$1,119.60	ITEM 2000GY (CAN) + ITEM 2001GY (LID)	Rubbermaid	RCP2623GRA-Container, RCP2619-60GRA-lid
	CC Distributors, Inc.	72	EA	\$17.78	\$1,280.16	CONTINENTAL 2000GY/2001GY	Rubbermaid	RCP2623GRA-Container / RCP2619-60GRA-lid
	Ferguson Facilities Supply	72	EA	\$17.78	\$1,280.16		Rubbermaid	RCP2623GRA-Container / RCP2619-60GRA-lid
	Advanced Blending, Inc. DBA: LAst Group Enterprises	72	EA	\$21.32	\$1,535.04	ea, Garbage Can, 20 gal w/Lid Janico #1120GY (Can) & Janico 1120GY- 02 (Lid). Packed 6 ea cs. Pls order by even cs lot. Min order Janico Products is \$2000. mix product. (Items 2, 3, 4, 5, 6, 7, 8, 10, 12, 13, 14, 15, 16, 17, 18, 68, 72, 82, 83, 96, 97, 138, 144, 145.) QUOTING JANICO AS EQUAL ITEM	Rubbermaid	RCP2623GRA-Container / RCP2619-60GRA-lid
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	72	EA	\$22.98	• •	AS SPEC - 36 EACH MINIMUM ORDER	Rubbermaid	RCP2623GRA-Container / RCP2619-60GRA-lid
	Yanitor Paper and Supplies, LLC	72	EA	\$26.20	,,	We are bidding the same item you requested: Manufacturer: Rubbermaid. Manufacturer Item# RCP2623GRA-Container / RCP2619- 60GRA-lid	Rubbermaid	RCP2623GRA-Container / RCP2619-60GRA-lid
	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	72	EA	\$34.54	\$2,486.88	Staples SKU 812459 CONTAINR BRUTE GY 20GAL	RUBBERMAID COMMERCIAL PRODUCTS	RCP2623GRA-Container / RCP2619-60GRA-lid
	Rio Paper & Supply, LLC	72	EA	\$37.70	., .	1)RCP262000GRA RUBBERMAID COMMERCIAL PROD.Round Brute Container, Plastic, 20 gal, Gray2)RCP261960GRA RUBBERMAID COMMERCIAL PROD.Filat Top Lid for 20 gal Round BRUTE Containers, 19.88" diameter, Gray	Rubbermaid	RCP2623GRA-Container / RCP2619-60GRA-lid
	Gateway Printing	72	EA	\$39.89	\$2,872.08	(RCP2620RGA - \$31.00) - (RCP261960GRA - \$8.89)	Rubbermaid	RCP2623GRA-Container / RCP2619-60GRA-lid
	School Specialty, Inc.	72	EA	No Bid			Rubbermaid	RCP2623GRA-Container / RCP2619-60GRA-lid
	US WHOLESALE PRODUCTS	72	EA	No Bid			Rubbermaid	RCP2623GRA-Container / RCP2619-60GRA-lid
	Genesis II, Inc	72	EA	No Bid			Rubbermaid	RCP2623GRA-Container / RCP2619-60GRA-lid

	Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
WARD	School Specialty, Inc.	100	EA		\$25,876.00		Best-Rite	202AH-25
	Gateway Printing	100	EA	\$328.75	\$32,875.00	Please allow 2 to 3 weeks after order placed.	Best-Rite	202AH-25
	Genesis II, Inc	100	EA	No Bid			Best-Rite	202AH-25
	Staples Inc (Staples Contract and Commercial LLC)	100	EA	No Bid			Best-Rite	202AH-25
	Ferguson Facilities Supply	100	EA	No Bid			Best-Rite	202AH-25
	US WHOLESALE PRODUCTS	100	EA	No Bid			Best-Rite	202AH-25
	Gulf Coast Paper	100	EA	No Bid			Best-Rite	202AH-25
	Rio Paper & Supply, LLC	100	EA	No Bid			Best-Rite	202AH-25
	CC Distributors, Inc.	100	EA	No Bid			Best-Rite	202AH-25
	Advanced Blending, Inc. DBA: LAst Group Enterprises	100	EA	No Bid			Best-Rite	202AH-25
	Yanitor Paper and Supplies, LLC	100	EA	No Bid			Best-Rite	202AH-25

# 140 Porcelain Dry Erase Board

	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
NARD	[ALT1] School Specialty, Inc.	100	EA	\$140.88	\$14,088.00	MARKERBOARD PORCELAIN DELUXE 4X4	MOORECO	202AD-25
	CC Distributors, Inc.	100	EA	No Bid			Best-Rite	E2H2PD-T1
	Ferguson Facilities Supply	100	EA	No Bid			Best-Rite	E2H2PD-T1
	Rio Paper & Supply, LLC	100	EA	No Bid			Best-Rite	E2H2PD-T1
	Yanitor Paper and Supplies, LLC	100	EA	No Bid			Best-Rite	E2H2PD-T1
	Gateway Printing	100	EA	No Bid		Please allow 2 to 3 weeks after order placed.	Best-Rite	E2H2PD-T1
	Gulf Coast Paper	100	EA	No Bid			Best-Rite	E2H2PD-T1
	Advanced Blending, Inc. DBA: LAst Group Enterprises	100	EA	No Bid			Best-Rite	E2H2PD-T1
	Staples Inc (Staples Contract and Commercial LLC)	100	EA	No Bid			Best-Rite	E2H2PD-T1
	US WHOLESALE PRODUCTS	100	EA	No Bid			Best-Rite	E2H2PD-T1
	Genesis II, Inc	100	EA	No Bid			Best-Rite	E2H2PD-T1

# 141 Natural Cork Plate Tack Board

	Supplier	QTY	UOM	Price		Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
AWARD	[ALT1] School Specialty, Inc.	50	EA	\$54.27	\$2,713.50	TACKBOARD CORK VALU-TAK 4X4 NATURAL CORK	MOORECO	301AD
	CC Distributors, Inc.	50	EA	No Bid			Best-Rite	303AD
	Ferguson Facilities Supply	50	EA	No Bid			Best-Rite	303AD
	Rio Paper & Supply, LLC	50	EA	No Bid			Best-Rite	303AD
	Yanitor Paper and Supplies, LLC	50	EA	No Bid			Best-Rite	303AD
	Gateway Printing	50	EA	No Bid		Please allow 2 to 3 weeks after order placed.	Best-Rite	303AD
	Gulf Coast Paper	50	EA	No Bid			Best-Rite	303AD
	Advanced Blending, Inc. DBA: LAst Group Enterprises	50	EA	No Bid			Best-Rite	303AD
	Staples Inc (Staples Contract and Commercial LLC)	50	EA	No Bid			Best-Rite	303AD
	US WHOLESALE PRODUCTS	50	EA	No Bid			Best-Rite	303AD
	Genesis II, Inc	50	EA	No Bid			Best-Rite	303AD

	ral Cork Plate Tack Board							
	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
AWARD	[ALT1] School Specialty, Inc.	50	EA	\$99.01		TACKBOARD CORK VALU-TAK 4'X8' NATURAL CORK	MOORECO	301AH
	CC Distributors, Inc.	50	EA	No Bid			Best-Rite	303AH
	Ferguson Facilities Supply	50	EA	No Bid			Best-Rite	303AH
	Rio Paper & Supply, LLC	50	EA	No Bid			Best-Rite	303AH
	Yanitor Paper and Supplies, LLC	50	EA	No Bid			Best-Rite	303AH
	Gateway Printing	50	EA	No Bid		Please allow 2 to 3 weeks after order placed.	Best-Rite	303AH
	Gulf Coast Paper	50	EA	No Bid		·	Best-Rite	303AH
	•	50	EA	No Bid			Best-Rite	303AH
	Advanced Blending, Inc. DBA: LAst Group Enterprises	50		No Bid			Best-Rite	303AH
	Staples Inc (Staples Contract and Commercial LLC)		EA				Best-Rite	303AH
	US WHOLESALE PRODUCTS	50	EA	No Bid			Best-Rite	303AH
	Genesis II, Inc	50	EA	No Bid			Destruite	JUJAN
43 Mou	nting Brackets for 12 3/4" Universal Stool Tops							
-5   11100	Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	CC Distributors, Inc.	100	EA	No Bid		oupplier rouge	Virco	VB10
	Ferguson Facilities Supply	100	EA	No Bid			Virco	VB10
	School Specialty, Inc.	100	EA	No Bid			Virco	VB10
	Gateway Printing	100	EA	No Bid			Virco	VB10
		100	EA	No Bid			Virco	VB10
	Rio Paper & Supply, LLC						Virco	VB10 VB10
	US WHOLESALE PRODUCTS	100	EA	No Bid			Virco	VB10 VB10
	Advanced Blending, Inc. DBA: LAst Group Enterprises	100	EA	No Bid			Virco	VB10 VB10
	Yanitor Paper and Supplies, LLC	100	EA	No Bid				
	Gulf Coast Paper	100	EA	No Bid			Virco	VB10
	Genesis II, Inc	100	EA	No Bid			Virco	VB10
	Staples Inc (Staples Contract and Commercial LLC)	100	EA	No Bid			Virco	VB10
44 Trasr	n Can Dolly	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturar	Manufacturer #
AWARD	Supplier	100	EA	\$18.60		Supplier Notes / Alternate Description	Manufacturer Brute	RCP2640BLA
	Gulf Coast Paper				\$1,860.00	CONTINENTAL 3255-4	Brute	RCP2640BLA
	CC Distributors, Inc.	100	EA	\$19.43			Brute	RCP2640BLA
	Ferguson Facilities Supply	100	EA	\$19.50	\$1,950.00			
		100	EA	\$19.95		CONTINENTAL 3255-4 (FITS ALL RUBBERMAID CANS)	Brute	RCP2640BLA
	Genesis II, Inc	100	EA	\$19.99		Continental 3255-4, 2/cs, minimum order 40 each	Brute	RCP2640BLA RCP2640BLA
	Advanced Blending, Inc. DBA: LAst Group Enterprises	100	EA	\$20.75	\$2,075.00	each, Trash Can Dolly with Bolted Casters, Janico #1040, Packed 2 each case. Please order by even case lot. Minimum order for Janico Products is \$2000. mixed product. (Items 2, 3, 4, 5, 6, 7, 8, 10, 12, 13, 14, 15, 16, 17, 18, 68, 72, 82, 83, 96, 97, 138, 144, 145.) QUOTING JANICO PRODUCTS AS EQUAL ITEMS	Brute	
	[ALT1] Gateway Printing	100	EA	\$28.00	\$2,800.00	Refuse Container Utility Dolly, 300 lb Capacity, 22" Diameter, Gray	Boardwalk	BWKDOLLY
	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	100	EA	\$45.94	\$4.594.00	Staples SKU 24380833 CW CLICK-CONNECT DOCKING DOLLY	DELAMO MFG., INC.	CW55231
	Rio Paper & Supply, LLC	100	EA	\$59.12		RCP264000BK RUBBERMAID COMMERCIAL PROD.Brute Round Twist On/Off Dolly, 250 lb Capacity, 18" dia x 6.63"h, Fits 20-55 Gallon BRUTE Containers, Black	Brute	RCP2640BLA
	Gateway Printing	100	EA	\$62.16	\$6,216.00	Item RCP264000BKBrute Round Twist On/Off Dolly, 250 lb Capacity, 18" dia x 6.63"h, Fits 20-55 Gal BRUTE Containers, Black	Brute	RCP2640BLA
	Yanitor Paper and Supplies, LLC	100	EA	No Bid			Brute	RCP2640BLA
	School Specialty, Inc.	100	EA	No Bid			Brute	RCP2640BLA
	US WHOLESALE PRODUCTS	100	EA	No Bid			Brute	RCP2640BLA
45 Bag I	Heavy Capacity Janitor Cart							
A14/A DD	Supplier	QTY	UOM	Price		Supplier Notes / Alternate Description	Manufacturer Rubbermaid	Manufacturer # 1966881
AWARD	Advanced Blending, Inc. DBA: LAst Group Enterprises	50	ΕΑ	\$14.54	<i>\$727.00</i>	ea, Heavy Capacity Bag for Janitor Cart Janico #1050-02, Packed 1 ea cs. Min order for Janico is \$2000. mix product. (Items 2, 3, 4, 5, 6, 7, 8, 10, 12, 13, 14, 15, 16, 17, 18, 68, 72, 82, 83, 96, 97, 138, 144, 145.) QUOTING JANICO AS EQUAL ITEM	Rubbermaid	1966881
	Yanitor Paper and Supplies, LLC	50	EA	\$19.40		We are bidding the same item you requested: Manufacturer: Rubbermaid. Manufacturer Item# 1966881	Rubbermaid	1966881
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	50	EA	\$30.99		AS SPEC - 4/CTN FULL CARTONS ONLY	Rubbermaid	1966881
	Gulf Coast Paper	50	EA	\$32.87	\$1,643.50		Rubbermaid	1966881
	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	50	EA	\$54.82		Staples SKU 706428 HI-CAPACITY VINYL RPLMENT BAG	RUBBERMAID COMM PRODUCT	
	Ferguson Facilities Supply	50	EA	\$57.06	\$2,853.00		Rubbermaid	1966881
	CC Distributors, Inc.	50	EA	\$58.38	\$2,919.00	RUBBERMAID 1966881	Rubbermaid	1966881
	··· ·· ··· · · · · · · · · · · · · · ·					RCP1966881 RUBBERMAID COMMERCIAL PROD.Vinyl Cleaning Cart		

50

50

50

50

50

ΕA

EA

ΕA

ΕA

ΕA

\$66.92 \$3,346.00

No Bid

No Bid

No Bid

Rio Paper & Supply, LLC

Gateway Printing

Genesis II, Inc

School Specialty, Inc.

US WHOLESALE PRODUCTS

\$62.22 \$3,111.00 RCP1966881 RUBBERMAID COMMERCIAL PROD.Vinyl Cleaning Cart Bag, 34 gal, 17.5" x 33", Yellow

1966881

1966881

1966881

1966881

1966881

Rubbermaid

Rubbermaid

Rubbermaid

Rubbermaid

Rubbermaid

	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
AWARD	Genesis II, Inc	50	EA	\$10.18	\$509.00	Genesis BB154425, minimum order 12 each	Rubbermaid	1966719
	Gulf Coast Paper	50	EA	\$12.10	\$605.00		Rubbermaid	1966719
	Ferguson Facilities Supply	50	EA	\$17.50	\$875.00		Rubbermaid	1966719
	CC Distributors, Inc.	50	EA	\$17.61	\$880.50	CONTINENTAL 188YW	Rubbermaid	1966719
	Yanitor Paper and Supplies, LLC	50	EA	\$19.40	\$970.00	We are bidding the same item you requested: Manufacturer: Rubbermaid. Manufacturer Item# 1966719	Rubbermaid	1966719
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY	50	EA	\$27.98	\$1,399.00	AS SPEC - 4/CTN FULL CARTONS ONLY	Rubbermaid	1966719
	Rio Paper & Supply, LLC	50	EA	\$52.58	• •	RCP1966719 RUBBERMAID COMMERCIAL PROD.Zippered Vinyl Cleaning Cart Bag, 24 gal, , 17.25" x 30.5", Yellow	Rubbermaid	1966719
	[ALT1] Staples Inc (Staples Contract and Commercial LLC)	50	EA	\$54.82	\$2,741.00	Staples SKU 706428 HI-CAPACITY VINYL RPLMENT BAG	RUBBERMAID COMMERCIAL PRODUCTS	1966881
	Gateway Printing	50	EA	\$66.92	\$3,346.00		Rubbermaid	1966719
	School Specialty, Inc.	50	EA	No Bid			Rubbermaid	1966719
	US WHOLESALE PRODUCTS	50	EA	No Bid			Rubbermaid	1966719
	Advanced Blending, Inc. DBA: LAst Group Enterprises	50	EA	No Bid			Rubbermaid	1966719

# 147 Gym Floor Sealer Oil Base.

-		-	-				-	
	Supplier	QTY	UOM	Price		Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
WARD	[ALT1] Boydsco Holdings LLC	<del>90</del>	EA	\$67.75	\$6,097.50	floor sealer	midlab	151800-05
	Ferguson Facilities Supply	90	EA	\$103.89	\$9,350.10		Buckeye	Coliseum 450
	Gulf Coast Paper	90	EA	\$106.80	\$9,612.00		Buckeye	Coliseum 450
	Rio Paper & Supply, LLC	90	EA			As Specified / Buckeye Coliseum 450, 5184-5000, Oil-Modified Wood Floor Coating, 5-gal pail	Buckeye	Coliseum 450
	CC Distributors, Inc.	90	EA	\$166.18	\$14,956.20	BETCO B069805-12 PLAYERS CHOICE OMU350	Buckeye	Coliseum 450
	Yanitor Paper and Supplies, LLC	90	EA	No Bid			Buckeye	Coliseum 450
	Advanced Blending, Inc. DBA: LAst Group Enterprises	90	EA	No Bid			Buckeye	Coliseum 450
	Gateway Printing	90	EA	No Bid			Buckeye	Coliseum 450
	US WHOLESALE PRODUCTS	90	EA	No Bid			Buckeye	Coliseum 450
	School Specialty, Inc.	90	EA	No Bid			Buckeye	Coliseum 450
	Staples Inc (Staples Contract and Commercial LLC)	90	EA	No Bid			Buckeye	Coliseum 450
	Genesis II, Inc	90	EA	No Bid			Buckeye	Coliseum 450

	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
WARD	Ferguson Facilities Supply	<del>90</del>	EA	\$27.40	\$2,466.00		Buckeye	Screen Clean
	Gulf Coast Paper	90	EA	\$31.68	\$2,851.20		Buckeye	Screen Clean
	[ALT1] Boydsco Holdings LLC	90	EA	\$33.58	\$3,022.20		midlab	180000-05
	Rio Paper & Supply, LLC	90	EA	\$57.90	\$5,211.00	As Specified / Buckeye Screen Clean, Ready to Use Floor Prep Cleaner, 5 gal bag in a box.	Buckeye	Screen Clean
	CC Distributors, Inc.	90	EA	\$86.84	\$7,815.60	BETCO 1170500 WC117	Buckeye	Screen Clean
	Yanitor Paper and Supplies, LLC	90	EA	No Bid			Buckeye	Screen Clean
	Advanced Blending, Inc. DBA: LAst Group Enterprises	90	EA	No Bid			Buckeye	Screen Clean
	Gateway Printing	90	EA	No Bid			Buckeye	Screen Clean
	US WHOLESALE PRODUCTS	90	EA	No Bid			Buckeye	Screen Clean
	School Specialty, Inc.	90	EA	No Bid			Buckeye	Screen Clean
	Staples Inc (Staples Contract and Commercial LLC)	90	EA	No Bid			Buckeye	Screen Clean
	Genesis II, Inc	90	EA	No Bid			Buckeye	Screen Clean

	Supplier	QTY	UOM		Extended Supplier Notes	Manufacturer	Manufacturer #
VARD	Conserv Flag Company	100	EA	\$112.00	\$11,200.00 Minimum order 12		
	Staples Inc (Staples Contract and Commercial LLC)	100	EA	No Bid			
	Gulf Coast Paper	100	EA	No Bid			
	Genesis II, Inc	100	EA	No Bid			
	Ferguson Facilities Supply	100	EA	No Bid			
	US WHOLESALE PRODUCTS	100	EA	No Bid			
	Advanced Blending, Inc. DBA: LAst Group Enterprises	100	EA	No Bid			
	School Specialty, Inc.	100	EA	No Bid			
	CC Distributors, Inc.	100	EA	No Bid			
	Rio Paper & Supply, LLC	100	EA	No Bid			
	Yanitor Paper and Supplies, LLC	100	EA	No Bid			
	Gateway Printing	100	EA	No Bid			

Att #	Attribute Name	Advanced Blending, Inc. DBA: LAst Group Enterprises	American Industrial Supplies & Tool Repair, Inc.	Boydsco Holdings LLC	CC Distributors, Inc.
93	Business/Company Owner Name	Advanced Blending, Inc. (DBA: LAst Group Enterprises) is an S corporation; Laurie Walkenhorst/President; James Plog/COO	American Industrial Supplies & Tool Repair, Inc. / Ruben Diaz	Boydsco Holdings LLC	N/A
94	Date of Establishment	August 23, 1989	Feb. 15, 1993	02/24/2020	1906
95	Will the bid/proposal deviate from specifications?	No	No	No	Yes
96	If no please state "No deviation", if yes, please specify deviations:	No Deviations; Products quoted are equal to specifications listed on each product quoted	No Deviation	no Deviation	bid item #36 - 6 - 1GAL/CASE

Att #	Attribute Name	Conserv Flag Company	Ferguson Facilities Supply	Gateway Printing	Genesis II, Inc	Gulf Coast Paper
93	Business/Company Owner Name	Emil Assad	Ferguson Facilities Supply	Lin Miller	William Cox	GULF COAST PAPER COMPANY
94	Date of Establishment	1996	1957	1965	April 1994	08/24/1965
95	Will the bid/proposal deviate from specifications?	No	Yes	Yes	Yes	No
96	If no please state "No deviation", if yes, please specify deviations:	No Deviation	Per-line item as noted	In the event of a manufacture price incease on any item quoted, Gateway will raise the price of item as per increase. Gateway will provide a letter to confirm this.	Deviation will be state in the item description if there are any.	NO DEVIATION

Att #	Attribute Name	Interboro Packaging Corp.	KAUTSCH TRUE VALUE (TRUE TEST VENTURES LLC)	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	Rio Paper & Supply, LLC	Safeway Supply Inc (Hunte)
93	Business/Company Owner Name	Edith Jeremias	TRUE TEST VENTURES LLC DBA KAUTSCH TRUE VALUE	KENNETH D MILLER	Company Name:Rio Paper & Supply, LLC Owners: Ricardo & Ramiro Cantu	Johnny Hunte
94	Date of Establishment	1982	OCT 31 2019	1932	Oct. 09, 2006	2004
95	Will the bid/proposal deviate from specifications?	No	No	No	No	No
96	If no please state "No deviation", if yes, please specify deviations:	No deviation	no deviation	NA	no deviation	No deviation

Att #	Attribute Name	School Specialty, Inc.	Staples Inc (Staples Contract and Commercial LLC)	US WHOLESALE PRODUCTS	Yanitor Paper and Supplies, LLC
93	Business/Company Owner Name	School Specialty, LLC	Staples Contract & Commercial LLC	JEFF ALLOWAY	Jorge E. Garza
94	Date of Establishment	1959	Staples was established in 1986.	12/2018	03/21/2012
95	Will the bid/proposal deviate from specifications?	No	Yes	No	No
96	If no please state "No deviation", if yes, please specify deviations:	NA	Staples Contract & Commercial LLC ("Staples") is pleased to submit its response to this RFP. This response is intended to provide pricing to which Staples is hereby committed. Our pricing offer is valid for 90 days from submission of this proposal. Should a contract not be executed in that time, Staples reserves the right to adjust pricing based on any changes to manufacturer pricing during this period. Legal or business terms, covenants and conditions are subject to further discussion and good faith negotiations between the parties. Please note Attachment B – Staples' Exceptions which details Staples' comments to the terms and conditions in this BFP.	NO DEVIATION	No deviation

Advanced Blending, Inc. DBA: LAst Group Enterprises	Marguerite Ann Burton	marguerite.b@advancedblending.com	Quoting Janico Products as equal items. Minimum order is \$2000.00 mixed items. Please order by even case lots. (Items 2, 3, 4, 5, 6, 7, 8, 10, 12, 13, 14, 15, 16, 17, 18, 68, 72, 82, 83, 96, 97,
			138, 144, 145)
			Quoting Item 35, Zyme Alive, as an equal to Bacteria Alive, Minimum order is 36 each, 5 gallon containers.
			Quoting Item 73, Infinity Towels, as an equal to KCC06053. Minimum order is 150 cases each shipment
American Industrial Supplies & Tool Repair, Inc.	Ruben Diaz	aistr@sbcglobal.net	
Boydsco Holdings LLC	Carl j boyd	admin@boydsco.com	
CC Distributors, Inc.	David Berlanga	dberlanga@ccdistributors.com	
Conserv Flag Company	Kenny Gudahl	kenny@conservflag.com	
Ferguson Facilities Supply	Michael Boehnke	michael.boehnke@ferguson.com	Prices submitted are for delivery to a single-point destination. We believe that PSJA ISD could significantly reduce its expenses by going to a campus-delivery model. In this way, PSJA reduces its delivery expenses and labor, but also reduces its usage on custodial products. When a purchasing/custodial department has the ability to audit usage by campus, usage always is reduced. Once we deliver to a campus, that data is stored and can be analyzed by custodial supervisors or purchasing staff to identify over-usage. We can find theft, address honest over-use with custodial training, and help eliminate hoarding by custodial staff that happens all to often. We can offer next day delivery to your schools for 5% more than bid pricing on orders that total \$300 or more. Or, we can offer next-day delivery without a minimum for bid pricing plus 10%. Please review the attachments provided, and contact Michael Boehnke with any questions that you may have. We seet total spend by districts reduced all the time when consistent deliveries are made by campus and information is able to be audited by custodial/purchasing staff by campus.
Gateway Printing	Chris Diaz	cdiaz@gatewayp.com	**Please note that most items will deliver within 1 to 2 days but some may take 7 to 10 days** **Balt items need to be ordered in minimum orders of \$2400.00 to qualify for free freight**
Genesis II, Inc	William Cox	genesis2inc1@aol.com	Net 30 days 7-14 days for delivery
Gulf Coast Paper	JESSICA CAVAZOS	JESSICA.CAVAZOS@IMPERIALDADE.COM	
Interboro Packaging Corp.	Blimie Itzkowitz	interboro2@frontiernet.net	Samples are available upon request.
KAUTSCH TRUE VALUE (TRUE TEST VENTURES LLC)	maria crerar	kckautsch@yahoo.com	
PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	KENNETH D. MILLER, VP	BIDDEPT@PYRAMIDSP.COM	**OUR BID REFERENCE NUMBER IS #20-21-029PHAR. THIS NUMBER MUST BE LISTED ON ALL ORDERS PLACED AGAINST THIS BID.**
Rio Paper & Supply, LLC	Jesus Alberto Sanchez	jessiesriopaper@yahoo.com	
Safeway Supply Inc (Hunte)	Layla Berlanga	layla.b@safewaysupply.com	
School Specialty, Inc.	Amy Fuss	bidnotices@schoolspecialty.com	Please reference the 1295 attachment that also includes the cover letter and cut sheets.
Staples Inc	Ronnie Valentin	Ranier.Valentin@Staples.com	Ronnie Valentin is the point of contact for this opportunity. Please relay any questions or updates to:
•			Ranier.Valentin@Staples.com.
(Staples The (Staples Contract and Commercial LLC) US WHOLESALE PRODUCTS	Jeff Alloway	uswpsanantonio@gmail.com	, , , , , ,

## Participation Summary - As of 06/22/2021

articipant Name	Response Date		<u>Contact</u>	<u>City</u>		Invitation Type	Invitation Date	Owner/CEO
dvanced Blending, Inc. DBA: LAst Group Enterpri		Submitted	Marguerite Burton	Forest Hill	TX	Automatic	12/08/2020	Laurie Walkenhorst
merican Industrial Supplies & Tool Repair, Inc.	01/08/2021	Submitted	Ruben Diaz	McAllen	ТХ	Automatic	12/08/2020	Ruben Diaz
oydsco Holdings LLC	01/12/2021	Submitted	Carl j boyd	Lansing	MI			Carl Boyd
C Distributors, Inc.	01/06/2021	Submitted		Corpus Christi	ТХ	Manual	12/08/2020	Andrew Grey
onserv Flag Company	12/22/2020	Submitted	Kenny Gudahl	Sidney	NE			Emil Assad
erguson Facilities Supply	01/13/2021	Submitted		San Anotnio	тх			Kevin Murphy
ateway Printing	01/13/2021	Submitted	Chris Diaz	Edinburg	ТХ	Manual	12/08/2020	Lin Miller
ienesis II, Inc	01/13/2021	Submitted	William Cox	Rock Hill	SC			William Cox
iulf Coast Paper	01/12/2021	Submitted	Jessica Cavazos	Brownsville	ΤХ	Automatic	12/08/2020	Pete Petkoff
nterboro Packaging Corp.	12/21/2020	Submitted	Abraham Jeremias	Montgomery	NY	Manual	12/08/2020	Edith Jeremias
AUTSCH TRUE VALUE (TRUE TEST VENTURES LLC)	01/12/2021	Submitted	KOOKII CRERAR	alamo	тх			John Kautsch
YRAMID SCHOOL PRODUCTS (PYRAMID PAPER C	C 01/05/2021	Submitted	PATRICIA OLIVAS	ТАМРА	FL	Automatic	12/08/2020	Kenneth D Miller
io Paper & Supply, LLC	01/04/2021	Submitted	Jesus A. Sanchez	Pharr	тх			Ricardo & Ramiro Can
afeway Supply Inc (Hunte)	01/04/2021	Submitted	Johnny Hunte	San Antonio	ТХ	Automatic	12/08/2020	Johnny Hunte
chool Specialty, Inc.	12/17/2020	Submitted	Accounts Receivable	Greenville	WI	Manual	12/08/2020	Ryan M. Bohr
taples Inc (Staples Contract and Commercial LLC)		Submitted	Ronnie Valentin	Houston	тх	Automatic	12/08/2020	J. Alexander Douglas
S WHOLESALE PRODUCTS	01/13/2021	Submitted	Jeff Alloway	SAN ANTONIO	ТХ	Automatic	12/08/2020	Jeff Alloway
			· · · · · · · · · · · · · · · · · · ·			Automotio	12/08/2020	
anitor Paper and Supplies, LLC	01/13/2021	Submitted	Carlos Manuel Franco	Pharr	TX	Automatic	12/08/2020	Jorge E. Garza
OMPETITIVE CHOICE INC.		Unsubmitted	JULIA SUAN	Houston	ТХ			
ffice Depot, Inc		Unsubmitted	Nadia Garza	Austin	ТΧ			
nipak Corp.		Unsubmitted	Brian Marcus	BROOKLYN	NY	Automatic	12/08/2020	
E.D. / Valmac Electric Supply	12/16/2020	No Bid	Ricardo Casarez	Pharr	ТΧ	Automatic	12/08/2020	
ENTRAL POLY-BAG CORP.	12/08/2020	No Bid	Andrew Serhofer	Linden	NJ	Automatic	12/08/2020	
1ATTS BUILDING MATERIALS	12/08/2020	No Bid	DAVID CASTILLO	PHARR	ТΧ	Automatic	12/08/2020	
IDWEST TECHNOLOGY PRODUCTS (MIDWEST SH	1 12/08/2020	No Bid	ARLENE KENNEDY	SIOUX CITY	IA	Automatic	12/08/2020	
eekr Essentials (Seekr Global INC)	01/13/2021	No Bid	Andoni Almeida	Austin	ТХ	Automatic	12/08/2020	
outh Texas Moulding dba Texas Wood Supply	12/29/2020	No Bid	Daniel Ortiz	DONNA	тх	Automatic	12/08/2020	
rinity3 Technology	12/08/2020	No Bid	Kendell Rickman	Saint Paul	MN	Automatic	12/08/2020	
asdel Corporation	12/00/2020	Viewed	Sabbir Mahmud	Norcross	GA	, atomatic	12/00/2020	
	r	Viewed				Automatic	12/08/2020	
ccredited Lock Suppy Co (Accredited Lock & Doo	I		lim data	Secaucus	NJ	Automatic	12/08/2020	
city specialty product dba zep sales and service		Viewed	jim detamore	atlanta	GA		42/00/2005-	
ll American Poly		Viewed		Piscataway	NJ	Automatic	12/08/2020	
TD-AMERICAN CO (Dinapoli)		Viewed	Connie Dinapoli	Wyncote	PA			
elta Specialties Supply (Martin Pena)		Viewed	MARTIN PENA	EDINBURG	ТΧ	Automatic	12/08/2020	
evin Distributing & Packaging Inc.		Viewed	Sandra Salinas	Palmhurst	ТΧ	Automatic	12/08/2020	
mpire Paper Company		Viewed	Bids	Wichita Falls	ТΧ	Automatic	12/08/2020	
illyard, Texas		Viewed	Mario Gonzales	San Antonio	ТΧ	Automatic	12/08/2020	
12Savings (Textbook Brokers inc)		Viewed	Dylan Silkey	Sparta	MO	Automatic	12/08/2020	
autsch lumber co inc		Viewed	kookii crerar	alamo	TX	Automatic	12/08/2020	
Aercer Technologies Firm		Viewed	Garrett Mercer	Gary	IN	Automatic	12/00/2020	
erformance Safety Group I, LP		Viewed	Drew Allrich	St. Louis	мо	Automatic	12/08/2020	
			DIEW AIIIICH	Pharr		Manual		
ay's Business Products		Viewed			TX	IVIdriudi	12/08/2020	
eq-Tex Llc		Viewed	Marco Gonzalez	Mcallen	TX			
he Habits Group, LLC		Viewed	Raynor McKinnon	Austin	ТΧ			
he PlanIT Room		Viewed	Cecilia Hernandez	El Paso	ТΧ	Automatic	12/08/2020	
nifirst Holdings		Viewed	Jose Alvarado	McAllen	ТΧ	Automatic	12/08/2020	
nited Sales usa corp.		Viewed	Pinny Ziegler	brooklyn	NY			
M Lighting RGV			Pete Ostrowski	Pharr	ТΧ	Automatic	12/08/2020	
65 Paving & Construction LLC			Gilberto Maldonado	Mission	ΤХ	Automatic	12/08/2020	
BSOLUTE Services (LMH & LMH, LLC)			Larry Helgeson	McAllen	ΤХ	Automatic	12/08/2020	
cademic Specialties Texas (Haldeman Homme, In	IC .		Justin Perez	Minneapolis	MN	Automatic	12/08/2020	
ccu Aire Mechanical LLC			Monica M Harris	SAN ANTONIO	тх	Automatic	12/08/2020	
dept Facilities & Design, Inc.				Harlingen	TX	Automatic	12/08/2020	
HI Facility Services, Inc.			Luke Bruns	Dallas	TX	Automatic	12/08/2020	
ircool Tech-ACT, Corp			Celeste Cantu	Alamo	TX	Automatic	12/08/2020	
IRGAS USA LLC CENTRAL DIV			Javier Olmos	McAllen	TX	Automatic	12/08/2020	
lamo Iron Works (Alamo Distribution, LLC)			Stacey B Sims	Alpharetta	GA	Automatic	12/08/2020	
lamo Iron Works (Vallen Distribution)			Robert Garcia	Pharr	ТΧ	Automatic	12/08/2020	
llstates Coatings Company (LBS Enterprises, LLC)				Gladewater	ТΧ	Automatic	12/08/2020	
lpha and Omega Cleaning Services,LLC			Ismael De Leon	Edinburg	ТΧ	Automatic	12/08/2020	
LPHA CUSTOM SHIRTS				edinburg	ΤХ	Automatic	12/08/2020	
lvarez Roofing LLC			Marco Alvarez	Weslaco	ΤХ	Automatic	12/08/2020	
M Utilities and Construction LLC			Roberto Morales	Mission	ТХ	Automatic	12/08/2020	
rga development				Mission	тх	Automatic	12/08/2020	
			Vashti Maraj	Long Island City	NY	Automatic	12/08/2020	
•			· ashiri maraj	Jefferson	LA	Automatic	12/08/2020	
SPEN Refrigerants, Inc.			C					
SPEN Refrigerants, Inc. uto-Chlor Services, LLC				Garden Grove	CA	Automatic	12/08/2020	
SPEN Refrigerants, Inc. uto-Chlor Services, LLC attery Systems Inc			Suzanne Cruz					
SPEN Refrigerants, Inc. uto-Chlor Services, LLC attery Systems Inc ell's Security Sales Inc			Rick Middleton	BLOOMFIELD	NJ	Automatic	12/08/2020	
SPEN Refrigerants, Inc. uto-Chlor Services, LLC attery Systems Inc ell's Security Sales Inc lue Sky Enterprises				La Blanca	ТΧ	Automatic	12/08/2020	
SPEN Refrigerants, Inc. uto-Chlor Services, LLC attery Systems Inc ell's Security Sales Inc lue Sky Enterprises M Benchmark Construction, LLC			Rick Middleton					
SPEN Refrigerants, Inc. Uto-Chlor Services, LLC attery Systems Inc ell's Security Sales Inc lue Sky Enterprises M Benchmark Construction, LLC OB RODRIGUEZ CONSTRUCTION, LLC			Rick Middleton	La Blanca	ТΧ	Automatic	12/08/2020	
SPEN Refrigerants, Inc. uto-Chlor Services, LLC attery Systems Inc ell's Security Sales Inc lue Sky Enterprises M Benchmark Construction, LLC			Rick Middleton Alonzo Acosta	La Blanca McAllen	TX TX	Automatic Automatic	12/08/2020 12/08/2020	
SPEN Refrigerants, Inc. uto-Chlor Services, LLC attery Systems Inc ell's Security Sales Inc lue Sky Enterprises M Benchmark Construction, LLC OB RODRIGUEZ CONSTRUCTION, LLC on Tool Co			Rick Middleton Alonzo Acosta TONY RODRIGUEZ	La Blanca McAllen San Juan	TX TX TX	Automatic Automatic Automatic	12/08/2020 12/08/2020 12/08/2020	
SPEN Refrigerants, Inc. uto-Chlor Services, LLC attery Systems Inc ell's Security Sales Inc lue Sky Enterprises M Benchmark Construction, LLC OB RODRIGUEZ CONSTRUCTION, LLC	ı		Rick Middleton Alonzo Acosta TONY RODRIGUEZ Paul Bender	La Blanca McAllen San Juan Gibsonia	TX TX TX PA	Automatic Automatic Automatic Automatic	12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020	
SPEN Refrigerants, Inc. uto-Chlor Services, LLC attery Systems Inc ell's Security Sales Inc lue Sky Enterprises M Benchmark Construction, LLC OB RODRIGUEZ CONSTRUCTION, LLC on Tool Co oost Metal	л		Rick Middleton Alonzo Acosta TONY RODRIGUEZ Paul Bender Sully Villarreal	La Blanca McAllen San Juan Gibsonia McAllen	TX TX TX PA TX	Automatic Automatic Automatic Automatic Automatic	12/08/2020 12/08/2020 12/08/2020 12/08/2020	

Duffele Construction U.C.			TV	A	12/00/2020
Buffalo Construction LLC. Burton Companies (Burton Companies, LLC)	FRED GUERRA Scott Vaughan	WESLACO Weslaco	TX TX	Automatic Automatic	12/08/2020 12/08/2020
C&H Distributors, LLC	William Rose	Chicago	IL	Automatic	12/08/2020
C&V SUPPLY INC.	JESSIE RAYA	MISSION	TX	Automatic	12/08/2020
CAPA Texas	junior ocampo	Mission	тх	Automatic	12/08/2020
CAPP USA (CAPP INC)	LISA CIANTO	CLIFTON HEIGHTS	PA	Manual	12/08/2020
Caprice Electronics, Inc.	Michael Kluger	Brooklyn	NY	Automatic	12/08/2020
Carrier Corporation	Carrier Corporation	MIssouri	ТΧ	Automatic	12/08/2020
Castcon Construction Co., LLC	Robert Castaneda, Jr.	Mission	ТΧ	Automatic	12/08/2020
Celso Gonzalez Construction	Celso Gonzalez	Mission	ТΧ	Automatic	12/08/2020
Center Stone Services		Weslaco	ТΧ	Automatic	12/08/2020
Central Plumbing & Electric Supply (CENCO, INC)		Weslaco	ТΧ	Automatic	12/08/2020
Champion Flooring LLC	Carol Werket	Pittsburg	KS	Automatic	12/08/2020
Cintas Corporation #538	Roger Rodriguez	Mercedes	ТΧ	Automatic	12/08/2020
Circle Saw Builders Supply, Inc	Juan R Ruiz	Houston	TX	Automatic	12/08/2020
Commercial Kitchen Parts & Service (Greenwich, In	D'Ann Ivers	San Antonio	TX	Automatic	12/08/2020
Compostology LLC ConstructConnect	Kash Nathan	Waco Cincinnati	TX OH	Automatic Automatic	12/08/2020 12/08/2020
Construction Bid Source (Plan Room)		Felton	CA	Automatic	12/08/2020
Construction Journal LLC	Pamela Exton	Stuart	FL	Automatic	12/08/2020
Continental Flooring Company	Tracy Johnson	Scottsdale	AZ	Automatic	12/08/2020
Curbell Plastics, Inc.	Bill Heckert	Houston	ΤХ	Automatic	12/08/2020
D & R Commercial Glass LLC	Robert Gomez	McAllen	ТΧ	Automatic	12/08/2020
Daikin Applied (Daikin Applied Americas Inc.)	Joanne Lawson	Chicago	IL	Automatic	12/08/2020
Dallas Lighthouse for the Blind/ Envision		Dallas	ТΧ	Automatic	12/08/2020
Daybreak LED LLC	Rebecca McCarthy	SAN ANTONIO	ТΧ	Automatic	12/08/2020
Dealers Electrical Supply Co.	Orlando Cruz	Waco, Texas	ТΧ	Automatic	12/08/2020
Delegard Tool of Texas	Paul C. Nave	Houston	ТΧ	Automatic	12/08/2020
Demo Con, Inc.		La Feria	ТΧ	Automatic	12/08/2020
Diamond G Services, LLC	Carlos A. Garcia	McAllen	ТΧ	Automatic	12/08/2020
Diaz Floors & Interiors, Inc.	Andres Diaz, Sr.	Pharr	TX	Automatic	12/08/2020
Doggett Heavy Machinery Services	Andy Ramos	San Juan	TX	Automatic	12/08/2020
ECOEFFECT	Alejandro Alanis	McAllen	тх тх	Automatic	12/08/2020
Econ Group, LLC Elite Disinfecting Services (Elite Oil Field and Constr	Gilbert Enriquez Juan Suarez	Edinburg Mission	TX	Automatic Automatic	12/08/2020 12/08/2020
Elsa Auto & Truck Parts	Lupe Garza	Elsa	TX	Automatic	12/08/2020
Encino Construction	Fred	mcallen	тх	Automatic	12/08/2020
Facility Solutions Group LLC	Doug Brown	Harlingen	тх	Automatic	12/08/2020
Fairway Supply, Inc.	Kathy Millican	Austin	ТΧ	Automatic	12/08/2020
FERGUSON ENTERPRISES	JESUS CAMPOS	PHARR	ТΧ	Automatic	12/08/2020
Fourtify Construction	Sam De la Garza	Edinburg	ΤХ	Automatic	12/08/2020
Francisco tenorio	Francisco Tenorio	San Juan	ТΧ	Automatic	12/08/2020
Full Stop Equipment LLC	Elias Macias	La Joya	ТΧ	Automatic	12/08/2020
GALVAN BUILDERS CONSTRUCTION COMPANY	GALVAN BUILDERS CONS	CORPUS CHRISTI	ТΧ	Automatic	12/08/2020
gargon power services Ilc (Juan Garcia)	Juan Garcia	san juan	ТΧ	Automatic	12/08/2020
General contractor/Construction (Davila Constructi	Tommy Canul	Pharr	ТΧ	Automatic	12/08/2020
General Garage Door Service, INC.	Manuel chapa	Pharr	ТΧ	Automatic	12/08/2020
Go UnderGround		harlingen	TX	Automatic	12/08/2020
Gonzalez Enterprises, LLC	Eli Gonzalez	Edinburg	TX	Automatic	12/08/2020
Groupo GTE, LLC GTL LIGHTING (CLAY BRANCH, INC.)	Gregg Taylor Michael Lee	Las Vegas Houston	NV TX	Automatic Automatic	12/08/2020 12/08/2020
Harcourt Outlines, Inc. (Harcourt Industries, Inc.)	Andrew M Norris	Milroy	IN	Automatic	12/08/2020
HDL ENTERPRISES	HERIBERTO LOPEZ	WESLACO	ТХ	Automatic	12/08/2020
High Point (Western BRW Paper Co., Inc)	Jane Lopez	Dallas	тх	Automatic	12/08/2020
Hi-LoContractor LLC	Edmundo Carreon	Elsa	ТΧ	Automatic	12/08/2020
Holchemont, Ltd.	Annette Carmona	McAllen	ΤХ	Automatic	12/08/2020
Home Design Center (V&L ENTERPRISES, LLC)	Victor Cantu	McAllen	ТΧ	Automatic	12/08/2020
Hunt & Woodruff Construction Co LLC	Keith F. Hunt	Laguna Vista	ТΧ	Automatic	12/08/2020
Hurricane Fence Co (Hurfco Ind.)	Roy Garrison III	Harlingen	ТΧ	Automatic	12/08/2020
IFI Industrial Forklift, Inc	Donato Vera	Pharr	ТΧ	Automatic	12/08/2020
International Carpet One (Yeshua Inc)	Francisco Galvan	Brownsville	ТΧ	Automatic	12/08/2020
INTERNATIONAL ROADWAY RESEARCH (INTERNATI	LINDA TRAHAN	HUMBLE	ТΧ	Automatic	12/08/2020
JCO "the door people"	Joe Perez	EDINBURG	ТΧ	Automatic	12/08/2020
JGA ROOFING SYSTEMS, LLC		Waco	TX	Automatic	12/08/2020
JOHNSON CONTROLS FIRE PROTECTION	Heather Foster	ROUND ROCK	TX	Automatic	12/08/2020
Jolvaz LLC dba RIO-TECH JR RAMON & SONS INC (JR(Joe)Ramon & Sons, Inc)	Connie Garza Joe R Ramon III	McAllen SAN ANTONIO	тх тх	Automatic Automatic	12/08/2020 12/08/2020
Justin Seed Co.	JOE K KAITOIT III	Justin	TX	Automatic	12/08/2020
K12Marketplace LLC	Dalton Williams	Ozark	мо	Automatic	12/08/2020
Kimball Midwest (Midwest Motor Supply Company	Katelyn Pankuch	Columbus	OH	Automatic	12/08/2020
LARRY WUNSCH AND ASSOCIATES	JOHN FREEMAN	SAN ANTONIO	TX	Automatic	12/08/2020
Lawson Products Inc		Chicago	IL	Automatic	12/08/2020
Leija Welding		Pharr	ТΧ	Automatic	12/08/2020
Lewis Electric Motors, Inc.	Enrique Mendez	HARLINGEN	ТΧ	Automatic	12/08/2020
Lexine Inc	Frank Martinez	McAllen	ТΧ	Automatic	12/08/2020
Little Giants Learning Center		Alamo	ТΧ	Automatic	12/08/2020
Lowes Of Pharr (lowe's home center. llc)		Pharr	ТХ	Automatic	12/08/2020
Lumatec Lighting Service	Victor T Rios	McAllen	TX	Automatic	12/08/2020
LUNA GLASS LLC	JOSE LUNA	MCALLEN	ТΧ	Automatic	12/08/2020

MARK HOSKINS ENTERPRISES LLC	Mark Hoskins	MCALLEN	TX	Automatic	12/08/2020
MARKS PLUMBING PARTS (JOHN W. GASPARINI, IN	LEE HICKEY	FORT WORTH	TX	Automatic	12/08/2020
Matco Tools (Matco Tools Corporation)	Mike Zappia	Stow	OH	Automatic	12/08/2020
MB Services LLC	George Selvera	Pharr	TX	Automatic	12/08/2020
McCoys Building Supply (McCoy Corporation)	Tina McArthur	San Marcos	TX	Automatic	12/08/2020
McLemore Building Maintenance, Inc.	Dave Prewitt	Houston	TX	Automatic	12/08/2020
MEGA RACKS LLC (GERARDO DAVALOS)	GERARDO DAVALOS	McAllen	TX	Automatic	12/08/2020
MH ENTERPRISES (MH ENTERPRISES 888)	Miyoung Hong	McKinney	TX	Automatic	12/08/2020
Morning Star Industries Inc	Brittny Bonawitz	Jensen Beach	FL	Automatic	12/08/2020
National Chemical Laboratories Inc	Tom Lesher	Philadelphia	PA	Automatic	12/08/2020
Nightlock RGV Distributor LLC.	Michael Perez	McAllen	ТХ	Automatic	12/08/2020
Noble Texas Builders		La Feria	ТХ	Automatic	12/08/2020
OMA INDUSTRIES, LLC	Lucia Valdez	HARLINGEN	TX	Automatic	12/08/2020
Ontiveros Floor Covering LLC	Gregory Ontiveros	Alamo	TX	Automatic	12/08/2020
OVERHEAD DOOR OF SOUTH TEXAS	KARLA ARREOLA	EDINBURG	TX	Automatic	12/08/2020
Pasco Brokerage, Inc.	Kristin Mason	Plano	ТΧ	Manual	12/08/2020
Performing Arts Supply Co.	Stacey Ambrose	Houston	TX	Automatic	12/08/2020
Petrogas Group of McAllen, LLC		McAllen	TX	Automatic	12/08/2020
PicoMan Photography	Rick Rodriguez	Weslaco	TX	Automatic	12/08/2020
Pinturas & Lacas (PPG Paints)	Rudy Garza	Weslaco	TX	Automatic	12/08/2020
Platinum Fleet Wash (Angela Salinas)	Angela Salinas	Alamo	TX	Automatic	12/08/2020
PLUMBMASTER INC	RICHARD PLACE	ATLANTA	GA	Automatic	12/08/2020
PortionPac Chemical Corporation		Chicago	IL	Automatic	12/08/2020
PPG Architectural Finishes, Inc	Ernie Garcia	McAllen	TX	Automatic	12/08/2020
PRECISION SAW & TOOL, INC	EDDIE HOMAN	CONVERSE	ТΧ	Automatic	12/08/2020
Pro Tech Mechanical, Inc.	Jeremy Fojtik	Corpus Christi	ТΧ	Automatic	12/08/2020
ProActive Roof Systems and Construction, LLC	David Gordon	Las Cruces	NM	Automatic	12/08/2020
PROFESSIONAL POLISH, INC.	VANESA GONZALEZ	FORT WORTH	ТΧ	Automatic	12/08/2020
Pro-Tech Exterminating (Raul Martinez)	Raul Martinez	McAllen	ТΧ	Automatic	12/08/2020
PTI Sports & Recreation Construction	Joanis Riebl	Goodrich	ТΧ	Automatic	12/08/2020
R REYES TRUCKING & TRACTOR SERVICES	JOHANA REYES	SAN BENITO	ТΧ	Automatic	12/08/2020
RB Doors & Hardware Inc	Ruby Melgoza	McAllen	ТΧ	Automatic	12/08/2020
RCA Building Materials Inc.	Gustavo Rea	Pharr	ТΧ	Automatic	12/08/2020
RDB Instrument Cleaning Solutions	Rodolfo B Barrera	Rio Grande City	ТΧ	Automatic	12/08/2020
RecovaPro, LLC	Jordan Quiroz	McAllen	ТΧ	Automatic	12/08/2020
REFCO (R E Friedrichs Company)	Vicki Delgado	McAllen	ТΧ	Automatic	12/08/2020
Region 1 Repair, LLC	John E Yeupell	Harlingen	ТΧ	Automatic	12/08/2020
Rex Widle Plbg		San Juan	ТΧ	Automatic	12/08/2020
RGV Glass Inc		Edinburg	ТΧ	Automatic	12/08/2020
Rio Air, LLC	Antonio Lerma	pharr	ТΧ	Automatic	12/08/2020
Rio Grande CAS		McAllen	ТΧ	Automatic	12/08/2020
Rio Grande Plumbing Supply inc		MCALLEN	ТΧ	Automatic	12/08/2020
Rio Grande Steel LTD	Gene Espinoza	McAllen	ТΧ	Automatic	12/08/2020
Rio Grande Valley Chapter Associated General Con	Perry A. Vaughn	Harlingen	ТΧ	Automatic	12/08/2020
RISICA & SONS, INC.	RON RISICA	EDINBURG	ТΧ	Automatic	12/08/2020
Rmz Kleaning Zolutions LLC (Jesus Ramirez)	Jesus Ramirez	Mission	ТΧ	Automatic	12/08/2020
Romo Contractors, LLC	Romo Contractors LLC	Laredo	ТΧ	Automatic	12/08/2020
royal media network inc.	irene diaz	WINDSOR MIL	MD	Automatic	12/08/2020
rudys upholstery		pharr	ТΧ	Automatic	12/08/2020
San Juan Bolt & Supply		san juan	ТΧ	Automatic	12/08/2020
Sanchez Building Supplies, Inc.	Juan Sanchez	Pharr	ТΧ	Automatic	12/08/2020
Sanitech	Belinda Wolovich	Lakeland	FL	Automatic	12/08/2020
Santre USA LLC	Flavio Garduno	Hidalgo	ТΧ	Automatic	12/08/2020
Schaeffer Manufacturing Co.	Customer Service/ Sales		MO	Automatic	12/08/2020
SCOTT ELECTRIC	MARK TROUTMAN	GREENSBURG	PA	Automatic	12/08/2020
Second Chance Treasures		McAllen	ТΧ	Automatic	12/08/2020
SERVICE SHADE SHOP (YBARRA GROUP, INC)		SAN ANTONIO	ТХ ТХ	Automatic Automatic	12/08/2020 12/08/2020
SERVICE SHADE SHOP (YBARRA GROUP, INC) Sherwin Williams	karissa Carrizales	SAN ANTONIO Mcallen	TX TX TX	Automatic Automatic Automatic	12/08/2020 12/08/2020 12/08/2020
SERVICE SHADE SHOP (YBARRA GROUP, INC) Sherwin Williams Six Shooter Softwawsh (Sixto Garza Jr Enterprizes L	Sixto Garza	SAN ANTONIO Mcallen MCALLEN	TX TX TX TX	Automatic Automatic Automatic Automatic	12/08/2020 12/08/2020 12/08/2020 12/08/2020
SERVICE SHADE SHOP (YBARRA GROUP, INC) Sherwin Williams Six Shooter Softwawsh (Sixto Garza Jr Enterprizes L Southern Stone, LLC.	Sixto Garza Sylvia Webber	SAN ANTONIO Mcallen MCALLEN Donna	TX TX TX TX TX TX	Automatic Automatic Automatic Automatic Automatic	12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020
SERVICE SHADE SHOP (YBARRA GROUP, INC) Sherwin Williams Six Shooter Softwawsh (Sixto Garza Jr Enterprizes L Southern Stone, LLC. Stand Up Stations (Toss Up Events LLC)	Sixto Garza Sylvia Webber Alex Carroll	SAN ANTONIO Mcallen MCALLEN Donna Irving	TX TX TX TX TX TX TX	Automatic Automatic Automatic Automatic Automatic Automatic	12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020
SERVICE SHADE SHOP (YBARRA GROUP, INC) Sherwin Williams Six Shooter Softwawsh (Sixto Garza Jr Enterprizes L Southern Stone, LLC. Stand Up Stations (Toss Up Events LLC) STC&FCo	Sixto Garza Sylvia Webber Alex Carroll David Enriquez	SAN ANTONIO Mcallen MCALLEN Donna Irving EDINBURG	TX TX TX TX TX TX TX TX	Automatic Automatic Automatic Automatic Automatic Automatic Automatic	12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020
SERVICE SHADE SHOP (YBARRA GROUP, INC) Sherwin Williams Six Shooter Softwawsh (Sixto Garza Jr Enterprizes L Southern Stone, LLC. Stand Up Stations (Toss Up Events LLC) STC&FCo Summit Building & Design (AOC Calton, Ltd., dba Su	Sixto Garza Sylvia Webber Alex Carroll David Enriquez David Acevedo	SAN ANTONIO Mcallen MCALLEN Donna Irving EDINBURG Laredo	TX TX TX TX TX TX TX TX TX	Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic	12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020
SERVICE SHADE SHOP (YBARRA GROUP, INC) Sherwin Williams Six Shooter Softwawsh (Sixto Garza Jr Enterprizes L Southern Stone, LLC. Stand Up Stations (Toss Up Events LLC) STC&FCo Summit Building & Design (AOC Calton, Ltd., dba Su TCI Roofing & Construction	Sixto Garza Sylvia Webber Alex Carroll David Enriquez David Acevedo Arturo Escobedo	SAN ANTONIO Mcallen MCALLEN Donna Irving EDINBURG Laredo Mission	TX TX TX TX TX TX TX TX TX TX	Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic	12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020
SERVICE SHADE SHOP (YBARRA GROUP, INC) Sherwin Williams Six Shooter Softwawsh (Sixto Garza Jr Enterprizes L Southern Stone, LLC. Stand Up Stations (Toss Up Events LLC) STC&FCo Summit Building & Design (AOC Calton, Ltd., dba Su TCI Roofing & Construction TDIndustries, Inc.	Sixto Garza Sylvia Webber Alex Carroll David Enriquez David Acevedo Arturo Escobedo Lorraine Vuong	SAN ANTONIO Mcallen MCALLEN Donna Irving EDINBURG Laredo Mission Houston	TX TX TX TX TX TX TX TX TX TX	Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic	12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020
SERVICE SHADE SHOP (YBARRA GROUP, INC) Sherwin Williams Six Shooter Softwawsh (Sixto Garza Jr Enterprizes L Southern Stone, LLC. Stand Up Stations (Toss Up Events LLC) STC&FCo Summit Building & Design (AOC Calton, Ltd., dba Su TCI Roofing & Construction TDIndustries, Inc. Tenzo McAllen, LLC.	Sixto Garza Sylvia Webber Alex Carroll David Enriquez David Acevedo Arturo Escobedo Lorraine Vuong Christian Diaz	SAN ANTONIO Mcallen MCALLEN Donna Irving EDINBURG Laredo Mission Mission	TX TX TX TX TX TX TX TX TX TX TX	Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic	12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020
SERVICE SHADE SHOP (YBARRA GROUP, INC) Sherwin Williams Six Shooter Softwawsh (Sixto Garza Jr Enterprizes L Southern Stone, LLC. Stand Up Stations (Toss Up Events LLC) STC&FCo Summit Building & Design (AOC Calton, Ltd., dba Su TCI Roofing & Construction TDIndustries, Inc. Tenzo McAllen, LLC. the valley windshields IIc	Sixto Garza Sylvia Webber Alex Carroll David Enriquez David Acevedo Arturo Escobedo Lorraine Vuong Christian Diaz ricardo rojas	SAN ANTONIO Mcallen MCALLEN Donna Irving EDINBURG Laredo Mission Houston Mission PHARR	TX TX TX TX TX TX TX TX TX TX TX TX	Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic	12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020
SERVICE SHADE SHOP (YBARRA GROUP, INC) Sherwin Williams Six Shooter Softwawsh (Sixto Garza Jr Enterprizes L Southern Stone, LLC. Stand Up Stations (Toss Up Events LLC) STC&FCO Summit Building & Design (AOC Calton, Ltd., dba Su TCI Roofing & Construction TDIndustries, Inc. Tenzo McAllen, LLC. the valley windshields IIc Tint-On-Wheels (David Padilla)	Sixto Garza Sylvia Webber Alex Carroll David Enriquez David Acevedo Arturo Escobedo Lorraine Vuong Christian Diaz ricardo rojas David Padilla	SAN ANTONIO Mcallen MCALLEN Donna Irving EDINBURG Laredo Mission Houston Mission PHARR Mcallen	TX TX TX TX TX TX TX TX TX TX TX TX TX	Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic	12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020
SERVICE SHADE SHOP (YBARRA GROUP, INC) Sherwin Williams Six Shooter Softwawsh (Sixto Garza Jr Enterprizes L Southern Stone, LLC. Stand Up Stations (Toss Up Events LLC) STC&FCo Summit Building & Design (AOC Calton, Ltd., dba Su TCI Roofing & Construction TDIndustries, Inc. Tenzo McAllen, LLC. the valley windshields llc Tint-On-Wheels (David Padilla) Trane Company	Sixto Garza Sylvia Webber Alex Carroll David Enriquez David Acevedo Arturo Escobedo Lorraine Vuong Christian Diaz ricardo rojas David Padilla Joe Rivera	SAN ANTONIO Mcallen MCALLEN Donna Irving EDINBURG Laredo Mission Houston Mission PHARR Mcallen Weslaco	TX         TX	Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic	12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020
SERVICE SHADE SHOP (YBARRA GROUP, INC) Sherwin Williams Six Shooter Softwawsh (Sixto Garza Jr Enterprizes L Southern Stone, LLC. Stand Up Stations (Toss Up Events LLC) STC&FCo Summit Building & Design (AOC Calton, Ltd., dba Su TCI Roofing & Construction TDIndustries, Inc. Tenzo McAllen, LLC. the valley windshields llc Tint-On-Wheels (David Padilla) Trane Company Twin City Hardware, Inc. (TCH Southwest, Tri-City H	Sixto Garza Sylvia Webber Alex Carroll David Enriquez David Acevedo Arturo Escobedo Lorraine Vuong Christian Diaz ricardo rojas David Padilla Joe Rivera Joe Gandara	SAN ANTONIO Mcallen MCALLEN Donna Irving EDINBURG Laredo Mission Houston Mission PHARR Mcallen Weslaco Oakdale	TX TX TX TX TX TX TX TX TX TX TX TX TX MN	Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic	12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020
SERVICE SHADE SHOP (YBARRA GROUP, INC) Sherwin Williams Six Shooter Softwawsh (Sixto Garza Jr Enterprizes L Southern Stone, LLC. Stand Up Stations (Toss Up Events LLC) STC&FCo Summit Building & Design (AOC Calton, Ltd., dba Su TCI Roofing & Construction TDIndustries, Inc. Tenzo McAllen, LLC. the valley windshields IIc Tint-On-Wheels (David Padilla) Trane Company Twin City Hardware, Inc. (TCH Southwest, Tri-City H Twin Construction (Noel Cavazos)	Sixto Garza Sylvia Webber Alex Carroll David Enriquez David Acevedo Arturo Escobedo Lorraine Vuong Christian Diaz ricardo rojas David Padilla Joe Rivera Joe Gandara Noe Cavazos	SAN ANTONIO Mcallen MCALLEN Donna Irving EDINBURG Laredo Mission Houston Mission PHARR Mcallen Weslaco Oakdale Weslaco	TX TX TX TX TX TX TX TX TX TX TX TX TX T	Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic Automatic	12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020
SERVICE SHADE SHOP (YBARRA GROUP, INC) Sherwin Williams Six Shooter Softwawsh (Sixto Garza Jr Enterprizes L Southern Stone, LLC. Stand Up Stations (Toss Up Events LLC) STC&FCo Summit Building & Design (AOC Calton, Ltd., dba Su TCI Roofing & Construction TDIndustries, Inc. Tenzo McAllen, LLC. the valley windshields IIc Tint-On-Wheels (David Padilla) Trane Company Twin City Hardware, Inc. (TCH Southwest, Tri-City H Twin Construction (Noel Cavazos) Univar Solutions	Sixto Garza Sylvia Webber Alex Carroll David Enriquez David Acevedo Arturo Escobedo Lorraine Vuong Christian Diaz ricardo rojas David Padilla Joe Rivera Joe Gandara	SAN ANTONIO Mcallen MCALLEN Donna Irving EDINBURG Laredo Mission Houston Mission PHARR Mcallen Weslaco Oakdale Weslaco Harlingen	TX TX TX TX TX TX TX TX TX TX TX TX TX T	Automatic Automatic	12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020
SERVICE SHADE SHOP (YBARRA GROUP, INC) Sherwin Williams Six Shooter Softwawsh (Sixto Garza Jr Enterprizes L Southern Stone, LLC. Stand Up Stations (Toss Up Events LLC) STC&FCo Summit Building & Design (AOC Calton, Ltd., dba Su TCI Roofing & Construction TDIndustries, Inc. Tenzo McAllen, LLC. the valley windshields llc Tint-On-Wheels (David Padilla) Trane Company Twin City Hardware, Inc. (TCH Southwest, Tri-City H Twin Construction (Noel Cavazos) Univar Solutions Valley Striping Corp	Sixto Garza Sylvia Webber Alex Carroll David Enriquez David Acevedo Arturo Escobedo Lorraine Vuong Christian Diaz ricardo rojas David Padilla Joe Rivera Joe Gandara Noe Cavazos Joey Alvarez	SAN ANTONIO Mcallen MCALLEN Donna Irving EDINBURG Laredo Mission Houston Mission PHARR Mcallen Weslaco Oakdale Weslaco Harlingen Mission	TX TX TX TX TX TX TX TX TX TX TX TX TX T	Automatic Automatic	12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020
SERVICE SHADE SHOP (YBARRA GROUP, INC) Sherwin Williams Six Shooter Softwawsh (Sixto Garza Jr Enterprizes L Southern Stone, LLC. Stand Up Stations (Toss Up Events LLC) STC&FCo Summit Building & Design (AOC Calton, Ltd., dba Su TCI Roofing & Construction TDIndustries, Inc. Tenzo McAllen, LLC. the valley windshields IIc Tint-On-Wheels (David Padilla) Trane Company Twin City Hardware, Inc. (TCH Southwest, Tri-City H Twin Construction (Noel Cavazos) Univar Solutions Valley Striping Corp ValTex (Figuroa & Sons, Inc.)	Sixto Garza Sylvia Webber Alex Carroll David Enriquez David Acevedo Arturo Escobedo Lorraine Vuong Christian Diaz ricardo rojas David Padilla Joe Rivera Joe Gandara Noe Cavazos Joey Alvarez Felipe Lopez	SAN ANTONIO Mcallen MCALLEN Donna Irving EDINBURG Laredo Mission Houston Mission PHARR Mcallen Weslaco Oakdale Weslaco Harlingen Mission McAllen	TX TX TX TX TX TX TX TX TX TX TX TX TX T	Automatic Automatic	12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020
SERVICE SHADE SHOP (YBARRA GROUP, INC) Sherwin Williams Six Shooter Softwawsh (Sixto Garza Jr Enterprizes L Southern Stone, LLC. Stand Up Stations (Toss Up Events LLC) STC&FCo Summit Building & Design (AOC Calton, Ltd., dba Su TCI Roofing & Construction TDIndustries, Inc. Tenzo McAllen, LLC. the valley windshields llc Tint-On-Wheels (David Padilla) Trane Company Twin City Hardware, Inc. (TCH Southwest, Tri-City H Twin Construction (Noel Cavazos) Univar Solutions Valley Striping Corp ValTex (Figuroa & Sons, Inc.) VCI Builders, Inc.	Sixto Garza Sylvia Webber Alex Carroll David Enriquez David Acevedo Arturo Escobedo Lorraine Vuong Christian Diaz ricardo rojas David Padilla Joe Rivera Joe Gandara Noe Cavazos Joey Alvarez Felipe Lopez Joe Arredondo	SAN ANTONIO Mcallen MCALLEN Donna Irving EDINBURG Laredo Mission Houston Mission PHARR Mcallen Weslaco Oakdale Weslaco Oakdale Weslaco Harlingen Mission McAllen MISSION	TX TX TX TX TX TX TX TX TX TX TX TX TX T	Automatic Automatic	12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020
SERVICE SHADE SHOP (YBARRA GROUP, INC) Sherwin Williams Six Shooter Softwawsh (Sixto Garza Jr Enterprizes L Southern Stone, LLC. Stand Up Stations (Toss Up Events LLC) STC&FCo Summit Building & Design (AOC Calton, Ltd., dba Su TCI Roofing & Construction TDIndustries, Inc. Tenzo McAllen, LLC. the valley windshields llc Tint-On-Wheels (David Padilla) Trane Company Twin City Hardware, Inc. (TCH Southwest, Tri-City H Twin Construction (Noel Cavazos) Univar Solutions Valley Striping Corp VaTrex (Figuroa & Sons, Inc.) VCI Builders, Inc.	Sixto Garza Sylvia Webber Alex Carroll David Enriquez David Acevedo Arturo Escobedo Lorraine Vuong Christian Diaz ricardo rojas David Padilla Joe Rivera Joe Gandara Noe Cavazos Joey Alvarez Felipe Lopez Joe Arredondo Dr. Sue Bayer	SAN ANTONIO Mcallen MCALLEN Donna Irving EDINBURG Laredo Mission Houston Mission PHARR Mcallen Weslaco Oakdale Weslaco Harlingen Mission Mission McAllen MISSION Stafford	TX TX TX TX TX TX TX TX TX TX TX TX TX T	Automatic Automatic	12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020
SERVICE SHADE SHOP (YBARRA GROUP, INC) Sherwin Williams Six Shooter Softwawsh (Sixto Garza Jr Enterprizes L Southern Stone, LLC. Stand Up Stations (Toss Up Events LLC) STC&FCo Summit Building & Design (AOC Calton, Ltd., dba Su TCI Roofing & Construction TDIndustries, Inc. Tenzo McAllen, LLC. the valley windshields llc Tint-On-Wheels (David Padilla) Trane Company Twin City Hardware, Inc. (TCH Southwest, Tri-City H Twin Construction (Noel Cavazos) Univar Solutions Valley Striping Corp ValTex (Figuroa & Sons, Inc.) VCI Builders, Inc.	Sixto Garza Sylvia Webber Alex Carroll David Enriquez David Acevedo Arturo Escobedo Lorraine Vuong Christian Diaz ricardo rojas David Padilla Joe Rivera Joe Gandara Noe Cavazos Joey Alvarez Felipe Lopez Joe Arredondo Dr. Sue Bayer Jeannette Olguin	SAN ANTONIO Mcallen MCALLEN Donna Irving EDINBURG Laredo Mission Houston Mission PHARR Mcallen Weslaco Oakdale Weslaco Oakdale Weslaco Harlingen Mission McAllen MISSION Stafford SAN ANTONIO	TX TX TX TX TX TX TX TX TX TX TX TX TX T	Automatic Automatic	12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020
SERVICE SHADE SHOP (YBARRA GROUP, INC) Sherwin Williams Six Shooter Softwawsh (Sixto Garza Jr Enterprizes L Southern Stone, LLC. Stand Up Stations (Toss Up Events LLC) STC&FCo Summit Building & Design (AOC Calton, Ltd., dba Su TCI Roofing & Construction TDIndustries, Inc. Tenzo McAllen, LLC. the valley windshields llc Tint-On-Wheels (David Padilla) Trane Company Twin City Hardware, Inc. (TCH Southwest, Tri-City H Twin Construction (Noel Cavazos) Univar Solutions Valley Striping Corp ValTex (Figuroa & Sons, Inc.) VCI Builders, Inc. Vertex Marketing Virtual Builders Exchange Visceral Illumination Code LLC (VISCERAL ILLUMINA	Sixto Garza Sylvia Webber Alex Carroll David Enriquez David Acevedo Arturo Escobedo Lorraine Vuong Christian Diaz ricardo rojas David Padilla Joe Rivera Joe Gandara Noe Cavazos Joey Alvarez Felipe Lopez Joe Arredondo Dr. Sue Bayer Jeannette Olguin VISCERAL ILLUMINATION	SAN ANTONIO Mcallen MCALLEN Donna Irving EDINBURG Laredo Mission Houston Mission PHARR Mcallen Weslaco Oakdale Weslaco Oakdale Weslaco Oakdale Weslaco Harlingen Mission McAllen MISSION Stafford SAN ANTONIO Edinburg	TX TX TX TX TX TX TX TX TX TX TX TX TX T	Automatic Automatic	12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020
SERVICE SHADE SHOP (YBARRA GROUP, INC) Sherwin Williams Six Shooter Softwawsh (Sixto Garza Jr Enterprizes L Southern Stone, LLC. Stand Up Stations (Toss Up Events LLC) STC&FCo Summit Building & Design (AOC Calton, Ltd., dba Su TCI Roofing & Construction TDIndustries, Inc. Tenzo McAllen, LLC. the valley windshields llc Tint-On-Wheels (David Padilla) Trane Company Twin City Hardware, Inc. (TCH Southwest, Tri-City H Twin Construction (Noel Cavazos) Univar Solutions Valley Striping Corp ValTex (Figuroa & Sons, Inc.) VCI Builders, Inc.	Sixto Garza Sylvia Webber Alex Carroll David Enriquez David Acevedo Arturo Escobedo Lorraine Vuong Christian Diaz ricardo rojas David Padilla Joe Rivera Joe Gandara Noe Cavazos Joey Alvarez Felipe Lopez Joe Arredondo Dr. Sue Bayer Jeannette Olguin	SAN ANTONIO Mcallen MCALLEN Donna Irving EDINBURG Laredo Mission Houston Mission PHARR Mcallen Weslaco Oakdale Weslaco Oakdale Weslaco Harlingen Mission McAllen MISSION Stafford SAN ANTONIO	TX TX TX TX TX TX TX TX TX TX TX TX TX T	Automatic Automatic	12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020 12/08/2020

Western BRW -Bosworth Papers (JP Gould)	Cindy Leander	Dallas	ТΧ	Automatic	12/08/2020
Whitmeyers Distillery Co., LLC		Houston	ΤХ	Automatic	12/08/2020
WINDSHIELDS XPRESS (JUAN CARLOS ISASI)	JUAN CARLOS ISASI	PHARR	ТΧ	Automatic	12/08/2020
Ygriega Environmental Services LLC	Arnold A. Maldonado	Edinburg	ΤХ	Automatic	12/08/2020
Zitro Electric	Mike Pena	Palmview	ТΧ	Automatic	12/08/2020